

Form No. MGT-7

Annual Return (other than OPCs and Small Companies)

[Pursuant to sub-section (1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11 of the Companies (Management and Administration) Rules, 2014]

All fields marked in * are mandatory

Refer instruction kit for filing the form



Form language

English Hindi

I REGISTRATION AND OTHER DETAILS

i *Corporate Identity Number (CIN)

L40100TN1994PLC028263

ii (a) *Financial year for which the annual return is being filed (From date) (DD/MM/YYYY)

01/04/2024

(b) *Financial year for which the annual return is being filed (To date) (DD/MM/YYYY)

31/03/2025

(c) *Type of Annual filing

Original

Revised

(d) SRN of MGT-7 filed earlier for the same financial years

iii

Particulars	As on filing date	As on the financial year end date
Name of the company	REFEX RENEWABLES & INFRASTRUCTURE LIMITED	REFEX RENEWABLES & INFRASTRUCTURE LIMITED
Registered office address	2nd Floor, Refex Towers, Sterling Road Signal,,313, Valluvar Kottam High Road,Nungambakkam,Chennai,Chennai,Tamil Nadu,India,600034	2nd Floor, Refex Towers, Sterling Road Signal,,313, Valluvar Kottam High Road,Nungambakkam,Chennai,Chennai,Tamil Nadu,India,600034
Latitude details	13.06	13.06
Longitude details	80.24	80.24

(a) *Photograph of the registered office of the Company showing external building and name prominently visible

RRIL_External Building.pdf

(b) *Permanent Account Number (PAN) of the company

AA*****1N

(c) *e-mail ID of the company

*****.a@refex.co.in

(d) *Telephone number with STD code

04*****50

(e) Website	https://refexrenewables.com								
iv *Date of Incorporation (DD/MM/YYYY)	04/08/1994								
v (a) *Class of Company (as on the financial year end date) <i>(Private company/Public Company/One Person Company)</i>	Public company								
(b) *Category of the Company (as on the financial year end date) <i>(Company limited by shares/Company limited by guarantee/Unlimited company)</i>	Company limited by shares								
(c) *Sub-category of the Company (as on the financial year end date) <i>(Indian Non-Government company/Union Government Company/State Government Company/Guarantee and association company/Subsidiary of Foreign Company)</i>	Indian Non-Government company								
vi *Whether company is having share capital (as on the financial year end date)	<input checked="" type="radio"/> Yes <input type="radio"/> No								
vii (a) Whether shares listed on recognized Stock Exchange(s)	<input checked="" type="radio"/> Yes <input type="radio"/> No								
(b) Details of stock exchanges where shares are listed									
<table border="1"> <thead> <tr> <th>S. No.</th> <th>Stock Exchange Name</th> <th>Code</th> </tr> </thead> <tbody> <tr> <td>1</td> <td>Bombay Stock Exchange (BSE)</td> <td>A1 - Bombay Stock Exchange (BSE)</td> </tr> </tbody> </table>		S. No.	Stock Exchange Name	Code	1	Bombay Stock Exchange (BSE)	A1 - Bombay Stock Exchange (BSE)		
S. No.	Stock Exchange Name	Code							
1	Bombay Stock Exchange (BSE)	A1 - Bombay Stock Exchange (BSE)							
viii Number of Registrar and Transfer Agent	1								
<table border="1"> <thead> <tr> <th>CIN of the Registrar and Transfer Agent</th> <th>Name of the Registrar and Transfer Agent</th> <th>Registered office address of the Registrar and Transfer Agents</th> <th>SEBI registration number of Registrar and Transfer Agent</th> </tr> </thead> <tbody> <tr> <td>U65993TN1994PTC027878</td> <td>GNSA INFOTECH PRIVATE LIMITED</td> <td>4th and 5th Floors, F-Block, Nelson Chambers, No.115, Nelson Manickam Road, Aminjikarai, Chennai 600029, Egmore Nungambakkam, Chennai, Tamil Nadu, India, 600030</td> <td>INR200003967</td> </tr> </tbody> </table>		CIN of the Registrar and Transfer Agent	Name of the Registrar and Transfer Agent	Registered office address of the Registrar and Transfer Agents	SEBI registration number of Registrar and Transfer Agent	U65993TN1994PTC027878	GNSA INFOTECH PRIVATE LIMITED	4th and 5th Floors, F-Block, Nelson Chambers, No.115, Nelson Manickam Road, Aminjikarai, Chennai 600029, Egmore Nungambakkam, Chennai, Tamil Nadu, India, 600030	INR200003967
CIN of the Registrar and Transfer Agent	Name of the Registrar and Transfer Agent	Registered office address of the Registrar and Transfer Agents	SEBI registration number of Registrar and Transfer Agent						
U65993TN1994PTC027878	GNSA INFOTECH PRIVATE LIMITED	4th and 5th Floors, F-Block, Nelson Chambers, No.115, Nelson Manickam Road, Aminjikarai, Chennai 600029, Egmore Nungambakkam, Chennai, Tamil Nadu, India, 600030	INR200003967						
ix * (a) Whether Annual General Meeting (AGM) held	<input checked="" type="radio"/> Yes <input type="radio"/> No								
(b) If yes, date of AGM (DD/MM/YYYY)	18/09/2025								
(c) Due date of AGM (DD/MM/YYYY)	30/09/2025								
(d) Whether any extension for AGM granted	<input type="radio"/> Yes <input checked="" type="radio"/> No								
(e) If yes, provide the Service Request Number (SRN) of the GNL-1 application form filed for extension									

(f) Extended due date of AGM after grant of extension (DD/MM/YYYY)

(g) Specify the reasons for not holding the same

II PRINCIPAL BUSINESS ACTIVITIES OF THE COMPANY

i *Number of business activities

S. No.	Main Activity group code	Description of Main Activity group	Business Activity Code	Description of Business Activity	% of turnover of the company
1	F	Construction	43	Specialized Construction Activities	100

III PARTICULARS OF HOLDING, SUBSIDIARY AND ASSOCIATE COMPANIES (INCLUDING JOINT VENTURES)

i *No. of Companies for which information is to be given

S. No.	CIN /FCRN	Other registration number	Name of the company	Holding/ Subsidiary/Associate/Joint Venture	% of shares held
1	U40108TN2019PLC132319		REFEX GREEN POWER LIMITED	Subsidiary	100.00
2	U40108TN2010PTC076481		SEI SOLARTECH PRIVATE LIMITED	Subsidiary	100.00
3	U40106TN2010PTC136715		ISHAAN SOLAR POWER PRIVATE LIMITED	Subsidiary	100.00
4	U39000TN2020PLC136949		REFEX SUSTAINABILITY SOLUTIONS LIMITED	Subsidiary	100.00
5	U35105MP2024PLC069908		VENWIND REFEX LIMITED	Subsidiary	100.00
6	U74999TN2017PTC116769		BROIL SOLAR ENERGY PRIVATE LIMITED	Subsidiary	100.00

7	U74999TN2018PTC126030		SHERISHA SOLAR SPV TWO PRIVATE LIMITED	Subsidiary	100.00
8	U74999TN2017PLC117079		TAPER SOLAR ENERGY LIMITED	Subsidiary	100.00
9	U40100TN2016PTC112403		ENGENDER DEVELOPERS PRIVATE LIMITED	Subsidiary	100.00
10	U40107TN2019PTC132120		SHERISHA ROOFTOP SOLAR SPV THREE PRIVATE LIMITED	Subsidiary	100.00
11	U40100TN2015PTC103281		STPL HORTICULTURE PRIVATE LIMITED	Subsidiary	100.00
12	U74999TN2017PTC117081		KILN SOLAR ENERGY PRIVATE LIMITED	Subsidiary	100.00
13	U40101TN2013FTC094224		SEI TEJAS PRIVATE LIMITED	Subsidiary	100.00
14		AAU-4741	SHERISHA SOLAR LLP	Subsidiary	100.00
15	U35100TN2024PLC175213		REFEX SOLAR SPV FIVE LIMITED	Subsidiary	100.00
16		P V 00308475	REFEX RENEWABLES SL (PRIVATE) LIMITED	Subsidiary	100.00
17	U40106TN2019PTC132094		SHERISHA ROOFTOP SOLAR SPV FOUR PRIVATE LIMITED	Subsidiary	99.99
18	U74999TN2017PTC117072		WITHER SOLAR ENERGY PRIVATE LIMITED	Subsidiary	90.00
19	U45200TN2024PTC173321		REFEX GREEN FUEL PRIVATE LIMITED	Subsidiary	76.00
20	U40109KA2015PTC081245		ATHENESE ENERGY PRIVATE LIMITED	Subsidiary	74.00
21	U40107KA2015PTC081573		FLAUNT SOLAR ENERGY PRIVATE LIMITED	Subsidiary	74.00
22	U40104KA2015PTC081477		SPANGLE ENERGY PRIVATE LIMITED	Subsidiary	74.00
23	U40107KA2015PTC084419		SCORCH SOLAR ENERGY PRIVATE LIMITED	Subsidiary	74.00
24	U40108KA2015PTC084881		SINGE SOLAR ENERGY PRIVATE LIMITED	Subsidiary	74.00

25	U40104KA2015PTC081039		SOURASHAKTHI ENERGY PRIVATE LIMITED	Subsidiary	74.00
26	U40102KA2015PTC083352		SWELTER ENERGY PRIVATE LIMITED	Subsidiary	74.00
27	U74999KA2017PTC102966		TORRID SOLAR POWER PRIVATE LIMITED	Subsidiary	74.00
28	U37200AP2018PTC108255		VYZAG BIO-ENERGY FUEL PRIVATE LIMITED	Subsidiary	51.03
29		ACK-8858	LC INFRA SOLAR (150 MW) LLP	Associate	26.00

IV SHARE CAPITAL, DEBENTURES AND OTHER SECURITIES OF THE COMPANY

i SHARE CAPITAL

(a) Equity share capital

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of equity shares	20000000.00	4496554.00	4496554.00	4496554.00
Total amount of equity shares (in rupees)	200000000.00	44965540.00	44965540.00	44965540.00

Number of classes

1

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Equity Shares				
Number of equity shares	20000000	4496554	4496554	4496554
Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	200000000.00	44965540.00	44965540	44965540

(b) Preference share capital

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital

Total number of preference shares	0.00	0.00	0.00	0.00
Total amount of preference shares (in rupees)	0.00	0.00	0.00	0.00

Number of classes

0

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in rupees)				

(c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Particulars	Number of shares			Total Nominal Amount	Total Paid-up amount	Total premium
	Physical	DEMAT	Total			
(i) Equity shares						
At the beginning of the year	336710	4153190	4489900.00	44899000	44899000	
Increase during the year	0.00	22254.00	22254.00	222540.00	222540.00	0
i Public Issues	0	0	0.00	0	0	
ii Rights issue	0	0	0.00	0	0	
iii Bonus issue	0	0	0.00	0	0	
iv Private Placement/ Preferential allotment	0	0	0.00	0	0	
v ESOPs	0	6654	6654.00	66540	66540	

Particulars	Number of shares			Total Nominal Amount	Total Paid-up amount	Total premium
vi Sweat equity shares allotted	0	0	0.00	0	0	
vii Conversion of Preference share	0	0	0.00	0	0	
viii Conversion of Debentures	0	0	0.00	0	0	
ix GDRs/ADRs	0	0	0.00	0	0	
x Others, specify Physical to Demat	0	15600	15600.00	156000	156000	
Decrease during the year	15600.00	0.00	15600.00	156000.00	156000.00	0
i Buy-back of shares	0	0	0.00	0	0	
ii Shares forfeited	0	0	0.00	0	0	
iii Reduction of share capital	0	0	0.00	0	0	
iv Others, specify Physical to Demat	15600	0	15600.00	156000	156000	
At the end of the year	321110.00	4175444.00	4496554.00	44965540.00	44965540.00	
(ii) Preference shares						
At the beginning of the year	0	0	0.00	0	0	
Increase during the year	0.00	0.00	0.00	0.00	0.00	0
i Issues of shares	0	0	0.00	0	0	
ii Re-issue of forfeited shares	0	0	0.00	0	0	
iii Others, specify -	0	0	0.00	0	0	
Decrease during the year	0.00	0.00	0.00	0.00	0.00	0
i Redemption of shares	0	0	0.00	0	0	
ii Shares forfeited	0	0	0.00	0	0	
iii Reduction of share capital	0	0	0.00	0	0	

Particulars	Number of shares			Total Nominal Amount	Total Paid-up amount	Total premium
iv Others, specify <input type="text"/>			0			
At the end of the year	0.00	0.00	0.00	0.00	0.00	

ISIN of the equity shares of the company

INE332F01018

ii Details of stock split/consolidation during the year (for each class of shares)

0

Class of shares		<input type="text"/>
Before split / Consolidation	Number of shares	
	Face value per share	
After split / consolidation	Number of shares	
	Face value per share	

iii Details of shares/Debentures Transfers since closure date of last financial year (or in the case of the first return at any time since the incorporation of the company)

Nil

Number of transfers

2

Attachments:

1. Details of shares/Debentures Transfers

RRIL_Transfer
Details_31.03.2025.xlsm.xlsm

iv Debentures (Outstanding as at the end of financial year)

(a) Non-convertible debentures

*Number of classes

1

Classes of non-convertible debentures	Number of units	Nominal value per unit	Total value (Outstanding at the end of the year)
1	105	1000000	105000000.00
Total	105.00	1000000.00	105000000.00

Classes of non-convertible debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
1	0	105000000	0	105000000.00
Total	0.00	105000000.00	0.00	105000000.00

(b) Partly convertible debentures

*Number of classes

0

Classes of partly convertible debentures	Number of units	Nominal value per unit	Total value (Outstanding at the end of the year)
Total			

Classes of partly convertible debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Total				

(c) Fully convertible debentures

*Number of classes

0

Classes of fully convertible debentures	Number of units	Nominal value per unit	Total value (Outstanding at the end of the year)
Total			

Classes of fully convertible debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year

Total				
-------	--	--	--	--

(d) Summary of Indebtedness

Particulars	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Non-convertible debentures	0.00	105000000.00	0.00	105000000.00
Partly convertible debentures	0.00	0.00	0.00	0.00
Fully convertible debentures	0.00	0.00	0.00	0.00
Total	0.00	105000000.00	0.00	105000000.00

v Securities (other than shares and debentures)

0

Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
Total					

VI Turnover and net worth of the company (as defined in the Companies Act, 2013)

i *Turnover

187567483

ii * Net worth of the Company

-529418099

VI SHARE HOLDING PATTERN

A Promoters

S. No	Category	Equity		Preference	
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	0	0.00	0	0.00

	(ii) Non-resident Indian (NRI)	0	0.00	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	0	0.00	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	3367425	74.89	0	0.00
10	Others	0	0.00	0	0.00
	Total	3367425.00	74.89	0.00	0

Total number of shareholders (promoters)

2

B Public/Other than promoters

S. No	Category	Equity		Preference	
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	947202	21.07	0	0.00

	(ii) Non-resident Indian (NRI)	0	0.00	0	0.00
	(iii) Foreign national (other than NRI)	7476	0.17	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	0	0.00	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	162929	3.62	0	0.00
10	Others LLP	11522	0.26	0	0.00
	Total	1129129.00	25.12	0.00	0

Total number of shareholders (other than promoters)

2796

Total number of shareholders (Promoters + Public/Other than promoters)

2798.00

Breakup of total number of shareholders (Promoters + Other than promoters)

Sl.No	Category	
1	Individual - Female	789
2	Individual - Male	1973
3	Individual - Transgender	0
4	Other than individuals	36
	Total	2798.00

C Details of Foreign institutional investors' (FIIs) holding shares of the company

--

Name of the FII	Address	Date of Incorporation	Country of Incorporation	Number of shares held	% of shares held

VII NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS

[Details of Promoters, Members (other than promoters), Debenture holders]

Details	At the beginning of the year	At the end of the year
Promoters	2	2
Members (other than promoters)	2493	2796
Debenture holders	0	1

VIII DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

A Composition of Board of Directors

Category	Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A Promoter	0	1	0	1	0	0
B Non-Promoter	1	3	1	4	0.00	0.00
i Non-Independent	1	1	1	1	0	0

ii Independent	0	2	0	3	0	0
C Nominee Directors representing	0	0	0	0	0.00	0.00
i. Banks and FIs	0	0	0	0	0	0
ii Investing institutions	0	0	0	0	0	0
iii Government	0	0	0	0	0	0
iv Small share holders	0	0	0	0	0	0
v Others	0	0	0	0	0	0
Total	1	4	1	5	0.00	0.00

*Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

8

B (i) Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity shares held	Date of cessation (after closure of financial year : If any) (DD/MM/YYYY)
KALPESH KUMAR	07966090	Managing Director	0	
ANIL JAIN .	00181960	Director	0	
DINESH KUMAR AGARWAL	07544757	Additional Director	0	
PILLAPPAN AMALANATHAN	08730795	Director	0	
TALLURI JAYANTHI	09272993	Director	0	
. LATHA VENKATESH	06983347	Director	0	
VINAY AGGARWAL	AJKPV7886Q	Company Secretary	308	
THIRUNAVUKARASU MANIKANDAN	ATOPM8494M	CFO	228	

B (ii) *Particulars of change in director(s) and Key managerial personnel during the year

8

Name	DIN/PAN	Designation at the beginning / during the financial year	Date of appointment/ change in designation/ cessation (DD/MM/YYYY)	Nature of change (Appointment/ Change in designation/ Cessation)

PILLAPPAN AMALANATHAN	08730795	Director	16/06/2024	Appointment
KALPESH KUMAR	07966090	Managing Director	01/10/2024	Appointment
DINESH KUMAR AGARWAL	07544757	Additional Director	01/10/2024	Appointment
SUNNY CHANDRAKUMAR JAIN	07544759	Director	30/09/2024	Cessation
. LATHA VENKATESH	06983347	Director	27/09/2024	Change in designation
. LATHA VENKATESH	06983347	Additional Director	14/08/2024	Appointment
THIRUNAVUKARASU MANIKANDAN	ATOPM8494M	CFO	01/06/2024	Appointment
DINESH KUMAR AGARWAL	AKHPA0067A	CFO	31/05/2024	Cessation

IX MEETINGS OF MEMBERS/CLASS OF MEMBERS/ BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

*Number of meetings held

1

Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members entitled to attend meeting	Attendance	
			Number of members attended	% of total shareholding
30th Annual General Meeting	27/09/2024	2510	20	1.19

B BOARD MEETINGS

*Number of meetings held

6

S.No	Date of meeting (DD/MM/YYYY)	Total Number of directors as on the date of meeting	Attendance	
			Number of directors attended	% of attendance
1	22/05/2024	5	5	100
2	13/08/2024	5	5	100

3	26/09/2024	6	6	100
4	08/11/2024	6	6	100
5	06/12/2024	6	6	100
6	05/02/2025	6	6	100

C COMMITTEE MEETINGS

Number of meetings held

11

S.No	Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members as on the date of meeting	Attendance	
				Number of members attended	% of attendance
1	Audit Committee Meeting	22/05/2024	3	3	100
2	Audit Committee Meeting	13/08/2024	3	3	100
3	Audit Committee Meeting	08/11/2024	3	3	100
4	Audit Committee Meeting	05/02/2025	3	3	100
5	Nomination & Remuneration Committee	22/05/2024	3	2	66.67
6	Nomination & Remuneration Committee	13/08/2024	3	3	100
7	Nomination & Remuneration Committee	26/09/2024	3	3	100
8	Stakeholders' Relationship Committee	26/03/2025	3	3	100
9	Banking & Authorization Committee	23/05/2024	3	2	66.67
10	Banking & Authorization Committee	23/12/2024	3	3	100
11	Banking & Authorization Committee	13/01/2025	3	3	100

D ATTENDANCE OF DIRECTORS

S. N o	Name of the Director	Board Meetings			Committee Meetings			Whether attended AGM held on
		Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attendance	Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attendance	
								18/09/2025 (Y/N/NA)
1	KALPESH KUMAR	6	6	100	5	5	100	Yes
2	ANIL JAIN .	6	6	100	7	6	85	Yes
3	DINESH KUMAR AGARWAL	3	3	100	5	5	100	Yes
4	PILLAPPAN AMALANATHAN	6	6	100	8	8	100	Yes
5	TALLURI JAYANTHI	6	6	100	7	7	100	Yes
6	O. LATHA VENKATESH	4	4	100	0	0	0	Yes

X REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

Nil

A *Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

1

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	Kalpesh Kumar	Managing Director	6561092	0	0	0	6561092.00
	Total		6561092.00	0.00	0.00	0.00	6561092.00

B *Number of CEO, CFO and Company secretary whose remuneration details to be entered

2

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	VINAY AGGARWAL	Company Secretary	2819372	0	161392	0	2980764.00
2	THIRUNAVUKARASU MANIKANDAN	CFO	1525610	0	108528	0	1634138.00
	Total		4344982.00	0.00	269920.00	0.00	4614902.00

C *Number of other directors whose remuneration details to be entered

3

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	PILLAPPAN AMALANATHAN	Director	310000	0	0	0	310000.00
2	TALLURI JAYANTHI	Director	300000	0	0	0	300000.00
3	LATHA VENKATESH	Director	130000	0	0	0	130000.00
	Total		740000.00	0.00	0.00	0.00	740000.00

XI MATTERS RELATED TO CERTIFICATION OF COMPLIANCES AND DISCLOSURES

A *Whether the company has made compliances and disclosures in respect of applicable provisions of the Companies Act, 2013 during the year

 Yes No

B If No, give reasons/observations

XII PENALTY AND PUNISHMENT – DETAILS THEREOF

A *DETAILS OF PENALTIES / PUNISHMENT IMPOSED ON COMPANY/ DIRECTORS/OFFICERS

 Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order (DD/MM/YYYY)	Name of the Act and section under which penalised / punished	Details of penalty/ punishment	Details of appeal (if any) including present status

B *DETAILS OF COMPOUNDING OF OFFENCES

 Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order (DD/MM/YYYY)	Name of the Act and section under which offence committed	Particulars of offence	Amount of compounding (in rupees)

XIII Details of Shareholder / Debenture holder

Number of shareholder/ debenture holder

2799

XIV Attachments

(a) List of share holders, debenture holders

RRIL_Details of Shareholder_31032025.xlsx

(b) Optional Attachment(s), if any

RRIL-MGT-8_FY25.pdf
RTA_non-availability
Certificate.pdf
RRIL_Details of ShareholderDebenture
holder_31032025.pdf

XV COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

I/We certify that:

- (a) The return states the facts, as they stood on the date of the closure of the financial year aforesaid correctly and adequately.
- (b) Unless otherwise expressly stated to the contrary elsewhere in this return, the Company has complied with applicable provisions of the Act during the financial year.
- (c) The company has not, since the date of the closure of the last financial year with reference to which the last return was submitted or in the case of a first return since the date of incorporation of the company, issued any invitation to the public to subscribe for any securities of the company.
- (d) Where the annual return discloses the fact that the number of members, (except in case of one person company), of the company exceeds two hundred, the excess consists wholly of persons who under second proviso to clause (ii) of sub-section (68) of section 2 of the Act are not to be included in reckoning the number of two hundred.

I/ We have examined the registers, records and books and papers of

REFEX RENEWABLES &
INFRASTRUCTURE LIMITED

as required to be

maintained under the Companies Act, 2013 (the Act) and the rules made thereunder for the financial year ended on

(DD/MM/YYYY) 31/03/2025

In my/ our opinion and to the best of my information and according to the examinations carried out by me/ us and explanations furnished to me/ us by the company, its officers and agents, I/ we certify that:

A The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.

B During the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of:

1 its status under the Act;

2 maintenance of registers/records & making entries therein within the time prescribed therefor;

3 filing of forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal , Court or other authorities within/beyond the prescribed time;

4 calling/ convening/ holding meetings of Board of Directors or its committees, if any, and the meetings of the members of the

company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions and resolutions passed by postal ballot, if any, have been properly recorded in the Minute Book/registers maintained for the purpose and the same have been signed;

5 closure of Register of Members / Security holders, as the case may be.

6 advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act;

7 contracts/arrangements with related parties as specified in section 188 of the Act;

8 issue or allotment or transfer or transmission or buy back of securities/ redemption of preference shares or debentures/ alteration or reduction of share capital/ conversion of shares/ securities and issue of security certificates in all instances;

9 keeping in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act

10 declaration/ payment of dividend; transfer of unpaid/ unclaimed dividend/other amounts as applicable to the Investor Education and Protection Fund in accordance with section 125 of the Act;

11 signing of audited financial statement as per the provisions of section 134 of the Act and report of directors is as per sub - sections (3), (4) and (5) thereof;

12 constitution/ appointment/ re-appointments/ retirement/ filling up casual vacancies/ disclosures of the Directors, Key Managerial Personnel and the remuneration paid to them;

13 appointment/ reappointment/ filling up casual vacancies of auditors as per the provisions of section 139 of the Act;

14 approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;

15 acceptance/ renewal/ repayment of deposits;

16 borrowings from its directors, members, public financial institutions, banks and others and creation/ modification/ satisfaction of charges in that respect, wherever applicable;

17 loans and investments or guarantees given or providing of securities to other bodies corporate or persons falling under the provisions of section 186 of the Act ;

18 alteration of the provisions of the Memorandum and/ or Articles of Association of the Company;

To be digitally signed by

Name

A Mohan Kumar

Date (DD/MM/YYYY)

18/10/2025

Place

Chennai

Whether associate or fellow:

Associate

Fellow

Certificate of practice number

1*1*5

XVI Declaration under Rule 9(4) of the Companies (Management and Administration) Rules, 2014

*(a) DIN/PAN/Membership number of Designated Person

39099

*(b) Name of the Designated Person

VINAY AGGARWAL

Declaration

I am authorised by the Board of Directors of the Company vide resolution number* 21 dated*
(DD/MM/YYYY) 22/05/2024 to sign this form and declare that all the requirements of Companies Act, 2013

and the rules made thereunder in respect of the subject matter of this form and matters incidental thereto have been complied with. I further declare that:

- 1 Whatever is stated in this form and in the attachments thereto is true, correct and complete and no information material to the subject matter of this form has been suppressed or concealed and is as per the original records maintained by the company.
- 2 All the required attachments have been completely and legibly attached to this form.

*To be digitally signed by

*Designation

(Director /Liquidator/ Interim Resolution Professional (IRP)/Resolution Professional (RP))

Director

*DIN of the Director; or PAN of the Interim Resolution Professional (IRP) or Resolution Professional (RP) or Liquidator

0*9*6*9*

*To be digitally signed by

Company Secretary Company secretary in practice

*Whether associate or fellow:

Associate Fellow

Membership number

3*0*9

Certificate of practice number

Note: Attention is drawn to provisions of Section 448 and 449 of the Companies Act, 2013 which provide for punishment for false statement / certificate and punishment for false evidence respectively.

For office use only:

eForm Service request number (SRN)

AB8480491

eForm filing date (DD/MM/YYYY)

22/10/2025

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company

Photograph of the registered office of the Company showing external building and name prominently visible





Refex Towers, 2nd floor, 313, Valluvar Kottam High Road, Sterling Road Signal, Nungambakkam, Chennai - 600034, Tamil Nadu, India
ரீஃபெக்ஸ் டெர்ஸ், 2வது தளம், 313, வல்லுவர் கோட்டம் வெந்துசாலை, ஸ்டெர்லிங் ரோடு சிக்னல், நூண்கம்பாக்கம், சென்னை - 600034, தமிழ்நாடு, இந்தியா

Aabhuti Special Situations Advisory LLP

தூதுகீ ஸ்பெஷல் சீக்சனலீஸ் அடையாளி எஸ்எல்ஆர்
LLPIN: ABC-2091 GSTIN: 33ABZFA3586B129

Adonis Medical Systems Private Limited

அடோனிஸ் மெடிக்ஸ் சீல்டீஸ் பிரைவெட் விமிடட்
CIN: U51397TN1998PTC121627 GSTIN: 03AACCA9866F1Z0

REFEX PHARMA SERVICES PRIVATE LIMITED

(Formerly Anam API Fine Chemicals Private Limited)
ரீஃபெக்ஸ் எபார்மா சீல்டீஸ் பிரைவெட் விமிடட்
CIN: U33119TN2021PTC142529

REFEX LIFE SCIENCES PRIVATE LIMITED

(Formerly Anam Fine Chemicals Private Limited)
ரீஃபெக்ஸ் எபார்மா சீல்டீஸ் பிரைவெட் விமிடட்
CIN: U33112TN2021PTC141761 GSTIN: 33AAUCA8721D1ZN

Broil Solar Energy Private Limited

பிராயிஸ் கோவார் என்றும் பிரைவெட் விமிடட்
CIN: U74999TN2017PTC116769 GSTIN: 33AAHCB2801E1Z2

Cauvery Power Generation Chennai Private Limited

காவூரி வர்ம் இஞ்சிரைஷன் இசைகளை பிரைவெட் விமிடட்
CIN: U40100TN2009PTC071271 GSTIN: 33AADCC7245B1Z5

Engender Developers Private Limited

எங்கேஷன்டீக் பெடல்பெர்ஸ் பிரைவெட் விமிடட்

CIN: U40100TN2016PTC112403 GSTIN: 33AAECE7748N1Z5

Grey To Green Transition Private Limited

(Formerly STPL Chemicals Private Limited)

க்ரை டு கிரை லூங்கிளீஸ் பிரைவெட் விமிடட்
(ரீஃபெக்ஸ் எபார்மா சீல்டீஸ் பிரைவெட் விமிடட்)
CIN: U35106TN2022PTC152158

Jito Chennai Plus Foundation

ஜிதோ இசைகளை பென் பவுன்டீஷன்
CIN: U88900TN2024NPL173510

Kiln Solar Energy Private Limited

கிள் கோவார் என்றும் பிரைவெட் விமிடட்
CIN: U74999TN2017PTC117081 GSTIN: 33AAGCK8374C1Z0

Pavagada Farms Private Limited

பவாகா பார்ம் பிரைவெட் விமிடட்
CIN: U01403TN2015PTC103280

Refex Airports Retail Private Limited

ரீஃபெக்ஸ் ரூபோர்ட் ரெப்பிள் பிரைவெட் விமிடட்
CIN: U68100TN2023PTC161161 GSTIN: 27AACMR7574H1Z0

Refex Airports Retail Srinagar Private Limited

ரீஃபெக்ஸ் ரூபோர்ட் ரெப்பிள் பிரைவெட் விமிடட்
CIN: U74990TN2023PTC165280 GSTIN: 01AACR1524J1ZK

Refex Airports and Transportation Private Limited

ரீஃபெக்ஸ் ரூபோர்ட் கூட்டு லூங்கிளீஸ் பிரைவெட் விமிடட்
CIN: U62100TN2021PTC148852 GSTIN: 33AALCR6215L1Z7

Refex Green Fuel Private Limited

ரீஃபெக்ஸ் கிரீன் பூபுக் பிரைவெட் விமிடட்
CIN: U45200TN2024PTC173321

Refex Green Mobility Limited

ரீஃபெக்ஸ் கிரீன் மொபைல்டீட் விமிடட்

CIN: U74909TN2023PLC158849 GSTIN: 33AAMCR5078G1Z4

Refex Green Power Limited

(Formerly Refex Green Power Private Limited)

ரீஃபெக்ஸ் கிரீன் வர்ம் விமிடட்

(ரீஃபெக்ஸ் கிரீன் வர்ம் பிரைவெட் விமிடட்)

CIN: U40108TN2019PLC132319 GSTIN: 33AAMCR5078G1Z4

Refex Industries Limited

ரீஃபெக்ஸ் இஷீட்டீஸ்டீர் விமிடட்

CIN: L45200TN2002PLC049601 GSTIN: 33AACCR2495PTZW

Refex Power Trading Private Limited

ரீஃபெக்ஸ் வர்ம் ட்ராடிங் பிரைவெட் விமிடட்

CIN: U40100TN2015PTC103258 GSTIN: 33AAICP7894A1Z4

Refex Renewables & Infrastructure Limited

(Formerly SunEdison Infrastructure Limited)

ரீஃபெக்ஸ் ரூபியூஸ் & இன்.புராவிஸ்ரீக் விமிடட்

(ரீஃபெக்ஸ் இன்.புராவிஸ்ரீக் விமிடட்)

CIN: L40100TN1994PLC028263 GSTIN: 33AACCS321IN1ZJ

Refex Research Private Limited

ரீஃபெக்ஸ் ரைசர் பிரைவெட் விமிடட்

CIN: U73100TN2010FTC074360

Refex Sustainability Solutions Limited

(Formerly Refex Sustainability Solutions Private Limited & Sil Mercury Solar Private Limited)

ரீஃபெக்ஸ் சம்மூலப்பீடிட் சொல்லியூஷன் விமிடட்

(ரீஃபெக்ஸ் சம்மூலப்பீடிட் சொல்லியூஷன் பிரைவெட் விமிடட்)

CIN: U39000TN2020PLC136949 GSTIN: 33ABECS1935J2ZB

RKMR Consultants LLP

ரூப்ரைஸ்டீர் கீல்டீஸ் எஸ்எல்ஆர்

LLPIN: ACH-9929

RKMR Estates LLP

ரூப்ரைஸ்டீர் எஸ்டெட் எஸ்எல்ஆர்

LLPIN: ACH-9935

SEI Solartech Private Limited

எஸ்எலீ கோவார்பிக் பிரைவெட் விமிடட்

CIN: U40108TN2010PTC076481

Sherisha Agriculture Private Limited

செரிஷா கிரீன்பீஷர்ஸ் பிரைவெட் விமிடட்

CIN: U01400TN2015PTC103377

Sherisha Infrastructure Private Limited

செரிஷா கிரீன்பீஷர்ஸ் பிரைவெட் விமிடட்

CIN: U40106TN2020PTC135431

Sherisha Powertech Private Limited

செரிஷா வர்மிடக் பிரைவெட் விமிடட்

CIN: U40100TN2015PTC103295 GSTIN: 33AAXCS617IL1ZL

Sherisha Rooftop Solar SPV Three Private Limited

செரிஷா ரூப்பாடம் கோவார் எஸ்பிளி தீர் பிரைவெட் விமிடட்

CIN: U40107TN2019PTC132120 GSTIN: 33ABCCS7815B1Z0

Sherisha Rooftop Solar SPV Four Private Limited

செரிஷா ரூப்பாடம் கோவார் எஸ்பிளி தீர் பிரைவெட் விமிடட்

CIN: U40106TN2019PTC132094 GSTIN: 33ABCCS7755G1Z7

Sherisha Solar LLP

செரிஷா கோவார் எஸ்எல்ஆர்

LLPIN: AAU-4741 GSTIN: 33AEGFS9719E1ZV

Sherisha Solar SPV Two Private Limited

செரிஷா கோவார் எஸ்பிளி ரூ பிரைவெட் விமிடட்

CIN: U74999TN2018PTC126030 GSTIN: 33ABBCS1978E1ZF

REFEX HOLDING PRIVATE LIMITED
(FORMERLY SHERISHA TECHNOLOGIES PRIVATE LIMITED)

ரீஃபெக்ஸ் ஹால்டிங் பிரைவெட் விமிடட்
(பிரைவெட் செரிஷா கோவார் எஸ்பிளி பிரைவெட் விமிடட்)

CIN: U2020TN201201PTC743455

GSTIN: 33AABCS3803K2Z

REFEX AIRPORTS RETAIL INDORE PRIVATE LIMITED
(ரீஃபெக்ஸ் ரூபோர்ட் இந்திர் பிரைவெட் விமிடட்)

CIN: U47890TN2025PTC176813

Sparzana Aviation Private Limited

ஸ்பர்ஜா விமான பிரைவெட் விமிடட்

CIN: U62100TN2019PTC128018 GSTIN: 33ABBCS7395H1Z2

STPL Horticulture Private Limited

ஸ்டீலுபிள் ஹார்ட்கெல்ஸ் பிரைவெட் விமிடட்

CIN: U40100TN2015PTC103281 GSTIN: 33AACXCS6170M1ZK

Taper Solar Energy Limited

(Formerly Taper Solar Energy Private Limited)

தெபர் கோவார் என்றும் விமிடட்

(ரீஃபெக்ஸ் டெபர் கோவார் என்றும் பிரைவெட் விமிடட்)

CIN: U74999TN2017PLC117079 GSTIN: 24AAGCT3024N1ZA

Traction Infra LLP

திராக்ஷன் இன்.பிராப் எஸ்எல்ஆர்

LLPIN: AAJ-3779

Welfund Climate Technology Advisory Private Limited

வெல்ட்.பால் கலைநட டெக்னாலஜி அடையாளி பிரைவெட் விமிடட்

CIN: U72900TN2022PTC152059 GSTIN: 33AADCW253701ZX

Welfund Rooftop CHS SPV1 Private Limited

வெல்ட்.பால் கூப்பாடம் சிக்னல் எஸ்பிளி பிரைவெட் விமிடட்

CIN: U40106TN2022PTC152894 GSTIN: 33AADCW2828C1Z0

Welfund Sustainable Assets SPV-1 Private Limited

வெல்ட்.பால் சல்லிட்டீமாட் அடையாளி எஸ்பிளி பிரைவெட் விமிடட்

CIN: U40200TN2022PTC153873 GSTIN: 33AADCW3190M1Z2

Wither Solar Energy Private Limited

வீதர் கோவார் என்றும் பிரைவெட் விமிடட்

CIN: U74999TN2017PTC117072 GSTIN: 33AACW20256B1ZX

3i Medical Equipment Manufacturing Private Limited

ஓய் மெஷ்கல் எக்ஸ்பிளிக் பெஷர்ஸ் பிரைவெட் விமிடட்

CIN: U32503TN2024PTC167021 GSTIN: 33AACZ3372K1Z4

3i Medical Technologies Private Limited

ஓய் மெஷ்கல் எட்டொலைஸ் பிரைவெட் விமிடட்

CIN: U3310TN2020PTC139683 GSTIN: 33ABCZ6388G1Z0

Details of share Transfer as on March 31, 2025

Date of registration of transfer (Date Month Year)	Type of transfer	Class of shares transferred	Number of Shares/Debentures/Units Transferred	Amount per Share/Debenture/Unit (in Rs.)	Ledger Folio of Transferor	Transferor's Name	Ledger Folio of Transferee	Transferee's Name (Surname, middle name, first name)
30/08/2024	Equity share	1	500	10	00000583	Ramniranjan Goyal	00001434	Lalitha Agarwal
06/11/2024	Equity share	1	6500	10	00001272	Devi K	00001437	Devi

GNSA Infotech Private Ltd.



STA Department,
Nelson Chambers, F-Block, 4th Floor, #115, Nelson Manickam Road, Aminthakarai,
Chennai – 600 030. Tel : +91-44-42962025 Email : sta@gnsaindia.com
Website: gnsaindia.com CIN-U65993TN1994PTC027878

August 28, 2025

REFEX RENEWABLES & INFRASTRUCTURE LIMITED

2nd Floor, Refex Towers, Sterling Road Signal,
313, Valluvar Kottam High Road,
Nungambakkam, Chennai – 600034.

Kind Attn: VINAY AGGARWAL

Dear Sir,

Sub: Confirmation regarding non-availability of certain data required to file e-Form MGT-7.

With reference to the captioned subject, we hereby confirm that the following details required to file e-Form MGT -7 are not available in our system records.

1. Gender-Wise Classification of Shareholders;

This confirmation is being issued at your specific request and is based on the data available in our system as the Share Transfer Agent.

Thanking You,

Yours Faithfully,
For GNSA Infotech Private Limited

N
KRISHNAK
UMAR

Digitally signed
by N
KRISHNAKUMAR
Date: 2025.08.28
11:24:34 +05'30'

N. Krishna kumar
Compliance Officer

Details of Shareholders and Debenture holders as on March 31, 2025

Sr. No.	Type of shareholder/ debenture holder	Category of shareholder	Details of shareholder/ debenture holder	Name of shareholder/ debenture holder	Type of security held	Class of security held	Folio Number / Reference Number	DP ID-Client Id- Account Number	Nationality/ Country of incorporation	Gender	Type of Identifier	Identification No.	Occupation	Number of security held	Nominal value per security	Total amount of securities held (in INR)
1	Entity	Promotor	Body corporate (not mentioned above)	AVYAN RENEWABLE SOLAR PRIVATE LIMITED	Equity	1		1203500001569932	India	Not applicable	Income Tax PAN	AAOCA7826R		1391869	10	1,39,18,690
2	Entity	Promotor	Body corporate (not mentioned above)	SHERISHA TECHNOLOGIES PRIVATE LIMITED	Equity	1		IN30309310246313	India	Not applicable	Income Tax PAN	AANCS8003K		1975556	10	1,97,55,560
3	Entity	Other than promoter	Body corporate (not mentioned above)	SAI VEERAN AGENCIES	Equity	1		1208160099690863	India	Not applicable	Income Tax PAN	ABECS4502K		42128	10	4,21,280
4	Entity	Other than promoter	Body corporate (not mentioned above)	LABELLE BODY CARE PRIVATE LIMITED	Equity	1		1201090038202201	India	Not applicable	Income Tax PAN	AAACL9666N		18215	10	1,82,150
5	Entity	Other than promoter	Body corporate (not mentioned above)	MI LIFESTYLE MARKETING GLOBAL PRIVATE LIMITED	Equity	1		1203760000646504	India	Not applicable	Income Tax PAN	AAGCR3125G		15213	10	1,52,130
6	Entity	Other than promoter	Body corporate (not mentioned above)	TARC STUDIOS LLP	Equity	1		1208160114434425	India	Not applicable	Income Tax PAN	AARFT9553E		6706	10	67,060
7	Entity	Other than promoter	Body corporate (not mentioned above)	SINGHVI HERITAGE LLP	Equity	1		1207650000257972	India	Not applicable	Income Tax PAN	ADQFS0922G		3000	10	30,000
8	Entity	Other than promoter	Body corporate (not mentioned above)	SPATIK INVESTMENTS LLP	Equity	1		1201090008316802	India	Not applicable	Income Tax PAN	ADHFS5754M		1815	10	18,150
9	Entity	Other than promoter	Body corporate (not mentioned above)	INDO THAI SECURITIES LIMITED-INVESTMENT ACCOUNT	Equity	1		1205090000037521	India	Not applicable	Income Tax PAN	AAACI4380E		1070	10	10,700
10	Entity	Other than promoter	Body corporate (not mentioned above)	PRATHAM COAL MOVERS & TRADERS PRIVATE LIMITED	Equity	1		1202060001711829	India	Not applicable	Income Tax PAN	AAGCP0821K		200	10	2,000
11	Entity	Other than promoter	Body corporate (not mentioned above)	ARIHANTS SECURITIES LIMITED	Equity	1		1201090037216175	India	Not applicable	Income Tax PAN	AAACA3064B		100	10	1,000
12	Entity	Other than promoter	Body corporate (not mentioned above)	K DAMANI SECURITIES PRIVATE LIMITED	Equity	1		1203230000318007	India	Not applicable	Income Tax PAN	AABCK6800C		100	10	1,000
13	Entity	Other than promoter	Body corporate (not mentioned above)	RAHUL TRADE VISION PRIVATE LIMITED	Equity	1		1201770101468679	India	Not applicable	Income Tax PAN	AAHCR4186L		100	10	1,000
14	Entity	Other than promoter	Body corporate (not mentioned above)	MAHESHWAR CREDIT & FISCAL PVT. LTD.	Equity	1		1203450000031485	India	Not applicable	Income Tax PAN	AACCM3150A		50	10	500

15	Entity	Other than promoter	Body corporate (not mentioned above)	BILAV INFORMATION SERVICES LLP	Equity	1		1201170000134185	India	Not applicable	Income Tax PAN	AAKFB6186C			1	10	10
16	Entity	Other than promoter	Body corporate (not mentioned above)	DUGAR FINANCE AND INVESTMENTS LIMITED	Equity	1		IN30021426952610	India	Not applicable	Income Tax PAN	AAACD1947N			59154	10	5,91,540
17	Individual	Other than promoter	Others	VIDYA M V	Equity	1	00000062		India	Female					2000	10	20,000
18	Individual	Other than promoter	Others	S RAJESH KUMAR JAIN	Equity	1		IN30226914658236	India	Male	Income Tax PAN	AAOPJ1841L			47561	10	4,75,610
19	Individual	Other than promoter	Others	ASHISH CHUGH	Equity	1		1204980000229480	India	Male	Income Tax PAN	ACZPC1166E			32479	10	3,24,790
20	Individual	Other than promoter	Others	VISHESH HARSHAD MEHTA	Equity	1		1208160000781007	India	Male	Income Tax PAN	AQIPM1710F			30748	10	3,07,480
21	Individual	Other than promoter	Others	SRIRAM BALASUBRAMANIAM	Equity	1		IN30143695265002	India	Male	Income Tax PAN	AFAPS7144E			26870	10	2,68,700
22	Individual	Other than promoter	Others	KASTHURI K	Equity	1	00000074		India	Female					2000	10	20,000
23	Individual	Other than promoter	Others	RAVIKANT CHOUDHRY	Equity	1	00001427		India	Male	Income Tax PAN	AAEPR7102C			20300	10	2,03,000
24	Individual	Other than promoter	Others	RAMESH DUGAR	Equity	1		IN30108022735815	India	Male	Income Tax PAN	AADPD8106B			15700	10	1,57,000
25	Entity	Other than promoter	Body corporate (not mentioned above)	MBFS INVESTMENTS PVT LTD	Equity	1	00001340		India	Not applicable	Income Tax PAN	00001340			14600	10	1,46,000
26	Individual	Other than promoter	Others	JAYARAMAN K	Equity	1	00001170		India	Male	Income Tax PAN	AHUPJ3373Q			14400	10	1,44,000
27	Individual	Other than promoter	Others	BHARAT KUMAR	Equity	1		1203500001653619	India	Male	Income Tax PAN	AABPK2881L			14000	10	1,40,000
28	Individual	Other than promoter	Others	SATHIAMURTHI R	Equity	1	00001369		India	Male	Income Tax PAN	BSQPS7871E			13900	10	1,39,000
29	Individual	Other than promoter	Others	JAYANA CHANDRAKUMAR JAIN	Equity	1		IN30160412076090	India	Female	Income Tax PAN	AAAPJ8297N			12059	10	1,20,590
30	Individual	Other than promoter	Others	CHANDRAKUMAR KHANMALJI JAIN	Equity	1		IN30160410499853	India	Male	Income Tax PAN	AAFPJ8043F			11658	10	1,16,580
31	Individual	Other than promoter	Others	R SONALI DUGAR	Equity	1		IN30108022735823	India	Female	Income Tax PAN	AKZPS1478F			9500	10	95,000
32	Individual	Other than promoter	Others	SHRADHA SURANA	Equity	1		1208160054581374	India	Female	Income Tax PAN	DLLPS1546A			8869	10	88,690
33	Individual	Other than promoter	Others	CHUNNILAL JAIN A	Equity	1		1207190000012421	India	Male	Income Tax PAN	AAEPC5214A			8400	10	84,000
34	Individual	Other than promoter	Others	UMA SURESH	Equity	1	00001084		India	Female	Income Tax PAN	AANPU8430F			8300	10	83,000
35	Individual	Other than promoter	Others	PINKY AKASHKUMAR	Equity	1		1203500001653623	India	Female	Income Tax PAN	AAGPP8973K			8000	10	80,000
36	Individual	Other than promoter	Others	ANIL KUMAR AGRAWAL	Equity	1		IN30021423361760	India	Male	Income Tax PAN	AAZFS0612H			8000	10	80,000
37	Individual	Other than promoter	Others	KESAVA RAJA LINGAM V	Equity	1	00000204		India	Male					7600	10	76,000

38	Individual	Other than promoter	Others	AMIT SIMRATHMAL JAIN	Equity	1		1204450000119607	India	Male	Income Tax PAN	AKLPA9591M		7524	10	75,240
39	Individual	Other than promoter	Others	PRITHI S THAKKER	Equity	1	00001166		India	Female	Income Tax PAN	00001166		7500	10	75,000
40	Individual	Other than promoter	Others	HANSHA R THAKKER	Equity	1	00001167		India	Female	Income Tax PAN	00001167		7500	10	75,000
41	Individual	Other than promoter	Others	SANGEETHA H THAKKER	Equity	1	00001169		India	Female	Income Tax PAN	00001169		7500	10	75,000
42	Individual	Other than promoter	Others	HASMUKH M THAKKER	Equity	1	00001159		India	Male	Income Tax PAN	00001159		7400	10	74,000
43	Individual	Other than promoter	Others	RAJENDRA SINGH POKHARNA	Equity	1		1202470000433565	India	Male	Income Tax PAN	ABDPP2012P		6690	10	66,900
44	Individual	Other than promoter	Others	RAJESH P SURANA	Equity	1		1208160031479987	India	Male	Income Tax PAN	AASPS2211B		6523	10	65,230
45	Individual	Other than promoter	Others	JYOTHI M THAKKER	Equity	1	00001168		India	Female	Income Tax PAN	ALXPD1994J		6500	10	65,000
46	Individual	Other than promoter	Others	Devi	Equity	1		IN30133041421819	India	Female	Income Tax PAN	AAUPD4432D		5900	10	59,000
47	Individual	Other than promoter	Others	REKHA MAHESH JAIN	Equity	1		IN30311613876977	India	Female	Income Tax PAN	AHHPJ3384J		5604	10	56,040
48	Individual	Other than promoter	Others	KANAN K M	Equity	1	00001273		India	Male				5300	10	53,000
49	Individual	Other than promoter	Others	ROHAN KUMAR DIXIT	Equity	1		1208160010953704	India	Male	Income Tax PAN	ECGPD3249J		5153	10	51,530
50	Entity	Other than promoter	Others	DEEPAK MITTAL (HUF)	Equity	1		1201350000093131	India	Male	Income Tax PAN	AABHM6870K		5000	10	50,000
51	Individual	Other than promoter	Others	KUMARPAL R CHOPRA	Equity	1		IN30154934955751	India	Male	Income Tax PAN	AGWPC7961L		4713	10	47,130
52	Individual	Other than promoter	Others	TARUN JAIN	Equity	1		1203230002488337	India	Male	Income Tax PAN	AACPT9174E		4146	10	41,460
53	Entity	Other than promoter	Body corporate (not mentioned above)	ARADHYAA INFRA & HOLDINGS PRIVATE LIMITED	Equity	1		IN30415810205788	India	Not applicable	Income Tax PAN	AATCA4131G		4145	10	41,450
54	Individual	Other than promoter	Others	VIDHI GUPTA	Equity	1		1208160081280103	India	Female	Income Tax PAN	AHHPG0261D		3900	10	39,000
55	Individual	Other than promoter	Others	SHANTADEVI SOHANRAJ DOSHI	Equity	1		1204470004999214	India	Female	Income Tax PAN	AECPD0200R		3865	10	38,650
56	Individual	Other than promoter	Others	KARTHIKEYAN S	Equity	1	00001365		India	Male				3800	10	38,000
57	Individual	Other than promoter	Others	KRISHNAMOORTHY K	Equity	1	00001133		India	Male				3700	10	37,000
58	Individual	Other than promoter	Others	DEEPAK MITTAL	Equity	1		1208160062675920	India	Male	Income Tax PAN	AIUPM1474E		3583	10	35,830
59	Individual	Other than promoter	Others	REKHA KALPESH DOSHI	Equity	1		1204470004979998	India	Female	Income Tax PAN	AMNPD7592D		3500	10	35,000
60	Individual	Other than promoter	Others	ANITA HITESH JAIN	Equity	1		1205370000035513	India	Female	Income Tax PAN	ANUPJ0283H		3380	10	33,800
61	Individual	Other than promoter	Others	ANUSHA KATHED	Equity	1		IN30021415855947	India	Female	Income Tax PAN	BQTPS8759Q		3250	10	32,500

62	Individual	Other than promoter	Others	PARUL MADHUKANT PATEL	Equity	1		1201120100048635	India	Female	Income Tax PAN	AAKPP7930J		3200	10	32,000
63	Individual	Other than promoter	Others	GLADIS MENEZES	Equity	1		1208160009740569	India	Female	Income Tax PAN	BLMPM8018E		3002	10	30,020
64	Individual	Other than promoter	Others	THIRUGANASAMBANDAM M	Equity	1	00000064		India	Male				1500	10	15,000
65	Individual	Other than promoter	Others	JANAKI K	Equity	1	00001270		India	Female				3000	10	30,000
66	Individual	Other than promoter	Others	JYOTI NIRAJ AGARWAL	Equity	1		IN30429579838790	India	Female	Income Tax PAN	AIUPA7480N		3000	10	30,000
67	Individual	Other than promoter	Others	SHANTHIVIJAYAKUMAR KOTHANDAM	Equity	1		1208180008954268	India	Female	Income Tax PAN	AKQPK2337N		2846	10	28,460
68	Individual	Other than promoter	Others	NEELAM SINGHANIA	Equity	1		IN30021415037681	India	Female	Income Tax PAN	AKHPS6512N		2835	10	28,350
69	Individual	Other than promoter	Others	R K JHA	Equity	1		IN30290240251206	India	Male	Income Tax PAN	ADVPJ0259N		2650	10	26,500
70	Individual	Other than promoter	Others	RUCHITA JAIN	Equity	1		1208160127269791	India	Female	Income Tax PAN	FOBPR5596L		2617	10	26,170
71	Individual	Other than promoter	Others	KRISHNA MOORTHY V	Equity	1	00001334		India	Male				2600	10	26,000
72	Individual	Other than promoter	Others	THILAGAVATHY K	Equity	1	00001115		India	Female	Income Tax PAN	ACKPT4445N		2600	10	26,000
73	Individual	Other than promoter	Others	SHOBHA DEVI BAJAJ	Equity	1		1208160047743405	India	Female	Income Tax PAN	ACSPB6586E		2568	10	25,680
74	Individual	Other than promoter	Others	SARASWATHI K	Equity	1	00000129		India	Female				2500	10	25,000
75	Individual	Other than promoter	Others	MEENAKUMARI M S	Equity	1	00000134		India	Female				2500	10	25,000
76	Individual	Other than promoter	Others	SATHYA SEKAR M K	Equity	1	00000135		India	Male				2500	10	25,000
77	Individual	Other than promoter	Others	NIRMALA V	Equity	1	00000490		India	Female				2500	10	25,000
78	Individual	Other than promoter	Others	GIRIJA N	Equity	1	00000495		India	Female				2500	10	25,000
79	Individual	Other than promoter	Others	SUMATHI J	Equity	1	00000496		India	Female				2500	10	25,000
80	Entity	Other than promoter	Others	ADITYA CHUGH HUF	Equity	1		1204980000320228	India	Male	Income Tax PAN	ABAFA3397D		2486	10	24,860
81	Individual	Other than promoter	Others	RAMESH KUMAR CHOPRA	Equity	1		1301240003506551	India	Male	Income Tax PAN	AAEPC2637B		2361	10	23,610
82	Individual	Other than promoter	Others	VEERAMA DEVI P	Equity	1	00001082		India	Male	Income Tax PAN	BGMPJ5082Q		2300	10	23,000
83	Individual	Other than promoter	Others	MADHUKANT SUNDERLAL PATEL	Equity	1		1201120100048620	India	Male	Income Tax PAN	AAKPP7931K		2215	10	22,150
84	Entity	Other than promoter	Body corporate (not mentioned above)	STERLING SECURITIES & FUTURES P LTD	Equity	1	00001191		India	Not applicable				2200	10	22,000
85	Individual	Other than promoter	Others	UMA MAHESWARA RAO NUKALA	Equity	1	00001123		India	Male	Income Tax PAN	ACUPM0173C		2200	10	22,000

86	Individual	Other than promoter	Others	ABHINAV GOYAL	Equity	1		1208180020153497	India	Male	Income Tax PAN	ANUPG1881E		2200	10	22,000
87	Individual	Other than promoter	Others	MANISH VIDYASAGAR	Equity	1		1208160001219076	India	Male	Income Tax PAN	AVQPV2638A		2189	10	21,890
88	Individual	Other than promoter	Others	NIRMALA K	Equity	1	00000065		India	Female				1500	10	15,000
89	Individual	Other than promoter	Others	SHANKAR .	Equity	1		1208160016366489	India	Male	Income Tax PAN	CUVPS4711D		2107	10	21,070
90	Individual	Other than promoter	Others	MATHIVANAN N	Equity	1	00001218		India	Male				2100	10	21,000
91	Individual	Other than promoter	Others	SARANGAN D	Equity	1	00001332		India	Male				2100	10	21,000
92	Individual	Other than promoter	Others	KRISHAN KISHORE BAJAJ	Equity	1		IN30051314699060	India	Male	Income Tax PAN	AKMPB0215C		2016	10	20,160
93	Individual	Other than promoter	Others	LALINI BEZWADA	Equity	1	00000058		India	Female				1000	10	10,000
94	Individual	Other than promoter	Others	BALAKRISHNAN VISWANATHAN	Equity	1	00000071		India	Male				1000	10	10,000
95	Individual	Other than promoter	Others	RAVINDRAN CP	Equity	1	00001292		India	Male				2000	10	20,000
96	Individual	Other than promoter	Others	RAJA REDDY D	Equity	1	00000075		India	Male				1000	10	10,000
97	Individual	Other than promoter	Others	PREMLATA GUPTA	Equity	1		1208160092901373	India	Female	Income Tax PAN	ADVPG2076Q		2000	10	20,000
98	Individual	Other than promoter	Others	JAGDISH TEJRAJJI PALRECHA	Equity	1		1203320000091539	India	Male	Income Tax PAN	AISPP2386E		2000	10	20,000
99	Individual	Other than promoter	Others	MADHUMITA LOHIA	Equity	1		IN30318110065084	India	Female	Income Tax PAN	AKEPP9694H		2000	10	20,000
100	Individual	Other than promoter	Others	JAYSHREE JAGDISH PARLESHA	Equity	1		1203320009931972	India	Female	Income Tax PAN	BKPPS5337C		2000	10	20,000
101	Individual	Other than promoter	Others	MADANLAL NANDLALJI SINGHVI	Equity	1		1202890001873437	India	Male	Income Tax PAN	ABHPS7621K		1950	10	19,500
102	Entity	Other than promoter	Body corporate (not mentioned above)	RAJANARAYAN FINANCIAL SERVICE LTD	Equity	1	00000146		India	Not applicable				1900	10	19,000
103	Individual	Other than promoter	Others	PURNACHANDRA RAO ALAPATI	Equity	1	00001155		India	Male				1900	10	19,000
104	Individual	Other than promoter	Others	DEVARAJAN C	Equity	1	00001174		India	Male				1900	10	19,000
105	Individual	Other than promoter	Others	CHINNUSAMY V R	Equity	1	00001175		India	Male				1900	10	19,000
106	Individual	Other than promoter	Others	PALANISAMY S	Equity	1	00001176		India	Male				1900	10	19,000
107	Individual	Other than promoter	Others	KANAGASABAPATHY C	Equity	1	00001177		India	Male				1900	10	19,000
108	Individual	Other than promoter	Others	Riya Lunawat	Equity	1		IN30021430377704	India	Female	Income Tax PAN	CIGPS3654C		1892	10	18,920
109	Individual	Other than promoter	Others	KIRAN SINGHANIA	Equity	1		IN30311613613456	India	Male	Income Tax PAN	AKHPS6506L		1844	10	18,440

110	Individual	Other than promoter	Others	PARESH ASHOK SANGHVI	Equity	1		1208160068481331	India	Male	Income Tax PAN	BMBPS5340F		1837	10	18,370
111	Individual	Other than promoter	Others	SUBRAMANIS	Equity	1	00001172		India	Male				1800	10	18,000
112	Individual	Other than promoter	Others	AZEEZ AHAMED M	Equity	1	00001280		India	Male				1800	10	18,000
113	Individual	Other than promoter	Others	NANDU U DAVEY	Equity	1	00001333		India	Male				1800	10	18,000
114	Individual	Other than promoter	Others	MANJULA T V	Equity	1	00001116		India	Female				1700	10	17,000
115	Individual	Other than promoter	Others	NIDHI JAIN	Equity	1		1208160124357421	India	Female	Income Tax PAN	BDZPJ2866C		1700	10	17,000
116	Individual	Other than promoter	Others	STANLEY EVERESTANTONY MENEZES	Equity	1		1208160008764240	India	Male	Income Tax PAN	AYUPM3857D		1601	10	16,010
117	Individual	Other than promoter	Others	MEIYAPPAN RM	Equity	1	00001157		India	Male				1600	10	16,000
118	Individual	Other than promoter	Others	JOGINDRA KUMAR T	Equity	1	00001216		India	Male				1600	10	16,000
119	Individual	Other than promoter	Others	TAMIL SELVI	Equity	1	00001148		India	Female	Income Tax PAN	AEQPT6930E		1600	10	16,000
120	Individual	Other than promoter	Others	BALASUBRAMANIAM C	Equity	1	00000600		India	Male				1500	10	15,000
121	Individual	Other than promoter	Others	PAZANI O K	Equity	1	00000098		India	Male				1000	10	10,000
122	Individual	Other than promoter	Others	RAMAKRISHNAN S	Equity	1	00000036		India	Male				500	10	5,000
123	Individual	Other than promoter	Others	SANKAR REDDY PONDLA	Equity	1	00000442		India	Male				1500	10	15,000
124	Individual	Other than promoter	Others	KONDURU SAVARNI	Equity	1	00001370		India	Female				1500	10	15,000
125	Individual	Other than promoter	Others	DEEPAK KUMAR	Equity	1		1208160017041948	India	Male	Income Tax PAN	AIHPK1605L		1500	10	15,000
126	Individual	Other than promoter	Others	RAVI GOENKA	Equity	1		IN30032710600815	India	Male	Income Tax PAN	ADTPG6738K		1491	10	14,910
127	Individual	Other than promoter	Others	KRISHNA DEVI	Equity	1		IN30198311133905	India	Female	Income Tax PAN	BMMPD2068L		1489	10	14,890
128	Individual	Other than promoter	Others	LALITH KUMAR	Equity	1		1205140000458291	India	Male	Income Tax PAN	AAHPD9138M		1485	10	14,850
129	Individual	Other than promoter	Others	OMPRAKASH M DHARIWAL	Equity	1		IN30021421180499	India	Male	Income Tax PAN	ABPPD6938J		1467	10	14,670
130	Individual	Other than promoter	Others	SELVARAJ T	Equity	1	00000041		India	Male				500	10	5,000
131	Entity	Other than promoter	Others	VIKAS JAIN HUF	Equity	1		IN30295120280201	India	Male	Income Tax PAN	AAFHV1361Q		1400	10	14,000
132	Individual	Other than promoter	Others	SUBBARATNAM NAGASURI	Equity	1	00001127		India	Female	Income Tax PAN	AAIPS8040G		1400	10	14,000
133	Individual	Other than promoter	Others	HASUMATI SUNDERLAL PATEL	Equity	1		1201120100051291	India	Female	Income Tax PAN	ABTPP1922E		1400	10	14,000
134	Individual	Other than promoter	Others	MEENA SHANKARLAL JAIN	Equity	1		1201210000068716	India	Female	Income Tax PAN	AFPPJ8945K		1361	10	13,610

135	Individual	Other than promoter	Others	PERIYAKARUPPAN L	Equity	1	00001312		India	Male					1300	10	13,000
136	Individual	Other than promoter	Others	NIRAJ RAMESHCHANDRA AGARWAL	Equity	1		IN30429579837362	India	Male	Income Tax PAN	ACLPA4189K			1300	10	13,000
137	Entity	Other than promoter	Others	RAJINDER SINGH JAIN HUF	Equity	1		IN30051388929839	India	Male	Income Tax PAN	AAWHR7689J			1297	10	12,970
138	Individual	Other than promoter	Others	SRINIVASAN RAMESH	Equity	1		1208160093388506	India	Male	Income Tax PAN	AFOPR9618C			1290	10	12,900
139	Individual	Other than promoter	Others	DHANUSH CHAKRAPANI	Equity	1		1208160091375629	India	Male	Income Tax PAN	BVSPK5292G			1265	10	12,650
140	Individual	Other than promoter	Others	MOHIT A DOSHI	Equity	1		1203320185516017	India	Male	Income Tax PAN	EQMPD7827J			1250	10	12,500
141	Individual	Other than promoter	Others	SWATHI VIJAYA LAKSHMI JONNALAGADDA	Equity	1		1201260000303681	India	Female	Income Tax PAN	CJBPJ4362G			1205	10	12,050
142	Individual	Other than promoter	Others	RAMESH N	Equity	1	00001141		India	Male					1200	10	12,000
143	Individual	Other than promoter	Others	MENON V	Equity	1	00001201		India	Male					1200	10	12,000
144	Individual	Other than promoter	Others	SRINIVASA RAO K	Equity	1	00001214		India	Male					1200	10	12,000
145	Individual	Other than promoter	Others	MUKESHKUMAR BOHRA	Equity	1		1201210000127680	India	Male	Income Tax PAN	AESPK3466N			1158	10	11,580
146	Individual	Other than promoter	Others	PRATEEK DOSI	Equity	1		1208160055557868	India	Male	Income Tax PAN	EFCPD2648Q			1158	10	11,580
147	Individual	Other than promoter	Others	SAMRIDDH KOTHARI	Equity	1		IN30302851851511	India	Male	Income Tax PAN	GWWPK4454G			1120	10	11,200
148	Individual	Other than promoter	Others	RITESH RAMESHCHAND AGARWAL	Equity	1		IN30429580120699	India	Male	Income Tax PAN	ADMPA4355K			1109	10	11,090
149	Individual	Other than promoter	Others	PANDURANGAN G	Equity	1	00000042		India	Male					500	10	5,000
150	Individual	Other than promoter	Others	DINESH KUMAR BHATTAD	Equity	1		1208160135949357	India	Male	Income Tax PAN	AAPPB0884J			1100	10	11,000
151	Individual	Other than promoter	Others	BHUPESH KUMAR	Equity	1		1201090023282392	India	Male	Income Tax PAN	AFAPB3774M			1100	10	11,000
152	Individual	Other than promoter	Others	KAMALKISHORE CHANDAK	Equity	1		1208250006785029	India	Male	Income Tax PAN	AAEPC5011D			1022	10	10,220
153	Individual	Other than promoter	Others	MADANA GOPAL G K	Equity	1	00000043		India	Male					500	10	5,000
154	Individual	Other than promoter	Others	RADHARANIS	Equity	1	00000046		India	Female					500	10	5,000
155	Individual	Other than promoter	Others	SANJEEVIT	Equity	1	00000047		India	Male					500	10	5,000
156	Individual	Other than promoter	Others	SATHIAMURTHY T M	Equity	1	00000054		India	Male					500	10	5,000
157	Individual	Other than promoter	Others	JAYAKUMAR M	Equity	1	00000100		India	Male					1000	10	10,000
158	Individual	Other than promoter	Others	SATHISH S B	Equity	1	00000103		India	Male					1000	10	10,000
159	Individual	Other than promoter	Others	MANJUNATH D	Equity	1	00000104		India	Male					1000	10	10,000

160	Individual	Other than promoter	Others	UMA S	Equity	1	00001197		India	Female					1000	10	10,000
161	Individual	Other than promoter	Others	LATHA SRINIVASAN G S	Equity	1	00000137		India	Female					1000	10	10,000
162	Individual	Other than promoter	Others	BALASUBRAMANIAN A	Equity	1	00000138		India	Male					1000	10	10,000
163	Individual	Other than promoter	Others	MURAHARI S	Equity	1	00000201		India	Male					1000	10	10,000
164	Individual	Other than promoter	Others	GERALYN B KUMAR	Equity	1	00000403		India	Female					1000	10	10,000
165	Individual	Other than promoter	Others	KUMAR B	Equity	1	00000404		India	Male					1000	10	10,000
166	Individual	Other than promoter	Others	RUKKUMANI D	Equity	1	00000422		India	Female					1000	10	10,000
167	Individual	Other than promoter	Others	THIRUMUDIT	Equity	1	00000440		India	Male					1000	10	10,000
168	Individual	Other than promoter	Others	JAYALAKSHMI P	Equity	1	00000454		India	Female					1000	10	10,000
169	Individual	Other than promoter	Others	PRATAP REDDY M	Equity	1	00000456		India	Male					1000	10	10,000
170	Individual	Other than promoter	Others	RAJA RAJESWARI BALARAMAN	Equity	1	00000500		India	Female					1000	10	10,000
171	Individual	Other than promoter	Others	CHANDRA D	Equity	1	00000523		India	Female					1000	10	10,000
172	Individual	Other than promoter	Others	JOHN RAVINDRANATH S	Equity	1	00000533		India	Male					1000	10	10,000
173	Individual	Other than promoter	Others	ARUMUGAM V	Equity	1	00000562		India	Male					1000	10	10,000
174	Individual	Other than promoter	Others	KABILAR S	Equity	1	00000563		India	Male					1000	10	10,000
175	Individual	Other than promoter	Others	SURESH J	Equity	1	00000564		India	Male					1000	10	10,000
176	Individual	Other than promoter	Others	JOSEPH ROZARIO	Equity	1	00000577		India	Male					1000	10	10,000
177	Individual	Other than promoter	Others	SUSHEELA BAI	Equity	1	00000687		India	Female					1000	10	10,000
178	Individual	Other than promoter	Others	JAYANTHI M	Equity	1	00000929		India	Female					1000	10	10,000
179	Individual	Other than promoter	Others	MANJULA YENAMALA	Equity	1	00001004		India	Female					1000	10	10,000
180	Individual	Other than promoter	Others	SWATHY R	Equity	1	00001018		India	Female					1000	10	10,000
181	Individual	Other than promoter	Others	VASUDHA K	Equity	1	00001050		India	Female					1000	10	10,000
182	Individual	Other than promoter	Others	SUNDARA ANANTHAM S	Equity	1	00001106		India	Male					1000	10	10,000
183	Individual	Other than promoter	Others	MEENAKSHI SUNDARAM N	Equity	1	00001233		India	Male					1000	10	10,000
184	Individual	Other than promoter	Others	VISWANTHAN B	Equity	1	00001293		India	Male					1000	10	10,000

185	Entity	Other than promoter	Body corporate (not mentioned above)	RAPIER MACHINERY MANUFACTURING COMPANY INDIA PRIVATE	Equity	1		IN30302876055733	India	Not applicable	Income Tax PAN	AAACJ3877B		1000	10	10,000
186	Individual	Other than promoter	Others	JAYESH B BHANSALI	Equity	1		IN30429510612966	India	Male	Income Tax PAN	AAAPB8921F		1000	10	10,000
187	Individual	Other than promoter	Others	RITA CHANDRASEKAR.	Equity	1		1201090016253527	India	Female	Income Tax PAN	AAAPR5361F		1000	10	10,000
188	Individual	Other than promoter	Others	MUFATLAL JAIN	Equity	1		1203320069019851	India	Male	Income Tax PAN	AACPJ1090P		1000	10	10,000
189	Entity	Other than promoter	Body corporate (not mentioned above)	MANGAL MAYEE VANIJYA PRIVATE LIMITED	Equity	1		IN30295120206839	India	Not applicable	Income Tax PAN	AAECM5658D		1000	10	10,000
190	Individual	Other than promoter	Others	RAM AWTAR SHARMA	Equity	1	00001426		India	Male	Income Tax PAN	AAIPS6508F		1000	10	10,000
191	Individual	Other than promoter	Others	KIRTIKANT SHANTILAL NANAVATI	Equity	1		1204780000101548	India	Male	Income Tax PAN	AAKPN0444P		1000	10	10,000
192	Individual	Other than promoter	Others	PANKAJ KUMAR JALAN	Equity	1	00000594		India	Male	Income Tax PAN	ACIPJ6749D		1000	10	10,000
193	Individual	Other than promoter	Others	PIKESH MANGILAL JAIN	Equity	1		1201700000381628	India	Male	Income Tax PAN	ADCPJ8548F		1000	10	10,000
194	Individual	Other than promoter	Others	MAMTA P JAIN	Equity	1		1203320010431306	India	Female	Income Tax PAN	AJOPM9266D		1000	10	10,000
195	Individual	Other than promoter	Others	BHUVANESHWARI V	Equity	1	00000493		India	Female	Income Tax PAN	ALAPB1384M		1000	10	10,000
196	Individual	Other than promoter	Others	KANHAIYALAL SURENDRAKUMAR SHAH	Equity	1		1202870000427376	India	Male	Income Tax PAN	APTPS7942H		1000	10	10,000
197	Individual	Other than promoter	Others	KALPANA NITESH JAIN	Equity	1		1203320010431291	India	Female	Income Tax PAN	AXIPS6571P		1000	10	10,000
198	Individual	Other than promoter	Others	R SREELATHA	Equity	1		IN30171532029917	India	Female				1000	10	10,000
199	Individual	Other than promoter	Others	APOORVA PAREEK	Equity	1		IN30302823383651	India	Female	Income Tax PAN	ACWPP3074H		963	10	9,630
200	Individual	Other than promoter	Others	HEMANG HEMANT KHOKHANI	Equity	1		1208160151702453	India	Male	Income Tax PAN	AKNPK9611Q		957	10	9,570
201	Entity	Other than promoter	Others	NAGESH VEERARAGHAVAIAH	Equity	1		IN30154966106861	India	Male	Income Tax PAN	AAKHN3221N		940	10	9,400
202	Individual	Other than promoter	Others	CHANDRAMOULIS	Equity	1	00001028		India	Male				900	10	9,000
203	Individual	Other than promoter	Others	SUBRAMANIAN A	Equity	1	00001266		India	Male				900	10	9,000
204	Individual	Other than promoter	Others	MUTHUKUMARASAMY S	Equity	1	00001156		India	Male	Income Tax PAN	AMAPM7131L		900	10	9,000
205	Individual	Other than promoter	Others	POOJA MADHUKANT PATEL	Equity	1		1201120100048601	India	Female	Income Tax PAN	AMCPP6931B		885	10	8,850
206	Individual	Other than promoter	Others	NEHA KAMALKUMAR AGRAWAL	Equity	1		1208180022427506	India	Female	Income Tax PAN	BDLPA7615L		880	10	8,800
207	Individual	Other than promoter	Others	VINIT JAIN PAWANKUMARMALOO	Equity	1		IN30186263154570	India	Male	Income Tax PAN	HEQPP0038L		875	10	8,750
208	Individual	Other than promoter	Others	DINKLE PARMAR	Equity	1		IN30186272864568	India	Male	Income Tax PAN	CRLPK2970B		867	10	8,670

209	Individual	Other than promoter	Others	Ramesh Jyoti	Equity	1		1208160163360345	India	Female	Income Tax PAN	AGWPJ3222H			865	10	8,650
210	Individual	Other than promoter	Others	SHAILESH VADILAL VORA	Equity	1		IN30143690944370	India	Male	Income Tax PAN	AACPV0634K			842	10	8,420
211	Individual	Other than promoter	Others	GLASTON MARIO MENEZES	Equity	1		1201910000517475	India	Male	Income Tax PAN	BMNPM7867F			814	10	8,140
212	Individual	Other than promoter	Others	MUTHAYEE ACHI PL RM	Equity	1	00000494		India	Female					800	10	8,000
213	Individual	Other than promoter	Others	RAKESH KUMAR	Equity	1		1204470013881296	India	Male	Income Tax PAN	AMTPK6706G			800	10	8,000
214	Individual	Other than promoter	Others	MAHENDRA KUMAR JAIN	Equity	1		1203320011724001	India	Male	Income Tax PAN	AQQPS9073B			800	10	8,000
215	Individual	Other than promoter	Others	JANVI .	Equity	1		1207190000012394	India	Female	Income Tax PAN	BREPJ8468D			800	10	8,000
216	Individual	Other than promoter	Others	SADHNA SINGLA	Equity	1		IN30302885621131	India	Female	Income Tax PAN	ALTPS4392M			796	10	7,960
217	Entity	Other than promoter	Others	KAMAL KUMAR AGARWAL HUF	Equity	1		1208180005849569	India	Male	Income Tax PAN	AAIHK6626E			790	10	7,900
218	Individual	Other than promoter	Others	VIJAYAKUMAR GOVINDARAJALU	Equity	1		1201090013605161	India	Male	Income Tax PAN	AGRPG0978N			780	10	7,800
219	Individual	Other than promoter	Others	GARIMA GOYAL .	Equity	1		1201220000115302	India	Female	Income Tax PAN	ADKPG5381P			770	10	7,700
220	Individual	Other than promoter	Others	CHELLAPPAN RAJMOHAN	Equity	1		1208870094623335	India	Male	Income Tax PAN	BCOPR2371C			759	10	7,590
221	Individual	Other than promoter	Others	VIKASH GUPTA	Equity	1		1208160053444688	India	Male	Income Tax PAN	AGMPG3787A			750	10	7,500
222	Individual	Other than promoter	Others	CHAMPALAL BACHHRAJ BHANSALI	Equity	1		1206920000023927	India	Male	Income Tax PAN	AAAPB7591B			743	10	7,430
223	Individual	Other than promoter	Others	CHANDAN KUMAR SINGH	Equity	1		IN30051317811166	India	Male	Income Tax PAN	AVNPS6374H			730	10	7,300
224	Individual	Other than promoter	Others	VALLIRAM THIRTHDAS RAMESH	Equity	1		1208160104464341	India	Male	Income Tax PAN	ADHPR9047G			725	10	7,250
225	Individual	Other than promoter	Others	SURESH ANANTHARA A V	Equity	1	00000502		India	Male					700	10	7,000
226	Individual	Other than promoter	Others	ALAGAPPAN SINGARAM	Equity	1	00000957		India	Male					700	10	7,000
227	Individual	Other than promoter	Others	DEENADAYALAN S	Equity	1	00001037		India	Male					700	10	7,000
228	Individual	Other than promoter	Others	DALPATRAJ JAIN	Equity	1	00001066		India	Male					700	10	7,000
229	Individual	Other than promoter	Others	RATHI M D	Equity	1	00001162		India	Female					700	10	7,000
230	Individual	Other than promoter	Others	REDDI A C	Equity	1	00001383		India	Male					700	10	7,000
231	Entity	Other than promoter	Others	JAGDISH TEJRAJ PARLESHA HUF	Equity	1		1203630000106325	India	Male	Income Tax PAN	AAEHJ9506J			700	10	7,000
232	Individual	Other than promoter	Others	SHYAMSUNDER S MODI	Equity	1	00001074		India	Male	Income Tax PAN	AAOPM7453K			700	10	7,000
233	Individual	Other than promoter	Others	SETHURAMAN V	Equity	1	00000068		India	Male					500	10	5,000

234	Individual	Other than promoter	Others	AARTI KATHARIYA MHATRE	Equity	1		1201090030856788	India	Female	Income Tax PAN	AFUPK6776N			700	10	7,000
235	Individual	Other than promoter	Others	VANGIRAJAN M	Equity	1	00000491		India	Male	Income Tax PAN	ASPPV5622G			700	10	7,000
236	Individual	Other than promoter	Others	SARDA SARITHA	Equity	1		IN30290243336956	India	Female	Income Tax PAN	BAIPS7723P			700	10	7,000
237	Individual	Other than promoter	Others	SIVAKOTI REDDY AVUTHU	Equity	1	00001124		India	Male	Income Tax PAN	BOJPS7669H			700	10	7,000
238	Individual	Other than promoter	Others	PIYUSH SIROHIA	Equity	1		1205940000026711	India	Male	Income Tax PAN	FZRPS2318E			700	10	7,000
239	Individual	Other than promoter	Others	RAVI SOMANI	Equity	1		1208160025362253	India	Male	Income Tax PAN	AVPPS6582B			676	10	6,760
240	Individual	Other than promoter	Others	AMAR NATH PAL	Equity	1		1208160033205541	India	Male	Income Tax PAN	AETPP6430N			668	10	6,680
241	Individual	Other than promoter	Others	AGARWAL BINDIYA	Equity	1		1208160079462610	India	Female	Income Tax PAN	AOIPB3005N			663	10	6,630
242	Individual	Other than promoter	Others	MOHANASUNDARAM JAYANTHI	Equity	1		1208160057199743	India	Female	Income Tax PAN	AWOPJ8436B			660	10	6,600
243	Individual	Other than promoter	Others	PADMASREE.	Equity	1		1208870290361960	India	Female	Income Tax PAN	CZWPP2221F			660	10	6,600
244	Individual	Other than promoter	Others	JAMNADAS GAJERA	Equity	1		1204780000126480	India	Male	Income Tax PAN	ADYPG0639G			625	10	6,250
245	Individual	Other than promoter	Others	VIKRAM BAJAJ .	Equity	1		1201090008302806	India	Male	Income Tax PAN	ABZPB0903B			614	10	6,140
246	Individual	Other than promoter	Others	AAKASH GAWAL DAS MOHATA	Equity	1		1208160039550909	India	Male	Income Tax PAN	CSJPM3289G			607	10	6,070
247	Individual	Other than promoter	Others	SHIVALINGU K	Equity	1	00000302		India	Male					600	10	6,000
248	Individual	Other than promoter	Others	VISHALA MAYYA	Equity	1	00000305		India	Female					600	10	6,000
249	Individual	Other than promoter	Others	GOVINDARAJA SETTY G B	Equity	1	00000310		India	Male					600	10	6,000
250	Individual	Other than promoter	Others	ASWATHANARAYANA SETTY M K	Equity	1	00000311		India	Male					600	10	6,000
251	Individual	Other than promoter	Others	TIWARI V R	Equity	1	00000313		India	Male					600	10	6,000
252	Individual	Other than promoter	Others	SOMASHEKAR C V	Equity	1	00000316		India	Male					600	10	6,000
253	Individual	Other than promoter	Others	SHRIPATHI UPADHYA K	Equity	1	00000317		India	Male					600	10	6,000
254	Individual	Other than promoter	Others	THIMMIAH N P	Equity	1	00000321		India	Male					600	10	6,000
255	Individual	Other than promoter	Others	VIDYADHAR SHETTY K	Equity	1	00000322		India	Male					600	10	6,000
256	Individual	Other than promoter	Others	SUNDARESAN K	Equity	1	00000324		India	Male					600	10	6,000
257	Individual	Other than promoter	Others	CHANDRA BABU P	Equity	1	00000325		India	Male					600	10	6,000
258	Individual	Other than promoter	Others	VANITHA D	Equity	1	00000430		India	Female					600	10	6,000

259	Individual	Other than promoter	Others	VINAY KUMAR J	Equity	1	00000431		India	Male					600	10	6,000
260	Individual	Other than promoter	Others	KASHI VISHWANATH R	Equity	1	00000433		India	Male					600	10	6,000
261	Individual	Other than promoter	Others	SELVAGURUN	Equity	1	00000553		India	Male					600	10	6,000
262	Individual	Other than promoter	Others	ANKITH KOTHARI	Equity	1	00000686		India	Male					600	10	6,000
263	Individual	Other than promoter	Others	MANICKAM ANNAMALAI	Equity	1	00000917		India	Male					600	10	6,000
264	Individual	Other than promoter	Others	MALA K C	Equity	1	00001017		India	Female					600	10	6,000
265	Individual	Other than promoter	Others	MANOJ KUMAR BERIWALA	Equity	1	00001030		India	Male					600	10	6,000
266	Individual	Other than promoter	Others	SULOCHANA S	Equity	1	00001035		India	Female					600	10	6,000
267	Individual	Other than promoter	Others	SUDARARAMAN M	Equity	1	00001199		India	Male					600	10	6,000
268	Individual	Other than promoter	Others	SURESH M	Equity	1	00001222		India	Male					600	10	6,000
269	Individual	Other than promoter	Others	FATHIMA M	Equity	1	00001384		India	Female					600	10	6,000
270	Entity	Other than promoter	Others	RAMESH P CHANDAN AND SONS HUF	Equity	1		1201090037431212	India	Male	Income Tax PAN	AAIHR4351P			600	10	6,000
271	Individual	Other than promoter	Others	RAMANATHAN	Equity	1		IN30021435007115	India	Male	Income Tax PAN	AAIPR4521M			600	10	6,000
272	Entity	Other than promoter	Body corporate (not mentioned above)	SOVRENN FINANCIAL TECHNOLOGIES PRIVATE LIMITED	Equity	1		IN30302876989037	India	Not applicable	Income Tax PAN	ABJCS9259E			600	10	6,000
273	Individual	Other than promoter	Others	JAIN JITESH JAYANTILAL	Equity	1		IN30021430493400	India	Male	Income Tax PAN	AGXPJ8972F			600	10	6,000
274	Individual	Other than promoter	Others	SHRADDHA JAIN	Equity	1		IN30051322789713	India	Female	Income Tax PAN	AIHPJ1128K			600	10	6,000
275	Individual	Other than promoter	Others	SEJAL HEMANG KHOKHANI	Equity	1		1208160062763504	India	Female	Income Tax PAN	AVHPK6747Q			600	10	6,000
276	Individual	Other than promoter	Others	CHANDAN B PRATIK	Equity	1		1208870014334150	India	Male	Income Tax PAN	BKPPP2493E			600	10	6,000
277	Individual	Other than promoter	Others	KRIYA JAIN	Equity	1		1201060004298031	India	Female	Income Tax PAN	CAVPJ0121J			600	10	6,000
278	Individual	Other than promoter	Others	KHYATI MADHUKANT PATEL	Equity	1		1205620000019297	India	Female	Income Tax PAN	COOPP8457A			600	10	6,000
279	Individual	Other than promoter	Others	ANBARASON RADHAKRISHNAN ..	Equity	1		1208870336445891	India	Male	Income Tax PAN	BBSPA1895H			570	10	5,700
280	Individual	Other than promoter	Others	MANSI DOSI	Equity	1		1208160107042611	India	Female	Income Tax PAN	CUFPD4542R			554	10	5,540
281	Individual	Other than promoter	Others	YOGESH KAMLAKAR TANDEL	Equity	1		1206690001294496	India	Male	Income Tax PAN	ANBPT6767D			553	10	5,530
282	Individual	Other than promoter	Others	MUKESH JAIN .	Equity	1		1207190000011709	India	Male	Income Tax PAN	AAAPJ5867G			550	10	5,500

283	Individual	Other than promoter	Others	PADMAJA NARENDRA MHATRE	Equity	1		1208160053757075	India	Female	Income Tax PAN	ACRPM1436D			550	10	5,500
284	Individual	Other than promoter	Others	RITU SURANA	Equity	1		1208160135419756	India	Female	Income Tax PAN	ALXPB0418K			550	10	5,500
285	Individual	Other than promoter	Others	SHREYALI YADAV .	Equity	1		1207600000108529	India	Female	Income Tax PAN	KYPPS1320L			550	10	5,500
286	Individual	Other than promoter	Others	ROHIT KUMAR	Equity	1		1208160021092142	India	Male	Income Tax PAN	DYEPK1359H			541	10	5,410
287	Individual	Other than promoter	Others	SREEKANTH BASINENI	Equity	1		IN30143691850127	India	Male	Income Tax PAN	BELPB1931F			531	10	5,310
288	Individual	Other than promoter	Others	SARATH KUMAR BADAMPUDI	Equity	1		1208870069833697	India	Male	Income Tax PAN	CHRPB7480B			531	10	5,310
289	Individual	Other than promoter	Others	LEELA DEVI	Equity	1		IN30311610335885	India	Female	Income Tax PAN	ABMPD9972D			505	10	5,050
290	Individual	Other than promoter	Others	VIDYA SHANKERS S	Equity	1	00000072		India	Female					500	10	5,000
291	Individual	Other than promoter	Others	RAJAMANICKAM T M	Equity	1	00000095		India	Male					500	10	5,000
292	Individual	Other than promoter	Others	ILAVARASAAN S	Equity	1	00000096		India	Male					500	10	5,000
293	Individual	Other than promoter	Others	KASTHURI I	Equity	1	00000097		India	Female					400	10	4,000
294	Individual	Other than promoter	Others	BHANUMATHI S	Equity	1	00000034		India	Female					300	10	3,000
295	Individual	Other than promoter	Others	RAJAT T	Equity	1	00000053		India	Male					300	10	3,000
296	Individual	Other than promoter	Others	MEENA KUMARI G	Equity	1	00000045		India	Female					200	10	2,000
297	Individual	Other than promoter	Others	PRAKASH K	Equity	1	00000085		India	Male					200	10	2,000
298	Individual	Other than promoter	Others	VIJAYA LAKSHMI B	Equity	1	00000039		India	Female					100	10	1,000
299	Individual	Other than promoter	Others	NITHYA KONDURU	Equity	1	00000069		India	Female					100	10	1,000
300	Individual	Other than promoter	Others	BHARATH KUMAR REDDY DODLA	Equity	1	00000089		India	Male					100	10	1,000
301	Individual	Other than promoter	Others	BALAGANESAN A	Equity	1	00000101		India	Male					500	10	5,000
302	Individual	Other than promoter	Others	SUBRAMANIR	Equity	1	00000102		India	Male					500	10	5,000
303	Individual	Other than promoter	Others	SRINIVASAN K K	Equity	1	00000105		India	Male					500	10	5,000
304	Individual	Other than promoter	Others	KUMARAGURU V	Equity	1	00000136		India	Male					500	10	5,000
305	Individual	Other than promoter	Others	UMA MAHESWARI R	Equity	1	00000139		India	Female					500	10	5,000
306	Individual	Other than promoter	Others	RAJENDARAN G M	Equity	1	00000140		India	Male					500	10	5,000
307	Individual	Other than promoter	Others	DEVALLA VISHNU MOHAN REDDY	Equity	1	00000175		India	Male					500	10	5,000

308	Individual	Other than promoter	Others	DEVALLA ANUSUYAMMA	Equity	1	00000176		India	Female					500	10	5,000
309	Individual	Other than promoter	Others	DEVALLA NARENDRA KUMAR REDDY	Equity	1	00000177		India	Male					500	10	5,000
310	Individual	Other than promoter	Others	PATTABIRAMAN APARNA SREE	Equity	1	00000301		India	Female					500	10	5,000
311	Individual	Other than promoter	Others	MAHENDRA G G	Equity	1	00000307		India	Male					500	10	5,000
312	Individual	Other than promoter	Others	LOKAIAH K	Equity	1	00000463		India	Male					500	10	5,000
313	Individual	Other than promoter	Others	RAJKUMAR R	Equity	1	00000501		India	Male					500	10	5,000
314	Individual	Other than promoter	Others	GANTHIMATHI AL	Equity	1	00000518		India	Female					500	10	5,000
315	Individual	Other than promoter	Others	MURUGAPPAN CT	Equity	1	00000519		India	Male					500	10	5,000
316	Individual	Other than promoter	Others	RAVINDRAN D P	Equity	1	00000520		India	Male					500	10	5,000
317	Individual	Other than promoter	Others	ANANDHIS	Equity	1	00000521		India	Female					500	10	5,000
318	Individual	Other than promoter	Others	RAJAS K	Equity	1	00000527		India	Male					500	10	5,000
319	Individual	Other than promoter	Others	SAVITRI SREENIVASAN	Equity	1	00000528		India	Female					500	10	5,000
320	Individual	Other than promoter	Others	GIRIJA YARABOLU	Equity	1	00000535		India	Female					500	10	5,000
321	Individual	Other than promoter	Others	KRISHNA REDDY YARABOLU	Equity	1	00000536		India	Male					500	10	5,000
322	Individual	Other than promoter	Others	SRIDHAR VARADARAJ C	Equity	1	00000552		India	Male					500	10	5,000
323	Individual	Other than promoter	Others	SASIREKHA SIVAKUMAR	Equity	1	00000554		India	Female					500	10	5,000
324	Individual	Other than promoter	Others	SATHYAPRIYA SIVAKUMAR	Equity	1	00000555		India	Female					500	10	5,000
325	Individual	Other than promoter	Others	CHOKKALINGAM S	Equity	1	00000560		India	Male					500	10	5,000
326	Individual	Other than promoter	Others	SURULIAPPAN R	Equity	1	00000561		India	Male					500	10	5,000
327	Individual	Other than promoter	Others	RAJESH KUMAR	Equity	1	00000579	1203320384116819	India	Male					500	10	5,000
328	Individual	Other than promoter	Others	KAMAL KUMAR RASTOGI	Equity	1	00000586		India	Male					500	10	5,000
329	Individual	Other than promoter	Others	PURUSHOTTAM SARDA	Equity	1	00000588		India	Male					500	10	5,000
330	Individual	Other than promoter	Others	RASHMI GARG	Equity	1	00000590		India	Female					500	10	5,000
331	Individual	Other than promoter	Others	PUSHPA SHRIDHAR	Equity	1	00000591		India	Female					500	10	5,000
332	Individual	Other than promoter	Others	RITU AGARWAL	Equity	1	00000593		India	Female					500	10	5,000

333	Individual	Other than promoter	Others	HUSNE ARA RAHMAN	Equity	1	00000598		India	Female					500	10	5,000
334	Individual	Other than promoter	Others	ISHWAR DIGHE	Equity	1	00000599		India	Male					500	10	5,000
335	Individual	Other than promoter	Others	BALASUBRAMANIAM C	Equity	1	00000600		India	Male					500	10	5,000
336	Individual	Other than promoter	Others	SUBRAMANIAN M	Equity	1	00000606		India	Male					500	10	5,000
337	Individual	Other than promoter	Others	SOUNDARAM MANICKAM	Equity	1	00000916		India	Female					500	10	5,000
338	Individual	Other than promoter	Others	PROMITA HALDAR	Equity	1	00000958		India	Female					500	10	5,000
339	Individual	Other than promoter	Others	GIRIJA M	Equity	1	00001005		India	Female					500	10	5,000
340	Individual	Other than promoter	Others	VARGHESE M A	Equity	1	00001038		India	Male					500	10	5,000
341	Individual	Other than promoter	Others	KUPPUSAMY P T	Equity	1	00001045		India	Male					500	10	5,000
342	Individual	Other than promoter	Others	PASHABHAI K PARMAR	Equity	1	00001053		India	Male					500	10	5,000
343	Individual	Other than promoter	Others	KHAYYUM KHAN	Equity	1	00001054		India	Male					500	10	5,000
344	Individual	Other than promoter	Others	KAMAL KUMAR GOVIL	Equity	1	00001058		India	Male					500	10	5,000
345	Individual	Other than promoter	Others	SIVAYOGAM V	Equity	1	00001080		India	Female					500	10	5,000
346	Individual	Other than promoter	Others	ARAVIND SIVATSAN V	Equity	1	00001260		India	Male					500	10	5,000
347	Individual	Other than promoter	Others	VASAVI KRISHNAN	Equity	1	00001342		India	Female					500	10	5,000
348	Individual	Other than promoter	Others	RAVI R	Equity	1	00001301		India	Male					500	10	5,000
349	Individual	Other than promoter	Others	POONDLA SUHASINI	Equity	1	00001371		India	Female					500	10	5,000
350	Individual	Other than promoter	Others	Kunchithapatham Krishnan	Equity	1		1207830000347043	India	Male	Income Tax PAN	AAAPK7579G			500	10	5,000
351	Individual	Other than promoter	Others	BHAGAVANTI SUMERAMAL MEHTA .	Equity	1		1201090012007552	India	Female	Income Tax PAN	AAHPM6151B			500	10	5,000
352	Individual	Other than promoter	Others	BAL KISHAN DASS GOEL	Equity	1		IN30046810013555	India	Male	Income Tax PAN	AANPG9004H			500	10	5,000
353	Individual	Other than promoter	Others	SIVAPRAKASAM KALYANI	Equity	1		IN30143690799702	India	Female	Income Tax PAN	AAQPK2215F			500	10	5,000
354	Individual	Other than promoter	Others	GANESAN G	Equity	1		IN30163710376164	India	Male	Income Tax PAN	AARPG3214B			500	10	5,000
355	Entity	Other than promoter	Others	AMIT DAGA HUF	Equity	1		IN30302876982423	India	Male	Income Tax PAN	AAUHA2881D			500	10	5,000
356	Individual	Other than promoter	Others	VIJAY SALLY	Equity	1		IN30051384888791	India	Male	Income Tax PAN	ABSPS3404K			500	10	5,000
357	Individual	Other than promoter	Others	ANITA CHOUDHARY	Equity	1		IN30458610000455	India	Female	Income Tax PAN	ACKPC0532H			500	10	5,000

358	Individual	Other than promoter	Others	JITENDRA SIMRATHMAL JAIN	Equity	1		IN30198311278838	India	Male	Income Tax PAN	ACKPJ5418P			500	10	5,000
359	Individual	Other than promoter	Others	GORAKH GOVIND VELAPURKAR	Equity	1		IN30267932580786	India	Male	Income Tax PAN	ACNPV0541Q			500	10	5,000
360	Individual	Other than promoter	Others	SANJOY MEHERA	Equity	1		1201910300073588	India	Male	Income Tax PAN	AESPM0566M			500	10	5,000
361	Individual	Other than promoter	Others	RAJESHKUMAR TARACHAND GUPTA	Equity	1		IN30021434209507	India	Male	Income Tax PAN	AFPPG8949C			500	10	5,000
362	Individual	Other than promoter	Others	VIRENDRA KUMAR BHANSALI	Equity	1		IN30154958091529	India	Male	Income Tax PAN	AGOPB4595M			500	10	5,000
363	Individual	Other than promoter	Others	RAMANA REDDY M	Equity	1	00000007		India	Male					10	10	100
364	Individual	Other than promoter	Others	ARUN HIMMATLAL PAREKH	Equity	1		IN30154956585006	India	Male	Income Tax PAN	AHEPP2991G			500	10	5,000
365	Individual	Other than promoter	Others	UTTAM SHAH	Equity	1		1206350000008917	India	Male	Income Tax PAN	AAAPU4159L			59154	10	5,91,540
366	Individual	Other than promoter	Others	YATIN MOHANLAL MUTHA	Equity	1		IN30198310886936	India	Male	Income Tax PAN	AHOPM5090P			500	10	5,000
367	Individual	Other than promoter	Others	MUKUL MANRAI	Equity	1		IN30131320720158	India	Male	Income Tax PAN	AHOPM6807A			500	10	5,000
368	Individual	Other than promoter	Others	D.KRISHNAMURTHY	Equity	1		IN30074910332524	India	Male	Income Tax PAN	AJHPK1045M			500	10	5,000
369	Individual	Other than promoter	Others	MAUNISH T PATHAK	Equity	1		IN30034311386347	India	Male	Income Tax PAN	AJVPP3411C			500	10	5,000
370	Individual	Other than promoter	Others	ARUN SINGHANIA	Equity	1		IN30021423286652	India	Male	Income Tax PAN	AKHPS6503R			500	10	5,000
371	Individual	Other than promoter	Others	NITESH JHUNJHUNWALA	Equity	1		1208160017392107	India	Male	Income Tax PAN	APRPJ7757H			500	10	5,000
372	Individual	Other than promoter	Others	SIVAGAMI C	Equity	1	00000931		India	Female	Income Tax PAN	ARLPS9354H			500	10	5,000
373	Individual	Other than promoter	Others	SUSHMA BHANSALI	Equity	1		1302340000540742	India	Female	Income Tax PAN	BCEPB9244A			500	10	5,000
374	Individual	Other than promoter	Others	NATASHA KAUSHIK JAIN	Equity	1		IN30021466695283	India	Female	Income Tax PAN	BDKPM3188H			500	10	5,000
375	Individual	Other than promoter	Others	SUDARSHANKUMAR SAPNA	Equity	1		1201090036072516	India	Female	Income Tax PAN	BISPS8457C			500	10	5,000
376	Individual	Other than promoter	Others	ALPA ASHESH SHAH	Equity	1		IN30246110384267	India	Female	Income Tax PAN	BKAPS1187H			500	10	5,000
377	Individual	Other than promoter	Others	AXAR RAJESHBHAI PATEL	Equity	1		1201260000244179	India	Male	Income Tax PAN	BKWPP4901J			500	10	5,000
378	Individual	Other than promoter	Others	DHAVAL VINOD DHAVAL VINOD SHAH	Equity	1		1208160000685171	India	Male	Income Tax PAN	BLEPS5547Q			500	10	5,000
379	Individual	Other than promoter	Others	KEYURKUMAR JAYANTIBHAI PATEL	Equity	1		1203600008769557	India	Male	Income Tax PAN	COCPP5457A			500	10	5,000
380	Individual	Other than promoter	Others	RAMESH BABU KANNA	Equity	1		1208160106140850	India	Male	Income Tax PAN	ASTPK7821J			493	10	4,930
381	Individual	Other than promoter	Others	KAMLADEVI BHURARAM	Equity	1		1201210000125928	India	Female	Income Tax PAN	BHQPB1418K			485	10	4,850
382	Individual	Other than promoter	Others	JITENDRA KANTILAL SHAH	Equity	1		1203320172226190	India	Male	Income Tax PAN	AAIPS7178M			480	10	4,800

383	Individual	Other than promoter	Others	DEVARAM KUMAWAT	Equity	1		1201210000165471	India	Male	Income Tax PAN	BBFPK1752E			464	10	4,640
384	Entity	Other than promoter	Others	JATIN VINUBHAI PARIKH (HUF)	Equity	1		IN30131321717676	India	Male	Income Tax PAN	AACHJ9108C			450	10	4,500
385	Individual	Other than promoter	Others	ANIL KUMAR NIHRA	Equity	1		1203320286302540	India	Male	Income Tax PAN	ACYPN3718L			450	10	4,500
386	Individual	Other than promoter	Others	PRANAV SHRIDHAR	Equity	1		1208160017090544	India	Male	Income Tax PAN	AWXPA2778E			450	10	4,500
387	Individual	Other than promoter	Others	KAMAL KUMAR AGARWAL	Equity	1		1208180000249775	India	Male	Income Tax PAN	ABPPA5578F			440	10	4,400
388	Individual	Other than promoter	Others	HARSHVARDHAN CHOWDHARY	Equity	1		1208160043010020	India	Male	Income Tax PAN	CFLPC4910D			440	10	4,400
389	Individual	Other than promoter	Others	AMRITA RAJEEV AGARWAL	Equity	1		1208160050813804	India	Female	Income Tax PAN	AGMPA1670N			430	10	4,300
390	Individual	Other than promoter	Others	SANGITA SURESH JAIN	Equity	1		1202890001827086	India	Female	Income Tax PAN	AAUPJ5324Q			425	10	4,250
391	Individual	Other than promoter	Others	SACHET SURESH JAIN	Equity	1		1202890001827090	India	Male	Income Tax PAN	AXFPJ4403Q			425	10	4,250
392	Individual	Other than promoter	Others	DHARMESH KUMAR HIMMATMAL JAIN .	Equity	1		1201090009735208	India	Male	Income Tax PAN	ADBPJ2097E			420	10	4,200
393	Individual	Other than promoter	Others	CHANDRAKANT O SOLANKI	Equity	1		IN30226914380134	India	Male	Income Tax PAN	AGNPS9705P			420	10	4,200
394	Individual	Other than promoter	Others	RATESH RAJ S	Equity	1		1204500000045756	India	Male	Income Tax PAN	AWZPR6469B			23482	10	2,34,820
395	Individual	Other than promoter	Others	ASHWINI KUMAR	Equity	1	00000303		India	Male					400	10	4,000
396	Individual	Other than promoter	Others	ANAND KUMAR	Equity	1	00000304		India	Male					400	10	4,000
397	Individual	Other than promoter	Others	GOVINDARAJU N S	Equity	1	00000318		India	Male					400	10	4,000
398	Individual	Other than promoter	Others	DURAISAMY K R	Equity	1	00000522		India	Male					400	10	4,000
399	Individual	Other than promoter	Others	VENKATACHALAM NACHIAPPAN	Equity	1	00000893		India	Male					400	10	4,000
400	Individual	Other than promoter	Others	VANAN M	Equity	1	00000923		India	Male					400	10	4,000
401	Individual	Other than promoter	Others	CHACKO K C	Equity	1	00000943		India	Male					400	10	4,000
402	Individual	Other than promoter	Others	RAMI REDDY KANALA	Equity	1	00001126		India	Male					400	10	4,000
403	Individual	Other than promoter	Others	LOGANATHAN G	Equity	1	00001132		India	Male					400	10	4,000
404	Individual	Other than promoter	Others	MOTILAL BHATTAD	Equity	1	00001163		India	Male					400	10	4,000
405	Individual	Other than promoter	Others	ANBAZHAGAN R	Equity	1	00001203		India	Male					400	10	4,000
406	Individual	Other than promoter	Others	RAVINDRAN CP	Equity	1	00001292		India	Male					400	10	4,000

407	Entity	Other than promoter	Body corporate (not mentioned above)	RITURAJ SHARES & SECURITIES LIMITED	Equity	1		IN30458610000498	India	Not applicable	Income Tax PAN	AACCR1449P		400	10	4,000
408	Individual	Other than promoter	Others	RADHARANI S	Equity	1	00000046		India	Female				3000	10	30,000
409	Entity	Other than promoter	Others	SUNIL P NAHAR HUF	Equity	1		IN30163741959813	India	Male	Income Tax PAN	AASHS1925A		400	10	4,000
410	Individual	Other than promoter	Others	VISWANATHAN N	Equity	1	00001039		India	Male	Income Tax PAN	ABRPV8646D		400	10	4,000
411	Individual	Other than promoter	Others	MEENA NARESH KUMAR ABBANI	Equity	1		1201210000054460	India	Male	Income Tax PAN	ACYPAA9591N		400	10	4,000
412	Individual	Other than promoter	Others	GHANSHYAM SAGARMAL MODI	Equity	1		1201770101323064	India	Male	Income Tax PAN	ADIPM8317M		400	10	4,000
413	Individual	Other than promoter	Others	MANISHA MADHOGARIA	Equity	1		IN30318110008555	India	Female	Income Tax PAN	AERPM6428B		400	10	4,000
414	Individual	Other than promoter	Others	MAULIK SHAILESH VORA	Equity	1		IN30115121404969	India	Male	Income Tax PAN	AFDPV0514Q		400	10	4,000
415	Individual	Other than promoter	Others	SHARIQ JAVED .	Equity	1		1207650000233431	India	Male	Income Tax PAN	AQCPS1497F		400	10	4,000
416	Individual	Other than promoter	Others	MANSI MADHUKANT PATEL	Equity	1		1201120000162608	India	Female	Income Tax PAN	AWYPP3374L		400	10	4,000
417	Individual	Other than promoter	Others	ANAND AGARWAL	Equity	1		1205090000047880	India	Male	Income Tax PAN	AXMPA8653N		400	10	4,000
418	Individual	Other than promoter	Others	SHIVANI KHANDELWAL	Equity	1		IN30021435649890	India	Female	Income Tax PAN	BNKPK0328R		400	10	4,000
419	Individual	Other than promoter	Others	KANCHI MUKESH CHANDAN	Equity	1		IN30160412031427	India	Female	Income Tax PAN	BUVPC0937L		400	10	4,000
420	Individual	Other than promoter	Others	ADITYA SINGHANIA	Equity	1		IN30021445013114	India	Male	Income Tax PAN	IQHPS5501R		400	10	4,000
421	Individual	Other than promoter	Others	REDDEM MANIKANTA	Equity	1		1208870274111191	India	Male	Income Tax PAN	CXUPR7253K		394	10	3,940
422	Individual	Other than promoter	Others	RAMESHKUMAR	Equity	1		IN30021462515693	India	Male	Income Tax PAN	AAGPR1010D		386	10	3,860
423	Individual	Other than promoter	Others	THIRUNAVUKKARASU CHITRA DEVI	Equity	1		1208160123699822	India	Female	Income Tax PAN	AYUPC4652Q		379	10	3,790
424	Individual	Other than promoter	Others	PREBHU ..	Equity	1		1208870345687122	India	Male	Income Tax PAN	BCZPP6639Q		379	10	3,790
425	Individual	Other than promoter	Others	MANICKAM SATISH KUMAR	Equity	1		1208870034372633	India	Male	Income Tax PAN	CIHPK8467J		379	10	3,790
426	Individual	Other than promoter	Others	ASHOK JETHWANIT	Equity	1		IN30131321040041	India	Male	Income Tax PAN	AADPJ7792B		375	10	3,750
427	Individual	Other than promoter	Others	JAGDISH PRASAD CHOUDHARY	Equity	1		IN30458610000447	India	Male	Income Tax PAN	ACOPC4175G		372	10	3,720
428	Entity	Other than promoter	Others	CHAMPAKLAL SAREMALJI SHAH HUF	Equity	1		IN30021427175175	India	Male	Income Tax PAN	AAFHC0782E		370	10	3,700
429	Individual	Other than promoter	Others	ELUMALAI SANTHOSH	Equity	1		1208870195404871	India	Male	Income Tax PAN	GAOPS6009D		370	10	3,700
430	Individual	Other than promoter	Others	MILAPCHAND BACHHRAJ BHANSALI	Equity	1		1203320368884608	India	Male	Income Tax PAN	AADPB8425B		369	10	3,690

431	Individual	Other than promoter	Others	MANOJ KUMAR	Equity	1		1208160037579484	India	Male	Income Tax PAN	DIAPK8100G			367	10	3,670
432	Individual	Other than promoter	Others	MANMADHAN BHASKARAN	Equity	1		1208040000772103	India	Male	Income Tax PAN	HBHPB0155C			365	10	3,650
433	Individual	Other than promoter	Others	HIRAK SHAILESH VORA	Equity	1		1208670003672861	India	Male	Income Tax PAN	AOJPV9987J			358	10	3,580
434	Individual	Other than promoter	Others	ARIHANT JAIN	Equity	1		1208160058828846	India	Male	Income Tax PAN	BYOPJ9043H			358	10	3,580
435	Individual	Other than promoter	Others	Trivedi Janki Ashokbhai	Equity	1		1203320016948241	India	Female	Income Tax PAN	BBMPT3980N			352	10	3,520
436	Individual	Other than promoter	Others	RAMESH CHAND AGARWAL	Equity	1		IN30429580143288	India	Male	Income Tax PAN	AAAPA8877D			351	10	3,510
437	Individual	Other than promoter	Others	INDU CHAMPALAL BHANSALI	Equity	1		1206920000040039	India	Female	Income Tax PAN	AAAPB7589H			351	10	3,510
438	Individual	Other than promoter	Others	BHANU BHARATKUMAR SHAH	Equity	1		IN30036011173098	India	Female	Income Tax PAN	AAPPS8610P			350	10	3,500
439	Individual	Other than promoter	Others	LEHRIDEVI BOHRA	Equity	1		IN30311612440869	India	Female	Income Tax PAN	AAXPB6572H			350	10	3,500
440	Individual	Other than promoter	Others	VIVEK KUMAR GANGWAL	Equity	1		1203760000743071	India	Male	Income Tax PAN	ACDPG3150G			350	10	3,500
441	Individual	Other than promoter	Others	NISHA AMIT JAIN	Equity	1		1204450000108111	India	Female	Income Tax PAN	AHEPM2035Q			350	10	3,500
442	Individual	Other than promoter	Others	ATHARVA DIPAK ATHARVA	Equity	1		IN30429570701233	India	Male	Income Tax PAN	FJUPM9085D			350	10	3,500
443	Individual	Other than promoter	Others	KAMALA DEVI	Equity	1		1201130000938391	India	Female	Income Tax PAN	ABMPD9969Q			348	10	3,480
444	Individual	Other than promoter	Others	VIJAY KESHAVJI MARU	Equity	1		1208160031018940	India	Male	Income Tax PAN	AFNPM1537N			340	10	3,400
445	Individual	Other than promoter	Others	PAWAN KUMAR JAIN K	Equity	1		1207190000005870	India	Male	Income Tax PAN	AACPJ2266M			2181	10	21,810
446	Individual	Other than promoter	Others	TANU SOMANI	Equity	1		1208160049263745	India	Female	Income Tax PAN	AVRPS5919A			322	10	3,220
447	Individual	Other than promoter	Others	SEHNAJ BANO	Equity	1		1203320311679497	India	Female	Income Tax PAN	HAUPB5215H			318	10	3,180
448	Individual	Other than promoter	Others	DHRUVIL JITENDRA SHAH .	Equity	1		1201090008478246	India	Male	Income Tax PAN	HSZPS0462J			314	10	3,140
449	Individual	Other than promoter	Others	VINAY AGGARWAL	Equity	1		1201910102433029	India	Male	Income Tax PAN	AJKPV7886Q			308	10	3,080
450	Individual	Other than promoter	Others	mohan raj rajendran	Equity	1		1208160161497992	India	Male	Income Tax PAN	CILPM1066M			306	10	3,060
451	Individual	Other than promoter	Others	AMITKUMAR PREMJIBHAI KAPADIA	Equity	1		1206720000131830	India	Male	Income Tax PAN	AGFPK9387H			301	10	3,010
452	Individual	Other than promoter	Others	TEJRAJ DEVICHAND SURANA	Equity	1		1206220000004910	India	Male	Income Tax PAN	AAQPS4739N			2000	10	20,000
453	Individual	Other than promoter	Others	DIVYA JAIN P	Equity	1		1207190000008998	India	Female	Income Tax PAN	COWPD9403A			1456	10	14,560
454	Individual	Other than promoter	Others	SUCEELA N C	Equity	1	00000142		India	Female					300	10	3,000
455	Individual	Other than promoter	Others	GAJAPATHY R	Equity	1	00000203		India	Male					300	10	3,000

456	Individual	Other than promoter	Others	SURESH G G	Equity	1	00000314		India	Male					300	10	3,000
457	Individual	Other than promoter	Others	KRISHNASWAMY S	Equity	1	00000452		India	Male					300	10	3,000
458	Individual	Other than promoter	Others	MANICKARAJU K	Equity	1	00000526		India	Male					300	10	3,000
459	Individual	Other than promoter	Others	MANGALAMBAL M	Equity	1	00000530		India	Female					300	10	3,000
460	Individual	Other than promoter	Others	NAGULESWARI P	Equity	1	00000574		India	Female					300	10	3,000
461	Individual	Other than promoter	Others	KATHIRASAN M	Equity	1	00000644		India	Male					300	10	3,000
462	Individual	Other than promoter	Others	MEENAKSHI VR	Equity	1	00000934		India	Female					300	10	3,000
463	Individual	Other than promoter	Others	PRAVEEN BAGRECHA	Equity	1	00001056		India	Male					300	10	3,000
464	Individual	Other than promoter	Others	BALAKUMAR K	Equity	1	00001076		India	Male					300	10	3,000
465	Individual	Other than promoter	Others	RUKMINI N	Equity	1	00001139		India	Female					300	10	3,000
466	Individual	Other than promoter	Others	RAM KHUMAR N	Equity	1	00001140		India	Male					300	10	3,000
467	Individual	Other than promoter	Others	SYED ALI BADSHA	Equity	1	00001237		India	Male					300	10	3,000
468	Individual	Other than promoter	Others	UMAJ	Equity	1	00001250		India	Female					300	10	3,000
469	Individual	Other than promoter	Others	SURENDRA KUMAR LUNAWAT	Equity	1	00001263		India	Male					300	10	3,000
470	Individual	Other than promoter	Others	ANTHONY RAJ	Equity	1	00001274		India	Male					300	10	3,000
471	Individual	Other than promoter	Others	KRISHNAMOORTHY V	Equity	1	00001324		India	Male					300	10	3,000
472	Individual	Other than promoter	Others	MANGALAM M R	Equity	1	00001376		India	Female					300	10	3,000
473	Entity	Other than promoter	Others	BHEEMRAJ MUTHA HUF	Equity	1		IN30021418409522	India	Male	Income Tax PAN	AAAHB3926N			300	10	3,000
474	Individual	Other than promoter	Others	PEERCHAND MISHRIMAL BHANSALI	Equity	1		1201120000193022	India	Male	Income Tax PAN	AADPB6238N			300	10	3,000
475	Entity	Other than promoter	Others	ANAND AGARWAL HUF	Equity	1		1205090000055393	India	Male	Income Tax PAN	AAOHA1906K			300	10	3,000
476	Individual	Other than promoter	Others	CHETAN SHANTILAL LALSETA	Equity	1		IN30302845324468	India	Male	Income Tax PAN	ABUPL8564F			300	10	3,000
477	Individual	Other than promoter	Others	LOGANATHAN P	Equity	1	00001147		India	Male	Income Tax PAN	ACAPL1716G			300	10	3,000
478	Individual	Other than promoter	Others	RAJINDER KUMAR	Equity	1		1208160108357597	India	Male	Income Tax PAN	ACKPG2965L			300	10	3,000
479	Individual	Other than promoter	Others	RAMU	Equity	1	00000922		India	Male	Income Tax PAN	ACOPA7216L			300	10	3,000
480	Individual	Other than promoter	Others	RAMA KRISHNA PRASAD VADAPALLI	Equity	1		1208160059247700	India	Male	Income Tax PAN	ACTPV0363Q			300	10	3,000

481	Individual	Other than promoter	Others	SHAH BASTIMAL KALIDAS	Equity	1		1207100000082950	India	Male	Income Tax PAN	AADPS4053Q			1100	10	11,000
482	Individual	Other than promoter	Others	ARUMALLA CHANDRA REDDI	Equity	1		IN30115124800813	India	Male	Income Tax PAN	ADAPC3375P			300	10	3,000
483	Individual	Other than promoter	Others	VIKASH KISHORILAL JALAN	Equity	1		1201210000057011	India	Male	Income Tax PAN	ADWPJ8989J			300	10	3,000
484	Individual	Other than promoter	Others	NAWRANG LAL AGARWAL	Equity	1		IN30032710436075	India	Male	Income Tax PAN	AGVPA8698R			300	10	3,000
485	Individual	Other than promoter	Others	S Alamelu	Equity	1		IN30177410169339	India	Female	Income Tax PAN	AHQPA9221N			300	10	3,000
486	Individual	Other than promoter	Others	B DINESH SURANA	Equity	1		IN30302863380714	India	Male	Income Tax PAN	AIOPS9394R			300	10	3,000
487	Individual	Other than promoter	Others	SHILPI NILESH SINGHVI	Equity	1		1202890001876541	India	Female	Income Tax PAN	AJFPJ2752A			300	10	3,000
488	Individual	Other than promoter	Others	ABHISHEK ARUNKUMAR BHAIYA .	Equity	1		1201090009447219	India	Male	Income Tax PAN	AKCPB1217E			300	10	3,000
489	Individual	Other than promoter	Others	KANTA SINGHANIA	Equity	1		IN30021416131329	India	Female	Income Tax PAN	AKHPS6511R			300	10	3,000
490	Individual	Other than promoter	Others	ABHIJIT SEN .	Equity	1		1201090011304831	India	Male	Income Tax PAN	ASHPS9786N			300	10	3,000
491	Individual	Other than promoter	Others	pooja .	Equity	1		1208160161304386	India	Female	Income Tax PAN	CGFPP3276G			300	10	3,000
492	Individual	Other than promoter	Others	SURABHI SINHA	Equity	1		IN30154933852119	India	Female	Income Tax PAN	DOTPS6835H			300	10	3,000
493	Individual	Other than promoter	Others	R Gnanaganesan	Equity	1		IN30133041272231	India	Male	Income Tax PAN	AHHPG6804C			295	10	2,950
494	Individual	Other than promoter	Others	DIVYA AGRAWAL	Equity	1		IN30051323514455	India	Female	Income Tax PAN	AHHPJ4254F			290	10	2,900
495	Individual	Other than promoter	Others	MANJU DEVI MALOO	Equity	1		1201090020214791	India	Female	Income Tax PAN	AGBPM9965B			285	10	2,850
496	Individual	Other than promoter	Others	RAJ KUMAR	Equity	1		1208160026302184	India	Male	Income Tax PAN	ABMPK8980C			280	10	2,800
497	Individual	Other than promoter	Others	SARIKA JAIN	Equity	1		1208870251016904	India	Female	Income Tax PAN	AENPJ8718H			280	10	2,800
498	Entity	Other than promoter	Others	M Mitesh HUF	Equity	1		IN30021426886800	India	Male	Income Tax PAN	AAPHM4481C			274	10	2,740
499	Individual	Other than promoter	Others	PRADEEP KUMAR DAGA	Equity	1		1201090001257798	India	Male	Income Tax PAN	AAFPD1058E			270	10	2,700
500	Individual	Other than promoter	Others	THIRUVENGADAM J JANAKIRAMAN	Equity	1		1208250046693188	India	Male	Income Tax PAN	CDOPT3073M			268	10	2,680
501	Individual	Other than promoter	Others	DAMYANTI SATYANARAYAN RATHI	Equity	1		1201210000103454	India	Female	Income Tax PAN	ABMPR0264J			267	10	2,670
502	Individual	Other than promoter	Others	VIKRAMKUMAR DUNGARMAL JAIN	Equity	1		1201210101114675	India	Male	Income Tax PAN	AMIPB2981P			266	10	2,660
503	Individual	Other than promoter	Others	SHILPA JAIN H	Equity	1		IN30051322823784	India	Female	Income Tax PAN	AVNPJ4432D			265	10	2,650
504	Entity	Other than promoter	Others	ANKESH JABARCHAND BOKADIA HUF	Equity	1		IN30021426539999	India	Male	Income Tax PAN	AAOHA6563N			262	10	2,620
505	Individual	Other than promoter	Others	RADHIKA GOYAL	Equity	1		IN30236520301342	India	Female	Income Tax PAN	AJRPC1446N			260	10	2,600

506	Individual	Other than promoter	Others	SUCHET KATHURIA	Equity	1		IN30302854620053	India	Male	Income Tax PAN	AMMPK1563C			260	10	2,600
507	Individual	Other than promoter	Others	NEHA ASTHANA	Equity	1		1208160149606215	India	Female	Income Tax PAN	DDQPS7090A			260	10	2,600
508	Individual	Other than promoter	Others	YASH SINGHANIA	Equity	1		IN30021456458826	India	Male	Income Tax PAN	KQGPS9701G			260	10	2,600
509	Individual	Other than promoter	Others	MEDHA RANGA	Equity	1		1208860007501034	India	Female	Income Tax PAN	EUJPR2792M			255	10	2,550
510	Individual	Other than promoter	Others	SAI SAGAR PILLADA	Equity	1		IN30143693162549	India	Male	Income Tax PAN	DLCPP0386J			253	10	2,530
511	Individual	Other than promoter	Others	LATA GULABRAI VASANDANI	Equity	1		IN30021444635851	India	Female	Income Tax PAN	ARMPV5564F			252	10	2,520
512	Entity	Other than promoter	Others	JAYESH PEERCHAND BHANSALI (HUF)	Equity	1		1201120000283488	India	Male	Income Tax PAN	AAFHJ8543Q			250	10	2,500
513	Individual	Other than promoter	Others	SARITA GARG	Equity	1		1208160052678901	India	Female	Income Tax PAN	ABGPG3440D			250	10	2,500
514	Individual	Other than promoter	Others	SUNITA LOHIYA	Equity	1		1201060500411538	India	Female	Income Tax PAN	ACPPL8383C			250	10	2,500
515	Individual	Other than promoter	Others	MAHESH KUMAR BHATTAD	Equity	1		1208160074838613	India	Male	Income Tax PAN	AQRPB3084C			250	10	2,500
516	Individual	Other than promoter	Others	VINOD KALYANJI SHAH	Equity	1		1208160065953061	India	Male	Income Tax PAN	BEZPS1027M			250	10	2,500
517	Individual	Other than promoter	Others	KUSHAL CHAMPALAL BHANSALI	Equity	1		1206920000031138	India	Male	Income Tax PAN	BJYPB6773P			250	10	2,500
518	Individual	Other than promoter	Others	BANSHI LAL SONI .	Equity	1		1208870288757492	India	Male	Income Tax PAN	DJEPS3224Q			250	10	2,500
519	Individual	Other than promoter	Others	SHISHIR SHRIKANT KALKONDE	Equity	1		IN30429516341393	India	Male	Income Tax PAN	AGOPK2625H			249	10	2,490
520	Individual	Other than promoter	Others	PRATIK JAIN	Equity	1		1203320012771972	India	Male	Income Tax PAN	AULPJ9882G			246	10	2,460
521	Individual	Other than promoter	Others	SANJAY KUMAR MAHESHWARI	Equity	1		1208160025688627	India	Male	Income Tax PAN	AHEPM6049A			240	10	2,400
522	Individual	Other than promoter	Others	RACHNA KAMLESH KATARIA	Equity	1		IN30198311191211	India	Female	Income Tax PAN	BHRPG3134L			238	10	2,380
523	Individual	Other than promoter	Others	AVISHKAR VISHNU DHAMKO	Equity	1		1208870065194596	India	Male	Income Tax PAN	ASHPD9146P			230	10	2,300
524	Individual	Other than promoter	Others	RAKESH KUMAR	Equity	1		1204470013881296	India	Male	Income Tax PAN	DGDPK8613M			230	10	2,300
525	Individual	Other than promoter	Others	MALLESH DYAVAPPA LAMANI	Equity	1		1204470019091181	India	Male	Income Tax PAN	AEMPL2467A			229	10	2,290
526	Individual	Other than promoter	Others	SHILPI AGGARWAL	Equity	1		IN30045015375467	India	Female	Income Tax PAN	BPSPA7705L			229	10	2,290
527	Individual	Other than promoter	Others	SHARDADEVI RAMSEVAK YADAV	Equity	1		1208180112589226	India	Female	Income Tax PAN	AGKPY2304D			228	10	2,280
528	Individual	Other than promoter	Others	Manikandan T	Equity	1		1208160173471665	India	Male	Income Tax PAN	ATOPM8494M			228	10	2,280
529	Individual	Other than promoter	Others	HARESH PARMAR	Equity	1		1208160155282265	India	Male	Income Tax PAN	AAIPP9324N			225	10	2,250
530	Individual	Other than promoter	Others	GIRISH MIDHA	Equity	1		IN30133017046802	India	Male	Income Tax PAN	AHDPM5551A			225	10	2,250

531	Individual	Other than promoter	Others	VISHAL GUPTA	Equity	1		1208160041232003	India	Male	Income Tax PAN	ALTPG3762D			225	10	2,250
532	Individual	Other than promoter	Others	VISHAL KUMAR LUNAWAT M	Equity	1		IN30021424981590	India	Male	Income Tax PAN	ALHPV2001Q			224	10	2,240
533	Individual	Other than promoter	Others	PINKI PRAVEEN KUMAR	Equity	1		1204720004469121	India	Female	Income Tax PAN	AFEPJ4185J			223	10	2,230
534	Individual	Other than promoter	Others	SAROJ GANDHI	Equity	1		1208160030387231	India	Female	Income Tax PAN	AGUPG8394D			221	10	2,210
535	Individual	Other than promoter	Others	ABHIJIT CHAKRAVARTY	Equity	1		IN30267934177038	India	Male	Income Tax PAN	AHNPC8214G			220	10	2,200
536	Individual	Other than promoter	Others	KAMLESH KUMAR KATARIA	Equity	1		IN30198311275827	India	Male	Income Tax PAN	ARJPK1840L			220	10	2,200
537	Individual	Other than promoter	Others	DAKSHA CHANDRAKANT SHAH .	Equity	1		1204150000168117	India	Female	Income Tax PAN	BSCPS8476D			220	10	2,200
538	Individual	Other than promoter	Others	HINA PRASHANT KABRAWALA	Equity	1		1203320066413549	India	Female	Income Tax PAN	AGUPK8523C			219	10	2,190
539	Individual	Other than promoter	Others	GAURAV GUPTA	Equity	1		IN30021424418092	India	Male	Income Tax PAN	AHZPG7390P			218	10	2,180
540	Individual	Other than promoter	Others	CHIRAG BHUPENDRA SANGHAVI	Equity	1		IN30302875761299	India	Male	Income Tax PAN	AUIPS6181N			215	10	2,150
541	Individual	Other than promoter	Others	RAMESH CHANDRA LAL	Equity	1		1209290012779220	India	Male	Income Tax PAN	AAKPL8891L			211	10	2,110
542	Individual	Other than promoter	Others	RAHUL VERMA	Equity	1		IN30154961674439	India	Male	Income Tax PAN	ADLPV2768C			210	10	2,100
543	Individual	Other than promoter	Others	MOHAMMAD NISAR	Equity	1		1203320284788201	India	Male	Income Tax PAN	BKYPN7449F			210	10	2,100
544	Individual	Other than promoter	Others	ABHINAV SINGI	Equity	1		1208160014891631	India	Male	Income Tax PAN	DNBPS0109H			208	10	2,080
545	Individual	Other than promoter	Others	MAHIL GIRISH SURANA	Equity	1		1208160003574171	India	Male	Income Tax PAN	EEJPS9487A			205	10	2,050
546	Individual	Other than promoter	Others	PUJAN ASHESH SHAH	Equity	1		IN30246110778893	India	Male	Income Tax PAN	KXYP0333F			203	10	2,030
547	Individual	Other than promoter	Others	MANJULA TEJRAJ SURANA	Equity	1		1206220000004906	India	Female	Income Tax PAN	AAQPS2133L			700	10	7,000
548	Individual	Other than promoter	Others	JITHENDRA G	Equity	1	00000048		India	Male	Income Tax PAN	AGRPG4747R			500	10	5,000
549	Individual	Other than promoter	Others	CHERANY	Equity	1	00000141		India	Male					200	10	2,000
550	Individual	Other than promoter	Others	SUCEELA CHANDRASHEKHAR	Equity	1	00000178		India	Female					200	10	2,000
551	Individual	Other than promoter	Others	VELU A E	Equity	1	00000449		India	Male					200	10	2,000
552	Individual	Other than promoter	Others	SUJATHA RAVI	Equity	1	00000457		India	Female					200	10	2,000
553	Individual	Other than promoter	Others	KANDASWAMY P	Equity	1	00000631		India	Male					200	10	2,000
554	Individual	Other than promoter	Others	MOHAMED KABEER	Equity	1	00000901		India	Male					200	10	2,000
555	Individual	Other than promoter	Others	SULTAN ABDUL KADER S	Equity	1	00000903		India	Male					200	10	2,000

556	Individual	Other than promoter	Others	VENKATA RAMANAN R	Equity	1	00000927		India	Male					200	10	2,000
557	Individual	Other than promoter	Others	SIVA RM	Equity	1	00000933		India	Male					200	10	2,000
558	Individual	Other than promoter	Others	PRIYAS	Equity	1	00000955		India	Female					200	10	2,000
559	Individual	Other than promoter	Others	RAMA KRISHNA NAGASURI	Equity	1	00001128		India	Male					200	10	2,000
560	Individual	Other than promoter	Others	PARVATHI M	Equity	1	00001150		India	Female					200	10	2,000
561	Individual	Other than promoter	Others	UMA S	Equity	1	00001197		India	Female					200	10	2,000
562	Individual	Other than promoter	Others	RAMESH KR	Equity	1	00001227		India	Male					200	10	2,000
563	Individual	Other than promoter	Others	SESHAMBALA	Equity	1	00001243		India	Female					200	10	2,000
564	Individual	Other than promoter	Others	USHA CHANDRAMOULI	Equity	1	00001246		India	Female					200	10	2,000
565	Individual	Other than promoter	Others	SUBRAMANIAN K	Equity	1	00001254		India	Male					200	10	2,000
566	Individual	Other than promoter	Others	NARASIMHULU N	Equity	1	00001275		India	Male					200	10	2,000
567	Individual	Other than promoter	Others	GIRIJA K	Equity	1	00001284		India	Female					200	10	2,000
568	Individual	Other than promoter	Others	PERIYAKARUPPAN L	Equity	1	00001312		India	Male					200	10	2,000
569	Individual	Other than promoter	Others	VIJAYALAKSHMI J	Equity	1	00001346		India	Female					200	10	2,000
570	Individual	Other than promoter	Others	KARTHIK S	Equity	1	00001348		India	Male					200	10	2,000
571	Individual	Other than promoter	Others	BHARATHI B	Equity	1	00001352		India	Female					200	10	2,000
572	Individual	Other than promoter	Others	CHANDRASEKARAN R	Equity	1	00000424		India	Male	Income Tax PAN	AAAPC5331L			200	10	2,000
573	Individual	Other than promoter	Others	NEMISH RAMESH RACHH	Equity	1		IN30160412668752	India	Male	Income Tax PAN	AAAPR4376C			200	10	2,000
574	Individual	Other than promoter	Others	MUKESH JORMAL MEHTA	Equity	1		IN30021426674995	India	Male	Income Tax PAN	AADPM1853C			200	10	2,000
575	Individual	Other than promoter	Others	HEDWIG SEBASTIA JOHN ZUZARTE	Equity	1		1203320190330810	India	Female	Income Tax PAN	AAIPZ0893N			200	10	2,000
576	Individual	Other than promoter	Others	ANUPMA AGARWAL	Equity	1		IN30154963826047	India	Female	Income Tax PAN	AAMPA2408C			200	10	2,000
577	Individual	Other than promoter	Others	MANGI DEVI	Equity	1		1201210000128382	India	Female	Income Tax PAN	AASPD1991M			200	10	2,000
578	Individual	Other than promoter	Others	SUNIL KUMAR NUWAL	Equity	1		1204470001967901	India	Male	Income Tax PAN	AATPN9593L			200	10	2,000
579	Individual	Other than promoter	Others	LALITA AGRAWAL	Equity	1		1201770100118424	India	Female	Income Tax PAN	ABBPA9463F			200	10	2,000
580	Individual	Other than promoter	Others	RAJENDRA KUMAR KASLIWAL	Equity	1		1203660000147245	India	Male	Income Tax PAN	ABEPK9118N			200	10	2,000

581	Individual	Other than promoter	Others	SANJAY TIWARI	Equity	1		IN30021411820178	India	Male	Income Tax PAN	ABLPT5933D		200	10	2,000
582	Individual	Other than promoter	Others	RADHESHYAM AGARWALA	Equity	1		1201910300759033	India	Male	Income Tax PAN	ACGPA8784R		200	10	2,000
583	Individual	Other than promoter	Others	SRINIVAS NARAHARI KAMATH	Equity	1		1208160015456560	India	Male	Income Tax PAN	ACPPK0186N		200	10	2,000
584	Individual	Other than promoter	Others	RAJESH AGARWAL	Equity	1		1201910300758969	India	Male	Income Tax PAN	ADEPA1839Q		200	10	2,000
585	Individual	Other than promoter	Others	BIPINCHANDRA JAYANTILAL SHAH	Equity	1		1209060001395274	India	Male	Income Tax PAN	ADIPS1719B		200	10	2,000
586	Individual	Other than promoter	Others	HEMANGI BHAVESH VORA	Equity	1		IN30154915526635	India	Female	Income Tax PAN	ADKPV4563E		200	10	2,000
587	Individual	Other than promoter	Others	MICHEAL GNANAPRAKASAM	Equity	1		1208160143332434	India	Male	Income Tax PAN	AEJPG1923K		200	10	2,000
588	Individual	Other than promoter	Others	SHASHI BHUSHAN PRASAD	Equity	1		1205090000022251	India	Male	Income Tax PAN	AEQPP5235C		200	10	2,000
589	Individual	Other than promoter	Others	MANISHA SETHIA	Equity	1		IN30163741486375	India	Female	Income Tax PAN	AFPPM4044J		200	10	2,000
590	Individual	Other than promoter	Others	PRADEEP KISAN TANDEL	Equity	1		1206690001381344	India	Male	Income Tax PAN	AFVPT5006M		200	10	2,000
591	Individual	Other than promoter	Others	PINTUKUMAR RASIKLAL SHAH .	Equity	1		1204150000134573	India	Male	Income Tax PAN	AFXPS5180D		200	10	2,000
592	Individual	Other than promoter	Others	GEETA DHANWANI	Equity	1		IN30198310956176	India	Female	Income Tax PAN	AGJPD8537A		200	10	2,000
593	Individual	Other than promoter	Others	INDIRABEN SHRIKANTBHAI PARIKH	Equity	1		IN30021415197025	India	Female	Income Tax PAN	AHLPP6546N		200	10	2,000
594	Individual	Other than promoter	Others	SATISH AGARWAL	Equity	1		1201910300759111	India	Male	Income Tax PAN	AHYPA6380L		200	10	2,000
595	Individual	Other than promoter	Others	MAMTA AJAIN	Equity	1		IN30429511096852	India	Female	Income Tax PAN	AIJPJ8882C		200	10	2,000
596	Individual	Other than promoter	Others	ASHWINI RAKESHKUMAR BAID .	Equity	1		1201350000082873	India	Female	Income Tax PAN	AJAPB0626J		200	10	2,000
597	Individual	Other than promoter	Others	PRATIK BIPINCHANDRA SHAH	Equity	1		1209060001395261	India	Male	Income Tax PAN	AMJPS5831Q		200	10	2,000
598	Individual	Other than promoter	Others	SHWETA DEEPAK SARAF	Equity	1		1205090000080027	India	Female	Income Tax PAN	AMQPK8357C		200	10	2,000
599	Individual	Other than promoter	Others	ALPA CHINTUKUMAR PATEL	Equity	1		1201910103074454	India	Female	Income Tax PAN	ANOPP1770H		200	10	2,000
600	Individual	Other than promoter	Others	PALTERU SWARNA	Equity	1		IN30115126479561	India	Female	Income Tax PAN	APOPP1160P		200	10	2,000
601	Individual	Other than promoter	Others	SUBHASH . MOUR	Equity	1		1208180090654023	India	Male	Income Tax PAN	AQXPM3757B		200	10	2,000
602	Individual	Other than promoter	Others	RAJESWARI P	Equity	1	00000602		India	Female	Income Tax PAN	AUAPR1171P		200	10	2,000
603	Individual	Other than promoter	Others	SUREN PRABHU TR	Equity	1	00001360		India	Male	Income Tax PAN	AUMPS8587Q		200	10	2,000
604	Individual	Other than promoter	Others	ABHISHEK SIKARIA	Equity	1		IN30023916112099	India	Male	Income Tax PAN	AZFPS4190R		200	10	2,000
605	Individual	Other than promoter	Others	SEEMA KALPESH SURANA	Equity	1		1206220000003940	India	Female	Income Tax PAN	AHGPM0377B		500	10	5,000

606	Individual	Other than promoter	Others	DARSHI PRATIK SHAH	Equity	1		1209060001395255	India	Female	Income Tax PAN	BFNPS4417J			200	10	2,000
607	Individual	Other than promoter	Others	JONES BASIL .	Equity	1		1208870082793428	India	Male	Income Tax PAN	BKLPJ0557P			200	10	2,000
608	Individual	Other than promoter	Others	VIJAY JAGDISHCHAND KALANTRI	Equity	1		1201210000132101	India	Male	Income Tax PAN	BXCPK2791L			200	10	2,000
609	Individual	Other than promoter	Others	SHWETA SINGH	Equity	1		IN30051317953456	India	Female	Income Tax PAN	CBEPS8866H			200	10	2,000
610	Individual	Other than promoter	Others	VISHAL ASHOK SANGHVI	Equity	1		1208160069964185	India	Male	Income Tax PAN	CRFPS3395J			200	10	2,000
611	Individual	Other than promoter	Others	SHIVANI ANIL MAGJI .	Equity	1		1204920005044002	India	Female	Income Tax PAN	CWMPM7563C			200	10	2,000
612	Individual	Other than promoter	Others	SHAILA KAPOOR	Equity	1		IN30051380065633	India	Female	Income Tax PAN	DCPPK9060N			200	10	2,000
613	Individual	Other than promoter	Others	VIDHI MARDIA	Equity	1		1201090012959240	India	Female	Income Tax PAN	DGKPM5214H			200	10	2,000
614	Individual	Other than promoter	Others	USHA DEVI	Equity	1		1208160013252622	India	Female	Income Tax PAN	GBGPD7450G			200	10	2,000
615	Individual	Other than promoter	Others	SIDHANTH U RAO	Equity	1		1208870198734363	India	Male	Income Tax PAN	JMKPS8700Q			200	10	2,000
616	Individual	Other than promoter	Others	NAGRAJ ANNARAO BARAKI	Equity	1		1203320081351088	India	Male	Income Tax PAN	AAVPB4074E			199	10	1,990
617	Individual	Other than promoter	Others	PAWAN KUMAR MALOO	Equity	1		1201090023900612	India	Male	Income Tax PAN	AKZPM4595M			195	10	1,950
618	Individual	Other than promoter	Others	GOURAV B JAIN	Equity	1		1208160039486675	India	Male	Income Tax PAN	AUAPG0392D			195	10	1,950
619	Individual	Other than promoter	Others	SHAILESH MEHTA	Equity	1		IN30195910044853	India	Male	Income Tax PAN	AMRPM5815G			191	10	1,910
620	Entity	Other than promoter	Others	PAWAN KUMAR BANSIDHAR HUF	Equity	1		1201090034940924	India	Male	Income Tax PAN	AAHHP8471K			182	10	1,820
621	Individual	Other than promoter	Others	VISHAL KUMAR	Equity	1		1208160029010091	India	Male	Income Tax PAN	AUVPK9655L			182	10	1,820
622	Individual	Other than promoter	Others	TARUN KHEMNANI	Equity	1		1203320006965431	India	Male	Income Tax PAN	AOZPK2985H			180	10	1,800
623	Individual	Other than promoter	Others	RAM KANWAR	Equity	1		1208160064144664	India	Female	Income Tax PAN	BPHPK1958N			180	10	1,800
624	Individual	Other than promoter	Others	DEEPAK KUMAR GARG	Equity	1		1208870164206740	India	Male	Income Tax PAN	ALDPG0288N			179	10	1,790
625	Individual	Other than promoter	Others	KASHINATH SRIDHARA MURTHY	Equity	1		1208160031415850	India	Male	Income Tax PAN	AHMPS6268F			175	10	1,750
626	Individual	Other than promoter	Others	Kirti Sethia	Equity	1		1208160173812068	India	Female	Income Tax PAN	BDGPS9789A			175	10	1,750
627	Individual	Other than promoter	Others	NATARAJAN RAJESH	Equity	1		1208250042737727	India	Male	Income Tax PAN	BGKPR0669H			175	10	1,750
628	Individual	Other than promoter	Others	SURENDARSINGH AJITSINGH NEGI	Equity	1		1208160011356549	India	Male	Income Tax PAN	AEHPN0821P			174	10	1,740
629	Individual	Other than promoter	Others	LASTANCIAO MARCUS GRAO	Equity	1		1203320084013398	India	Male	Income Tax PAN	AITPG9158L			172	10	1,720
630	Individual	Other than promoter	Others	GURUPRASAD HEMANAGOWDA KADURA	Equity	1		1208870033625725	India	Male	Income Tax PAN	BKNPK0676G			170	10	1,700

631	Individual	Other than promoter	Others	ALKA AGARWALLA	Equity	1		1208160059096208	India	Female	Income Tax PAN	ADNPA3849H			167	10	1,670
632	Individual	Other than promoter	Others	ARJUN JAJU	Equity	1		1208160068471891	India	Male	Income Tax PAN	AKXPJ9983G			167	10	1,670
633	Individual	Other than promoter	Others	SANSKAAR TATIA	Equity	1		IN30021426869007	India	Male	Income Tax PAN	BOPPT1704Q			165	10	1,650
634	Individual	Other than promoter	Others	BALMIKI PRASAD SITA SHARAN PRASAD	Equity	1		1208160139287859	India	Male	Income Tax PAN	CJBPS5294L			165	10	1,650
635	Individual	Other than promoter	Others	GOUTAM MUHURI	Equity	1		IN30290242174557	India	Male	Income Tax PAN	AAFPM4389R			160	10	1,600
636	Individual	Other than promoter	Others	SEEMA MAHENDRA JAIN	Equity	1		1203320010649902	India	Female	Income Tax PAN	AHYPM2699C			160	10	1,600
637	Individual	Other than promoter	Others	ANTENIO CASIMIRO DIAS	Equity	1		1208670004443635	India	Male	Income Tax PAN	AUGPD8918G			160	10	1,600
638	Individual	Other than promoter	Others	SRIKANT SONI	Equity	1		IN30021426868748	India	Male	Income Tax PAN	AVBPS3758D			160	10	1,600
639	Individual	Other than promoter	Others	SWATI DHARMESH MENDAPARA	Equity	1		1208160024610201	India	Female	Income Tax PAN	EKVPM9989M			156	10	1,560
640	Individual	Other than promoter	Others	USHA JAIN	Equity	1		IN30051316725615	India	Female	Income Tax PAN	ABSPJ0183C			155	10	1,550
641	Individual	Other than promoter	Others	SUBRAMANIYAN SASI KUMAR	Equity	1		1208870006783831	India	Male	Income Tax PAN	FZGPS3407B			153	10	1,530
642	Individual	Other than promoter	Others	SHASWAT SAILESH DOCTOR	Equity	1		IN30154917805980	India	Male	Income Tax PAN	AABPD5053H			150	10	1,500
643	Individual	Other than promoter	Others	ADITYA BHASKAR YAMSANWAR	Equity	1		IN30267935358894	India	Male	Income Tax PAN	AADPY2573P			150	10	1,500
644	Entity	Other than promoter	Others	KAMAL MAHAVIR PRASAD SODHANI HUF	Equity	1		1203760000994074	India	Male	Income Tax PAN	AAGHK8424C			150	10	1,500
645	Entity	Other than promoter	Others	MAYUR AGRAWAL (HUF) .	Equity	1		1203450000940536	India	Male	Income Tax PAN	AAPHM8195P			150	10	1,500
646	Individual	Other than promoter	Others	SARITA JAYESH BHANSALI	Equity	1		1201120000193056	India	Female	Income Tax PAN	AATPM7341P			150	10	1,500
647	Individual	Other than promoter	Others	SUSHILA DEVI	Equity	1		IN30021420654188	India	Female	Income Tax PAN	ABEPS2830B			150	10	1,500
648	Individual	Other than promoter	Others	BIDYAWATI DEVI	Equity	1		IN30021424843862	India	Female	Income Tax PAN	ACIPD9421C			150	10	1,500
649	Individual	Other than promoter	Others	RAHUL P DESHMUKH	Equity	1		IN30154961677640	India	Male	Income Tax PAN	AIJPD7243B			150	10	1,500
650	Individual	Other than promoter	Others	PREETY KOTHARI	Equity	1		1208160102467242	India	Female	Income Tax PAN	BAVPK2861B			150	10	1,500
651	Individual	Other than promoter	Others	KEVAL AJAYBHAI VELANI	Equity	1		IN30199111195423	India	Male	Income Tax PAN	BFTPV5592K			150	10	1,500
652	Individual	Other than promoter	Others	SAHITI KAPARTHI	Equity	1		IN30177417972665	India	Female	Income Tax PAN	BLMPK7973G			150	10	1,500
653	Individual	Other than promoter	Others	PRIYANKA BOKADIA	Equity	1		IN30021421404281	India	Female	Income Tax PAN	CFVPB2145H			150	10	1,500
654	Individual	Other than promoter	Others	MEHER JAYESH SAMPAT	Equity	1		IN30302889057961	India	Female	Income Tax PAN	KDHPG7412E			150	10	1,500
655	Individual	Other than promoter	Others	Maulik Dinesh Satra	Equity	1		IN30281411875764	India	Male	Income Tax PAN	BREPS3559Q			149	10	1,490

656	Individual	Other than promoter	Others	KANCHAN SINGH	Equity	1		1208160025302081	India	Female	Income Tax PAN	GPRPS5525A		147	10	1,470
657	Individual	Other than promoter	Others	VIJAY KUMAR MUNDHRA	Equity	1		1208870024869491	India	Male	Income Tax PAN	AAKPM6439P		146	10	1,460
658	Individual	Other than promoter	Others	RAMANLAL S GANDHI	Equity	1		1201090013787597	India	Male	Income Tax PAN	BDTPG0696M		143	10	1,430
659	Individual	Other than promoter	Others	VAIYAPURI NAGARAJ	Equity	1		1208160023609401	India	Male	Income Tax PAN	APMPN8074L		141	10	1,410
660	Individual	Other than promoter	Others	PANKAJ GUPTA	Equity	1		1208160139597395	India	Male	Income Tax PAN	AHCPG2771R		140	10	1,400
661	Individual	Other than promoter	Others	SITAL AGARWAL	Equity	1		1208160006818461	India	Male	Income Tax PAN	BQQPA7636H		140	10	1,400
662	Individual	Other than promoter	Others	ALPANA GUPTA	Equity	1		1208160002092273	India	Female	Income Tax PAN	AJZPG6503E		136	10	1,360
663	Individual	Other than promoter	Others	SUKESH BHANDARY	Equity	1		1203320139792454	India	Male	Income Tax PAN	AWYPB3924A		134	10	1,340
664	Individual	Other than promoter	Others	CHANDRA KARNATAKA AVINASH	Equity	1		1208160051696461	India	Male	Income Tax PAN	AUGPK0204Q		131	10	1,310
665	Individual	Other than promoter	Others	KOMATHI SURESH ..	Equity	1		1208870339272755	India	Female	Income Tax PAN	IKTPK6294M		131	10	1,310
666	Individual	Other than promoter	Others	HASMUKH .	Equity	1		1201090017825840	India	Male	Income Tax PAN	ACDPH6999L		130	10	1,300
667	Individual	Other than promoter	Others	KIRTI BHALCHANDRA PARULEKAR	Equity	1		IN30154931699628	India	Female	Income Tax PAN	AGQPP9342L		130	10	1,300
668	Individual	Other than promoter	Others	RAJESH MANOHAR PEDNEKAR	Equity	1		IN30051380042230	India	Male	Income Tax PAN	AJYPP4814A		130	10	1,300
669	Individual	Other than promoter	Others	MANISHA ARVIND PATANKAR	Equity	1		1208160076993578	India	Female	Income Tax PAN	CQDPP9545A		130	10	1,300
670	Individual	Other than promoter	Others	SACHIN KUMAR AGRAWAL	Equity	1		IN30021452261778	India	Male	Income Tax PAN	AZWPA6764E		129	10	1,290
671	Individual	Other than promoter	Others	RAJASEKARAN B	Equity	1		IN30115112167445	India	Male	Income Tax PAN	AAFPR3400E		128	10	1,280
672	Individual	Other than promoter	Others	ROJA NAGARAJ	Equity	1		1208160103456428	India	Female	Income Tax PAN	BGWPN6552P		127	10	1,270
673	Individual	Other than promoter	Others	RAJESH KUMAR DAS	Equity	1		1208870084686898	India	Male	Income Tax PAN	FAIPD1205D		126	10	1,260
674	Individual	Other than promoter	Others	SHILPA GITESH SHAH	Equity	1		1208160006845937	India	Female	Income Tax PAN	AZFPS6405B		125	10	1,250
675	Individual	Other than promoter	Others	MOHIT SINGLA	Equity	1		1208160007235025	India	Male	Income Tax PAN	DEJPS9666Q		125	10	1,250
676	Individual	Other than promoter	Others	RITIKA LALITKUMAR BOTHRA	Equity	1		1208160127965850	India	Female	Income Tax PAN	CHAPB6370H		123	10	1,230
677	Individual	Other than promoter	Others	AMARJEET KAUR SALUJA	Equity	1		IN30302813415353	India	Female	Income Tax PAN	CCGPS2732F		122	10	1,220
678	Individual	Other than promoter	Others	J RAGUPATHY	Equity	1		IN30154951055895	India	Male	Income Tax PAN	BJBPR8498A		120	10	1,200
679	Individual	Other than promoter	Others	RAMANDEEP BHAGAT	Equity	1		IN30302862038120	India	Male	Income Tax PAN	BPOPB6024H		120	10	1,200
680	Individual	Other than promoter	Others	SEEMA AGRAWAL	Equity	1		IN30143691030478	India	Female	Income Tax PAN	AOGPA3401B		119	10	1,190

681	Entity	Other than promoter	Others	MAHESH KUNDANLAL HUF	Equity	1		IN30002011542484	India	Male	Income Tax PAN	AAGHM6491R			118	10	1,180
682	Individual	Other than promoter	Others	ASHISH ARUN KEDIA	Equity	1		1208160124901124	India	Male	Income Tax PAN	ABFPK6565L			118	10	1,180
683	Individual	Other than promoter	Others	SEEMA MEHTA	Equity	1		IN30143695206125	India	Female	Income Tax PAN	APDPM5281P			116	10	1,160
684	Entity	Other than promoter	Others	TARACHAND SANGHVI HUF	Equity	1		1204470027194702	India	Male	Income Tax PAN	AABHT1026J			110	10	1,100
685	Individual	Other than promoter	Others	TUSHAR HASSIJA	Equity	1		1208870071053411	India	Male	Income Tax PAN	ACOPH0301B			110	10	1,100
686	Individual	Other than promoter	Others	SACHIN KESHAV CHAVAN	Equity	1		1203320014328811	India	Male	Income Tax PAN	AGJPC9697A			110	10	1,100
687	Individual	Other than promoter	Others	NITU KUMARI	Equity	1		1208160093008528	India	Female	Income Tax PAN	DRBPK8544J			110	10	1,100
688	Individual	Other than promoter	Others	MANISH GOYAL	Equity	1		1208160008853966	India	Male	Income Tax PAN	AITPG4195R			109	10	1,090
689	Individual	Other than promoter	Others	PRANJALI RAJESH NADKARNI	Equity	1		1207670000144582	India	Female	Income Tax PAN	AGIPN8003E			108	10	1,080
690	Individual	Other than promoter	Others	MARTIN WILHELM CARAMIA	Equity			1208160146218480	India	Male	Income Tax PAN	ASAPC3511G			107	10	1,070
691	Individual	Other than promoter	Others	SUYOGYA CHANDRA MEHTA	Equity			1208160084464248	India	Male	Income Tax PAN	AUUPM0085H			107	10	1,070
692	Individual	Other than promoter	Others	SUNIL KUMAR ANCHALIA	Equity			IN30021423926874	India	Male	Income Tax PAN	ACAPJ9848H			105	10	1,050
693	Individual	Other than promoter	Others	SUNIL KUMAR SINGHVI	Equity			1201210100949666	India	Male	Income Tax PAN	ADSPS9678P			105	10	1,050
694	Individual	Other than promoter	Others	TANMAY BALASAHEB GANDHI	Equity			1208160144709389	India	Male	Income Tax PAN	AYKPG3542M			105	10	1,050
695	Individual	Other than promoter	Others	BACHAN KUMAR	Equity			IN30021430657143	India	Male	Income Tax PAN	GDDPK5064C			105	10	1,050
696	Individual	Other than promoter	Others	RENU MOGRA	Equity			1301240004708241	India	Female	Income Tax PAN	ABFPM0797A			104	10	1,040
697	Individual	Other than promoter	Others	SANOOP CHANGARANGATH	Equity			1208160140966087	India	Male	Income Tax PAN	BQUPC3028B			104	10	1,040
698	Individual	Other than promoter	Others	RITU MALPANI	Equity			1203350001848364	India	Female	Income Tax PAN	AGNPM8274B			103	10	1,030
699	Individual	Other than promoter	Others	KALPESH TEJRAJ SURANA	Equity	1		1206220000004258	India	Male	Income Tax PAN	AAQPS2100R			400	10	4,000
700	Individual	Other than promoter	Others	DHARMENDRA PRATAP YADAV .	Equity	1		1207600000071544	India	Male	Income Tax PAN	AADPY0623J			330	10	3,300
701	Individual	Other than promoter	Others	UMESH KESHRIKAL JAIN	Equity	1		1203300000096051	India	Male	Income Tax PAN	ACYPC1648J			300	10	3,000
702	Individual	Other than promoter	Others	BHANUMATHI SUNDARARAJAN	Equity	1	00000107		India	Female					100	10	1,000
703	Individual	Other than promoter	Others	ALAMELU RM	Equity	1	00000110		India	Female					100	10	1,000
704	Individual	Other than promoter	Others	RAVI NARAYAN	Equity	1	00000145		India	Male					100	10	1,000
705	Individual	Other than promoter	Others	DEVALLA SESHU REDDY	Equity	1	00000174		India	Male					100	10	1,000

706	Entity	Other than promoter	Body corporate (not mentioned above)	CGK FINVEST (MADRAS) PRIVATE LIMITED	Equity	1	00000434		India	Not applicable					100	10	1,000
707	Individual	Other than promoter	Others	GOPALAKRISHNAN M V	Equity	1	00000532		India	Male					100	10	1,000
708	Individual	Other than promoter	Others	SUSHIL KUMAR GUPTA	Equity	1	00000585		India	Male					100	10	1,000
709	Individual	Other than promoter	Others	JAMUNA DEVI	Equity	1	00000596		India	Female					100	10	1,000
710	Individual	Other than promoter	Others	SASI KALA S	Equity	1	00000609		India	Female					100	10	1,000
711	Individual	Other than promoter	Others	AYYAPPAN TV	Equity	1	00000617		India	Male					100	10	1,000
712	Individual	Other than promoter	Others	SRINIVASAN P	Equity	1	00000618		India	Male					100	10	1,000
713	Individual	Other than promoter	Others	SIVAGAMI C	Equity	1	00000931		India	Female					100	10	1,000
714	Individual	Other than promoter	Others	KAMALA K	Equity	1	00001021		India	Female					100	10	1,000
715	Individual	Other than promoter	Others	VIJAYAKUMAR M	Equity	1	00001025		India	Male					100	10	1,000
716	Individual	Other than promoter	Others	DINESH RASIKLAL SHAH	Equity	1	00001061		India	Male					100	10	1,000
717	Individual	Other than promoter	Others	MAHENDRA KUMAR JAIN	Equity		00001068	1203320011724001	India	Male					100	10	1,000
718	Individual	Other than promoter	Others	ASHOK KUMAR	Equity	1	00001071		India	Male					100	10	1,000
719	Individual	Other than promoter	Others	MYTHILI N	Equity	1	00001228		India	Female					100	10	1,000
720	Individual	Other than promoter	Others	ELANGOVAN D	Equity	1	00001229		India	Male					100	10	1,000
721	Individual	Other than promoter	Others	RAZIA SULTANA	Equity	1	00001234		India	Female					100	10	1,000
722	Individual	Other than promoter	Others	RAWOOFA BEGUM	Equity	1	00001235		India	Female					100	10	1,000
723	Individual	Other than promoter	Others	RAMAN K	Equity	1	00001236		India	Male					100	10	1,000
724	Individual	Other than promoter	Others	RAMALAKSHMI S	Equity	1	00001253		India	Female					100	10	1,000
725	Individual	Other than promoter	Others	SUBRAMANIAN K	Equity	1	00001254		India	Male					100	10	1,000
726	Individual	Other than promoter	Others	RAMA LAKSHMI S	Equity	1	00001255		India	Female					100	10	1,000
727	Individual	Other than promoter	Others	SHIVA SUBRAMANIAN NC	Equity	1	00001281		India	Male					100	10	1,000
728	Individual	Other than promoter	Others	PARAVATHI V	Equity	1	00001282		India	Female					100	10	1,000
729	Individual	Other than promoter	Others	LEENA JITENDRA RAVAL	Equity	1	00001294		India	Female					100	10	1,000

730	Individual	Other than promoter	Others	MANJULA LOGANATHAN	Equity	1	00001299		India	Female					100	10	1,000
731	Individual	Other than promoter	Others	RAVI R	Equity	1	00001301		India	Male					100	10	1,000
732	Individual	Other than promoter	Others	PARTHA SHARATHY S	Equity	1	00001310		India	Male					100	10	1,000
733	Entity	Other than promoter	Body corporate (not mentioned above)	MONT BLANC FINANCIAL SERVICE LTD	Equity	1	00001311		India	Not applicable					100	10	1,000
734	Individual	Other than promoter	Others	GANGADHARAN R	Equity	1	00001331		India	Male					100	10	1,000
735	Individual	Other than promoter	Others	DNYANESH BHALACHANDRA DEO	Equity	1	00001336		India	Male					100	10	1,000
736	Individual	Other than promoter	Others	BHAGYALAKSHMI V	Equity	1	00001341		India	Female					100	10	1,000
737	Individual	Other than promoter	Others	ASHOK KUMAR	Equity	1	00001071		India	Male					100	10	1,000
738	Individual	Other than promoter	Others	BHOOPATHI.R	Equity	1	00001345		India	Male					100	10	1,000
739	Individual	Other than promoter	Others	KANNAN N V	Equity	1	00001347		India	Male					100	10	1,000
740	Individual	Other than promoter	Others	BALAJI P S	Equity	1	00001354		India	Male					100	10	1,000
741	Individual	Other than promoter	Others	MUTHURAJ T	Equity	1	00001375		India	Male					100	10	1,000
742	Individual	Other than promoter	Others	FATHIMA M	Equity	1	00001384		India	Female					100	10	1,000
743	Individual	Other than promoter	Others	NEETU MUKESH MEHTA	Equity	1		IN30429510588416	India	Female	Income Tax PAN	AAAPB8922G			100	10	1,000
744	Individual	Other than promoter	Others	LEKHRAJ HARAKHCHAND DOSHI	Equity	1		1201700000259918	India	Male	Income Tax PAN	AABPD1010C			100	10	1,000
745	Entity	Other than promoter	Others	BHARAT N SHAH HUF	Equity	1		IN30220110183737	India	Male	Income Tax PAN	AADHB0723J			100	10	1,000
746	Entity	Other than promoter	Others	JAGDISH PRASAD CHOUDHARY HUF	Equity	1		IN30458610001509	India	Male	Income Tax PAN	AADHJ0192F			100	10	1,000
747	Entity	Other than promoter	Others	RATAN BAGRODIA HUF	Equity	1		1201320001993987	India	Male	Income Tax PAN	AADHR5464A			100	10	1,000
748	Entity	Other than promoter	Body corporate (not mentioned above)	AMS GARMENTS PRIVATE LIMITED	Equity	1		IN30154960135444	India	Not applicable	Income Tax PAN	AAECA9711F			100	10	1,000
749	Entity	Other than promoter	Others	RAJIV GUPTA HUF	Equity	1		1206690006732850	India	Male	Income Tax PAN	AAEHR7584L			100	10	1,000
750	Individual	Other than promoter	Others	SAMPATI BHATTAD	Equity	1		1208160057315537	India	Female	Income Tax PAN	AAEPB1122A			100	10	1,000
751	Entity	Other than promoter	Others	NEERU BHANDARI HUF	Equity	1		IN30160412985368	India	Male	Income Tax PAN	AAFHN9888L			100	10	1,000
752	Individual	Other than promoter	Others	SUDHIR K PATEL	Equity	1	00001143		India	Male	Income Tax PAN	AAHPP4776H			100	10	1,000
753	Individual	Other than promoter	Others	S SUNDAR RAM .	Equity	1		1207830000117451	India	Male	Income Tax PAN	AAHPS9273L			100	10	1,000

754	Individual	Other than promoter	Others	KUNAL SUKHADEO WANJARI	Equity	1		1208160023617621	India	Male	Income Tax PAN	AAHPW1499A			100	10	1,000
755	Individual	Other than promoter	Others	DHANALAKSHMI RM	Equity	1		IN30131321151002	India	Female	Income Tax PAN	AAIPD7999R			100	10	1,000
756	Individual	Other than promoter	Others	ASHISH SUBHASH NAVALAKHA	Equity	1		1201320001957908	India	Male	Income Tax PAN	AAJPN0848G			100	10	1,000
757	Individual	Other than promoter	Others	A VIMALCHAND	Equity	1		1204840000254644	India	Male	Income Tax PAN	AAKPV7323D			100	10	1,000
758	Individual	Other than promoter	Others	M A HIRIYANNA	Equity	1		IN30113526045341	India	Male	Income Tax PAN	AALPH5411K			100	10	1,000
759	Entity	Other than promoter	Others	KISHORE PARAKH HUF	Equity	1		1209020000015334	India	Male	Income Tax PAN	AAMHK4821K			100	10	1,000
760	Entity	Other than promoter	Others	MILAP BHARAT SHAH (HUF)	Equity	1		IN30371911083944	India	Male	Income Tax PAN	AANHM2319F			100	10	1,000
761	Individual	Other than promoter	Others	MOHAN RAJ B	Equity	1	00000050		India	Male	Income Tax PAN	BCMPM6461L			200	10	2,000
762	Individual	Other than promoter	Others	LILAVATI KANTILAL SHAH	Equity	1		1203320332971449	India	Female	Income Tax PAN	AAQPS2441H			100	10	1,000
763	Individual	Other than promoter	Others	VINA JAGDISHCHAND KALANTRI	Equity	1		1201210000132475	India	Female	Income Tax PAN	AARPK1409L			100	10	1,000
764	Individual	Other than promoter	Others	P SUMATHI BAI	Equity	1		IN30012610849663	India	Female	Income Tax PAN	AASPS1990H			100	10	1,000
765	Individual	Other than promoter	Others	S RAMESHKUMAR SURANA	Equity	1		IN30154966523904	India	Male	Income Tax PAN	AAWFV0261G			100	10	1,000
766	Individual	Other than promoter	Others	NARESH KUMAR ABBANI	Equity	1		IN30154954495263	India	Male	Income Tax PAN	AAWPA0003D			100	10	1,000
767	Individual	Other than promoter	Others	RAJENDRA KUMAR BAJAJ	Equity	1		IN30290243085078	India	Male	Income Tax PAN	ABAPB9592P			100	10	1,000
768	Individual	Other than promoter	Others	NATARAJA MV	Equity	1		IN30214811137432	India	Male	Income Tax PAN	ABAPN0188R			100	10	1,000
769	Individual	Other than promoter	Others	MANIK SUDHAKAR KAWATHEKAR	Equity	1		IN30154960669011	India	Male	Income Tax PAN	ABBPK0719L			100	10	1,000
770	Individual	Other than promoter	Others	DEEPA MANIK KAWATHEKAR	Equity	1		1205810000178242	India	Female	Income Tax PAN	ABBPK0776D			100	10	1,000
771	Individual	Other than promoter	Others	USHA KUNAL WANJARI	Equity	1		IN30311612428520	India	Female	Income Tax PAN	ABBPW5725C			100	10	1,000
772	Individual	Other than promoter	Others	VIKRANT SINGH YADAV	Equity	1		1208160071482093	India	Male	Income Tax PAN	ABDPY0976D			100	10	1,000
773	Individual	Other than promoter	Others	JITENDRA NANDLALJI SINGHVI	Equity	1		1203230004029191	India	Male	Income Tax PAN	ABIPS1503R			100	10	1,000
774	Individual	Other than promoter	Others	SARLA DEVI NEWAR	Equity	1		1203460000436389	India	Female	Income Tax PAN	ABQPN3066Q			100	10	1,000
775	Individual	Other than promoter	Others	VENKATESWARARAO GUTHULA	Equity	1		1202300001139504	India	Male	Income Tax PAN	ABXPG2218A			100	10	1,000
776	Individual	Other than promoter	Others	SURENDRA NANDLAL SHAH	Equity	1		IN30302853578188	India	Male	Income Tax PAN	ABYPS9464R			100	10	1,000
777	Individual	Other than promoter	Others	JAI KUMAR D	Equity	1		IN30021425922963	India	Male	Income Tax PAN	ACEPJ6220H			100	10	1,000
778	Individual	Other than promoter	Others	MAHENDRA SHIVJI PASAD	Equity	1		1208180031904201	India	Male	Income Tax PAN	ACFPP8026J			100	10	1,000

779	Individual	Other than promoter	Others	OM PRAKASH KOTHARI NITESH KOTHARI	Equity	1		1208160033607050	India	Male	Income Tax PAN	ACIPN5206D			100	10	1,000
780	Individual	Other than promoter	Others	SANDHYA BHARAT SHAH	Equity	1		IN30220110154867	India	Female	Income Tax PAN	ACIPS6269H			100	10	1,000
781	Individual	Other than promoter	Others	VISHAL DEVENDRA KAPOOR	Equity	1		IN30429516566517	India	Male	Income Tax PAN	ACMPK2308M			100	10	1,000
782	Individual	Other than promoter	Others	TARPINDER SINGH	Equity	1		1209290022102555	India	Male	Income Tax PAN	ACMPS7062C			100	10	1,000
783	Individual	Other than promoter	Others	TRUPTI VINAY NEGANDHI	Equity	1		1208160094297473	India	Female	Income Tax PAN	ACOPN6608B			100	10	1,000
784	Individual	Other than promoter	Others	GIRISH SOHANRAJ SURANA	Equity	1		1206220000009178	India	Male	Income Tax PAN	AAPPS1303M			100	10	1,000
785	Individual	Other than promoter	Others	LALIT ARORA	Equity	1		IN30114312524538	India	Male	Income Tax PAN	ACVPA0217A			100	10	1,000
786	Individual	Other than promoter	Others	CHINNAPPAN VEMBURAMKUMAR	Equity	1		1208160013211106	India	Male	Income Tax PAN	ACYPV6822D			100	10	1,000
787	Individual	Other than promoter	Others	SANDEEP GHEVARCHAND DHOKA	Equity	1		1205910000141611	India	Male	Income Tax PAN	ADHPD2625C			100	10	1,000
788	Individual	Other than promoter	Others	CHANDRASEKARAN K	Equity	1	00001027		India	Male	Income Tax PAN	ADKPC7852K			100	10	1,000
789	Individual	Other than promoter	Others	RANI.R.T	Equity	1		IN30163740763614	India	Female	Income Tax PAN	ADLPT2478F			100	10	1,000
790	Individual	Other than promoter	Others	CHANDRA SEKHAR KAPARTHI	Equity	1		1206420000903591	India	Male	Income Tax PAN	ADOPK6846R			100	10	1,000
791	Individual	Other than promoter	Others	KALPESH KANTILAL VELANI	Equity	1		IN30199111348016	India	Male	Income Tax PAN	ADTPV1442M			100	10	1,000
792	Individual	Other than promoter	Others	Kapil Arora	Equity	1		1202970000088124	India	Male	Income Tax PAN	ADVPA1529Q			100	10	1,000
793	Individual	Other than promoter	Others	MRIGANKINI J PARIKH	Equity	1		IN30075711555675	India	Female	Income Tax PAN	AEHPP4790B			100	10	1,000
794	Individual	Other than promoter	Others	KALPESH NATWARLAL GOSALIA	Equity	1		1202810000089887	India	Male	Income Tax PAN	AEJPG9662D			100	10	1,000
795	Individual	Other than promoter	Others	DIPEN VIRENDRA THAKKAR	Equity	1		1207670000191202	India	Male	Income Tax PAN	AEKPT2663L			100	10	1,000
796	Individual	Other than promoter	Others	KAVITA SUBHASH VASWANI	Equity	1		IN30292712714701	India	Female	Income Tax PAN	AEPPV9758P			100	10	1,000
797	Individual	Other than promoter	Others	PANKAJ JALAN	Equity	1		1208160026395994	India	Male	Income Tax PAN	AEQPJ0703D			100	10	1,000
798	Individual	Other than promoter	Others	MOHINI ADIVI VIMALA KIRAN	Equity	1		1208160070555548	India	Female	Income Tax PAN	AERPV7946M			100	10	1,000
799	Individual	Other than promoter	Others	ABHISHEK KUMAR VERMA	Equity	1		1301240002010036	India	Male	Income Tax PAN	AEUPV2992N			100	10	1,000
800	Individual	Other than promoter	Others	SURABHI DAGA	Equity	1		IN30154952711106	India	Female	Income Tax PAN	AFOPR5554H			100	10	1,000
801	Individual	Other than promoter	Others	ANIL NANDLAL BHATTAD .	Equity	1		1201090005460842	India	Male	Income Tax PAN	AFRPB1112N			100	10	1,000
802	Individual	Other than promoter	Others	VIJAY RIKHAVCHAND GANDHI	Equity	1		120200000043523	India	Male	Income Tax PAN	ACTPG5316Q			100	10	1,000
803	Individual	Other than promoter	Others	DINESH KUMAR JAIN	Equity	1		IN30186262424945	India	Male	Income Tax PAN	AFVPJ0592C			100	10	1,000

804	Individual	Other than promoter	Others	ILA JAGDISH SHAH	Equity	1		1203000001053570	India	Female	Income Tax PAN	AFZPS2375C			100	10	10	1,000
805	Individual	Other than promoter	Others	GOVINDAN KUTTY NAIR PRADEEP NARAYANATH	Equity	1		IN30226913804794	India	Male	Income Tax PAN	AHRPG2305C			100	10	10	1,000
806	Individual	Other than promoter	Others	SAGAR RAMESH BATAVIA	Equity	1		IN30154963818348	India	Male	Income Tax PAN	AIFPB1575J			100	10	10	1,000
807	Individual	Other than promoter	Others	ASHA PODDAR	Equity	1		1203350000196229	India	Female	Income Tax PAN	AIHPP0544P			100	10	10	1,000
808	Individual	Other than promoter	Others	RAKESH PARASMAL BURAD	Equity	1		1204450000255921	India	Male	Income Tax PAN	AINPB3582F			100	10	10	1,000
809	Individual	Other than promoter	Others	VISHAL JAIKISHAN PANJABI	Equity	1		IN30302888932109	India	Male	Income Tax PAN	AIOPP9240M			100	10	10	1,000
810	Individual	Other than promoter	Others	THEDLA ASHOK BABU	Equity	1		IN30154960703074	India	Male	Income Tax PAN	AJEPB3940M			100	10	10	1,000
811	Individual	Other than promoter	Others	ASHWANI KUMAR	Equity	1		IN30302854593715	India	Male	Income Tax PAN	AJPPA5310M			100	10	10	1,000
812	Individual	Other than promoter	Others	PRANJEL GYANCHAND PIPARA.	Equity	1		1201090006375754	India	Male	Income Tax PAN	AJPP0048H			100	10	10	1,000
813	Individual	Other than promoter	Others	SEJAL MAYUR CHHADWA	Equity	1		1201120000211849	India	Female	Income Tax PAN	AJNPC9524F			100	10	10	1,000
814	Individual	Other than promoter	Others	KALPESH CHAMPALAL BHANSALI	Equity	1		IN30051312320096	India	Male	Income Tax PAN	AJUPB3485B			100	10	10	1,000
815	Individual	Other than promoter	Others	SAROJDEVI SURENDRA SHAH	Equity	1		IN30302851686763	India	Female	Income Tax PAN	AKTPS7762G			100	10	10	1,000
816	Individual	Other than promoter	Others	ALPESH KANUGO	Equity	1		IN30115125916197	India	Male	Income Tax PAN	AKZPK6537H			100	10	10	1,000
817	Individual	Other than promoter	Others	NIRAJ JALAN	Equity	1		IN30302859146847	India	Male	Income Tax PAN	ALJPJ9049A			100	10	10	1,000
818	Individual	Other than promoter	Others	PRANAV DILIPBHAI SHAH	Equity	1		IN30034310690073	India	Male	Income Tax PAN	ALTPS6473R			100	10	10	1,000
819	Individual	Other than promoter	Others	BHARATI M RATHI	Equity	1	00001164		India	Female	Income Tax PAN	AMRPB4498A			100	10	10	1,000
820	Individual	Other than promoter	Others	RADHIKA DEVI	Equity	1		1208160114091723	India	Female	Income Tax PAN	AMSPR8948L			100	10	10	1,000
821	Individual	Other than promoter	Others	D BALAJI	Equity	1		IN30154936031076	India	Male	Income Tax PAN	ANBPP7302C			100	10	10	1,000
822	Individual	Other than promoter	Others	RAXA ARVIND PANDYA	Equity	1		IN30290240900816	India	Female	Income Tax PAN	ANCPP7370B			100	10	10	1,000
823	Individual	Other than promoter	Others	SHAH HETALKUMAR	Equity	1		IN30034310570548	India	Male	Income Tax PAN	ANEPS0591F			100	10	10	1,000
824	Individual	Other than promoter	Others	RANJANA H PAREEK	Equity	1		IN30302884494187	India	Female	Income Tax PAN	ANWPP4505C			100	10	10	1,000
825	Individual	Other than promoter	Others	SANTOSH KUMAR	Equity	1		IN30177418845141	India	Male	Income Tax PAN	ANXPK3593N			100	10	10	1,000
826	Individual	Other than promoter	Others	YOGESH .	Equity	1		IN30186267670034	India	Male	Income Tax PAN	APAPY2226D			100	10	10	1,000
827	Individual	Other than promoter	Others	ANILABEN PATEL	Equity	1		1204780000114517	India	Female	Income Tax PAN	APIPP2182B			100	10	10	1,000
828	Individual	Other than promoter	Others	BIPIN DHIRAJLAL SHAH	Equity	1		1202890000194962	India	Male	Income Tax PAN	APNPS1222C			100	10	10	1,000

829	Individual	Other than promoter	Others	ILAN BHATIA	Equity	1		1201090013430021	India	Male	Income Tax PAN	AQLPB8492N			100	10	10	1,000
830	Individual	Other than promoter	Others	HARDIK SHAH	Equity	1		IN30034310598612	India	Male	Income Tax PAN	ARAPS6272R			100	10	10	1,000
831	Individual	Other than promoter	Others	KANDIL THODUKA ANAS	Equity	1		1208160052087746	India	Male	Income Tax PAN	ASGPA1161Q			100	10	10	1,000
832	Individual	Other than promoter	Others	KUSHAL R CHANDAN .	Equity	1		1201090010799420	India	Male	Income Tax PAN	ASKPC5027B			100	10	10	1,000
833	Individual	Other than promoter	Others	GANESH RAO U R	Equity	1		IN30051318785864	India	Male	Income Tax PAN	ATWPR6192D			100	10	10	1,000
834	Individual	Other than promoter	Others	ABHISHEK AGRAWAL	Equity	1		1208180000176648	India	Male	Income Tax PAN	AVTPA7442G			100	10	10	1,000
835	Individual	Other than promoter	Others	FENIL UTTAM JAIN	Equity	1		IN30302861648366	India	Male	Income Tax PAN	AWGPJ4386A			100	10	10	1,000
836	Individual	Other than promoter	Others	KACHENAHALLI SHIVANNA VARUN	Equity	1		1208160062486280	India	Male	Income Tax PAN	AXTPV0818R			100	10	10	1,000
837	Individual	Other than promoter	Others	MADHUSUDAN NANDLAL BHATTAD	Equity	1		1202000000465211	India	Male	Income Tax PAN	AFRPB1115M			100	10	10	1,000
838	Individual	Other than promoter	Others	B K CHETHANA	Equity	1		IN30051318228527	India	Female	Income Tax PAN	AZMPK4370N			100	10	10	1,000
839	Individual	Other than promoter	Others	VEMBURAMKUMAR SAROJA	Equity	1		1208160036707573	India	Female	Income Tax PAN	BCFPS5599N			100	10	10	1,000
840	Individual	Other than promoter	Others	SUBHAM KUMAR AGARWAL	Equity	1		1203450000816001	India	Male	Income Tax PAN	BCKPA9230P			100	10	10	1,000
841	Individual	Other than promoter	Others	DONGA RAVI CHANDRA	Equity	1		1208160006400729	India	Male	Income Tax PAN	BELPC6331L			100	10	10	1,000
842	Individual	Other than promoter	Others	USHA R. SHAH	Equity	1		1202890001519547	India	Female	Income Tax PAN	BFNPS4419G			100	10	10	1,000
843	Individual	Other than promoter	Others	VIJAY SRIVASTAVA	Equity	1		IN30226914776090	India	Male	Income Tax PAN	BJWPS0985E			100	10	10	1,000
844	Individual	Other than promoter	Others	SWATHI KAMALAKAR GANGIREDDY	Equity	1		1208880004219243	India	Female	Income Tax PAN	BMXPG8426L			100	10	10	1,000
845	Individual	Other than promoter	Others	AKANKSHA GOEL	Equity	1		1208180133838402	India	Female	Income Tax PAN	BOTPS3191E			100	10	10	1,000
846	Individual	Other than promoter	Others	RASHMI BHANGADIYA	Equity	1		1208160074951758	India	Female	Income Tax PAN	BPOPB3218P			100	10	10	1,000
847	Individual	Other than promoter	Others	LIPSHA JITENDRAKUMAR SHUKLA	Equity	1		1208160066055511	India	Female	Income Tax PAN	CAVPS4450D			100	10	10	1,000
848	Individual	Other than promoter	Others	SAMTA JAIN	Equity	1		1208160088843567	India	Female	Income Tax PAN	CGRPJ3149Q			100	10	10	1,000
849	Individual	Other than promoter	Others	AARTI SARDA	Equity	1		1208670000431391	India	Female	Income Tax PAN	CHBPS3651K			100	10	10	1,000
850	Individual	Other than promoter	Others	DARENDR A KUMAR KETAN KUMAR	Equity	1		1203330001062658	India	Male	Income Tax PAN	CQOPK9157L			100	10	10	1,000
851	Individual	Other than promoter	Others	SHEKHAR KURAKULA	Equity	1		1208160104276216	India	Male	Income Tax PAN	CTBPK1693R			100	10	10	1,000
852	Individual	Other than promoter	Others	BARKHA MILAP SHAH	Equity	1		IN30371911119163	India	Male	Income Tax PAN	DLRPS9139B			100	10	10	1,000
853	Individual	Other than promoter	Others	YASHVI CHAMPALAL BHANSALI	Equity	1		1206920000044884	India	Female	Income Tax PAN	DOSPB6161J			100	10	10	1,000

854	Individual	Other than promoter	Others	KOMAL KHANDELWAL	Equity	1		1208160045908139	India	Female	Income Tax PAN	DYFPK6175L			100	10	10	1,000
855	Individual	Other than promoter	Others	LOKESH N ABBANI	Equity	1		1208180057453496	India	Male	Income Tax PAN	EFLPA0365E			100	10	10	1,000
856	Individual	Other than promoter	Others	RAVI SHARMA	Equity	1		1206420010628521	India	Male	Income Tax PAN	FMUPS9810K			100	10	10	1,000
857	Individual	Other than promoter	Others	PICCHAIKANNU SILAMBARASI	Equity	1		1208160150573146	India	Female	Income Tax PAN	JUDPS7764F			100	10	10	1,000
858	Individual	Other than promoter	Others	PRIYANSHI MAHENDRA SANGHVI	Equity	1		1203410000667992	India	Female	Income Tax PAN	SHNPS1092C			100	10	10	1,000
859	Individual	Other than promoter	Others	SANGEETA R SHARMA	Equity	1		IN30226910432904	India	Female	Income Tax PAN	AMYPS1913N			99	10	10	990
860	Individual	Other than promoter	Others	NANDLAL MITTAL	Equity	1		IN30021453156732	India	Male	Income Tax PAN	CTRPM5960M			98	10	10	980
861	Individual	Other than promoter	Others	Akhil Mahadeo Bagwe	Equity	1		1208160174779491	India	Male	Income Tax PAN	AQTPB5914B			97	10	10	970
862	Individual	Other than promoter	Others	DINESH KUMAR	Equity	1		IN30186270324484	India	Male	Income Tax PAN	HOCPK2874D			97	10	10	970
863	Individual	Other than promoter	Others	SHASHI KANT	Equity	1		1208160012972403	India	Male	Income Tax PAN	BHIPK8549J			96	10	10	960
864	Entity	Other than promoter	Others	AKHILESH KUMAR JAIN HUF	Equity	1		IN30051388531351	India	Male	Income Tax PAN	AAIHA1080J			95	10	10	950
865	Individual	Other than promoter	Others	PARAG RAMESHBHAI JANGBARI	Equity	1		1206740000576160	India	Male	Income Tax PAN	AGZPJ9677R			95	10	10	950
866	Individual	Other than promoter	Others	GYANA RANJAN DASH	Equity	1		IN30021462232083	India	Male	Income Tax PAN	AQAPD0844R			95	10	10	950
867	Individual	Other than promoter	Others	KANTA CHHABRA	Equity	1		1203320042350794	India	Female	Income Tax PAN	AVQPC7050H			95	10	10	950
868	Entity	Other than promoter	Others	ASHISH JALAN HUF	Equity	1		1205090000048320	India	Male	Income Tax PAN	AAOHA4663D			94	10	10	940
869	Individual	Other than promoter	Others	VELISH HEMANTKUMAR TALIA	Equity	1		1204150000904615	India	Male	Income Tax PAN	AFWPT8974K			94	10	10	940
870	Individual	Other than promoter	Others	KRIMISH BHARATTALATI	Equity	1		1208160089224377	India	Male	Income Tax PAN	AVEPT4527C			93	10	10	930
871	Entity	Other than promoter	Others	REKHA BHANDARI HUF	Equity	1		IN30160412985384	India	Male	Income Tax PAN	AAOHR2548J			91	10	10	910
872	Individual	Other than promoter	Others	DILIP MADHAV CHOURHARY	Equity	1		1201130000975951	India	Male	Income Tax PAN	AEHPC9813J			90	10	10	900
873	Individual	Other than promoter	Others	ASHISH RAGHUNATH DEORA	Equity	1		1202060000532185	India	Male	Income Tax PAN	AKGPD1121M			90	10	10	900
874	Individual	Other than promoter	Others	MUKUL PAWAN AGRAWAL	Equity	1		1207780000124111	India	Male	Income Tax PAN	AKOPA5462A			90	10	10	900
875	Individual	Other than promoter	Others	UDAYAN BIPINKUMAR SHAH	Equity	1		1208160063196986	India	Male	Income Tax PAN	APAPS8149D			90	10	10	900
876	Individual	Other than promoter	Others	JUDITH NATALINA SOCORRINA DIAS	Equity	1		1201060005339968	India	Female	Income Tax PAN	APTPD1675C			90	10	10	900
877	Individual	Other than promoter	Others	C.SELVARAJ	Equity	1		1203320148522778	India	Male	Income Tax PAN	BKTPS0671P			90	10	10	900
878	Individual	Other than promoter	Others	PRATIK KUMAR SAHOO	Equity	1		1208870288166005	India	Male	Income Tax PAN	BPCPS9653H			90	10	10	900

879	Individual	Other than promoter	Others	CHIRAG KALRA	Equity	1		1208870016731802	India	Male	Income Tax PAN	AQQPK0761L			89	10	890
880	Individual	Other than promoter	Others	VIJAY MARAN	Equity	1		1203320083331222	India	Male	Income Tax PAN	BOWPM4323K			89	10	890
881	Individual	Other than promoter	Others	SANJAY KUMAR RAJYAGURU	Equity	1		1204720027309645	India	Male	Income Tax PAN	AIPPR7344R			87	10	870
882	Individual	Other than promoter	Others	MANISH MOHANLAL KHATRI	Equity	1		IN30021439070062	India	Male	Income Tax PAN	ABQPK4641L			86	10	860
883	Individual	Other than promoter	Others	TARUN RATHOD	Equity	1		IN30021434125317	India	Male	Income Tax PAN	AGOPT8032B			86	10	860
884	Individual	Other than promoter	Others	SANDIP GHOSH	Equity	1		IN30154955216541	India	Male	Income Tax PAN	ADSPG3272D			85	10	850
885	Individual	Other than promoter	Others	DIVYA CHORDIA	Equity	1		1208160051757971	India	Female	Income Tax PAN	AGLPJ5334R			85	10	850
886	Individual	Other than promoter	Others	GEETA KATARE	Equity	1		IN30154963535364	India	Female	Income Tax PAN	ANQPK6495E			85	10	850
887	Individual	Other than promoter	Others	DIMPY	Equity	1		1208160043798886	India	Female	Income Tax PAN	BAFPD8741P			85	10	850
888	Individual	Other than promoter	Others	NIKITA CHHAJER	Equity	1		1208870294406728	India	Female	Income Tax PAN	BBBPC7742Q			85	10	850
889	Individual	Other than promoter	Others	GOUTAM SINGRI	Equity	1		1208160002770211	India	Male	Income Tax PAN	DFHPS0877A			85	10	850
890	Individual	Other than promoter	Others	SANKET S MANGRULKAR	Equity	1		IN30302870260653	India	Male	Income Tax PAN	AMYPM4041M			83	10	830
891	Individual	Other than promoter	Others	NANDITA BHARGAVA	Equity	1		1201770101378141	India	Female	Income Tax PAN	ASEPB8141R			83	10	830
892	Individual	Other than promoter	Others	DEVKARAN	Equity	1		1208180065890012	India	Male	Income Tax PAN	BMPPD8413E			83	10	830
893	Individual	Other than promoter	Others	SONU MILAPCHAND DOSHI	Equity	1		1208160045569596	India	Female	Income Tax PAN	CQCPD7641G			83	10	830
894	Individual	Other than promoter	Others	VIJAY SHARMA	Equity	1		1206900000062542	India	Male	Income Tax PAN	AYZPS2358A			100	10	1,000
895	Individual	Other than promoter	Others	MOHIT JAIN	Equity	1		1201090005290470	India	Male	Income Tax PAN	ABOPJ7190B			82	10	820
896	Entity	Other than promoter	Others	AJAY GANDHI HUF	Equity	1		1203320178644685	India	Male	Income Tax PAN	AAXHA1463L			81	10	810
897	Individual	Other than promoter	Others	PAWAN KUMAR	Equity	1		1208870049773932	India	Male	Income Tax PAN	CAEPK1197E			81	10	810
898	Individual	Other than promoter	Others	JIN ANKESH CHANDAN	Equity	1		1208870137006878	India	Male	Income Tax PAN	CQKPC7500D			81	10	810
899	Entity	Other than promoter	Body corporate (not mentioned above)	R AND D CONSULTANTS PRIVATE LIMITED	Equity	1		IN30021426532964	India	Not applicable	Income Tax PAN	AAECR3711J			80	10	800
900	Individual	Other than promoter	Others	VIKRAM YADAV	Equity	1		IN30154959075972	India	Male	Income Tax PAN	ABHPY4004C			80	10	800
901	Individual	Other than promoter	Others	SURENDRA MITHALAL JOSHI	Equity	1		IN30290241129095	India	Male	Income Tax PAN	ABOPJ3013B			80	10	800
902	Individual	Other than promoter	Others	PARBATBHAI GAMANBHAI RABARI	Equity	1		1208160006462974	India	Male	Income Tax PAN	AHSPPR6173J			80	10	800

903	Individual	Other than promoter	Others	RAJEEV KUMAR SHUKLA	Equity	1		1204720020906354	India	Male	Income Tax PAN	APIPS2571K			80	10	800
904	Individual	Other than promoter	Others	AKHILESH KAKANI	Equity	1		1208180027391712	India	Male	Income Tax PAN	AUDPK2773P			80	10	800
905	Individual	Other than promoter	Others	SRI HARI HUNSUR SUBBARAO	Equity	1		1208160079671547	India	Male	Income Tax PAN	AXMPS5451Q			80	10	800
906	Individual	Other than promoter	Others	HIMADRI SHIKHAR BAGCHI	Equity	1		1208870185162139	India	Male	Income Tax PAN	BISPB1140B			80	10	800
907	Individual	Other than promoter	Others	RAUSHAN KUMAR	Equity	1		1208160025575127	India	Male	Income Tax PAN	CPOPK8300L			80	10	800
908	Individual	Other than promoter	Others	GOVIND NARAYAN SHARMA	Equity	1		1201210100497931	India	Male	Income Tax PAN	CQHPS4999H			80	10	800
909	Individual	Other than promoter	Others	BEENA SARAF	Equity	1		1206850000200509	India	Female	Income Tax PAN	CRMPS9104C			80	10	800
910	Individual	Other than promoter	Others	ANAMIKA .	Equity	1		1208160030016437	India	Female	Income Tax PAN	DDQPA9499P			80	10	800
911	Individual	Other than promoter	Others	CHAKRIKA PALLINTI	Equity	1		1208160032844281	India	Female	Income Tax PAN	DFOPP3047C			80	10	800
912	Individual	Other than promoter	Others	SURYA	Equity	1		IN30021421933178	India	Male	Income Tax PAN	GVWPS7786E			80	10	800
913	Individual	Other than promoter	Others	SUSHMA HRUSHIKESH PRABHU	Equity	1		IN30611410850796	India	Female	Income Tax PAN	AIHPC3030F			79	10	790
914	Individual	Other than promoter	Others	MUNIKOONAPPA MANJUNATHA	Equity	1		1208870056894352	India	Male	Income Tax PAN	AQVPM9231A			79	10	790
915	Individual	Other than promoter	Others	DARSHAN HARENDR A MEHTA	Equity	1		IN30015911085186	India	Male	Income Tax PAN	BKLPM2937C			78	10	780
916	Individual	Other than promoter	Others	ANOOP PRATHEESH P	Equity	1		IN30023915772324	India	Male	Income Tax PAN	AYDPA9209N			76	10	760
917	Entity	Other than promoter	Others	AJAYKUMAR AGARWAL HUF	Equity	1		1204470019622378	India	Male	Income Tax PAN	AALHA1978A			75	10	750
918	Individual	Other than promoter	Others	UMESH BABANRAO RANANAWARE	Equity	1		IN30302852814708	India	Male	Income Tax PAN	ADSPR2899D			75	10	750
919	Individual	Other than promoter	Others	KARAN BEHL	Equity	1		1208870070938077	India	Male	Income Tax PAN	AHKPB1099F			75	10	750
920	Individual	Other than promoter	Others	ACHRAJ DEVI	Equity	1		1202920000157331	India	Female	Income Tax PAN	AIHPD3960B			75	10	750
921	Individual	Other than promoter	Others	RUCHI GOEL	Equity	1		1208160085105414	India	Female	Income Tax PAN	AITPG5218M			75	10	750
922	Individual	Other than promoter	Others	ABHIJIT BHALLA	Equity	1		1208160122035505	India	Male	Income Tax PAN	ATBPP8629C			75	10	750
923	Individual	Other than promoter	Others	MANISH	Equity	1		1203320026180055	India	Male	Income Tax PAN	BHWPB3620G			75	10	750
924	Individual	Other than promoter	Others	RAAKESH VEMBU RAMKUMAR	Equity	1		IN30383330117938	India	Male	Income Tax PAN	BNSPV5615E			75	10	750
925	Individual	Other than promoter	Others	SHIKHA SOOD	Equity	1		1208180029040927	India	Female	Income Tax PAN	BUXPS1563E			75	10	750
926	Individual	Other than promoter	Others	SAGAR SHAH	Equity	1		1208160001070321	India	Male	Income Tax PAN	DXIPS5942D			75	10	750
927	Individual	Other than promoter	Others	JHANSI LAKSHMI CHEVUTURI	Equity	1		1208160022962286	India	Female	Income Tax PAN	BDWPC7205F			73	10	730

928	Individual	Other than promoter	Others	MOHIT KUMAR	Equity	1		1208160020462090	India	Male	Income Tax PAN	COXPK0626M			73	10	730
929	Individual	Other than promoter	Others	PROMIDA SAPRU	Equity	1		1208160145512564	India	Female	Income Tax PAN	ANCP0388N			72	10	720
930	Individual	Other than promoter	Others	MANOJ GONDANE	Equity	1		1208180138014651	India	Male	Income Tax PAN	AZTPG8042Q			72	10	720
931	Individual	Other than promoter	Others	USHA RANI	Equity	1		1208250016829522	India	Female	Income Tax PAN	AIVPR4237R			71	10	710
932	Individual	Other than promoter	Others	BEENA GUPTA	Equity	1		1208160124169053	India	Female	Income Tax PAN	AQCPG4803D			71	10	710
933	Individual	Other than promoter	Others	RAJESH KUMAR	Equity	1		1203320384116819	India	Male	Income Tax PAN	ABEPK9202B			70	10	700
934	Individual	Other than promoter	Others	AKHILESH KUMAR PANDEY	Equity	1		1208430000248142	India	Male	Income Tax PAN	ABTPP2764Q			70	10	700
935	Individual	Other than promoter	Others	YOGENDRASINH DILAVARSINH MAHARAOUL	Equity	1		1203820000153927	India	Male	Income Tax PAN	ACRPM8315K			70	10	700
936	Individual	Other than promoter	Others	DHANEJA SAROJBEN JAYANTILAL	Equity	1		IN30021471536927	India	Female	Income Tax PAN	AJNPD9980G			70	10	700
937	Individual	Other than promoter	Others	DEWASHISH GHOSH	Equity	1		1208160088291067	India	Male	Income Tax PAN	AMNPG1592N			70	10	700
938	Individual	Other than promoter	Others	MURALI BALAKRISHNAN	Equity	1		IN30302882242901	India	Male	Income Tax PAN	ANTPB9431E			70	10	700
939	Individual	Other than promoter	Others	SUMER CHAND VIPIN KUMAR	Equity	1		1208160138732335	India	Male	Income Tax PAN	APTPV0330G			70	10	700
940	Individual	Other than promoter	Others	BHAVANA YOGENDRASINH	Equity	1		1203820000154078	India	Female	Income Tax PAN	ARZPM3776B			70	10	700
941	Individual	Other than promoter	Others	DIPTIBEN AJAYBHAI JADAV	Equity	1		1201090017049351	India	Female	Income Tax PAN	CFOPJ3687M			70	10	700
942	Individual	Other than promoter	Others	DEEPIKA DHEERAJ SANGHVI	Equity	1		1204470011738140	India	Male	Income Tax PAN	COTPS1788G			70	10	700
943	Individual	Other than promoter	Others	HARSH MEENA	Equity	1		1208160135470486	India	Male	Income Tax PAN	DZTPM5403E			70	10	700
944	Individual	Other than promoter	Others	RAGHBIR SINGH NAGPAL	Equity	1		1208250001479230	India	Male	Income Tax PAN	ABZPN8719M			68	10	680
945	Individual	Other than promoter	Others	CHANDRAKANT SHAH	Equity	1		1204150002328414	India	Male	Income Tax PAN	ARPPS9509L			68	10	680
946	Individual	Other than promoter	Others	SANTOSH KUMAR UPADHYAY	Equity	1		1208160062258151	India	Male	Income Tax PAN	AAZPU0403G			67	10	670
947	Individual	Other than promoter	Others	ABID NAEEM	Equity	1		1208160036214206	India	Male	Income Tax PAN	ASYPA5872A			67	10	670
948	Individual	Other than promoter	Others	DHAWAL KAPOORCHAND CHOPDA	Equity	1		1208160001364044	India	Male	Income Tax PAN	BDAPC5558F			67	10	670
949	Individual	Other than promoter	Others	ACHINTYA PANDEY	Equity	1		1208160090279724	India	Male	Income Tax PAN	CAIPP0517P			67	10	670
950	Individual	Other than promoter	Others	POOJA	Equity	1		1208870313085061	India	Female	Income Tax PAN	EAQPP4837Q			67	10	670
951	Individual	Other than promoter	Others	SWATI P MOHITE	Equity	1		IN30290244705584	India	Female	Income Tax PAN	AKYPM1850G			66	10	660
952	Individual	Other than promoter	Others	SWATI SARAWAGI	Equity	1		1208160139046691	India	Female	Income Tax PAN	FPQPS2456A			66	10	660

953	Individual	Other than promoter	Others	SANJAY SANJAY RAGHURAMAN	Equity	1		1208160000467849	India	Male	Income Tax PAN	AACPR2895J			65	10	650
954	Individual	Other than promoter	Others	RAJENDRA VYAS	Equity	1		1203140000144828	India	Male	Income Tax PAN	AATPV2618Q			65	10	650
955	Individual	Other than promoter	Others	HEMANT KUMAR JAIN	Equity	1		1208180007236390	India	Male	Income Tax PAN	AFTPJ7846K			65	10	650
956	Individual	Other than promoter	Others	PRADEEP DHEER	Equity	1		1208160050368028	India	Male	Income Tax PAN	ALMPD3753E			65	10	650
957	Individual	Other than promoter	Others	SADHNA SUBHASH SARAF	Equity	1		IN30186268606807	India	Female	Income Tax PAN	CVJPS3433F			65	10	650
958	Individual	Other than promoter	Others	JINENDRA KUMAR H	Equity	1		1203600002679481	India	Male	Income Tax PAN	EIDPK0911H			65	10	650
959	Individual	Other than promoter	Others	SMITI PRAKASH	Equity	1		IN30051391043708	India	Male	Income Tax PAN	ADOPS6855N			64	10	640
960	Individual	Other than promoter	Others	PRIYANKA DHARMAPRAKASH	Equity	1		1208160090070183	India	Female	Income Tax PAN	LXVPS9741P			64	10	640
961	Individual	Other than promoter	Others	NITIN DHIMOLE	Equity	1		IN30021413179891	India	Male	Income Tax PAN	ADXPD3643E			63	10	630
962	Individual	Other than promoter	Others	SUMAN MALL	Equity	1		1201910300009209	India	Female	Income Tax PAN	AHNPM7453P			63	10	630
963	Individual	Other than promoter	Others	ANKIT MEENA	Equity	1		1208160101257809	India	Male	Income Tax PAN	CEVPM7405Q			63	10	630
964	Individual	Other than promoter	Others	AARTHI VIJAYAKUMAR	Equity	1		1208160074094038	India	Female	Income Tax PAN	AWHPA7935M			61	10	610
965	Individual	Other than promoter	Others	SAMATHA KANAPARTHY	Equity	1		1203320252353203	India	Female	Income Tax PAN	BSZPK4132R			61	10	610
966	Individual	Other than promoter	Others	SANGEETA BASANT OTWANI	Equity	1		1201370000354954	India	Female	Income Tax PAN	AAAPO0625M			60	10	600
967	Individual	Other than promoter	Others	PARASMAL JAIN RAKESH JAIN	Equity	1		1208250017302300	India	Male	Income Tax PAN	AAHPR9090C			60	10	600
968	Entity	Other than promoter	Others	PARESH JANI HUF	Equity	1		1208160089169922	India	Male	Income Tax PAN	AAQHP9017G			60	10	600
969	Individual	Other than promoter	Others	YASHODA NITINKUMAR	Equity	1		1202990006904747	India	Female	Income Tax PAN	AAXPN4321N			60	10	600
970	Individual	Other than promoter	Others	VISHAL RAJENDRABHAI CHAUHAN	Equity	1		1208870224525753	India	Male	Income Tax PAN	AHFPC9066J			60	10	600
971	Individual	Other than promoter	Others	VAIBHAV A KULKARNI .	Equity	1		1208160017744375	India	Male	Income Tax PAN	ANCPK4619G			60	10	600
972	Individual	Other than promoter	Others	MANGLI NETAM	Equity	1		1208160121061481	India	Female	Income Tax PAN	ANQPN5574R			60	10	600
973	Individual	Other than promoter	Others	AMEYA SHARAD KHOT	Equity	1		1208160082832900	India	Male	Income Tax PAN	AOCPK7542M			60	10	600
974	Individual	Other than promoter	Others	RAKESH KUMAR	Equity	1		IN30290247779792	India	Male	Income Tax PAN	APWPK4371H			60	10	600
975	Individual	Other than promoter	Others	AKANSHA AGRAWAL	Equity	1		1208870013145427	India	Female	Income Tax PAN	AQJPA5104E			60	10	600
976	Individual	Other than promoter	Others	ABHINAV KAILASH GARG	Equity	1		1204720010626407	India	Male	Income Tax PAN	ARJPG8093P			60	10	600
977	Individual	Other than promoter	Others	NIRAV VALLABHBHAI PATEL	Equity	1		1208160053386206	India	Male	Income Tax PAN	ARVPP8339H			60	10	600

978	Individual	Other than promoter	Others	SUMAN RANI SHARMA	Equity	1		1208160020792329	India	Female	Income Tax PAN	AWMPS4806Q		60	10	600
979	Individual	Other than promoter	Others	AKANKSHA CHANDEL .	Equity	1		1203230006864091	India	Female	Income Tax PAN	BCGPC1769P		60	10	600
980	Individual	Other than promoter	Others	SHREYA DANG	Equity	1		1208160086990571	India	Female	Income Tax PAN	CQSPD6397K		60	10	600
981	Individual	Other than promoter	Others	MAYANK MAKHIJANI	Equity	1		1208160035870576	India	Male	Income Tax PAN	DUTPM5521C		60	10	600
982	Individual	Other than promoter	Others	GAGANDEEP KAUR	Equity	1		1208250033135444	India	Female	Income Tax PAN	IOMPK4302D		60	10	600
983	Individual	Other than promoter	Others	KUMUD KUMAR	Equity	1		1208180078782658	India	Male	Income Tax PAN	BFYPK5121A		59	10	590
984	Individual	Other than promoter	Others	B JAYANTHI	Equity	1		IN30108022812198	India	Female	Income Tax PAN	ASTPJ0593Q		57	10	570
985	Individual	Other than promoter	Others	KOUSHIK PRAMANIK	Equity	1		1208870049198052	India	Male	Income Tax PAN	EFOPP3286L		57	10	570
986	Individual	Other than promoter	Others	SUMANT GOVIND HEGDE	Equity	1		1208160080875644	India	Male	Income Tax PAN	AKPPH5396D		56	10	560
987	Individual	Other than promoter	Others	HITESH	Equity	1		1208160150478903	India	Male	Income Tax PAN	BTFPH1667F		56	10	560
988	Individual	Other than promoter	Others	KARTIK GHANSHYAM AWTANI	Equity	1		1208160121530145	India	Male	Income Tax PAN	AEXPA7457C		55	10	550
989	Individual	Other than promoter	Others	GANGIREDDY KAMLAKAR REDDY	Equity	1		IN30290249919474	India	Male	Income Tax PAN	AHSPG8381M		55	10	550
990	Individual	Other than promoter	Others	SWAROOP CHAND	Equity	1		1203320013075845	India	Male	Income Tax PAN	BYNPS2832L		55	10	550
991	Individual	Other than promoter	Others	KASHYAP RAJESH KHUT	Equity	1		1208180155602906	India	Male	Income Tax PAN	DSZPK3990M		55	10	550
992	Individual	Other than promoter	Others	VINOD KUMAR SINGH	Equity	1		1208250004655492	India	Male	Income Tax PAN	CAFPS2112A		53	10	530
993	Individual	Other than promoter	Others	SAMYAK SHRIPAL JAIN	Equity	1		1203320253194664	India	Male	Income Tax PAN	CVZPJ7612K		53	10	530
994	Individual	Other than promoter	Others	MATHESWARAN RATHINAPRIYA	Equity	1		1208160063012209	India	Female	Income Tax PAN	DHZPR5201M		53	10	530
995	Individual	Other than promoter	Others	KUDIPADI GANESH MAYYA	Equity	1		1208870006412674	India	Male	Income Tax PAN	ACUPM2672A		52	10	520
996	Individual	Other than promoter	Others	RAJESH YADAV	Equity	1		1203320004660993	India	Male	Income Tax PAN	AEZPY7195K		52	10	520
997	Individual	Other than promoter	Others	SHRRUTI KAUSHAL CLARENCE	Equity	1		1208160000378463	India	Female	Income Tax PAN	AJIPP2895F		52	10	520
998	Individual	Other than promoter	Others	PARTHA GOSWAMI	Equity	1		1208160055097632	India	Male	Income Tax PAN	ARTPG3977C		52	10	520
999	Individual	Other than promoter	Others	PRANAV SADARJOSHI	Equity	1		1203320056148279	India	Male	Income Tax PAN	FCEPS8395M		52	10	520
1000	Individual	Other than promoter	Others	BIRENDRA KUMAR THAKUR	Equity	1		IN30267933041578	India	Male	Income Tax PAN	AARPT3235D		51	10	510
1001	Individual	Other than promoter	Others	PREETI GUJADHUR	Equity	1		1208160065528018	India	Female	Income Tax PAN	AFCPG9126N		51	10	510
1002	Individual	Other than promoter	Others	SURESH SINGH SHEKHAWAT	Equity	1		1204470008615520	India	Male	Income Tax PAN	AQAPS8224Q		51	10	510

1003	Individual	Other than promoter	Others	Birendra Kumar	Equity	1		1203320021144950	India	Male	Income Tax PAN	AUXPK2117P		51	10	510
1004	Individual	Other than promoter	Others	MANISHA PUKHRAJ SONI	Equity	1		1204150001350166	India	Female	Income Tax PAN	AZDPS5483M		51	10	510
1005	Individual	Other than promoter	Others	RINADHEVI SHAILENDRA PAL	Equity	1		1203320175303404	India	Female	Income Tax PAN	DANPP8624K		51	10	510
1006	Individual	Other than promoter	Others	Anany Goyal	Equity	1		1208160167159730	India	Male	Income Tax PAN	EQEPG0083D		51	10	510
1007	Entity	Other than promoter	Body corporate (not mentioned above)	BHANSALI INDUSTRIAL INVESTMENT & FINANCE PVT LTD	Equity	1		IN30048410659903	India	Not applicable	Income Tax PAN	AAACB3328B		50	10	500
1008	Entity	Other than promoter	Body corporate (not mentioned above)	BHANSALI INTERNATIONAL PVT LTD	Equity	1		IN30048410659946	India	Not applicable	Income Tax PAN	AAACB3338D		50	10	500
1009	Individual	Other than promoter	Others	RAJIV PAREKH	Equity	1		1201700000382260	India	Male	Income Tax PAN	AAAFL3940J		50	10	500
1010	Entity	Other than promoter	Body corporate (not mentioned above)	BHANSALI INNOVATIVE FINANCE PVT LTD	Equity	1		IN30048410659938	India	Not applicable	Income Tax PAN	AABCB9558L		50	10	500
1011	Individual	Other than promoter	Others	BABULAL M BHANSALI	Equity	1		IN30429510588393	India	Male	Income Tax PAN	AABPB1228N		50	10	500
1012	Entity	Other than promoter	Body corporate (not mentioned above)	BENTLEY COMMERCIAL ENTERPRISES LTD	Equity	1		IN30048410659929	India	Not applicable	Income Tax PAN	AACCB3016G		50	10	500
1013	Entity	Other than promoter	Body corporate (not mentioned above)	NANOSTUFFS TECHNOLOGIES PRIVATE LIMITED	Equity	1		IN30302876998812	India	Not applicable	Income Tax PAN	AACCN8910B		50	10	500
1014	Entity	Other than promoter	Others	BABULAL M BHANSALI HUF	Equity	1		IN30048410607349	India	Male	Income Tax PAN	AACHB8614B		50	10	500
1015	Individual	Other than promoter	Others	RAGHUNATH PURSHOTAMDAS DEORA	Equity	1		IN30051321946019	India	Male	Income Tax PAN	AACPD8506E		50	10	500
1016	Entity	Other than promoter	Body corporate (not mentioned above)	SPEEDAGE COMMERCIALS LTD	Equity	1		IN30048410678396	India	Not applicable	Income Tax PAN	AADCS9314B		50	10	500
1017	Entity	Other than promoter	Body corporate (not mentioned above)	SHERATON PROPERTIES AND FINANCE LIMITED	Equity	1		IN30048411359775	India	Not applicable	Income Tax PAN	AAFCS7671D		50	10	500
1018	Entity	Other than promoter	Others	NIRAV R GANDHI HUF	Equity	1		IN30327010055530	India	Male	Income Tax PAN	AAFHN6281D		50	10	500
1019	Individual	Other than promoter	Others	HASMUKH	Equity	1		1201090017825840	India	Male	Income Tax PAN	AARPH7828N		50	10	500
1020	Individual	Other than promoter	Others	SONAL K JAIN	Equity	1		IN30021426685231	India	Male	Income Tax PAN	AAYPD7579B		50	10	500
1021	Individual	Other than promoter	Others	DHUDIDEVI B BHANSALI	Equity	1		IN30429510594199	India	Female	Income Tax PAN	ABAPB3980H		50	10	500
1022	Individual	Other than promoter	Others	NISHA VASANDANI	Equity	1		1208360001635726	India	Female	Income Tax PAN	ABAPV4538K		50	10	500
1023	Individual	Other than promoter	Others	SHRIKANT ANAT MANJREKAR	Equity	1		1204720010838995	India	Male	Income Tax PAN	ABLPM7944B		50	10	500

1024	Individual	Other than promoter	Others	GURDESH KUMAR	Equity	1		IN30429573868358	India	Male	Income Tax PAN	ABOPK5986E			50	10	500
1025	Individual	Other than promoter	Others	VALLABH PRAKASH YEOLEKAR	Equity	1		1208160084311403	India	Male	Income Tax PAN	ABUPY2537R			50	10	500
1026	Individual	Other than promoter	Others	SHALINI ANANT RAUT	Equity	1		1601430101784454	India	Female	Income Tax PAN	ACAPR3428B			50	10	500
1027	Individual	Other than promoter	Others	JAYANT JOITABHAI PATEL	Equity	1		1201090003940137	India	Male	Income Tax PAN	ACCPP1290R			50	10	500
1028	Individual	Other than promoter	Others	MANJULA GUPTA	Equity	1		IN30154917238210	India	Female	Income Tax PAN	ACEPG1391C			50	10	500
1029	Individual	Other than promoter	Others	RAJEEV DOGRA	Equity	1		1208160082869876	India	Male	Income Tax PAN	ACHPD7582M			50	10	500
1030	Individual	Other than promoter	Others	JAYANT SUBRAYA MAIYYABIJUR	Equity	1		IN30177419916071	India	Male	Income Tax PAN	ACJPB0975A			50	10	500
1031	Individual	Other than promoter	Others	USHA MAHESHWARI	Equity	1		IN30133018501526	India	Female	Income Tax PAN	ACUPM9955C			50	10	500
1032	Individual	Other than promoter	Others	ANANDI LAL MANDOT	Equity	1		1201210000035967	India	Male	Income Tax PAN	ADEPM6496M			50	10	500
1033	Individual	Other than promoter	Others	MANOJ MANI TRIPATHI	Equity	1		IN30045015831564	India	Male	Income Tax PAN	ADEPT9573E			50	10	500
1034	Individual	Other than promoter	Others	PREM VASANDANI .	Equity	1		1208360001635481	India	Male	Income Tax PAN	ADGPV6225R			50	10	500
1035	Individual	Other than promoter	Others	DEVENDRA JAIN	Equity	1		IN30047641671538	India	Male	Income Tax PAN	ADHPJ8624P			50	10	500
1036	Individual	Other than promoter	Others	RANJAN DUTTA	Equity	1		1208160030461091	India	Male	Income Tax PAN	AEFPD7332B			50	10	500
1037	Individual	Other than promoter	Others	ASHISH JINDAL	Equity	1		IN30051315336835	India	Male	Income Tax PAN	AEQPJ5782E			50	10	500
1038	Individual	Other than promoter	Others	SHEETAL KANDOI	Equity	1		IN30359110068736	India	Female	Income Tax PAN	AETPK4026R			50	10	500
1039	Individual	Other than promoter	Others	VISHAL CHOPRA	Equity	1		1203500001661573	India	Male	Income Tax PAN	AFAPC3061J			50	10	500
1040	Individual	Other than promoter	Others	GUNJAN DOSHI	Equity	1		1206290000193464	India	Male	Income Tax PAN	AFEPD5065P			50	10	500
1041	Individual	Other than promoter	Others	GIRIJA KIRAN	Equity	1		IN30154919268227	India	Female	Income Tax PAN	AFIPG2164C			50	10	500
1042	Individual	Other than promoter	Others	RAJEEV DINESH AGARWAL	Equity	1		IN30302885866357	India	Male	Income Tax PAN	AFJPA9034Q			50	10	500
1043	Individual	Other than promoter	Others	RAJNIKANT BHAGIRATHBHAI TRIVEDI	Equity	1		1205660000141875	India	Male	Income Tax PAN	AFLPT8318N			50	10	500
1044	Individual	Other than promoter	Others	RISHI VINOD LODHA	Equity	1		IN30198310721265	India	Male	Income Tax PAN	AFNPL9567M			50	10	500
1045	Individual	Other than promoter	Others	ANIL KUMAR PAGARIA	Equity	1		IN30302869695284	India	Male	Income Tax PAN	AFOPP4859D			50	10	500
1046	Individual	Other than promoter	Others	MADHAVI HARISH VALLIRAMANI ..	Equity	1		1201090000853774	India	Female	Income Tax PAN	AFPPV5172G			50	10	500
1047	Individual	Other than promoter	Others	DHANRAJ GILRA	Equity	1		1209290007244704	India	Male	Income Tax PAN	AFUPG0306C			50	10	500
1048	Individual	Other than promoter	Others	MEENAKSHI BHANSALI	Equity	1		IN30429513840155	India	Female	Income Tax PAN	AGFPJ2372R			50	10	500

1049	Individual	Other than promoter	Others	S RAJMOHAN .	Equity	1		1201090008974037	India	Male	Income Tax PAN	AGQPR1203A			50	10	500
1050	Individual	Other than promoter	Others	CHANDAN SARMA	Equity	1		1302340000333224	India	Male	Income Tax PAN	AGSPS1080L			50	10	500
1051	Individual	Other than promoter	Others	MOHINI KUCHERIA .	Equity	1		1201090008613648	India	Female	Income Tax PAN	AGZPK6911D			50	10	500
1052	Individual	Other than promoter	Others	ARTIKA NEWAR	Equity	1		IN30021458243154	India	Female	Income Tax PAN	AHBPG7609M			50	10	500
1053	Individual	Other than promoter	Others	DEEPAK DIGAMBER SHINDE	Equity	1		1208160081754029	India	Male	Income Tax PAN	AHEPS8019G			50	10	500
1054	Individual	Other than promoter	Others	MANOJ MANDOT	Equity	1		1201210000129878	India	Male	Income Tax PAN	AHJPM7951Q			50	10	500
1055	Individual	Other than promoter	Others	SUKRITI JAIN	Equity	1		1201910102964305	India	Female	Income Tax PAN	AHRPJ4599D			50	10	500
1056	Individual	Other than promoter	Others	PRAMILA JAIN	Equity	1		1207190000005885	India	Female	Income Tax PAN	AAFPP7853F			82	10	820
1057	Individual	Other than promoter	Others	K GANESAN	Equity	1		IN30047642144356	India	Male	Income Tax PAN	AKOPG6529J			50	10	500
1058	Individual	Other than promoter	Others	MITHUN AZAD	Equity	1		1208160100551798	India	Male	Income Tax PAN	ALAPA2198N			50	10	500
1059	Individual	Other than promoter	Others	ABHISHEK BHUSHAN .	Equity	1		1208870298557738	India	Male	Income Tax PAN	ALMPB6185G			50	10	500
1060	Individual	Other than promoter	Others	NAINA M MANDOT	Equity	1		1201210000129863	India	Female	Income Tax PAN	ALPPM3349E			50	10	500
1061	Individual	Other than promoter	Others	J MANGALA	Equity	1		IN30290247114706	India	Female	Income Tax PAN	AMBPJ4632J			50	10	500
1062	Individual	Other than promoter	Others	VIPUL TILOKCHAND SHAH	Equity	1		IN30021436418265	India	Male	Income Tax PAN	AMMPS3536P			50	10	500
1063	Individual	Other than promoter	Others	JAYAPRAKASA RAO PERAM	Equity	1		1203600004065778	India	Male	Income Tax PAN	AOIPP8383B			50	10	500
1064	Individual	Other than promoter	Others	VARUN BANSAL	Equity	1		IN30302874490892	India	Male	Income Tax PAN	APAPPB0322H			50	10	500
1065	Individual	Other than promoter	Others	SEEMA KANODIA .	Equity	1		IN30371960245249	India	Female	Income Tax PAN	AQNPM2687E			50	10	500
1066	Individual	Other than promoter	Others	JANARDAN PRASAD BARTHWAL	Equity	1		1203600002297028	India	Male	Income Tax PAN	ARFPS7883K			50	10	500
1067	Individual	Other than promoter	Others	ROHAN KAPOOR	Equity	1		1208160005705608	India	Male	Income Tax PAN	ARJPK0082G			50	10	500
1068	Individual	Other than promoter	Others	YASH JYOTINDRA JOSHI	Equity	1		1208160014424218	India	Male	Income Tax PAN	ARQPJ1154M			50	10	500
1069	Individual	Other than promoter	Others	ANIT MUKHERJEE	Equity	1		1208160032420125	India	Male	Income Tax PAN	ATKPM8337K			50	10	500
1070	Individual	Other than promoter	Others	PRAJOT VILAS VAIDYA	Equity	1		IN30021424559823	India	Male	Income Tax PAN	AVDPV1590J			50	10	500
1071	Individual	Other than promoter	Others	KIRTIKUMAR SONEJI	Equity	1		IN30311610045316	India	Male	Income Tax PAN	AXKPS3361D			50	10	500
1072	Individual	Other than promoter	Others	PRADIPKUMAR MEHTA	Equity	1		1208180018906241	India	Male	Income Tax PAN	AXUPM8480H			50	10	500
1073	Individual	Other than promoter	Others	NILU KUMARI	Equity	1		IN30302827682213	India	Female	Income Tax PAN	AYAPK6613P			50	10	500

1074	Individual	Other than promoter	Others	Pinky Kalpesh Jain	Equity	1		1208180169100571	India	Female	Income Tax PAN	BAWPJ7327N			50	10	500
1075	Individual	Other than promoter	Others	RAJYALAKSHMI PADARTH	Equity	1		1203230007098123	India	Female	Income Tax PAN	BAWPP6500K			50	10	500
1076	Individual	Other than promoter	Others	YEMPALLA VIJAY KUMAR	Equity	1		1208160011974346	India	Male	Income Tax PAN	BBVPK9842H			50	10	500
1077	Individual	Other than promoter	Others	PRAKASH .	Equity	1		1201090006594492	India	Male	Income Tax PAN	BDCPP7104E			50	10	500
1078	Individual	Other than promoter	Others	TANMAY JALAN	Equity	1		1201210000172886	India	Male	Income Tax PAN	BELPJ2265L			50	10	500
1079	Individual	Other than promoter	Others	BHAVNA SANJAY SETH	Equity	1		IN30429510588408	India	Female	Income Tax PAN	BLVPS3818M			50	10	500
1080	Individual	Other than promoter	Others	FEFAR LALITKUMAR LAKHAMANBHAI	Equity	1		IN30302847051511	India	Male	Income Tax PAN	BMVPP9540A			50	10	500
1081	Individual	Other than promoter	Others	YASHVI LUHARIWALA	Equity	1		1206590000137744	India	Female	Income Tax PAN	BPXPL3969N			50	10	500
1082	Individual	Other than promoter	Others	SUBHARANT MOHAN PAINOLI	Equity	1		1208670000606231	India	Male	Income Tax PAN	BRGPP2145H			50	10	500
1083	Individual	Other than promoter	Others	ANTHONIRAJ RENISH	Equity	1		1208160154529647	India	Male	Income Tax PAN	BVWPR1273C			50	10	500
1084	Individual	Other than promoter	Others	VIJAY NITYANANDYADAV SINGH	Equity	1		1208160058497383	India	Male	Income Tax PAN	BWPPS1004J			50	10	500
1085	Individual	Other than promoter	Others	SHEMY JESTIN	Equity	1		1208180066267314	India	Female	Income Tax PAN	CHUPJ0410N			50	10	500
1086	Individual	Other than promoter	Others	ASHISH RATNESH PATHAK	Equity	1		1208180004549556	India	Male	Income Tax PAN	DBDPP9250C			50	10	500
1087	Individual	Other than promoter	Others	SHANTI PANDA	Equity	1		1208160080616208	India	Female	Income Tax PAN	DJTPP4474E			50	10	500
1088	Individual	Other than promoter	Others	HARI SAI MAHESH RAVI	Equity	1		1201350000122683	India	Male	Income Tax PAN	DQLPR9965P			50	10	500
1089	Individual	Other than promoter	Others	NARAYAN SOMANI	Equity	1		IN30426227107301	India	Male	Income Tax PAN	DUOPS3775R			50	10	500
1090	Individual	Other than promoter	Others	BHANWARAI	Equity	1		IN30133041394021	India	Female	Income Tax PAN	EAJPB4309E			50	10	500
1091	Individual	Other than promoter	Others	VITTAL PRASAD PULUMAMIDI	Equity	1		1208160138276157	India	Male	Income Tax PAN	EGYPP9587D			50	10	500
1092	Individual	Other than promoter	Others	CHANDRA SEKHAR KARANAM ..	Equity	1		1208870348190095	India	Male	Income Tax PAN	EOKPK5559A			50	10	500
1093	Individual	Other than promoter	Others	MRUNAL VASANTRAO SURYAWANSHI	Equity	1		1208160067707811	India	Female	Income Tax PAN	EPGPS1378Q			50	10	500
1094	Individual	Other than promoter	Others	L.SANKARAVADIVU	Equity	1		IN30108022835778	India	Female	Income Tax PAN	FCPPS2108B			50	10	500
1095	Individual	Other than promoter	Others	SHABANABANU RAMIZ SIPAI	Equity	1		1208160010008057	India	Female	Income Tax PAN	GEIPS1397G			50	10	500
1096	Individual	Other than promoter	Others	SANSKRITI SHUKLA	Equity	1		1204720024554749	India	Female	Income Tax PAN	GIRPS2153H			50	10	500
1097	Individual	Other than promoter	Others	VIDHI SHARMA	Equity	1		1208160083286163	India	Female	Income Tax PAN	GJOPS1448R			50	10	500
1098	Individual	Other than promoter	Others	SHARIN SAINI	Equity	1		1208160028357938	India	Female	Income Tax PAN	IEKPS3332R			50	10	500

1099	Individual	Other than promoter	Others	khushboo r todi	Equity	1		1208180158070463	India	Female	Income Tax PAN	AOFPT8063D			49	10	490
1100	Individual	Other than promoter	Others	MANJU DEVI SINGHVI	Equity	1		1203320288670096	India	Female	Income Tax PAN	BCYPS6244R			49	10	490
1101	Individual	Other than promoter	Others	CHATARAJUPALLI HARIKRISHNA	Equity	1		1208870133999282	India	Male	Income Tax PAN	BDDPC1551P			49	10	490
1102	Individual	Other than promoter	Others	MANSI P	Equity	1		1201090020197251	India	Female	Income Tax PAN	FEGPM3734G			49	10	490
1103	Individual	Other than promoter	Others	LOKESH KATARIA	Equity	1		IN30290240527517	India	Male	Income Tax PAN	ANMPK6713H			48	10	480
1104	Individual	Other than promoter	Others	SURESH KUMAR	Equity	1		1208870033993947	India	Male	Income Tax PAN	CVQPK0231C			48	10	480
1105	Individual	Other than promoter	Others	BHAGYASHREE .	Equity	1		1208160149692941	India	Female	Income Tax PAN	FRSPB3807G			48	10	480
1106	Individual	Other than promoter	Others	ANIL CHANDRAKISHORE MOHABANSI	Equity	1		1208160012395168	India	Male	Income Tax PAN	ABUPM3431C			47	10	470
1107	Individual	Other than promoter	Others	ARPIT RAJESHKUMAR MODI	Equity	1		1208160090335873	India	Male	Income Tax PAN	AQHPM8286H			47	10	470
1108	Individual	Other than promoter	Others	SUCHIKET SHRIKISAN SONAR	Equity	1		1204720027509894	India	Male	Income Tax PAN	GJQPS2187P			47	10	470
1109	Individual	Other than promoter	Others	SAGAR PARIDA	Equity	1		1208160136577319	India	Male	Income Tax PAN	BQSPP2931A			46	10	460
1110	Individual	Other than promoter	Others	ASHUTOSH RAMMANORATH SHUKLA	Equity	1		1208160033715888	India	Male	Income Tax PAN	EBOPS5702Q			46	10	460
1111	Individual	Other than promoter	Others	DOLLY SHRIPAL JAIN	Equity	1		1202970000174380	India	Female	Income Tax PAN	AAFPS5788L			45	10	450
1112	Individual	Other than promoter	Others	MUKESHKUMAR .	Equity	1		1208670001520177	India	Male	Income Tax PAN	AAIPM6315N			45	10	450
1113	Individual	Other than promoter	Others	ANJU GOSWAMI	Equity	1		1208160129042274	India	Female	Income Tax PAN	AAPPG7019J			45	10	450
1114	Individual	Other than promoter	Others	SANDEEP VASANT DALVI	Equity	1		IN30018311486874	India	Male	Income Tax PAN	ABCPD8274A			45	10	450
1115	Individual	Other than promoter	Others	ANURAG VERMA	Equity	1		IN30154961097733	India	Male	Income Tax PAN	ABNPV9867G			45	10	450
1116	Individual	Other than promoter	Others	USHA KUNNATH	Equity	1		IN30189510115893	India	Female	Income Tax PAN	AIAPK7914K			45	10	450
1117	Individual	Other than promoter	Others	Gurpreet Kaur	Equity	1		IN30021464763944	India	Female	Income Tax PAN	AJJPK5453B			45	10	450
1118	Individual	Other than promoter	Others	DEVDATTA VIJAY MAHAJAN	Equity	1		1208160061878611	India	Male	Income Tax PAN	AKAPM1461B			45	10	450
1119	Individual	Other than promoter	Others	SUNITA AGGARWAL	Equity	1		1208160106736894	India	Female	Income Tax PAN	ALAPA1879L			45	10	450
1120	Individual	Other than promoter	Others	KEVIN HITESH HARIA	Equity	1		1201910103726955	India	Male	Income Tax PAN	ALYPH1274Q			45	10	450
1121	Individual	Other than promoter	Others	SUNITA DEVI SHUKLA	Equity	1		1204720026266366	India	Female	Income Tax PAN	ARKPM2302C			45	10	450
1122	Individual	Other than promoter	Others	BIPLAB REJ	Equity	1		1208160124483155	India	Male	Income Tax PAN	AWIPR7527B			45	10	450
1123	Individual	Other than promoter	Others	SUNITHA ALLA	Equity	1		1208870105178301	India	Female	Income Tax PAN	BCJPJ3919F			45	10	450

1124	Individual	Other than promoter	Others	ELANGKUMARAN SUBRAMANIYAN	Equity	1		1203320193965630	India	Male	Income Tax PAN	BJPPS2798E		45	10	450
1125	Individual	Other than promoter	Others	SMYAN KEJRIWAL	Equity	1		1206120000422010	India	Male	Income Tax PAN	BKBPK1834N		45	10	450
1126	Individual	Other than promoter	Others	PARAG BHATIA	Equity	1		1209600007201453	India	Male	Income Tax PAN	CLOPB5431M		45	10	450
1127	Individual	Other than promoter	Others	DEEPSHIKHA SHARMA	Equity	1		IN30302884778086	India	Female	Income Tax PAN	DNRPS1795B		45	10	450
1128	Individual	Other than promoter	Others	SANSKAR SIROHIA	Equity	1		1205940000031050	India	Male	Income Tax PAN	MDIPS3404F		45	10	450
1129	Individual	Other than promoter	Others	ABHISHEK KUMAR	Equity	1		1208160001668835	India	Male	Income Tax PAN	BNEPK2032C		44	10	440
1130	Individual	Other than promoter	Others	SONAM NISHITH GOENKA	Equity	1		1208160144366921	India	Female	Income Tax PAN	BRHPG9282P		44	10	440
1131	Individual	Other than promoter	Others	GAURAV AGARWAL	Equity	1		1208160119554701	India	Male	Income Tax PAN	CEZPA6175D		44	10	440
1132	Individual	Other than promoter	Others	TANITHA	Equity	1		1203320104792784	India	Female	Income Tax PAN	EBLPA9700B		44	10	440
1133	Individual	Other than promoter	Others	RAMDARASH BIHARI YADAV	Equity	1		1208870221101814	India	Male	Income Tax PAN	AAPPY7122E		43	10	430
1134	Individual	Other than promoter	Others	AYUSH GOEL	Equity	1		1208160124021324	India	Male	Income Tax PAN	AYOPG3703C		43	10	430
1135	Entity	Other than promoter	Others	SHRAWANKUMAR KUNDANDAS KOTWANI	Equity	1		1208160124671747	India	Male	Income Tax PAN	ABBHS9588M		41	10	410
1136	Individual	Other than promoter	Others	PARAMESHA TANGALLAPALLY	Equity	1		IN30302861366496	India	Male	Income Tax PAN	ACLPT7671H		41	10	410
1137	Individual	Other than promoter	Others	CHAITHU SUANEILAL AIMOL	Equity	1		1208160110941741	India	Male	Income Tax PAN	AHMPA4537H		41	10	410
1138	Individual	Other than promoter	Others	HIRENKUMAR PRAVINCHANDRA RAVAL	Equity	1		IN30051387752932	India	Male	Income Tax PAN	AQWPR4826P		41	10	410
1139	Individual	Other than promoter	Others	VIJAYALAKSHMI SHALIL SUVARNA	Equity	1		1208160091129850	India	Female	Income Tax PAN	BGAPS0979R		41	10	410
1140	Individual	Other than promoter	Others	SHANTNU KUMAR MADERNA	Equity	1		1203320197613405	India	Male	Income Tax PAN	DIKPM5205G		41	10	410
1141	Individual	Other than promoter	Others	SUDHESH KUMAR UDUPI	Equity	1		1201090001436530	India	Male	Income Tax PAN	AAGPU8021M		40	10	400
1142	Individual	Other than promoter	Others	ASHOK KUMAR JAIN	Equity	1		1201910102960602	India	Male	Income Tax PAN	AAOPJ5024D		40	10	400
1143	Individual	Other than promoter	Others	GAURAV UDAY WARANGE	Equity	1		1208160060281465	India	Male	Income Tax PAN	ACQPW3505Q		40	10	400
1144	Individual	Other than promoter	Others	NITESHBHAI TULSIBHAI MANDANI	Equity	1		1208160114687070	India	Male	Income Tax PAN	ADLPP8426H		40	10	400
1145	Individual	Other than promoter	Others	HEMANT KUMAR	Equity	1		IN30302854606876	India	Male	Income Tax PAN	AEAPK9108H		40	10	400
1146	Individual	Other than promoter	Others	BHAVIN HARISHBHAI GAJJAR	Equity	1		1209290002049469	India	Male	Income Tax PAN	AEIPG9856L		40	10	400
1147	Individual	Other than promoter	Others	JAI KUMAR DAGA	Equity	1		IN30160420011532	India	Male	Income Tax PAN	AELPD5009B		40	10	400
1148	Individual	Other than promoter	Others	JAGDISH CHAND GARG	Equity	1		1204720004567104	India	Male	Income Tax PAN	AFGPG1344G		40	10	400

1149	Individual	Other than promoter	Others	JAYESHBHAI TULSIBHAI MANDANI	Equity	1		1208180113942070	India	Male	Income Tax PAN	AFSPM3393M			40	10	400
1150	Individual	Other than promoter	Others	BHASKARA SAI PRASAD MYLAVARAPU	Equity	1		1208160025481750	India	Male	Income Tax PAN	AIRPM8861E			40	10	400
1151	Individual	Other than promoter	Others	SUMOD BABU	Equity	1		1208160057230449	India	Male	Income Tax PAN	AJPPB9842B			40	10	400
1152	Individual	Other than promoter	Others	DHANALAKSHMI MAHARAJAN	Equity	1		IN30108022741207	India	Female	Income Tax PAN	AKNPD9278L			40	10	400
1153	Individual	Other than promoter	Others	KAVITA YADAV	Equity	1		IN30051380081778	India	Female	Income Tax PAN	AMMPY4629F			40	10	400
1154	Individual	Other than promoter	Others	VIPUL TULSHIBHAI MANDANI	Equity	1		1203320152769656	India	Male	Income Tax PAN	AOKPM2456E			40	10	400
1155	Individual	Other than promoter	Others	HITESHKUMAR MUKUNDBHAI PATEL	Equity	1		1201260000099632	India	Male	Income Tax PAN	AQSPP9352L			40	10	400
1156	Individual	Other than promoter	Others	AJINKYA N KULKARNI	Equity	1		1204470007363110	India	Male	Income Tax PAN	AQZPK0899G			40	10	400
1157	Individual	Other than promoter	Others	ABHISHEK PANDEY	Equity	1		1208160001315978	India	Male	Income Tax PAN	AXQPP1811P			40	10	400
1158	Individual	Other than promoter	Others	VRUSHALI BHASKAR JADHAV	Equity	1		IN30021437521169	India	Female	Income Tax PAN	BAAPJ1949L			40	10	400
1159	Individual	Other than promoter	Others	ANNIE GRAO	Equity	1		1208160106050511	India	Female	Income Tax PAN	BBAPG7028L			40	10	400
1160	Individual	Other than promoter	Others	ASAD TARIQUE	Equity	1		1208160035044130	India	Male	Income Tax PAN	BQEPT1498Q			40	10	400
1161	Individual	Other than promoter	Others	AKSHAY GILL	Equity	1		1208340006021928	India	Male	Income Tax PAN	BTBPG3050P			40	10	400
1162	Individual	Other than promoter	Others	DINESH PANDEY	Equity	1		1208160068273196	India	Male	Income Tax PAN	BTPPP4589Q			40	10	400
1163	Individual	Other than promoter	Others	ANKITH R	Equity	1		1203320166510661	India	Male	Income Tax PAN	BZGPR6235N			40	10	400
1164	Individual	Other than promoter	Others	KASAK AGARWAL	Equity	1		IN30302811879072	India	Female	Income Tax PAN	EHIPA9105H			40	10	400
1165	Individual	Other than promoter	Others	KOTTAPALLI VENKATESWARARAO	Equity	1		1201350000123581	India	Male	Income Tax PAN	EKEPK9731E			40	10	400
1166	Individual	Other than promoter	Others	RIDDHI SINGHVI	Equity	1		1201210101051039	India	Female	Income Tax PAN	FCYPR8898N			40	10	400
1167	Individual	Other than promoter	Others	HARSH KUMAR	Equity	1		1208870037923965	India	Male	Income Tax PAN	FDOPK3069P			40	10	400
1168	Individual	Other than promoter	Others	KHUSHI SARIA	Equity	1		1208180023001861	India	Female	Income Tax PAN	MAWPS9147N			40	10	400
1169	Entity	Other than promoter	Others	KAILASH CHANDRA DIKSHIT (HUF)	Equity	1		1201700000319185	India	Male	Income Tax PAN	AAEHK7400G			39	10	390
1170	Individual	Other than promoter	Others	AJAY KUMAR SHARMA	Equity	1		1208160036506962	India	Male	Income Tax PAN	ADDPS7225H			39	10	390
1171	Individual	Other than promoter	Others	RAJESH KUMAR MODI	Equity	1		IN30154957652824	India	Male	Income Tax PAN	AGBPM1719K			39	10	390
1172	Individual	Other than promoter	Others	ANUJ AMARESH DEB	Equity	1		1208340005949674	India	Male	Income Tax PAN	ALFPD0021N			39	10	390
1173	Individual	Other than promoter	Others	ASHISH PAYAL	Equity	1		IN30302863863040	India	Male	Income Tax PAN	BTJPP5929C			39	10	390

1174	Individual	Other than promoter	Others	ANNAPURNA MUNGARA	Equity	1		1208160018700476	India	Female	Income Tax PAN	DXEPM1539N			39	10	390
1175	Individual	Other than promoter	Others	DEEPALI AGGARWAL	Equity	1		1208160113936683	India	Female	Income Tax PAN	ADIPJ5263B			38	10	380
1176	Individual	Other than promoter	Others	TARUN PROVAT BISWAS	Equity	1		1203320104480229	India	Male	Income Tax PAN	ASYPB9763H			38	10	380
1177	Individual	Other than promoter	Others	SHWETA SHUKLA	Equity	1		1208870004697570	India	Female	Income Tax PAN	IRLPS6617H			38	10	380
1178	Individual	Other than promoter	Others	BASANTI DEVI KHANDELWAL	Equity	1		1208160126619621	India	Female	Income Tax PAN	ABQPK8911M			37	10	370
1179	Individual	Other than promoter	Others	RUPA KUMARI	Equity	1		1208160050439523	India	Female	Income Tax PAN	CDUPK8309K			37	10	370
1180	Individual	Other than promoter	Others	VARUN AGARWAL	Equity	1		1208160085268377	India	Male	Income Tax PAN	CIPPA2657C			37	10	370
1181	Individual	Other than promoter	Others	PARVEEN KUMAR SHARMA	Equity	1		1208160131708542	India	Male	Income Tax PAN	ACDPS2524E			36	10	360
1182	Individual	Other than promoter	Others	SAURABH VERMA	Equity	1		IN30302865585410	India	Male	Income Tax PAN	AEAPV9711P			36	10	360
1183	Individual	Other than promoter	Others	RENU UPENDRA MADAN	Equity	1		1208160056240498	India	Female	Income Tax PAN	AOIPM4178D			36	10	360
1184	Individual	Other than promoter	Others	OMPRAKASH JAT	Equity	1		1203320154229524	India	Male	Income Tax PAN	ASMPJ1351M			36	10	360
1185	Individual	Other than promoter	Others	Allada Naga Sunand	Equity	1		IN30021430116865	India	Female	Income Tax PAN	BCNPA9351A			36	10	360
1186	Individual	Other than promoter	Others	HRITHIK PALIWAL	Equity	1		1208160060124483	India	Male	Income Tax PAN	CPOPP7021M			36	10	360
1187	Individual	Other than promoter	Others	SADASHIV TRIMBAKRAO KULKARNI .	Equity	1		1204920001866752	India	Male	Income Tax PAN	ABTPK0124F			35	10	350
1188	Individual	Other than promoter	Others	NITIN GUPTA	Equity	1		IN30021424234965	India	Male	Income Tax PAN	AGLPG2855L			35	10	350
1189	Individual	Other than promoter	Others	PREMA PIYUSH JOGI	Equity	1		1208160002402967	India	Female	Income Tax PAN	AGVPJ9761A			35	10	350
1190	Individual	Other than promoter	Others	RAJALAKSHMI GURUPRASANNA	Equity	1		1208870019389520	India	Female	Income Tax PAN	AIDPV8869M			35	10	350
1191	Individual	Other than promoter	Others	ASARI RAKESHKUMAR PUNAJI	Equity	1		1204720005498361	India	Male	Income Tax PAN	AJJPA6466C			35	10	350
1192	Individual	Other than promoter	Others	KASHI RAM	Equity	1		1203320099705556	India	Male	Income Tax PAN	AOWPR5175H			35	10	350
1193	Individual	Other than promoter	Others	KAREEM SAMNANI	Equity	1		IN30007910315870	India	Male	Income Tax PAN	BNWPS5197J			35	10	350
1194	Individual	Other than promoter	Others	SHALINI BAJAJ	Equity	1		1208180021985061	India	Female	Income Tax PAN	BXEPB0655G			35	10	350
1195	Individual	Other than promoter	Others	SHASHANK PARAG PANDAV	Equity	1		1208160029040990	India	Male	Income Tax PAN	DCCPP3703C			35	10	350
1196	Individual	Other than promoter	Others	HARSHADA TANAJI SAWANT	Equity	1		1208160041374070	India	Female	Income Tax PAN	DKQPS0716G			35	10	350
1197	Individual	Other than promoter	Others	HIMANSHU MISHRA	Equity	1		1208870125863774	India	Male	Income Tax PAN	EMVPM6343B			35	10	350
1198	Individual	Other than promoter	Others	AJAY KUMAR PHULWARIYA	Equity	1		1208870057293568	India	Male	Income Tax PAN	EMVPP9899B			35	10	350

1199	Individual	Other than promoter	Others	CHINKAL HARDIK SHAH	Equity	1		1208160023880137	India	Female	Income Tax PAN	EQHPK5018P			35	10	350
1200	Individual	Other than promoter	Others	PRASANTA . SUTRADHAR	Equity	1		1208180088535209	India	Female	Income Tax PAN	EYLPS7821A			35	10	350
1201	Individual	Other than promoter	Others	NAMRATA SARAF	Equity	1		IN30143697390039	India	Female	Income Tax PAN	KJMP8065L			35	10	350
1202	Individual	Other than promoter	Others	AMIT KUMAR JAIN	Equity	1		1201910104247968	India	Male	Income Tax PAN	AEDPJ0279F			34	10	340
1203	Individual	Other than promoter	Others	SURJYA PROSANNA BHATTACHARJEE	Equity	1		1208160088876219	India	Male	Income Tax PAN	AJHPB9754C			34	10	340
1204	Individual	Other than promoter	Others	UTSAV BOSE	Equity	1		IN30021445811408	India	Male	Income Tax PAN	APXPB2031C			34	10	340
1205	Individual	Other than promoter	Others	HARISH KUMAR	Equity	1		1208160001657274	India	Male	Income Tax PAN	BVTPK4476R			34	10	340
1206	Individual	Other than promoter	Others	Kuldeep Singh	Equity	1		1203320044279387	India	Male	Income Tax PAN	ECOPS9065R			34	10	340
1207	Individual	Other than promoter	Others	SAWAN KUMAR KAKADE	Equity	1		1203320213055903	India	Male	Income Tax PAN	GVHPK2802Q			34	10	340
1208	Individual	Other than promoter	Others	PRABHAT KUMAR	Equity	1		1208160076647509	India	Male	Income Tax PAN	HBSPK7856N			34	10	340
1209	Individual	Other than promoter	Others	CHASKAR VIVEK NAMDEV	Equity	1		IN30154951795380	India	Male	Income Tax PAN	AJTPC6638A			33	10	330
1210	Individual	Other than promoter	Others	SANDEEP KUMAR	Equity	1		1208160080545821	India	Male	Income Tax PAN	BUAPK6020K			33	10	330
1211	Individual	Other than promoter	Others	RUDRA NARAYAN GHOSH	Equity	1		1203320126482752	India	Male	Income Tax PAN	CHMPG2725F			33	10	330
1212	Individual	Other than promoter	Others	HATHI MAL BAID	Equity	1		1302340000036558	India	Male	Income Tax PAN	AHNPB1209Q			32	10	320
1213	Individual	Other than promoter	Others	ABDHESH KANCHAN	Equity	1		1208160080844060	India	Male	Income Tax PAN	ALAPK3296P			32	10	320
1214	Individual	Other than promoter	Others	SUMAN REJ	Equity	1		1203320074101251	India	Male	Income Tax PAN	BEEPR1625F			32	10	320
1215	Individual	Other than promoter	Others	POOJA GHANSHYAM ASAWA	Equity	1		1208160038064111	India	Female	Income Tax PAN	BEQPA9691J			32	10	320
1216	Individual	Other than promoter	Others	JERIN RAJU	Equity	1		1208870232140776	India	Male	Income Tax PAN	BEQPR5954F			32	10	320
1217	Individual	Other than promoter	Others	SATISHKUMAR .	Equity	1		1208870250253415	India	Male	Income Tax PAN	DUSPS7496R			32	10	320
1218	Individual	Other than promoter	Others	RAJAT VIJ	Equity	1		1208870135207441	India	Male	Income Tax PAN	AFFPV1484H			31	10	310
1219	Individual	Other than promoter	Others	KALPESH SOHANRAJ DOSHI	Equity	1		1204470001771475	India	Male	Income Tax PAN	AGEPD2457Q			31	10	310
1220	Individual	Other than promoter	Others	HUKUM DEO YADAV	Equity	1		1208160075490811	India	Male	Income Tax PAN	AKFPY8757P			31	10	310
1221	Individual	Other than promoter	Others	MONIKA DIXIT	Equity	1		1201910102146772	India	Female	Income Tax PAN	AMXPB5331N			31	10	310
1222	Individual	Other than promoter	Others	POONAM SHUKLA	Equity	1		1304140002246260	India	Female	Income Tax PAN	BOKPS9085J			31	10	310
1223	Individual	Other than promoter	Others	ARNAV BAL	Equity	1		1208870104123142	India	Male	Income Tax PAN	BVEPB8650F			31	10	310

1224	Individual	Other than promoter	Others	REVANTH GANDHI KORLEPARA	Equity	1		1208160020516118	India	Male	Income Tax PAN	EDQPK7330Q			31	10	310
1225	Individual	Other than promoter	Others	BASAV SINGH	Equity	1		1208160154204258	India	Male	Income Tax PAN	FHWPS8962P			31	10	310
1226	Individual	Other than promoter	Others	NISHIT MANISH KHATRI	Equity	1		IN30021460415546	India	Male	Income Tax PAN	MYMPK9644L			31	10	310
1227	Individual	Other than promoter	Others	AVRITA DON BOSCO PATEL	Equity	1		1208870074782074	India	Female	Income Tax PAN	AAKPF7585R			30	10	300
1228	Individual	Other than promoter	Others	IVAN MILAGRIS FERNANDES	Equity	1		1208870160198304	India	Male	Income Tax PAN	AAPPF1449P			30	10	300
1229	Individual	Other than promoter	Others	JYOTHI EDUPUGANTI	Equity	1		1209290002105244	India	Female	Income Tax PAN	AAVPE0772C			30	10	300
1230	Individual	Other than promoter	Others	NARESH KUMAR GUPTA	Equity	1		IN30133017348921	India	Male	Income Tax PAN	AAVPG3540J			30	10	300
1231	Individual	Other than promoter	Others	BHIMRAJ VKTAVARMAL BAGRECHA	Equity	1		IN30154956822992	India	Male	Income Tax PAN	ABJPJ7150N			30	10	300
1232	Individual	Other than promoter	Others	GAUTAM CHAND KOTHARI	Equity	1		1208160141323021	India	Male	Income Tax PAN	ADQPK4220M			30	10	300
1233	Individual	Other than promoter	Others	HANSA CHHAGANLAL CHOUTHANI	Equity	1		IN30051323211620	India	Female	Income Tax PAN	AEYPC9599J			30	10	300
1234	Individual	Other than promoter	Others	BABY PAUL PUTHUSERY	Equity	1		IN30151610345481	India	Male	Income Tax PAN	AFWPP8784M			30	10	300
1235	Individual	Other than promoter	Others	KAMLESH DHIRAJLAL MEHTA	Equity	1		1202870000329499	India	Male	Income Tax PAN	AFYPM8485J			30	10	300
1236	Individual	Other than promoter	Others	SACHIN LAXMIKANT PANDYA	Equity	1		1208160056559290	India	Male	Income Tax PAN	AGAPP8599D			30	10	300
1237	Individual	Other than promoter	Others	AKHIL RAWAT	Equity	1		1208160032437502	India	Male	Income Tax PAN	AGWPR1819G			30	10	300
1238	Individual	Other than promoter	Others	PARVEEN KUMAR	Equity	1		1201910002595872	India	Male	Income Tax PAN	AGYPK3848G			30	10	300
1239	Individual	Other than promoter	Others	DEVENDRA N VARTAK	Equity	1		1203320017895852	India	Male	Income Tax PAN	AHLPV6631N			30	10	300
1240	Individual	Other than promoter	Others	ANJALI SARDA	Equity	1		1203320011773687	India	Female	Income Tax PAN	AJRPM4537C			30	10	300
1241	Individual	Other than promoter	Others	PAVANKUMAR SHIVRAJ SARDA	Equity	1		1203320010265089	India	Male	Income Tax PAN	AKBPS5882K			30	10	300
1242	Individual	Other than promoter	Others	SHWETA RATHORE	Equity	1		1205090000084395	India	Female	Income Tax PAN	AKRPR3061P			30	10	300
1243	Individual	Other than promoter	Others	BRIJ MOHAN	Equity	1		1201910105471122	India	Male	Income Tax PAN	AMBPM1788L			30	10	300
1244	Individual	Other than promoter	Others	Dev Narayan	Equity	1		1203320049492804	India	Male	Income Tax PAN	AMJPN8841R			30	10	300
1245	Individual	Other than promoter	Others	VINEET GOPALAN	Equity	1		1208160042826537	India	Male	Income Tax PAN	AMPPG9939H			30	10	300
1246	Individual	Other than promoter	Others	PALLAB BHATTACHARYA	Equity	1		1208180086438075	India	Male	Income Tax PAN	AMTPB8218J			30	10	300
1247	Individual	Other than promoter	Others	VAIJAYANTI ANAND KARKERA	Equity	1		1203320152276779	India	Female	Income Tax PAN	AOJPK4077Q			30	10	300
1248	Individual	Other than promoter	Others	VIVEK KUMAR PANDEY	Equity	1		1208430000240580	India	Male	Income Tax PAN	APCPP8320F			30	10	300

1249	Individual	Other than promoter	Others	RAJESH KUMAR PANDA	Equity	1		1208160109560041	India	Male	Income Tax PAN	APWPP9082J			30	10	300
1250	Individual	Other than promoter	Others	NITABEN G PATEL	Equity	1		1204890000569355	India	Female	Income Tax PAN	ARYPP2586M			30	10	300
1251	Individual	Other than promoter	Others	ABHISHEK RAJNIKANT SHETH	Equity	1		1208180023917728	India	Male	Income Tax PAN	ATWPS9496F			30	10	300
1252	Individual	Other than promoter	Others	AJAY KUMAR AGARWALLA	Equity	1		1208160066360351	India	Male	Income Tax PAN	ATYPA9558J			30	10	300
1253	Individual	Other than promoter	Others	ANNEY AKHILESH KUMAR MEHTA	Equity	1		1208160146948750	India	Female	Income Tax PAN	AZFPM2600J			30	10	300
1254	Individual	Other than promoter	Others	MANORANJAN SEN	Equity	1		1208870226310070	India	Male	Income Tax PAN	BABPM9017R			30	10	300
1255	Individual	Other than promoter	Others	KUSUM RAMESH SHAH	Equity	1		1208160131446778	India	Female	Income Tax PAN	BAHPS1127G			30	10	300
1256	Individual	Other than promoter	Others	DALIA GEORGE	Equity	1		IN30154950887440	India	Female	Income Tax PAN	BBKPG2470A			30	10	300
1257	Individual	Other than promoter	Others	NAMAN JAIN	Equity	1		1201910103275669	India	Male	Income Tax PAN	BEBPJ2239C			30	10	300
1258	Individual	Other than promoter	Others	Jonnada Surya Sai Charan	Equity	1		1203320021737503	India	Male	Income Tax PAN	BGUPC4774J			30	10	300
1259	Individual	Other than promoter	Others	JULIUS DSOUZA	Equity	1		IN30051383753555	India	Male	Income Tax PAN	BHMPD3582N			30	10	300
1260	Individual	Other than promoter	Others	KARAN CHAWLA	Equity	1		1208160061420740	India	Male	Income Tax PAN	BWJPC4544H			30	10	300
1261	Individual	Other than promoter	Others	MEET VIJAY MEHTA	Equity	1		1208160135302173	India	Male	Income Tax PAN	BWXPM3673B			30	10	300
1262	Individual	Other than promoter	Others	RISHABH AJWANI	Equity	1		1208160042227330	India	Male	Income Tax PAN	CXFPA9979L			30	10	300
1263	Individual	Other than promoter	Others	PANKAJ KUMAR SHARMA	Equity	1		1208160019773796	India	Male	Income Tax PAN	DAEPS1600B			30	10	300
1264	Individual	Other than promoter	Others	SUNIL KUMAR	Equity	1		1206140000139976	India	Male	Income Tax PAN	DGDPK0288J			30	10	300
1265	Individual	Other than promoter	Others	UTTAM KUMAR MANDAL	Equity	1		1208870011515690	India	Male	Income Tax PAN	DGNPM2025M			30	10	300
1266	Individual	Other than promoter	Others	SONU KUMAR	Equity	1		1208870005789363	India	Male	Income Tax PAN	DLCPK3658E			30	10	300
1267	Individual	Other than promoter	Others	RAKESH SITARAM SHETTY	Equity	1		IN30154953321818	India	Male	Income Tax PAN	FRKPS7299B			30	10	300
1268	Individual	Other than promoter	Others	NITIN DOSHI	Equity	1		1208870220336512	India	Male	Income Tax PAN	HAXPD1068M			30	10	300
1269	Individual	Other than promoter	Others	SACHIN .	Equity	1		1208250046617705	India	Male	Income Tax PAN	NEYPS7570Q			30	10	300
1270	Individual	Other than promoter	Others	ABDESH KUMAR SINGH	Equity	1		1201092600271940	India	Male	Income Tax PAN	ADEPS8724L			29	10	290
1271	Individual	Other than promoter	Others	GURUPRASANNA .	Equity	1		1208870001327053	India	Male	Income Tax PAN	ANQPG3375D			29	10	290
1272	Individual	Other than promoter	Others	PRIYANKA JANARDAN SINGH	Equity	1		1208160081048063	India	Female	Income Tax PAN	DIOPS8280K			29	10	290
1273	Individual	Other than promoter	Others	MANISH GYANCHAND MULCHANDANI	Equity	1		1208160071718587	India	Male	Income Tax PAN	AQHPM8551F			28	10	280

1274	Individual	Other than promoter	Others	PRASANNA AGRAWAL	Equity	1		1208880003817461	India	Male	Income Tax PAN	BOXPA5600J		28	10	280
1275	Individual	Other than promoter	Others	NIKITA AGRAWAL	Equity	1		1208160077821437	India	Female	Income Tax PAN	BZNPA4640P		28	10	280
1276	Individual	Other than promoter	Others	VIVEK DNYANDEO INGLE	Equity	1		1203320011021739	India	Male	Income Tax PAN	ABJPI8676G		27	10	270
1277	Individual	Other than promoter	Others	SAMJIBHAI LAKHABHAI DESAI	Equity	1		1201800000282815	India	Male	Income Tax PAN	ADFPD4788C		27	10	270
1278	Individual	Other than promoter	Others	DINESH CHAWLA	Equity	1		1208160001036383	India	Male	Income Tax PAN	AEAPC6352H		27	10	270
1279	Individual	Other than promoter	Others	AYAN GANGULY	Equity	1		1208870017658825	India	Male	Income Tax PAN	AQHPG0039J		27	10	270
1280	Individual	Other than promoter	Others	PAYAL GHANSHYAM ASAWA	Equity	1		1208160035647876	India	Female	Income Tax PAN	BTPPA2669Q		27	10	270
1281	Individual	Other than promoter	Others	NIDHI KUMARI	Equity	1		1203320116307315	India	Female	Income Tax PAN	ENNPK6504D		27	10	270
1282	Individual	Other than promoter	Others	Jeenat Bano	Equity	1		1208880011141283	India	Female	Income Tax PAN	FTCPB5484B		27	10	270
1283	Individual	Other than promoter	Others	SHYAMALA P RAO	Equity	1		1203320046083831	India	Female	Income Tax PAN	AAIPR9202R		26	10	260
1284	Individual	Other than promoter	Others	ABHISHEK YASHWANT JAIN	Equity	1		1208160044374326	India	Male	Income Tax PAN	APIPJ6245H		26	10	260
1285	Individual	Other than promoter	Others	JANGAM PANDU RAJU	Equity	1		1208160024550153	India	Male	Income Tax PAN	DMVPR4750L		26	10	260
1286	Individual	Other than promoter	Others	GURPYAR SINGH	Equity	1		1208180044020974	India	Male	Income Tax PAN	IQWPS2985C		26	10	260
1287	Entity	Other than promoter	Others	CHAMPALAL JAWERCHAND JAIN HUF	Equity	1		1201120000060764	India	Male	Income Tax PAN	AAAHC1113N		25	10	250
1288	Individual	Other than promoter	Others	RAKESH KUMAR	Equity	1		1204470013881296	India	Male	Income Tax PAN	AAEPC6716B		25	10	250
1289	Individual	Other than promoter	Others	H. GURURAJA GURU RAJA	Equity	1		1201090000851515	India	Male	Income Tax PAN	AAGPH1118J		25	10	250
1290	Entity	Other than promoter	Others	MITUL CHAMPAKLAL SHAH HUF	Equity	1		IN30021427138471	India	Male	Income Tax PAN	AAPHM4969M		25	10	250
1291	Entity	Other than promoter	Others	ANAND KUMAR CHOWDHARY HUF	Equity	1		IN30302875478347	India	Male	Income Tax PAN	AASHA8952P		25	10	250
1292	Entity	Other than promoter	Others	PUNKAJ GUPTA HUF	Equity	1		1205090000102696	India	Male	Income Tax PAN	AAUHP6567M		25	10	250
1293	Individual	Other than promoter	Others	MANOJ JAGANI	Equity	1		IN30051311298842	India	Male	Income Tax PAN	ABAPJ0960D		25	10	250
1294	Individual	Other than promoter	Others	ANANDA VITHUJI PALHADE	Equity	1		1204720015330551	India	Male	Income Tax PAN	ABSPP7407R		25	10	250
1295	Individual	Other than promoter	Others	SHAILENDRA SHYAM THOMBRE	Equity	1		IN30302867495103	India	Male	Income Tax PAN	ABUPT3347C		25	10	250
1296	Individual	Other than promoter	Others	MELAGANGULLI RAJENDRA PAI	Equity	1		1208870228246327	India	Male	Income Tax PAN	ABZPP1798E		25	10	250
1297	Individual	Other than promoter	Others	RAM GURURAO KULKARNI	Equity	1		1208160028227872	India	Male	Income Tax PAN	ACMPK2131Q		25	10	250
1298	Individual	Other than promoter	Others	AMIT KUMAR GOLCHHA	Equity	1		1302340000170731	India	Male	Income Tax PAN	ACTPG7869E		25	10	250

1299	Individual	Other than promoter	Others	PRIYANKA AKHIL JHUNJHUNWALA	Equity	1		1208160114195013	India	Female	Income Tax PAN	ACXPJ0842Q			25	10	250
1300	Individual	Other than promoter	Others	ARUN CHANDRASHEKAR	Equity	1		IN30154955818667	India	Male	Income Tax PAN	ADBPC7779E			25	10	250
1301	Individual	Other than promoter	Others	KAKANI SRINIVASA RAO	Equity	1		IN30021426885753	India	Male	Income Tax PAN	ADOPK8763D			25	10	250
1302	Individual	Other than promoter	Others	P TULASEE RAM	Equity	1		IN30021432798495	India	Male	Income Tax PAN	ADTPT6207A			25	10	250
1303	Individual	Other than promoter	Others	PUSHPENDRA SINGH THAKUR	Equity	1		1208160044335166	India	Male	Income Tax PAN	AEKPT3225Q			25	10	250
1304	Individual	Other than promoter	Others	RAMESH KEJRIWAL	Equity	1		1206120000421999	India	Male	Income Tax PAN	AEMPK4089F			25	10	250
1305	Individual	Other than promoter	Others	PUSHPA PRAVEEN DALAL	Equity	1		1201130000148605	India	Female	Income Tax PAN	AFUPD5487P			25	10	250
1306	Individual	Other than promoter	Others	HITESH LAXMICHAND NISAR	Equity	1		1202060001457692	India	Male	Income Tax PAN	AFUPN2783C			25	10	250
1307	Individual	Other than promoter	Others	PRATIBHA YADAV	Equity	1		1208160063435488	India	Female	Income Tax PAN	AGFPY6046H			25	10	250
1308	Individual	Other than promoter	Others	AISHABANU MOHAM HASIM HAFEJI	Equity	1		1203320263485642	India	Female	Income Tax PAN	AJCPH3724P			25	10	250
1309	Individual	Other than promoter	Others	GOPAL GOGIA	Equity	1		IN30209210038675	India	Male	Income Tax PAN	AJDPG6709Q			25	10	250
1310	Individual	Other than promoter	Others	TAPAN KUMAR MITRA	Equity	1		1208160122530039	India	Male	Income Tax PAN	AJGPM3388N			25	10	250
1311	Individual	Other than promoter	Others	KANGAPARAMBIL KUTTAPPAN JOSHI	Equity	1		1208160147563901	India	Male	Income Tax PAN	AKCPJ3073E			25	10	250
1312	Individual	Other than promoter	Others	PRASAD SHRIRAM MAHASHABDE	Equity	1		IN30115121802161	India	Male	Income Tax PAN	AKKPM8036G			25	10	250
1313	Individual	Other than promoter	Others	Gundreddy Rakesh Reddy	Equity	1		1208160163897695	India	Male	Income Tax PAN	AKYPG9049F			25	10	250
1314	Individual	Other than promoter	Others	PRAMOD GOVIND DANGE	Equity	1		1208160071456886	India	Male	Income Tax PAN	ALKPD3835H			25	10	250
1315	Individual	Other than promoter	Others	MANINDER KAUR	Equity	1		1208160095090910	India	Female	Income Tax PAN	ALNPK3975G			25	10	250
1316	Individual	Other than promoter	Others	SACHIN WAMANRAO MYANEWAR	Equity	1		1203320183909456	India	Male	Income Tax PAN	ALXPM3661K			25	10	250
1317	Individual	Other than promoter	Others	MONALI SHAHJI KALE	Equity	1		1208870086200126	India	Female	Income Tax PAN	AMEPH5263Q			25	10	250
1318	Individual	Other than promoter	Others	VISHVA PRATAP SINGH RAJAWAT	Equity	1		1209600003125862	India	Male	Income Tax PAN	AMOPR6224M			25	10	250
1319	Individual	Other than promoter	Others	ARTI MANJREKAR	Equity	1		IN30290240940814	India	Female	Income Tax PAN	ANQPM8658R			25	10	250
1320	Individual	Other than promoter	Others	ARUN KUMAR PANDEY	Equity	1		IN30223610493779	India	Male	Income Tax PAN	ANTPP8105H			25	10	250
1321	Individual	Other than promoter	Others	NISHA HEMANT PAREKH	Equity	1		IN30160412038847	India	Female	Income Tax PAN	AOIPP3500J			25	10	250
1322	Individual	Other than promoter	Others	MANOJ KUMAR PRABHAKAR	Equity	1		1208160131977237	India	Male	Income Tax PAN	AOXPP5097H			25	10	250
1323	Individual	Other than promoter	Others	SNEHLATA SURANA	Equity	1		1206850000079667	India	Female	Income Tax PAN	AQBPS4581K			25	10	250

1324	Individual	Other than promoter	Others	SANKARASUBRAMANIAN KRISHNAMURTHY	Equity	1		1208160019305438	India	Male	Income Tax PAN	ASCP8598K		25	10	250
1325	Individual	Other than promoter	Others	SMITA NARAYAN PIMPLE	Equity	1		IN30267935568185	India	Female	Income Tax PAN	ASRPP9627K		25	10	250
1326	Individual	Other than promoter	Others	AMAN	Equity	1		IN30302861800842	India	Male	Income Tax PAN	ATDPA2094A		25	10	250
1327	Individual	Other than promoter	Others	GANGA SHREE KAKRANIA	Equity	1		IN30210510461237	India	Female	Income Tax PAN	AUCPK2217M		25	10	250
1328	Individual	Other than promoter	Others	CHHADIA SAGAR	Equity	1		1201210000170285	India	Male	Income Tax PAN	AVBPC2051M		25	10	250
1329	Individual	Other than promoter	Others	JIKASMITA DALEI	Equity	1		1208160152597048	India	Female	Income Tax PAN	AWNPD6904D		25	10	250
1330	Individual	Other than promoter	Others	PRIYANKA .	Equity	1		1201060003005867	India	Female	Income Tax PAN	AWRPP9793N		25	10	250
1331	Individual	Other than promoter	Others	LIJU BHARAT	Equity	1		1203320008767077	India	Male	Income Tax PAN	BDTPB9333C		25	10	250
1332	Individual	Other than promoter	Others	SAGAR RAJESHWAR CHOUDHARI	Equity	1		1203320213566504	India	Male	Income Tax PAN	BQFPC6209R		25	10	250
1333	Individual	Other than promoter	Others	SHAH NISARG MUKESHBHAI	Equity	1		IN30177419608377	India	Male	Income Tax PAN	BRHPS1345H		25	10	250
1334	Individual	Other than promoter	Others	DEEPTI SUBRAMANIAM	Equity	1		1208160005168171	India	Female	Income Tax PAN	BXOPS6812A		25	10	250
1335	Individual	Other than promoter	Others	NIVETHA R	Equity	1		1203320070523180	India	Female	Income Tax PAN	CAGPR2449A		25	10	250
1336	Individual	Other than promoter	Others	KHYATI HIMANSHU PATIRA	Equity	1		1201210000187677	India	Female	Income Tax PAN	CHDPK3568F		25	10	250
1337	Individual	Other than promoter	Others	VEMBU RAMKUMAR RAGKHUL	Equity	1		IN30383330117962	India	Male	Income Tax PAN	CJKPR6105E		25	10	250
1338	Individual	Other than promoter	Others	DIVYESHBHAI AJITBHAI PATEL	Equity	1		1208160021410505	India	Male	Income Tax PAN	CRSPP8470N		25	10	250
1339	Individual	Other than promoter	Others	PRANJAL GUPTA	Equity	1		1203320081212201	India	Male	Income Tax PAN	DITPG0346H		25	10	250
1340	Individual	Other than promoter	Others	VASAVI KAPARTHI	Equity	1		IN30154952469417	India	Female	Income Tax PAN	DOXPK1534M		25	10	250
1341	Individual	Other than promoter	Others	HIMANSHU SHIL	Equity	1		1208180069534239	India	Male	Income Tax PAN	EKIPS7528M		25	10	250
1342	Individual	Other than promoter	Others	KUMAR SAMBHAV	Equity	1		1208160027517641	India	Male	Income Tax PAN	ELUPS1035Q		25	10	250
1343	Individual	Other than promoter	Others	SONALI SHARMA	Equity	1		1208160105446047	India	Female	Income Tax PAN	EWUPS2455F		25	10	250
1344	Individual	Other than promoter	Others	SAPNA KISHAN KATUA	Equity	1		1208160123223541	India	Female	Income Tax PAN	FCHPM3428N		25	10	250
1345	Individual	Other than promoter	Others	PUSHPA SRIVASTAVA	Equity	1		IN30302853124181	India	Female	Income Tax PAN	HMGPS0091N		25	10	250
1346	Entity	Other than promoter	Body corporate (not mentioned above)	QUASAR OVERSEAS PRIVATE LIMITED	Equity	1		IN30021426532077	India	Not applicable	Income Tax PAN	AAACQ1249A		24	10	240
1347	Individual	Other than promoter	Others	MURALIDHAR BELLAMKONDA	Equity	1		1203320216336328	India	Male	Income Tax PAN	AARPB3931E		24	10	240

1348	Individual	Other than promoter	Others	SAUKAR MALLAPPA NAGARAJ	Equity	1		1208160065213579	India	Male	Income Tax PAN	ABNPN0494K		24	10	240
1349	Individual	Other than promoter	Others	MASTER BABLU	Equity	1		1208880000630723	India	Male	Income Tax PAN	BAQPB0827H		24	10	240
1350	Individual	Other than promoter	Others	AQUIB MOIN	Equity	1		1208160116503884	India	Male	Income Tax PAN	DKHPM0097R		24	10	240
1351	Individual	Other than promoter	Others	ADNAN ALI SAJID ALI SAYED	Equity	1		1203320013274425	India	Male	Income Tax PAN	FFLPS3518N		24	10	240
1352	Individual	Other than promoter	Others	S RAJARAMAN	Equity	1		1207830000347588	India	Male	Income Tax PAN	ACVPR5121N		23	10	230
1353	Individual	Other than promoter	Others	ADITYA JAIN	Equity	1		IN30371910950991	India	Male	Income Tax PAN	AJCPJ2224J		23	10	230
1354	Individual	Other than promoter	Others	RYAN SAVIO DSOUZA	Equity	1		IN30051321665842	India	Male	Income Tax PAN	AQQPD1008B		23	10	230
1355	Individual	Other than promoter	Others	VANDANA GANAPATI BHAT	Equity	1		1208160016313172	India	Female	Income Tax PAN	BIAPB9440A		23	10	230
1356	Individual	Other than promoter	Others	SURESH KUMAR GUPTA	Equity	1		IN30086110203844	India	Male	Income Tax PAN	ABXPK7346P		22	10	220
1357	Individual	Other than promoter	Others	Santosh Ragunath Naik	Equity	1		1207830000672554	India	Male	Income Tax PAN	ACDPN2494C		22	10	220
1358	Individual	Other than promoter	Others	NEELAM CHHABRA	Equity	1		1208160125168868	India	Female	Income Tax PAN	ADPPC9261R		22	10	220
1359	Individual	Other than promoter	Others	Sweta Arun Todi	Equity	1		1208180176785538	India	Female	Income Tax PAN	AHDPA5280G		22	10	220
1360	Individual	Other than promoter	Others	BRIJESH SHREEKRISHNA MISHRA	Equity	1		1208160094824135	India	Male	Income Tax PAN	BRAPM1924P		22	10	220
1361	Individual	Other than promoter	Others	KHUSHBU JAIN	Equity	1		1201210101096828	India	Female	Income Tax PAN	CFPPK1066Q		22	10	220
1362	Individual	Other than promoter	Others	RANPARA KRUTI VIPULBHAI	Equity	1		IN30021471497783	India	Female	Income Tax PAN	CGMPR9073C		22	10	220
1363	Individual	Other than promoter	Others	GOPU SHASHI KIRAN	Equity	1		1208180087655869	India	Male	Income Tax PAN	DFYPS4365Q		22	10	220
1364	Individual	Other than promoter	Others	SIMREEN BAGAWAN	Equity	1		1208160141298021	India	Female	Income Tax PAN	HJXPB3981G		22	10	220
1365	Individual	Other than promoter	Others	PRAFULKUMAR SURESH CHANDRA UPADHYAYA	Equity	1		1208160157836949	India	Male	Income Tax PAN	AAEPU4428L		21	10	210
1366	Individual	Other than promoter	Others	JAMBUNATHAN SUNDARESAN	Equity	1		1208160048320455	India	Male	Income Tax PAN	AAJPJ8359E		21	10	210
1367	Individual	Other than promoter	Others	BANITA AGRAWAL	Equity	1		1208160013858771	India	Female	Income Tax PAN	ADYPA9017E		21	10	210
1368	Individual	Other than promoter	Others	Sadashiv Bharat Budre	Equity	1		1208160127096146	India	Male	Income Tax PAN	AMMPB2405Q		21	10	210
1369	Individual	Other than promoter	Others	SHAILENDRA MEVARAM PAL	Equity	1		1209290001845850	India	Male	Income Tax PAN	AULPP4189N		21	10	210
1370	Individual	Other than promoter	Others	SATYABRAT PADHI	Equity	1		1208340000788704	India	Male	Income Tax PAN	AYNPP7157Q		21	10	210
1371	Individual	Other than promoter	Others	OM PRAKASH .	Equity	1		1208870305399069	India	Male	Income Tax PAN	BBXPP5117N		21	10	210
1372	Individual	Other than promoter	Others	RADHIKA RANI	Equity	1		1203320313257037	India	Female	Income Tax PAN	CQXPR6409R		21	10	210

1373	Individual	Other than promoter	Others	PRIYANKA DEVI	Equity	1		1208180110653351	India	Female	Income Tax PAN	GEXPD4328P			21	10	210
1374	Individual	Other than promoter	Others	SRITHARAN MAHA LAKSHMI	Equity	1		1208870067289843	India	Female	Income Tax PAN	GPEPS1660P			21	10	210
1375	Individual	Other than promoter	Others	Mr. Emmady Elia	Equity	1		IN30420399530615	India	Male	Income Tax PAN	AADPE1998E			20	10	200
1376	Individual	Other than promoter	Others	HIRALAL JIVRAJJI KANUNGO	Equity	1		1208160073611203	India	Male	Income Tax PAN	AAKPK3760H			20	10	200
1377	Entity	Other than promoter	Others	AYUSH AJAY AGRAWAL HUF	Equity	1		1208160142317623	India	Male	Income Tax PAN	AAUHA4403R			20	10	200
1378	Individual	Other than promoter	Others	UMA PRAMODKUMAR	Equity	1		1208160012379861	India	Female	Income Tax PAN	AAWPU7017P			20	10	200
1379	Individual	Other than promoter	Others	PRADEEP VASANTRAO REKHADE	Equity	1		1208160094281701	India	Male	Income Tax PAN	AAYPR1779F			20	10	200
1380	Entity	Other than promoter	Others	RAJENDRA KUMAR BAJAJ HUF	Equity	1		IN30290243085078	India	Male	Income Tax PAN	AAZHR8558R			20	10	200
1381	Individual	Other than promoter	Others	CHANDRA.MOHAN.BHATN AGAR	Equity	1		IN30074960030156	India	Male	Income Tax PAN	AAZPB4021H			20	10	200
1382	Individual	Other than promoter	Others	MONIKA JAIN	Equity	1		1201910102960617	India	Female	Income Tax PAN	ABBPJ4698R			20	10	200
1383	Individual	Other than promoter	Others	SATYANARAYANA LAXMIRAJAM VEMULA	Equity	1		IN30302887115761	India	Male	Income Tax PAN	ABCPV5652J			20	10	200
1384	Individual	Other than promoter	Others	RAMESH SAINAPPA MADANE	Equity	1		1208160147594679	India	Male	Income Tax PAN	ABHPM0844Q			20	10	200
1385	Individual	Other than promoter	Others	VALLERU MUNI CHANDRA NAIDU	Equity	1		IN30039412225497	India	Male	Income Tax PAN	ABHPV3421C			20	10	200
1386	Individual	Other than promoter	Others	ANILKUMAR GUPTA	Equity	1		IN30302874213498	India	Male	Income Tax PAN	ABKPG9590L			20	10	200
1387	Individual	Other than promoter	Others	RAJENDRAKUMAR PRABHUDAS PATEL	Equity	1		1203230002079048	India	Male	Income Tax PAN	ABUPP4918M			20	10	200
1388	Individual	Other than promoter	Others	ANURADHA M L .	Equity	1		1201090003416177	India	Female	Income Tax PAN	ACFPL4130R			20	10	200
1389	Individual	Other than promoter	Others	CHANDRASEGARA SASTRY	Equity	1		IN30108022701599	India	Male	Income Tax PAN	ADJPC6884E			20	10	200
1390	Individual	Other than promoter	Others	HARI MOHAN JHA	Equity	1		IN30154961409224	India	Male	Income Tax PAN	ADOPJ5337J			20	10	200
1391	Individual	Other than promoter	Others	DINESH PRABHU P	Equity	1		IN30044110564090	India	Male	Income Tax PAN	ADZPP6502A			20	10	200
1392	Individual	Other than promoter	Others	SUNIL . K . N .	Equity	1		1203280000054171	India	Male	Income Tax PAN	AEPPN5260A			20	10	200
1393	Individual	Other than promoter	Others	VIRENDRA SWAROOP KALANI .	Equity	1		1201090700216080	India	Male	Income Tax PAN	AERPK9376E			20	10	200
1394	Individual	Other than promoter	Others	AMRENDRA KUMAR	Equity	1		1209290001259049	India	Male	Income Tax PAN	AEXPK8074P			20	10	200
1395	Individual	Other than promoter	Others	SATYAN KESHAVDAS GUJAR	Equity	1		1203320088534640	India	Male	Income Tax PAN	AFGPG7595H			20	10	200
1396	Individual	Other than promoter	Others	JITESH ARORA	Equity	1		IN30051383855761	India	Male	Income Tax PAN	AFIPA9348G			20	10	200
1397	Individual	Other than promoter	Others	LOGESH VELUSAMY	Equity	1		1203320014219734	India	Male	Income Tax PAN	AFOPL1844A			20	10	200

1398	Individual	Other than promoter	Others	GAURAV JAIN	Equity	1		1208160017846052	India	Male	Income Tax PAN	AFQPJ6346D			20	10	200
1399	Individual	Other than promoter	Others	JAY PRAKASH VERMA	Equity	1		1208870121517821	India	Male	Income Tax PAN	AGMPV6161D			20	10	200
1400	Individual	Other than promoter	Others	GOPALA KRISHNA PULLURI	Equity	1		1208870063861770	India	Male	Income Tax PAN	AGTPP8258J			20	10	200
1401	Individual	Other than promoter	Others	HIMADRI AGGARWAL	Equity	1		IN30021445572595	India	Female	Income Tax PAN	AGYPG4230A			20	10	200
1402	Individual	Other than promoter	Others	MALKA DAGA	Equity	1		IN30154962325532	India	Female	Income Tax PAN	AHEPD4294Q			20	10	200
1403	Individual	Other than promoter	Others	VIKAS SUBHASH TAKLE	Equity	1		1208160049988952	India	Male	Income Tax PAN	AHGPT1031M			20	10	200
1404	Individual	Other than promoter	Others	CHITRANGI YADAV	Equity	1		1208160012506872	India	Female	Income Tax PAN	AHIPY1609A			20	10	200
1405	Individual	Other than promoter	Others	SANGEETA DAS	Equity	1		IN30077310329064	India	Female	Income Tax PAN	AHKPD2397J			20	10	200
1406	Individual	Other than promoter	Others	SHIKHA LODHI	Equity	1		1208160055209635	India	Female	Income Tax PAN	AJAPL6850C			20	10	200
1407	Individual	Other than promoter	Others	MEENA MANISH KHATRI	Equity	1		1208160045184642	India	Female	Income Tax PAN	AKPPK0632B			20	10	200
1408	Individual	Other than promoter	Others	RAJAM. S.	Equity	1		1301740000219178	India	Female	Income Tax PAN	AKVPR2274G			20	10	200
1409	Individual	Other than promoter	Others	SIDDHARTH HARISH DAVDA	Equity	1		1201170000063718	India	Male	Income Tax PAN	ALNPD7899L			20	10	200
1410	Individual	Other than promoter	Others	BHARAT VERMA	Equity	1		1208870038727433	India	Male	Income Tax PAN	AMEPV1450F			20	10	200
1411	Individual	Other than promoter	Others	TANU GUPTA	Equity	1		1203600002748196	India	Male	Income Tax PAN	ANMPG5456B			20	10	200
1412	Individual	Other than promoter	Others	SHAILESH MANOHARLAL JAIN	Equity	1		1201210000177721	India	Male	Income Tax PAN	ANOPJ3744R			20	10	200
1413	Individual	Other than promoter	Others	SHRABANTI PAIK	Equity	1		IN30051389316241	India	Female	Income Tax PAN	AOLPP3434J			20	10	200
1414	Individual	Other than promoter	Others	NITA SANDIP PATEL	Equity	1		1203600006182681	India	Female	Income Tax PAN	AORPP2131C			20	10	200
1415	Individual	Other than promoter	Others	SWETA DUTTA ROY	Equity	1		IN30302869862152	India	Female	Income Tax PAN	APUPD7831F			20	10	200
1416	Individual	Other than promoter	Others	SANCHITA DEY MANNA	Equity	1		1208870065945619	India	Female	Income Tax PAN	AQSPD8214H			20	10	200
1417	Individual	Other than promoter	Others	PAPPATHI MURUGESAN	Equity	1		IN30131322172778	India	Female	Income Tax PAN	ASPPP2169N			20	10	200
1418	Individual	Other than promoter	Others	SARAVANAN .	Equity	1		1208870055043625	India	Male	Income Tax PAN	ASYPS8684C			20	10	200
1419	Individual	Other than promoter	Others	AMOL GENBAU GHANWAT	Equity	1		1208160019607588	India	Male	Income Tax PAN	ATHPG8805H			20	10	200
1420	Individual	Other than promoter	Others	KARAN ARORA	Equity	1		1208160108324567	India	Male	Income Tax PAN	ATMPA3617J			20	10	200
1421	Individual	Other than promoter	Others	DINESH KUMAR MAURYA	Equity	1		1208340000501206	India	Male	Income Tax PAN	ATRPM9464C			20	10	200
1422	Individual	Other than promoter	Others	ABHIJIT BALKRISHNA SAWANT	Equity	1		1203230003494359	India	Male	Income Tax PAN	AUOPS8183Q			20	10	200

1423	Individual	Other than promoter	Others	AKSHAY CHAURASIA	Equity	1		1208870084162517	India	Male	Income Tax PAN	AWGPC3843B			20	10	200
1424	Individual	Other than promoter	Others	DEBOJYOTI PRAMANICK	Equity	1		1208160014874945	India	Male	Income Tax PAN	AXAPP8454A			20	10	200
1425	Individual	Other than promoter	Others	POOJA LEGHA	Equity	1		1208160118579535	India	Female	Income Tax PAN	AXYPL7126M			20	10	200
1426	Individual	Other than promoter	Others	MUGDHAPRAN MAHANTA	Equity	1		1208160082962421	India	Male	Income Tax PAN	AYQPM2772H			20	10	200
1427	Individual	Other than promoter	Others	PUNITH NITIN MEHTA	Equity	1		1208160129363810	India	Male	Income Tax PAN	AYYPM6345A			20	10	200
1428	Individual	Other than promoter	Others	Champak Sahu	Equity	1		1209550026261172	India	Male	Income Tax PAN	BAJPS2345N			20	10	200
1429	Individual	Other than promoter	Others	M SURESH	Equity	1		IN30611440496139	India	Male	Income Tax PAN	BASPS7886R			20	10	200
1430	Individual	Other than promoter	Others	PARMANAND JAT	Equity	1		1208160108178189	India	Male	Income Tax PAN	BCDPJ8627G			20	10	200
1431	Individual	Other than promoter	Others	SUMANBACHU	Equity	1		IN30143693419766	India	Female	Income Tax PAN	BGSPS9771F			20	10	200
1432	Individual	Other than promoter	Others	JOGINDRA PRASAD GUPTA	Equity	1		1208870104993180	India	Male	Income Tax PAN	BJDPG9014P			20	10	200
1433	Individual	Other than promoter	Others	DINESH TECKCHAND BULCHANDANI	Equity	1		1203500001422301	India	Male	Income Tax PAN	BLMPB8277L			20	10	200
1434	Individual	Other than promoter	Others	RAJANI BEHERA .	Equity	1		1208870312611799	India	Female	Income Tax PAN	BLNPB2977C			20	10	200
1435	Individual	Other than promoter	Others	TORANAL SHIRISHA	Equity	1		1203320023939142	India	Female	Income Tax PAN	BNHPS4417A			20	10	200
1436	Individual	Other than promoter	Others	SHWETA PRASAD	Equity	1		1208870021197309	India	Female	Income Tax PAN	BNKPP3660F			20	10	200
1437	Individual	Other than promoter	Others	SANGITA GALIYAN	Equity	1		IN30154962063605	India	Female	Income Tax PAN	BPMPG5363N			20	10	200
1438	Individual	Other than promoter	Others	SWATI AGGARWAL	Equity	1		1203320309952662	India	Female	Income Tax PAN	BPTPA9290P			20	10	200
1439	Individual	Other than promoter	Others	MOHAN SHAW	Equity	1		IN30359110071845	India	Male	Income Tax PAN	BTUPS9551E			20	10	200
1440	Individual	Other than promoter	Others	SANGITA BAI YADAV	Equity	1		IN30186272426406	India	Female	Income Tax PAN	BUIPY2140N			20	10	200
1441	Individual	Other than promoter	Others	YUG GARG	Equity	1		1208160070244881	India	Male	Income Tax PAN	BVKPG0740H			20	10	200
1442	Individual	Other than promoter	Others	SOUMYADIP PAUL	Equity	1		IN30154938668398	India	Male	Income Tax PAN	BZRPP6332D			20	10	200
1443	Individual	Other than promoter	Others	VIJENDRA SINGH	Equity	1		1208160092948040	India	Male	Income Tax PAN	CATPS0777D			20	10	200
1444	Individual	Other than promoter	Others	Swaleha Dastagir Desai	Equity	1		1208340016550834	India	Female	Income Tax PAN	CBPPK3936H			20	10	200
1445	Individual	Other than promoter	Others	KSHITIJ MAHESHWARY	Equity	1		1208160123523451	India	Male	Income Tax PAN	CBUPM8305F			20	10	200
1446	Individual	Other than promoter	Others	RANI DEVI KUREEL	Equity	1		1203980000139675	India	Female	Income Tax PAN	CEEPK1418N			20	10	200
1447	Individual	Other than promoter	Others	KULDEEP NITIN MASHRU	Equity	1		1203320011885292	India	Male	Income Tax PAN	CKWPM3380B			20	10	200

1448	Individual	Other than promoter	Others	SAGARIKA MISHRA	Equity	1		1203320285886359	India	Female	Income Tax PAN	CNCPM9424M			20	10	200
1449	Individual	Other than promoter	Others	SHOBHNA PARETA	Equity	1		1208160147455275	India	Female	Income Tax PAN	CQNPP0244E			20	10	200
1450	Individual	Other than promoter	Others	RENU MEENA	Equity	1		1208160003254004	India	Female	Income Tax PAN	CTMPM4675E			20	10	200
1451	Individual	Other than promoter	Others	ABDULLAH .	Equity	1		1208160090097830	India	Male	Income Tax PAN	CUIPA9782K			20	10	200
1452	Individual	Other than promoter	Others	ARATHI SURESH	Equity	1		IN30051392186581	India	Female	Income Tax PAN	DGCPS4576L			20	10	200
1453	Individual	Other than promoter	Others	MAULIK BHARATBHAI SHETH	Equity	1		1208160037087372	India	Male	Income Tax PAN	DILPS3130R			20	10	200
1454	Individual	Other than promoter	Others	SONAL SINGHAL	Equity	1		IN30177420988889	India	Male	Income Tax PAN	DLBPS3941D			20	10	200
1455	Individual	Other than promoter	Others	DAMANI KUMARI	Equity	1		1304140007993851	India	Female	Income Tax PAN	DMTPK3599E			20	10	200
1456	Individual	Other than promoter	Others	Deepika Sarda	Equity	1		1208160167646445	India	Female	Income Tax PAN	DNHPS3333H			20	10	200
1457	Individual	Other than promoter	Others	NAKUL KHANDELWAL	Equity	1		1208160069495764	India	Male	Income Tax PAN	DWXPK5137E			20	10	200
1458	Individual	Other than promoter	Others	NEERAJ SINGH MEHTA	Equity	1		1208160028775047	India	Male	Income Tax PAN	DXKPM6159J			20	10	200
1459	Individual	Other than promoter	Others	SONI KUMARI	Equity	1		1208340002458308	India	Female	Income Tax PAN	EETPK7973F			20	10	200
1460	Individual	Other than promoter	Others	SONIYA .	Equity	1		1208160062110101	India	Female	Income Tax PAN	FGEPS2378G			20	10	200
1461	Individual	Other than promoter	Others	YASH MAHESHWARI	Equity	1		1208160078453689	India	Male	Income Tax PAN	FNAPM6738K			20	10	200
1462	Individual	Other than promoter	Others	SAKSHAM KHANDELWAL	Equity	1		1208160112631104	India	Male	Income Tax PAN	FVMPK6968P			20	10	200
1463	Individual	Other than promoter	Others	DEEPENDER SINGH	Equity	1		1208870216366497	India	Male	Income Tax PAN	GBKPS9677G			20	10	200
1464	Individual	Other than promoter	Others	HEMANT JAIPRAKASH SINGH	Equity	1		1208160069476517	India	Male	Income Tax PAN	GCEPS8662G			20	10	200
1465	Individual	Other than promoter	Others	RANJEETA RANJEETA	Equity	1		1203320191702051	India	Female	Income Tax PAN	GPAPR6378H			20	10	200
1466	Individual	Other than promoter	Others	NITIN SHARMA	Equity	1		1208160081426349	India	Male	Income Tax PAN	GRFPS2170M			20	10	200
1467	Individual	Other than promoter	Others	STHALASAYANAM SIVARAM BHARATHI	Equity	1		1208160092597042	India	Male	Income Tax PAN	HTTPS0825Q			20	10	200
1468	Individual	Other than promoter	Others	HRITHIK SARDA	Equity	1		1208880011612501	India	Male	Income Tax PAN	KSXPS3732L			20	10	200
1469	Individual	Other than promoter	Others	MOHAMMAD MUSHIR SHEIKH	Equity	1		1203320355443583	India	Male	Income Tax PAN	RZGPS0302M			20	10	200
1470	Individual	Other than promoter	Others	KISMAT ARA FARHAD	Equity	1		1208180063470787	India	Female	Income Tax PAN	AALPF0026E			19	10	190
1471	Individual	Other than promoter	Others	VIJAYKUMAR DYAMANGOUDAR KALASGOUDAR	Equity	1		IN30290244011688	India	Male	Income Tax PAN	ACMPK1330K			19	10	190

1472	Individual	Other than promoter	Others	SIBNATH ROY	Equity	1		1204720025799659	India	Male	Income Tax PAN	ACZPR2635R			19	10	10	190
1473	Individual	Other than promoter	Others	INDRA KUMAR BAGRI	Equity	1		IN30045016204580	India	Male	Income Tax PAN	ADVPB8503F			19	10	10	190
1474	Individual	Other than promoter	Others	DEEPRAJ CHATTERJEE	Equity	1		1201090011749178	India	Male	Income Tax PAN	AEAPC0697R			19	10	10	190
1475	Individual	Other than promoter	Others	APARNA HUMAD	Equity	1		1208160010606853	India	Female	Income Tax PAN	AGKPH4676H			19	10	10	190
1476	Individual	Other than promoter	Others	DIPTI RHISHIKESH PARKHI	Equity	1		1208160032138463	India	Female	Income Tax PAN	AQZPK9982G			19	10	10	190
1477	Individual	Other than promoter	Others	RAKESH SINGH KUSHWAHA	Equity	1		1208160026791497	India	Male	Income Tax PAN	AVNPK3018L			19	10	10	190
1478	Individual	Other than promoter	Others	UPASANA DHAMI	Equity	1		1208160096590982	India	Female	Income Tax PAN	CELPD2516R			19	10	10	190
1479	Individual	Other than promoter	Others	SACHENDRA SINGH	Equity	1		1208160073574700	India	Male	Income Tax PAN	CHLPS1238Q			19	10	10	190
1480	Individual	Other than promoter	Others	ASHUTOSH MISHRA	Equity	1		1208160021235144	India	Male	Income Tax PAN	DNFPM5422R			19	10	10	190
1481	Individual	Other than promoter	Others	ANSHU BHAT	Equity	1		1208160127077199	India	Male	Income Tax PAN	FUQPB2182F			19	10	10	190
1482	Individual	Other than promoter	Others	RICHA KAPOOR	Equity	1		IN30051386423345	India	Male	Income Tax PAN	AATPK7897E			18	10	10	180
1483	Individual	Other than promoter	Others	MANDAR NIVRUTTI IROLE	Equity	1		1208160038541409	India	Male	Income Tax PAN	AAUPI8137Q			18	10	10	180
1484	Individual	Other than promoter	Others	VAGICHLARLA SRINIVASULU PURNIMA	Equity	1		IN30154950595205	India	Female	Income Tax PAN	AAVPV7915L			18	10	10	180
1485	Individual	Other than promoter	Others	SUNIL KUMAR GOSAIN	Equity	1		1208160045939765	India	Male	Income Tax PAN	AFEPG2468K			18	10	10	180
1486	Individual	Other than promoter	Others	PARAG DILIPKUMAR ADWANI	Equity	1		1208160049135463	India	Male	Income Tax PAN	AFJPA3489F			18	10	10	180
1487	Individual	Other than promoter	Others	JOY ABRAHAM	Equity	1		IN30115121932150	India	Male	Income Tax PAN	AHWPA8646B			18	10	10	180
1488	Individual	Other than promoter	Others	NAGRAJ KAMATH MAROLI	Equity	1		1209550005531242	India	Male	Income Tax PAN	AILPM2918A			18	10	10	180
1489	Individual	Other than promoter	Others	RAHUL KUMAR JAIN	Equity	1		1208670001703098	India	Male	Income Tax PAN	ALKPJ7728D			18	10	10	180
1490	Individual	Other than promoter	Others	GOVINDASWAMY GANJIKUNTA	Equity	1		1208160126165784	India	Male	Income Tax PAN	ALUPG6188J			18	10	10	180
1491	Individual	Other than promoter	Others	MANEESH KUMAR GARG	Equity	1		1208160009781652	India	Male	Income Tax PAN	AMAPG1483B			18	10	10	180
1492	Individual	Other than promoter	Others	MANOJ KUMAR MANDAL	Equity	1		IN30143685485041	India	Male	Income Tax PAN	AMOPM2374D			18	10	10	180
1493	Individual	Other than promoter	Others	S P ANNIGERI	Equity	1		1203320010475690	India	Male	Income Tax PAN	ANNPA3181G			18	10	10	180
1494	Individual	Other than promoter	Others	CHHAYA VIJAY KUMBHARE	Equity	1		1208160152345035	India	Female	Income Tax PAN	BEWPK6751H			18	10	10	180
1495	Individual	Other than promoter	Others	SHREYANS BAKUL SHAH	Equity	1		1203320232853217	India	Male	Income Tax PAN	BFUPS0295H			18	10	10	180
1496	Individual	Other than promoter	Others	SHUBHANKAR BISWAL .	Equity	1		1208160099656849	India	Male	Income Tax PAN	BVAPB0969H			18	10	10	180

1497	Individual	Other than promoter	Others	NUR YEASIN	Equity	1		1203320036403232	India	Male	Income Tax PAN	ABXPY7694L			17	10	170
1498	Individual	Other than promoter	Others	JOHN OSWALD RODRIQUES	Equity	1		1208160061554815	India	Male	Income Tax PAN	AFWPR7652G			17	10	170
1499	Individual	Other than promoter	Others	NIBIN FRANCIS C	Equity	1		IN30023915467680	India	Male	Income Tax PAN	AGZPN7549L			17	10	170
1500	Individual	Other than promoter	Others	K V S RAMA RAO	Equity	1		IN30102220378729	India	Male	Income Tax PAN	AMOPK3210G			17	10	170
1501	Individual	Other than promoter	Others	PITCHIKA SRI VINAY SIVA KUMAR .	Equity	1		1208870302048846	India	Male	Income Tax PAN	BZUPP6072M			17	10	170
1502	Individual	Other than promoter	Others	NANI DAS	Equity	1		1208870007926286	India	Male	Income Tax PAN	CEGPD1048R			17	10	170
1503	Individual	Other than promoter	Others	BOSE DEEPIKA	Equity	1		1208160019108095	India	Female	Income Tax PAN	CFDPD7232R			17	10	170
1504	Individual	Other than promoter	Others	HARSH MOHAN BADOLA	Equity	1		1208160025816443	India	Male	Income Tax PAN	COGPM0725N			17	10	170
1505	Individual	Other than promoter	Others	. PRAVEEN	Equity	1		1208180157582972	India	Male	Income Tax PAN	FDOPP1909K			17	10	170
1506	Individual	Other than promoter	Others	G SURESH KUMAR .	Equity	1		1201090000408176	India	Male	Income Tax PAN	AAQPS8489M			16	10	160
1507	Individual	Other than promoter	Others	SAPNA PRIYENKUMAR SALOT	Equity	1		IN30154957172209	India	Female	Income Tax PAN	AGPPJ2717E			16	10	160
1508	Individual	Other than promoter	Others	ARUNDHATI NAGENDRAN	Equity	1		1208160090671771	India	Female	Income Tax PAN	AQIPN7658P			16	10	160
1509	Individual	Other than promoter	Others	KOMAL RANI	Equity	1		1208160009503974	India	Female	Income Tax PAN	AQNPR8864Q			16	10	160
1510	Individual	Other than promoter	Others	SONALBEN AJAYKUMAR JADAV ..	Equity	1		1208870371894856	India	Female	Income Tax PAN	ATRPT1444K			16	10	160
1511	Individual	Other than promoter	Others	SATHISH KUMARK	Equity	1		1204720005303501	India	Male	Income Tax PAN	BEEPK8245J			16	10	160
1512	Individual	Other than promoter	Others	SANDESH ANDRADE	Equity	1		1208160008212917	India	Male	Income Tax PAN	BKIPA6790G			16	10	160
1513	Individual	Other than promoter	Others	RAGINI PANDEY	Equity	1		1208430000362204	India	Female	Income Tax PAN	BTUPP7180E			16	10	160
1514	Individual	Other than promoter	Others	RUDRANYL MUKHERJEE	Equity	1		1208160083136450	India	Male	Income Tax PAN	BWFPM1199E			16	10	160
1515	Individual	Other than promoter	Others	SWETA AGARWAL	Equity	1		1201090036076316	India	Female	Income Tax PAN	BYAPA2672K			16	10	160
1516	Individual	Other than promoter	Others	NINGANAGOUDA RUDRAGOUDA KALASANAGOUDAR	Equity	1		1203320272704251	India	Male	Income Tax PAN	FAZPK5347E			16	10	160
1517	Individual	Other than promoter	Others	SHREYA SHARMA	Equity	1		1208880004055375	India	Female	Income Tax PAN	GALPS6817J			16	10	160
1518	Individual	Other than promoter	Others	RAGINI SHARMA	Equity	1		1208160064284073	India	Female	Income Tax PAN	GBEPS6820M			16	10	160
1519	Individual	Other than promoter	Others	UMA SHANKAR	Equity	1		1208870029983303	India	Male	Income Tax PAN	IDHPS6237R			16	10	160
1520	Individual	Other than promoter	Others	DHRUTI SANGHVI	Equity	1		1203600008054979	India	Female	Income Tax PAN	OBZPS4524M			16	10	160

1521	Individual	Other than promoter	Others	DINESH KUMAR GARG	Equity	1		IN30267931837272	India	Male	Income Tax PAN	AAAPG1020A			15	10	150
1522	Individual	Other than promoter	Others	RAVINDER SINGH OBERAI	Equity	1		1203320052046420	India	Male	Income Tax PAN	AAGPO8809H			15	10	150
1523	Individual	Other than promoter	Others	PARAS CHORDIA	Equity	1		1208160025200104	India	Male	Income Tax PAN	AAJPP3765E			15	10	150
1524	Individual	Other than promoter	Others	G N RAVINDRANATH	Equity	1		IN30429510334115	India	Male	Income Tax PAN	AALPR1016J			15	10	150
1525	Individual	Other than promoter	Others	AJAY KUMAR HANDA	Equity	1		IN30302851018646	India	Male	Income Tax PAN	AATPH0415M			15	10	150
1526	Entity	Other than promoter	Others	RANJEET SINGH SIROHIA HUF	Equity	1		1205940000026515	India	Male	Income Tax PAN	AAUHR1654K			15	10	150
1527	Individual	Other than promoter	Others	DURGA PRASAD KUREEL	Equity	1		1203980000143905	India	Male	Income Tax PAN	ABEPK8327M			15	10	150
1528	Individual	Other than promoter	Others	SATYA PRAKASH	Equity	1		IN30023916549471	India	Male	Income Tax PAN	ABFPP2860F			15	10	150
1529	Individual	Other than promoter	Others	MUKESH NAHAR	Equity	1		1208860007098181	India	Male	Income Tax PAN	ABWPN5571E			15	10	150
1530	Individual	Other than promoter	Others	PRAFULLA CHANDRA MUDI	Equity	1		1204720010605545	India	Male	Income Tax PAN	ADGPM8526J			15	10	150
1531	Individual	Other than promoter	Others	PARAS MAL TATIA	Equity	1		1201210100756101	India	Male	Income Tax PAN	ADJPT0902A			15	10	150
1532	Individual	Other than promoter	Others	ROHIT KUMAR FAUZDAR TIWARI	Equity	1		1208160083772425	India	Male	Income Tax PAN	AEKPT8572L			15	10	150
1533	Individual	Other than promoter	Others	SUDHAKAR RANDHI	Equity	1		1203330000591663	India	Male	Income Tax PAN	AEUPR7607E			15	10	150
1534	Individual	Other than promoter	Others	ASHA LAXMAN POOJARI	Equity	1		1208180035111591	India	Female	Income Tax PAN	AEXPP0429H			15	10	150
1535	Individual	Other than promoter	Others	NIRAV SHAH	Equity	1		IN30154931059021	India	Male	Income Tax PAN	AGNPS8616B			15	10	150
1536	Individual	Other than promoter	Others	SABIHA PARVEEN	Equity	1		1208160033656265	India	Female	Income Tax PAN	AHHPP3093Q			15	10	150
1537	Individual	Other than promoter	Others	TEJVIR SINGH SOLANKI	Equity	1		1301240002319557	India	Male	Income Tax PAN	AHKPS5157R			15	10	150
1538	Individual	Other than promoter	Others	GURUPRASAD MALLESHWARAPPA	Equity	1		1204720025698844	India	Male	Income Tax PAN	AHPPA1107J			15	10	150
1539	Individual	Other than promoter	Others	RAMESH B	Equity	1		1208160000579338	India	Male	Income Tax PAN	AHTPB5646H			15	10	150
1540	Individual	Other than promoter	Others	RANJU BOTHRA	Equity	1		IN30077310328883	India	Female	Income Tax PAN	AIYPJ5477C			15	10	150
1541	Individual	Other than promoter	Others	RAMESH KUMAR BAID	Equity	1		1203350003356365	India	Male	Income Tax PAN	AKIPB0302N			15	10	150
1542	Individual	Other than promoter	Others	SASIKANTH NAHBOODIRI KRISHNANPOTTI	Equity	1		1208160100975576	India	Male	Income Tax PAN	AMZPK3845Q			15	10	150
1543	Individual	Other than promoter	Others	JYOTI YADAV	Equity	1		1208160083995100	India	Female	Income Tax PAN	ANCPY4856D			15	10	150
1544	Individual	Other than promoter	Others	Probin Ch Gogoi	Equity	1		1208160162218919	India	Male	Income Tax PAN	AQKPG8966F			15	10	150
1545	Individual	Other than promoter	Others	SACHIN DATTATRAY KUMTHEKAR	Equity	1		1208160133967825	India	Male	Income Tax PAN	ASDPK7555P			15	10	150

1546	Individual	Other than promoter	Others	ANUSHKA .	Equity	1		1208160045579108	India	Female	Income Tax PAN	ASZPA5652M			15	10	150
1547	Individual	Other than promoter	Others	BALAJI	Equity	1		IN30302848548272	India	Male	Income Tax PAN	AUKPB3644D			15	10	150
1548	Individual	Other than promoter	Others	ARCHANA KEJRIWAL	Equity	1		1204470007555690	India	Female	Income Tax PAN	AUXPK1312Q			15	10	150
1549	Individual	Other than promoter	Others	RAMDUTT ARYA	Equity	1		1208870186838384	India	Male	Income Tax PAN	AUZPA6832D			15	10	150
1550	Individual	Other than promoter	Others	PRAVIN G SAWANT	Equity	1		1207100000119103	India	Male	Income Tax PAN	AVZPS4545A			15	10	150
1551	Individual	Other than promoter	Others	VISHAL PANDURANG PATIL	Equity	1		1208160001727533	India	Male	Income Tax PAN	AXPPP1039E			15	10	150
1552	Individual	Other than promoter	Others	VIVEK SINGHAL	Equity	1		1201330000882338	India	Male	Income Tax PAN	AYUPS5860Q			15	10	150
1553	Individual	Other than promoter	Others	AARATI GHANSHYAM TONDWALKAR	Equity	1		1208180047301312	India	Female	Income Tax PAN	AZEPT7751N			15	10	150
1554	Individual	Other than promoter	Others	PRASANTH PAVAN SAI KRISHNA KALAPALA	Equity	1		1208180018101035	India	Male	Income Tax PAN	BFWPK6498E			15	10	150
1555	Individual	Other than promoter	Others	SHAMSHAD AHMAD	Equity	1		1208870195115570	India	Male	Income Tax PAN	BPPPAA2004D			15	10	150
1556	Individual	Other than promoter	Others	PIYUSH ASHOKBHAI PATEL	Equity	1		1202570000265955	India	Male	Income Tax PAN	BTIPP3717P			15	10	150
1557	Individual	Other than promoter	Others	RISHABH .	Equity	1		1201330001895184	India	Male	Income Tax PAN	BVWPR6095Q			15	10	150
1558	Individual	Other than promoter	Others	ROHIT AGRAWAL	Equity	1		1208180023269975	India	Male	Income Tax PAN	CJNPA2943Q			15	10	150
1559	Individual	Other than promoter	Others	SALOT PRIYENKUMAR UTTAMLAL	Equity	1		IN30143683789523	India	Male	Income Tax PAN	CPJPS6648A			15	10	150
1560	Individual	Other than promoter	Others	MAHIPAL SINGH RAJAWAT	Equity	1		1208160051066460	India	Male	Income Tax PAN	DAXPR5333B			15	10	150
1561	Individual	Other than promoter	Others	LAYKUMAR P PATEL	Equity	1		1301240003851988	India	Male	Income Tax PAN	DFMPP1578A			15	10	150
1562	Individual	Other than promoter	Others	Palem Anusha	Equity	1		1208160167919798	India	Female	Income Tax PAN	EEDPP2617M			15	10	150
1563	Individual	Other than promoter	Others	PRAVINKUMAR KADIYA	Equity	1		1203320117078956	India	Male	Income Tax PAN	EFLPK7496Q			15	10	150
1564	Individual	Other than promoter	Others	KISHORE BAFNA PRITESH BAFNA	Equity	1		1208160063097332	India	Male	Income Tax PAN	FWCPP7399A			15	10	150
1565	Individual	Other than promoter	Others	ABIDABEGAM SIKANDARA BABU DODAMANI	Equity	1		1208160133212758	India	Female	Income Tax PAN	GHKPD8602L			15	10	150
1566	Individual	Other than promoter	Others	SHRESHTH DALMIA	Equity	1		1203330001192065	India	Male	Income Tax PAN	GOFPD1567E			15	10	150
1567	Individual	Other than promoter	Others	SIDDHARTH JAISINGH KATKADE	Equity	1		1208160083299979	India	Male	Income Tax PAN	HQZPK5185A			15	10	150
1568	Individual	Other than promoter	Others	MEENA SARAF	Equity	1		1208670011153018	India	Female	Income Tax PAN	KJNPS0243B			15	10	150
1569	Individual	Other than promoter	Others	DIVYA SONI	Equity	1		1201060003609400	India	Female	Income Tax PAN	LWHPs8018J			15	10	150
1570	Individual	Other than promoter	Others	AMIR KHAN	Equity	1		1208160130802833	India	Male	Income Tax PAN	MSCPK0784M			15	10	150

1571	Individual	Other than promoter	Others	HANIYA KALIM	Equity	1		1208160013889010	India	Female	Income Tax PAN	AHCPC3008P			14	10	10	140
1572	Individual	Other than promoter	Others	K HARSH SINGHVI	Equity	1		1201090023705302	India	Male	Income Tax PAN	BIGPH5136R			14	10	10	140
1573	Individual	Other than promoter	Others	RINA KUNDU PAUL	Equity	1		1208340023357891	India	Female	Income Tax PAN	DOIPK7953D			14	10	10	140
1574	Individual	Other than promoter	Others	VISHAL KUMAR	Equity	1		1208160029010091	India	Male	Income Tax PAN	ETUPK7579H			14	10	10	140
1575	Individual	Other than promoter	Others	ARJIT SINGLA	Equity	1		1208160072091821	India	Male	Income Tax PAN	GXQPS4047N			14	10	10	140
1576	Individual	Other than promoter	Others	HARSHADRAY CHUNILAL VEJANI	Equity	1		1203320004489565	India	Male	Income Tax PAN	AADPS2891Q			13	10	10	130
1577	Individual	Other than promoter	Others	ASIM KUMAR BHANDARI	Equity	1		IN30267936709809	India	Male	Income Tax PAN	ABCPB9718R			13	10	10	130
1578	Individual	Other than promoter	Others	PANKAJ KEWALRAM MAKDE	Equity	1		IN30051315005834	India	Male	Income Tax PAN	ABRPM1860E			13	10	10	130
1579	Individual	Other than promoter	Others	TEJ TEJ PREET	Equity	1		1208160000467760	India	Female	Income Tax PAN	ADSPV4663M			13	10	10	130
1580	Individual	Other than promoter	Others	SUNIL KUMAR CHOUDHARY	Equity	1		1203320178929226	India	Male	Income Tax PAN	AIUPC3841P			13	10	10	130
1581	Individual	Other than promoter	Others	RINA GAYEN	Equity	1		1208870139083532	India	Female	Income Tax PAN	AJNPG1599C			13	10	10	130
1582	Individual	Other than promoter	Others	LOKESH .	Equity	1		1208880000372921	India	Male	Income Tax PAN	ALEPL1455D			13	10	10	130
1583	Individual	Other than promoter	Others	MAHESH SHRIKANT NAYAK	Equity	1		1201130001522214	India	Male	Income Tax PAN	AMDPN9333Q			13	10	10	130
1584	Individual	Other than promoter	Others	NARESH KUMAR GOYAL	Equity	1		1208160133675257	India	Male	Income Tax PAN	ANZPG4338D			13	10	10	130
1585	Individual	Other than promoter	Others	ANKUSH ANAND	Equity	1		1208160093262704	India	Male	Income Tax PAN	APAPA8967M			13	10	10	130
1586	Individual	Other than promoter	Others	RITESH KUMAR VERMA	Equity	1		1208870030369620	India	Male	Income Tax PAN	ATNPV4068M			13	10	10	130
1587	Individual	Other than promoter	Others	RAVI TEJA PRASAD MALLINA	Equity	1		1204470005180182	India	Male	Income Tax PAN	AZHPM7241H			13	10	10	130
1588	Individual	Other than promoter	Others	KOTHAPET SURESH	Equity	1		IN30051322667323	India	Male	Income Tax PAN	BDIPK5444G			13	10	10	130
1589	Individual	Other than promoter	Others	REUBEN JOSEPH	Equity	1		1208160104902312	India	Male	Income Tax PAN	BQLPJ8675A			13	10	10	130
1590	Individual	Other than promoter	Others	RISHABHKUMAR PAWANRAJ BHANSALI	Equity	1		1203320085322599	India	Male	Income Tax PAN	CAOPB9730Q			13	10	10	130
1591	Individual	Other than promoter	Others	KSHITIJ KHATRI	Equity	1		1208160008240043	India	Male	Income Tax PAN	DEHPK1476L			13	10	10	130
1592	Individual	Other than promoter	Others	SHASHANK KUMAR	Equity	1		1208160051136369	India	Male	Income Tax PAN	DRVPK9703H			13	10	10	130
1593	Entity	Other than promoter	Others	MAHESH KUMAR GOYAL HUF	Equity	1		1205820000099419	India	Male	Income Tax PAN	AAOHM8638L			12	10	10	120
1594	Individual	Other than promoter	Others	DEEPAK BENGANI	Equity	1		IN30051322757953	India	Male	Income Tax PAN	ACLPB5961E			12	10	10	120
1595	Individual	Other than promoter	Others	RANGNATH LAXMAN KOKANE	Equity	1		1208160039260513	India	Male	Income Tax PAN	AFMPK0583P			12	10	10	120

1596	Individual	Other than promoter	Others	ASHOK DUSAD	Equity	1		1204720026804971	India	Male	Income Tax PAN	AHUPD8331L			12	10	120
1597	Individual	Other than promoter	Others	GANESH PRASAD	Equity	1		1208870006715357	India	Male	Income Tax PAN	AITPP9197N			12	10	120
1598	Individual	Other than promoter	Others	ROHTASH SINGH	Equity	1		1208160016752598	India	Male	Income Tax PAN	AJIPR1766M			12	10	120
1599	Individual	Other than promoter	Others	BALASUBRAMANIAN	Equity	1		1208870298435900	India	Male	Income Tax PAN	AJTPB0209N			12	10	120
1600	Individual	Other than promoter	Others	VINEET CHOUDHARY	Equity	1		1208160017134232	India	Male	Income Tax PAN	AKPPC8904Q			12	10	120
1601	Individual	Other than promoter	Others	SHIB SHANKAR HEMBRAM	Equity	1		1208160022047231	India	Male	Income Tax PAN	ALMPH5641K			12	10	120
1602	Individual	Other than promoter	Others	SAURAV JHA	Equity	1		1208160065281838	India	Male	Income Tax PAN	ANMPJ5354R			12	10	120
1603	Individual	Other than promoter	Others	HARINARAYANAN	Equity	1		1208160064006357	India	Male	Income Tax PAN	ANPPK1692J			12	10	120
1604	Individual	Other than promoter	Others	VRUSHALI VINAYAK KUBAL	Equity	1		1208160053596077	India	Female	Income Tax PAN	ANXPM5540R			12	10	120
1605	Individual	Other than promoter	Others	TARUN KUMAR DAS	Equity	1		1203450000751111	India	Male	Income Tax PAN	APXPD1780J			12	10	120
1606	Individual	Other than promoter	Others	KUNDAN KUMAR	Equity	1		1208160004767811	India	Male	Income Tax PAN	BIUPK8548J			12	10	120
1607	Individual	Other than promoter	Others	VISHWARETA PRALHADRAO GUTTE	Equity	1		1208160135857462	India	Female	Income Tax PAN	BLHPG6255L			12	10	120
1608	Individual	Other than promoter	Others	HARSHA AHUJA	Equity	1		1203320285272775	India	Female	Income Tax PAN	BUBPA2344D			12	10	120
1609	Individual	Other than promoter	Others	MANORAMA SINGH PATEL	Equity	1		1208870138452508	India	Female	Income Tax PAN	BWUPP1023R			12	10	120
1610	Individual	Other than promoter	Others	MUKESHBHAI PRAVINBHAI SAVALIYA	Equity	1		1208160005768458	India	Male	Income Tax PAN	BXIPS9593Q			12	10	120
1611	Individual	Other than promoter	Others	ZAHED AHSAN KHAN	Equity	1		1208180109666038	India	Male	Income Tax PAN	BZTPK2487E			12	10	120
1612	Individual	Other than promoter	Others	SHRUTI DASAPPANAVAR	Equity	1		1208160125810511	India	Female	Income Tax PAN	CNNPD6183K			12	10	120
1613	Individual	Other than promoter	Others	SAMEER SONI	Equity	1		1208160019513926	India	Male	Income Tax PAN	DDZPS9533P			12	10	120
1614	Individual	Other than promoter	Others	LALKA BHUMIK	Equity	1		1208160024762855	India	Male	Income Tax PAN	DRQPB9832M			12	10	120
1615	Individual	Other than promoter	Others	DHANESH HIRALAL KANUNGO	Equity	1		1208160038068646	India	Male	Income Tax PAN	ESHPK4639E			12	10	120
1616	Individual	Other than promoter	Others	AMIT KUMAR	Equity	1		1208870030682919	India	Male	Income Tax PAN	GWNPK5727H			12	10	120
1617	Individual	Other than promoter	Others	SAPANA .	Equity	1		1203320144006219	India	Female	Income Tax PAN	HHKPS7835H			12	10	120
1618	Individual	Other than promoter	Others	RAJESH MANSUKHLAL RUPARELIA	Equity	1		1208160044042850	India	Male	Income Tax PAN	AATPR8781L			11	10	110
1619	Individual	Other than promoter	Others	SHAILENDRA SINGH THAKUR	Equity	1		1208160004467671	India	Male	Income Tax PAN	ACCPT5105F			11	10	110
1620	Individual	Other than promoter	Others	SUMIT KUMAR VERMA	Equity	1		IN30115127639367	India	Male	Income Tax PAN	ACDPV5080E			11	10	110

1621	Individual	Other than promoter	Others	ANU SUNILKUMAR ARORA	Equity	1		IN30154956539059	India	Female	Income Tax PAN	AFVPA7799E			11	10	10	110
1622	Individual	Other than promoter	Others	BADAMI NANDEESH	Equity	1		1208160010870011	India	Male	Income Tax PAN	AIBPN3730H			11	10	10	110
1623	Individual	Other than promoter	Others	ARUN KUMAR YADAV	Equity	1		1208160036862524	India	Male	Income Tax PAN	AIHPY6187B			11	10	10	110
1624	Individual	Other than promoter	Others	HEERA RANI GUPTA	Equity	1		IN30302881380765	India	Female	Income Tax PAN	ALGPG4276K			11	10	10	110
1625	Individual	Other than promoter	Others	SUKUMAR BALAKRISHNA	Equity	1		IN30051391059030	India	Male	Income Tax PAN	ALTPB2498R			11	10	10	110
1626	Individual	Other than promoter	Others	MANJULA POTTURU	Equity	1		IN30021413011865	India	Female	Income Tax PAN	ANPPP7259Q			11	10	10	110
1627	Individual	Other than promoter	Others	SAMHITA BOSE	Equity	1		IN30154964130901	India	Female	Income Tax PAN	APTPB2518Q			11	10	10	110
1628	Individual	Other than promoter	Others	SANCHARI RAKSHIT	Equity	1		1208870072485721	India	Female	Income Tax PAN	AQBPR5393Q			11	10	10	110
1629	Individual	Other than promoter	Others	GAURAV AGRAWAL	Equity	1		1208160007644255	India	Male	Income Tax PAN	AQRPG0407C			11	10	10	110
1630	Individual	Other than promoter	Others	Lakshma Reddy Gade	Equity	1		1208180184246109	India	Male	Income Tax PAN	ARLPG6279P			11	10	10	110
1631	Individual	Other than promoter	Others	RAJ KUMAR MISHRA	Equity	1		IN30143694378853	India	Male	Income Tax PAN	ATNPM0376P			11	10	10	110
1632	Individual	Other than promoter	Others	ARCHAKAMTIRUPATHAMM AGARI SATHISH	Equity	1		1208870029937708	India	Male	Income Tax PAN	AXBPD1864H			11	10	10	110
1633	Individual	Other than promoter	Others	VISHAL PUNDALIK MISKIN	Equity	1		1208160033001486	India	Male	Income Tax PAN	AXNPM5184F			11	10	10	110
1634	Individual	Other than promoter	Others	GEETA YADAV	Equity	1		1203320330867466	India	Female	Income Tax PAN	AZIPY6159K			11	10	10	110
1635	Individual	Other than promoter	Others	SUMIT AGRAWAL	Equity	1		1208160164182911	India	Male	Income Tax PAN	BADPA7933G			11	10	10	110
1636	Individual	Other than promoter	Others	SUSHIL SINGH	Equity	1		1208870170310461	India	Male	Income Tax PAN	BCLPS0877D			11	10	10	110
1637	Individual	Other than promoter	Others	MUNIR VOHRA	Equity	1		IN30143694062685	India	Male	Income Tax PAN	BDAPV7878K			11	10	10	110
1638	Individual	Other than promoter	Others	SHIV KUMAR SHARMA	Equity	1		1201210100487021	India	Male	Income Tax PAN	BHSPS3678A			11	10	10	110
1639	Individual	Other than promoter	Others	AJIT PAL SINGH	Equity	1		1209550000037734	India	Male	Income Tax PAN	BOYPS2900A			11	10	10	110
1640	Individual	Other than promoter	Others	ABDUL GAFOOR CHAKKINGAL	Equity	1		1304140008371768	India	Male	Income Tax PAN	BPUPC2772K			11	10	10	110
1641	Individual	Other than promoter	Others	PREETI SHARMA	Equity	1		IN30302884159623	India	Female	Income Tax PAN	BWIPS5493J			11	10	10	110
1642	Individual	Other than promoter	Others	BHARAT RAWAT	Equity	1		1208870069112391	India	Male	Income Tax PAN	BWLPR2950L			11	10	10	110
1643	Individual	Other than promoter	Others	BAIDHANATH RAY	Equity	1		1208880004070201	India	Male	Income Tax PAN	CBPPR9282R			11	10	10	110
1644	Individual	Other than promoter	Others	SHWETA DUA.	Equity	1		1201090010673384	India	Female	Income Tax PAN	CCZPD0255P			11	10	10	110
1645	Individual	Other than promoter	Others	SIKANDAR SALMANI	Equity	1		1208160020198247	India	Male	Income Tax PAN	CJRPS9642A			11	10	10	110

1646	Individual	Other than promoter	Others	KULDEEP KUMAR	Equity	1		1208870062348531	India	Male	Income Tax PAN	HMXPK8733E			11	10	10	110
1647	Individual	Other than promoter	Others	SHUBHAM SAINI	Equity	1		1208160065631184	India	Male	Income Tax PAN	JEIPS1277A			11	10	10	110
1648	Individual	Other than promoter	Others	ARCHANA PRASAD	Equity	1		1205090000003475	India	Female	Income Tax PAN	AHWPP6428J			50	10	10	500
1649	Individual	Other than promoter	Others	SUMAN LATH	Equity	1		1208160078827571	India	Female	Income Tax PAN	AAAPL8969M			10	10	10	100
1650	Individual	Other than promoter	Others	MAHENDRA RAJMAL GADIA	Equity	1		1301540000093281	India	Male	Income Tax PAN	AABPG0115D			10	10	10	100
1651	Entity	Other than promoter	Others	VIMAL KUMAR DIDWANIA HUF	Equity	1		1201890000035359	India	Male	Income Tax PAN	AACHV9248P			10	10	10	100
1652	Individual	Other than promoter	Others	MANISH KUMAR AGGARWAL	Equity	1		1208160019135898	India	Male	Income Tax PAN	AADPA9455C			10	10	10	100
1653	Individual	Other than promoter	Others	ARUNA SAMIR SHAH	Equity	1		IN30154930181587	India	Female	Income Tax PAN	AADPS5952Q			10	10	10	100
1654	Individual	Other than promoter	Others	SONAL HARISH DAVDA	Equity	1		1203630000111139	India	Female	Income Tax PAN	AAHPD5953E			10	10	10	100
1655	Individual	Other than promoter	Others	VIMAL KUMAR DIDWANIA	Equity	1		1201890000016095	India	Male	Income Tax PAN	AAMPD7407J			10	10	10	100
1656	Individual	Other than promoter	Others	PRATISHTHA GANESH MULE	Equity	1		1208870040557100	India	Female	Income Tax PAN	AAMPE1924H			10	10	10	100
1657	Individual	Other than promoter	Others	BHANWAR SINGH RAJPUROHIT	Equity	1		1208180064082657	India	Male	Income Tax PAN	AAMPR2998G			10	10	10	100
1658	Individual	Other than promoter	Others	ETTABOINA RAJALINGU	Equity	1		1301240004639174	India	Male	Income Tax PAN	AANPE2478B			10	10	10	100
1659	Entity	Other than promoter	Others	SHARWAN PODDAR & SONS (HUF)	Equity	1		1302340000367414	India	Male	Income Tax PAN	AAOHS4524H			10	10	10	100
1660	Individual	Other than promoter	Others	SURESH JAYANTILAL SHAH	Equity	1		IN30018310648479	India	Male	Income Tax PAN	AAQPS6703C			10	10	10	100
1661	Entity	Other than promoter	Others	ABHISHEK DALMIA HUF	Equity	1		1203330001090432	India	Male	Income Tax PAN	AASHA8209H			10	10	10	100
1662	Individual	Other than promoter	Others	DAVINDER KUMAR GARG	Equity	1		IN30184610018499	India	Male	Income Tax PAN	AATPG8287E			10	10	10	100
1663	Individual	Other than promoter	Others	GANESH ASHOK PATIL	Equity	1		1203320118748437	India	Male	Income Tax PAN	AAVPP2407M			10	10	10	100
1664	Individual	Other than promoter	Others	JITENDRAA JAYRAM HEGDE	Equity	1		1209550004242731	India	Male	Income Tax PAN	ABDPH1553K			10	10	10	100
1665	Individual	Other than promoter	Others	BALAJI RAMADURAI	Equity	1		IN30047640971933	India	Male	Income Tax PAN	ABDPR0007N			10	10	10	100
1666	Individual	Other than promoter	Others	MALA AGRAWAL	Equity	1		1203410000551231	India	Female	Income Tax PAN	ABGPA8127R			10	10	10	100
1667	Individual	Other than promoter	Others	KUM. PALLAVI RASIKLAL DAVDA	Equity	1		IN30097410014191	India	Female	Income Tax PAN	ABGPD2076C			10	10	10	100
1668	Individual	Other than promoter	Others	ASHOK KUMAR UDAYA KUMAR	Equity	1		1208160147556501	India	Male	Income Tax PAN	ABGPU1699A			10	10	10	100
1669	Individual	Other than promoter	Others	MEENA JAIN	Equity	1		1203350001508731	India	Female	Income Tax PAN	ABJPJ6566C			10	10	10	100
1670	Individual	Other than promoter	Others	ATUL KUMAR GOSWAMI	Equity	1		1208160133175233	India	Male	Income Tax PAN	ABLPG9637K			10	10	10	100

1671	Individual	Other than promoter	Others	VINAYAK MADHUKAR BHAIDE	Equity	1		IN30018311264555	India	Male	Income Tax PAN	ABTPB8012H			10	10	10	100
1672	Individual	Other than promoter	Others	CHANDRA RAO MADANE.S	Equity	1		IN30169610212033	India	Male	Income Tax PAN	ABTPM7098N			10	10	10	100
1673	Individual	Other than promoter	Others	SUNDERBEN LALJI VIRA	Equity	1		1206290000164272	India	Female	Income Tax PAN	ABXPV3232B			10	10	10	100
1674	Individual	Other than promoter	Others	ARUN KUMAR GHOSH	Equity	1		1206160000025939	India	Male	Income Tax PAN	ACAPG5591Q			10	10	10	100
1675	Individual	Other than promoter	Others	JIGNESH MANUBHAI PATEL	Equity	1		IN30199111494941	India	Male	Income Tax PAN	ACAPP7549R			10	10	10	100
1676	Individual	Other than promoter	Others	RAKESH RAMNIKLAL MEHTA	Equity	1		IN30154915259490	India	Male	Income Tax PAN	ACHPM0976A			10	10	10	100
1677	Individual	Other than promoter	Others	SOURABH BHATTACHARYYA	Equity	1		1203320228906604	India	Male	Income Tax PAN	ACKPB6806B			10	10	10	100
1678	Individual	Other than promoter	Others	SARITA VIMAL DIDWANIA	Equity	1		1201890000035310	India	Female	Income Tax PAN	ACKPD3328G			10	10	10	100
1679	Individual	Other than promoter	Others	SURESH KUMAR GUPTA	Equity	1		IN30086110203844	India	Male	Income Tax PAN	ACNPG0156C			10	10	10	100
1680	Individual	Other than promoter	Others	RAVIGURUSWAMY HOSAMANE	Equity	1		1208160005440657	India	Male	Income Tax PAN	ACNPH0696Q			10	10	10	100
1681	Individual	Other than promoter	Others	NIKHIL MISRA	Equity	1		IN30302834531558	India	Male	Income Tax PAN	ACNPM1775H			10	10	10	100
1682	Individual	Other than promoter	Others	PREM NATH CHHABRA	Equity	1		IN30154956060029	India	Male	Income Tax PAN	ACQPC1865M			10	10	10	100
1683	Individual	Other than promoter	Others	AMAN RASTOGI	Equity	1		IN30302848798443	India	Male	Income Tax PAN	ACTPR1134K			10	10	10	100
1684	Individual	Other than promoter	Others	MINI PATHIRUVELIL INDIRA DEVI	Equity	1		1208160144522917	India	Female	Income Tax PAN	ACVPD7246G			10	10	10	100
1685	Individual	Other than promoter	Others	Dharmendra Mool Chandra Vidyarthee	Equity	1		1203320049009677	India	Male	Income Tax PAN	ACWPV6169P			10	10	10	100
1686	Individual	Other than promoter	Others	DIPANKAR BASU	Equity	1		IN30154962372459	India	Male	Income Tax PAN	ACXPB7184M			10	10	10	100
1687	Individual	Other than promoter	Others	CHANDRIKA CHIRAJILAL DAMANI	Equity	1		1204720009165801	India	Female	Income Tax PAN	ADFPD2189R			10	10	10	100
1688	Individual	Other than promoter	Others	ABHISHEK DALMIA	Equity	1		1203330000699834	India	Male	Income Tax PAN	ADFPD5340L			10	10	10	100
1689	Individual	Other than promoter	Others	PRADIP KR KHEMKA	Equity	1		1201320000426455	India	Male	Income Tax PAN	ADIPK2283N			10	10	10	100
1690	Individual	Other than promoter	Others	DHANAJI LAVATE	Equity	1		1208870161120365	India	Male	Income Tax PAN	ADPPL8842B			10	10	10	100
1691	Individual	Other than promoter	Others	KRISHNA HAZARIKA	Equity	1		IN30154959718123	India	Male	Income Tax PAN	ADRPH0005L			10	10	10	100
1692	Individual	Other than promoter	Others	NANDKISHOR GOYAL	Equity	1		IN30112716734732	India	Male	Income Tax PAN	ADZPG9838Q			10	10	10	100
1693	Individual	Other than promoter	Others	VISHNU KUMAR	Equity	1		1201060003010856	India	Male	Income Tax PAN	AEHPV1999J			10	10	10	100
1694	Individual	Other than promoter	Others	BADRINATH SADISH R	Equity	1		IN30226914653640	India	Male	Income Tax PAN	AETPB8216J			10	10	10	100
1695	Individual	Other than promoter	Others	JAYAPRAKASH NEERASA	Equity	1		1208160141461529	India	Male	Income Tax PAN	AEZPN6605H			10	10	10	100

1696	Individual	Other than promoter	Others	VISWANATHAN T D	Equity	1		1207100000119156	India	Male	Income Tax PAN	AFAPV0794F			10	10	10	100
1697	Individual	Other than promoter	Others	KALPESH NAVNITLAL SHAH	Equity	1		1301670000265200	India	Male	Income Tax PAN	AFEPS2769F			10	10	10	100
1698	Individual	Other than promoter	Others	KRUSHNA CHANDRA PRADHAN	Equity	1		1208160026722483	India	Male	Income Tax PAN	AFNPP4414M			10	10	10	100
1699	Individual	Other than promoter	Others	ANAND MOHAN .	Equity	1		1208160020704334	India	Male	Income Tax PAN	AGBPA8783D			10	10	10	100
1700	Individual	Other than promoter	Others	MOHAMMAD ALI NALWAR	Equity	1		1208160027822500	India	Male	Income Tax PAN	AGCPN0209Q			10	10	10	100
1701	Individual	Other than promoter	Others	VIRENDRA SHIVLAL PETHAD	Equity	1		1208670000204277	India	Male	Income Tax PAN	AGCPP3792L			10	10	10	100
1702	Individual	Other than promoter	Others	ANOOP CHAWLA	Equity	1		1208870092826491	India	Male	Income Tax PAN	AGFPC9485N			10	10	10	100
1703	Individual	Other than promoter	Others	NILESH KUMAR JAISWAL	Equity	1		IN30302854715870	India	Male	Income Tax PAN	AGFPJ0836N			10	10	10	100
1704	Individual	Other than promoter	Others	PIYUSH KUMAR GUPTA	Equity	1		IN30302896912462	India	Male	Income Tax PAN	AGIPG5549C			10	10	10	100
1705	Individual	Other than promoter	Others	WASIM KAYYUM JAMADAR	Equity	1		1208160015382936	India	Male	Income Tax PAN	AGIPJ7827Q			10	10	10	100
1706	Individual	Other than promoter	Others	SHALINI CHAKRABARTY	Equity	1		1208160046804202	India	Female	Income Tax PAN	AGRPR4585J			10	10	10	100
1707	Individual	Other than promoter	Others	VASANTKUMAR SHENOY	Equity	1		1208160001654708	India	Male	Income Tax PAN	AHEPS5675G			10	10	10	100
1708	Individual	Other than promoter	Others	SACHIN M DEDHIA	Equity	1		IN30226910172430	India	Male	Income Tax PAN	AHFDPD8622B			10	10	10	100
1709	Individual	Other than promoter	Others	MINAL NIKHIL DOSHI	Equity	1		1202890001041684	India	Female	Income Tax PAN	AHMPD2397Q			10	10	10	100
1710	Individual	Other than promoter	Others	MANOJ SHANKARRAO RAIPURE	Equity	1		1204720018686999	India	Male	Income Tax PAN	AHMPR6160K			10	10	10	100
1711	Individual	Other than promoter	Others	ANAND KUMAR GUPTA	Equity	1		IN30186270367269	India	Male	Income Tax PAN	AHTPG7689M			10	10	10	100
1712	Individual	Other than promoter	Others	JITU DEKA	Equity	1		1208870062829101	India	Male	Income Tax PAN	AICPD7813Q			10	10	10	100
1713	Individual	Other than promoter	Others	JWALANT PARESH TRIVEDI	Equity	1		1208870094134205	India	Male	Income Tax PAN	AICPT2592A			10	10	10	100
1714	Individual	Other than promoter	Others	JITEN PANKAJBHAI LADUMOR	Equity	1		1208160021011300	India	Male	Income Tax PAN	AIVPL5048E			10	10	10	100
1715	Individual	Other than promoter	Others	JOJU JOSEPH KATTARAYAM	Equity	1		IN30154956558193	India	Male	Income Tax PAN	AJQPK9469E			10	10	10	100
1716	Individual	Other than promoter	Others	SAUBHAGYA LALL	Equity	1		1208160058541193	India	Male	Income Tax PAN	AJQPL7515C			10	10	10	100
1717	Individual	Other than promoter	Others	BHASKAR MALAKAR	Equity	1		1208180000369522	India	Male	Income Tax PAN	AJTPM8118K			10	10	10	100
1718	Individual	Other than promoter	Others	PULICKAKUNNEL JOHN JINSON	Equity	1		1208160061394012	India	Male	Income Tax PAN	AKBPJ2808E			10	10	10	100
1719	Individual	Other than promoter	Others	PUSHAN SUNDAR DAS	Equity	1		1208870007211845	India	Male	Income Tax PAN	AKFPD0377C			10	10	10	100
1720	Individual	Other than promoter	Others	TEJASVI DIXIT	Equity	1		1203000000164664	India	Male	Income Tax PAN	AKGPD6785R			10	10	10	100

1721	Individual	Other than promoter	Others	MAHESH KHEMRAJ MEHTA	Equity	1		1208160090287051	India	Male	Income Tax PAN	AKQPM9471R			10	10	10	100
1722	Individual	Other than promoter	Others	AMIT MALIK	Equity	1		1208160005790017	India	Male	Income Tax PAN	AKTPM3996Q			10	10	10	100
1723	Individual	Other than promoter	Others	SEEMA PUGALIA	Equity	1		IN30115122277516	India	Female	Income Tax PAN	AKTPP7204L			10	10	10	100
1724	Individual	Other than promoter	Others	MUTHURAMAN .	Equity	1		1208160038404999	India	Male	Income Tax PAN	ALGPM2854H			10	10	10	100
1725	Individual	Other than promoter	Others	Rinku Devi	Equity	1		1208160165336401	India	Female	Income Tax PAN	ALNPD1658D			10	10	10	100
1726	Individual	Other than promoter	Others	BALAJI .	Equity	1		1208160034083937	India	Male	Income Tax PAN	ALUPB3173C			10	10	10	100
1727	Individual	Other than promoter	Others	USHA ASTHANA	Equity	1		1208160038392735	India	Female	Income Tax PAN	ALVPA8672N			10	10	10	100
1728	Individual	Other than promoter	Others	NEETU .	Equity	1		1208870058716452	India	Male	Income Tax PAN	AMAPN7861Q			10	10	10	100
1729	Individual	Other than promoter	Others	JITENDRA TUKARAM GAONKAR	Equity	1		1208160061019372	India	Male	Income Tax PAN	AMBPG4745R			10	10	10	100
1730	Individual	Other than promoter	Others	M SUNIL VARA KUMAR	Equity	1		IN30021420225325	India	Male	Income Tax PAN	AMBPM4595R			10	10	10	100
1731	Individual	Other than promoter	Others	JUHI GUPTA	Equity	1		IN30154960984105	India	Female	Income Tax PAN	AMEPG9143J			10	10	10	100
1732	Individual	Other than promoter	Others	YASH VIMAL DIDWANIA	Equity	1		1201890000035363	India	Male	Income Tax PAN	AMGPD0842F			10	10	10	100
1733	Individual	Other than promoter	Others	MANASI HARISH DAVDA	Equity	1		1203630000111084	India	Female	Income Tax PAN	AMJPD9607K			10	10	10	100
1734	Individual	Other than promoter	Others	JAYA PRAJAPATI	Equity	1		IN30012610345963	India	Female	Income Tax PAN	AMJPP4514H			10	10	10	100
1735	Individual	Other than promoter	Others	JYOTIRMAYEE DASH	Equity	1		1208160053117243	India	Female	Income Tax PAN	AMMPD6124A			10	10	10	100
1736	Individual	Other than promoter	Others	MADAN KUMAR	Equity	1		1208870001503821	India	Male	Income Tax PAN	AMWPK6453H			10	10	10	100
1737	Individual	Other than promoter	Others	ALPA ABHAY PAREKH	Equity	1		IN30160411965363	India	Female	Income Tax PAN	ANXPP6842P			10	10	10	100
1738	Individual	Other than promoter	Others	AMIT KUMAR PACHISIA	Equity	1		IN30154931642316	India	Male	Income Tax PAN	AOJPP9447H			10	10	10	100
1739	Individual	Other than promoter	Others	DEEPTI DAGA	Equity	1		IN30160411209546	India	Female	Income Tax PAN	APFPG6132F			10	10	10	100
1740	Individual	Other than promoter	Others	GOURAV MAHAJAN	Equity	1		1203320151927789	India	Male	Income Tax PAN	APFPM4986D			10	10	10	100
1741	Individual	Other than promoter	Others	BHARATHI PENDYALA	Equity	1		1204470013094954	India	Female	Income Tax PAN	AQEPP3061A			10	10	10	100
1742	Individual	Other than promoter	Others	SUPRIYA SANTOSH JHA	Equity	1		IN30429570902837	India	Female	Income Tax PAN	AQWPJ6860H			10	10	10	100
1743	Individual	Other than promoter	Others	KAVI TANDON	Equity	1		1208160110291704	India	Male	Income Tax PAN	AQWPT4427C			10	10	10	100
1744	Individual	Other than promoter	Others	MANOHARAN TAMILSELVI	Equity	1		1203600005580695	India	Female	Income Tax PAN	ARGPT0218E			10	10	10	100
1745	Individual	Other than promoter	Others	REKHABEN RAJENDRAKUMAR PATEL	Equity	1		1203320249835631	India	Female	Income Tax PAN	ARRPP5183B			10	10	10	100

1746	Individual	Other than promoter	Others	VIKEE BALASAHEB TUPE	Equity	1		1208180107032158	India	Male	Income Tax PAN	ARSPT7432Q			10	10	10	100
1747	Individual	Other than promoter	Others	NARPAT SINGH NAHARSINGH RAJPOOT.	Equity	1		1203320030636924	India	Male	Income Tax PAN	ARUPR2086C			10	10	10	100
1748	Individual	Other than promoter	Others	KOMAL TANAJI CHOUDHARI	Equity	1		1208180010296529	India	Female	Income Tax PAN	ASSPC7354F			10	10	10	100
1749	Individual	Other than promoter	Others	PRABHAVATHI AVULA	Equity	1		1208160015043680	India	Female	Income Tax PAN	ATAPA0769M			10	10	10	100
1750	Individual	Other than promoter	Others	RAMARAAJ .	Equity	1		1208160109808521	India	Male	Income Tax PAN	ATIPR0984R			10	10	10	100
1751	Individual	Other than promoter	Others	ABHISHEK SINGH RATHORE	Equity	1		1301240005990434	India	Male	Income Tax PAN	ATJPR6761R			10	10	10	100
1752	Individual	Other than promoter	Others	SWARNA GOWRI G	Equity	1		IN30021418922641	India	Female	Income Tax PAN	ATNPG3246J			10	10	10	100
1753	Individual	Other than promoter	Others	VIVEKANANDA NIKITHA	Equity	1		1208160021387614	India	Female	Income Tax PAN	ATSPN6111C			10	10	10	100
1754	Individual	Other than promoter	Others	PRANJAL JAIN	Equity	1		1201910102125815	India	Female	Income Tax PAN	AUCPJ4657J			10	10	10	100
1755	Individual	Other than promoter	Others	SUBASH KUMAR	Equity	1		IN30177415068716	India	Male	Income Tax PAN	AUEPK1194K			10	10	10	100
1756	Individual	Other than promoter	Others	AVVARU SUBBA RAO	Equity	1		1209290000474946	India	Male	Income Tax PAN	AUHPS8486P			10	10	10	100
1757	Individual	Other than promoter	Others	ALPESH DHARAMSINH DESAI	Equity	1		1206420007850850	India	Male	Income Tax PAN	AUJPD5834E			10	10	10	100
1758	Individual	Other than promoter	Others	LALITHA DEVI ARIMILLI	Equity	1		1208160034939387	India	Female	Income Tax PAN	AUNPA5259N			10	10	10	100
1759	Individual	Other than promoter	Others	PRIYANKA JOSHI	Equity	1		1209550002733017	India	Female	Income Tax PAN	AUNPJ1404A			10	10	10	100
1760	Individual	Other than promoter	Others	SANJAY KUMAR	Equity	1		1204720005272664	India	Male	Income Tax PAN	AVPK9238K			10	10	10	100
1761	Individual	Other than promoter	Others	KISHORSINH HANUBHA CHUDASAMA	Equity	1		1208160095900361	India	Male	Income Tax PAN	AVOPC5335M			10	10	10	100
1762	Individual	Other than promoter	Others	VIJAYANAND SHANKAR BHUVAD	Equity	1		1208160079406331	India	Male	Income Tax PAN	AWCPB8163B			10	10	10	100
1763	Individual	Other than promoter	Others	TRUSHA SUMIT MONANI	Equity	1		1208160126350826	India	Female	Income Tax PAN	AXHPD2175R			10	10	10	100
1764	Individual	Other than promoter	Others	AJAY KUMAR PRAJAPATI	Equity	1		IN30302813007099	India	Male	Income Tax PAN	AXJPP0638D			10	10	10	100
1765	Individual	Other than promoter	Others	SATYANARAYAN GHOSH	Equity	1		1208160122038392	India	Male	Income Tax PAN	AXYPG2047A			10	10	10	100
1766	Individual	Other than promoter	Others	SUMERCHAND JAIN RISHAB KUMAR	Equity	1		1208160062747387	India	Male	Income Tax PAN	AYHPR7145N			10	10	10	100
1767	Individual	Other than promoter	Others	CHANDANA R	Equity	1		IN30260310363725	India	Female	Income Tax PAN	AYMPC2877M			10	10	10	100
1768	Individual	Other than promoter	Others	SANJIB KALITA	Equity	1		1208160054526293	India	Male	Income Tax PAN	AYPPK7068K			10	10	10	100
1769	Individual	Other than promoter	Others	MADHAV JATIN CHANDARANA	Equity	1		1208160122060540	India	Male	Income Tax PAN	AYXPC6519P			10	10	10	100
1770	Individual	Other than promoter	Others	CHADARAJUPALLI BALAKRISHNA	Equity	1		1208870198517001	India	Male	Income Tax PAN	AYZPB0752B			10	10	10	100

1771	Individual	Other than promoter	Others	SRIJIB GOSWAMI	Equity	1		1208160069080114	India	Male	Income Tax PAN	AZBPG8321Q			10	10	10	100
1772	Individual	Other than promoter	Others	SAPNA DEVI	Equity	1		1203320236012871	India	Female	Income Tax PAN	AZJP8866H			10	10	10	100
1773	Individual	Other than promoter	Others	JYOTI PAWAN AGARWAL	Equity	1		1208160080271908	India	Female	Income Tax PAN	BAAPA8257L			10	10	10	100
1774	Individual	Other than promoter	Others	VANDANA .	Equity	1		1208160104020232	India	Female	Income Tax PAN	BAFPV8792J			10	10	10	100
1775	Individual	Other than promoter	Others	SANDIP BASAK	Equity	1		IN30611411871492	India	Male	Income Tax PAN	BAIPB0658J			10	10	10	100
1776	Individual	Other than promoter	Others	MANMOHAN TYAGI	Equity	1		1208160027435231	India	Male	Income Tax PAN	BAMPT3414J			10	10	10	100
1777	Individual	Other than promoter	Others	MANJU CHOUDHARY	Equity	1		1208160004987055	India	Female	Income Tax PAN	BAYPC1568C			10	10	10	100
1778	Individual	Other than promoter	Others	KARAN RAJENDRAKUMAR SHAH	Equity	1		1208160071575441	India	Male	Income Tax PAN	BCNPS7477R			10	10	10	100
1779	Individual	Other than promoter	Others	Nrusingha Nath Padhy	Equity	1		1208160173916496	India	Male	Income Tax PAN	BDBPP6775Q			10	10	10	100
1780	Individual	Other than promoter	Others	POOJA JHA	Equity	1		1203320063311164	India	Female	Income Tax PAN	BDGPJ5595K			10	10	10	100
1781	Individual	Other than promoter	Others	NAYANAJ WASIM JAMADAR	Equity	1		1208160058009781	India	Female	Income Tax PAN	BDOPJ1387D			10	10	10	100
1782	Individual	Other than promoter	Others	NAIDU LAVANYA	Equity	1		1208180137473978	India	Female	Income Tax PAN	BDUPL7122E			10	10	10	100
1783	Individual	Other than promoter	Others	JAY PRAKASH BAGHEL	Equity	1		1208160038314172	India	Male	Income Tax PAN	BEQPB1665H			10	10	10	100
1784	Individual	Other than promoter	Others	INDLA SUNIL KUMAR REDDY	Equity	1		1208160119094599	India	Male	Income Tax PAN	BEZPS6036J			10	10	10	100
1785	Individual	Other than promoter	Others	SRIKAR BHAT	Equity	1		1208880000769416	India	Male	Income Tax PAN	BFIPB0674P			10	10	10	100
1786	Individual	Other than promoter	Others	VIMAL KUMAR	Equity	1		1203320076761244	India	Male	Income Tax PAN	BFTP4463A			10	10	10	100
1787	Individual	Other than promoter	Others	KUMUD CHOUBEY	Equity	1		IN30302891675918	India	Female	Income Tax PAN	BJQPK1074A			10	10	10	100
1788	Individual	Other than promoter	Others	P SUGUN KUMAR	Equity	1		IN30154934542234	India	Male	Income Tax PAN	BLKPS4861B			10	10	10	100
1789	Individual	Other than promoter	Others	RAMAREDDY MURALI MOHAN	Equity	1		1203320160835775	India	Male	Income Tax PAN	BNCPM7726F			10	10	10	100
1790	Individual	Other than promoter	Others	SAURABH BIRTHAREY	Equity	1		1208160000090032	India	Male	Income Tax PAN	BNQPB1226D			10	10	10	100
1791	Individual	Other than promoter	Others	PULKIT JAIN	Equity	1		1208160064735769	India	Male	Income Tax PAN	BOCPJ0008L			10	10	10	100
1792	Individual	Other than promoter	Others	GEORGE	Equity	1		IN30023980286813	India	Male	Income Tax PAN	BODPG2555Q			10	10	10	100
1793	Individual	Other than promoter	Others	SRIRAMKUMARAN .	Equity	1		1208870018098856	India	Male	Income Tax PAN	BOFPS1388F			10	10	10	100
1794	Individual	Other than promoter	Others	AMITH SANGHAVI	Equity	1		1208160034077068	India	Male	Income Tax PAN	BOVPS2456G			10	10	10	100
1795	Individual	Other than promoter	Others	NIRMALA SONI	Equity	1		1208160006362044	India	Female	Income Tax PAN	BQIPS2963K			10	10	10	100

1796	Individual	Other than promoter	Others	TANZIM KAIS KAPADI	Equity	1		1208160109400721	India	Female	Income Tax PAN	BRBPK7441J			10	10	10	100
1797	Individual	Other than promoter	Others	SANJAY NARHARI SHIRWATKAR	Equity	1		1208870174561899	India	Male	Income Tax PAN	BUQPS7118L			10	10	10	100
1798	Individual	Other than promoter	Others	LALIT KUMAR	Equity	1		1204720001555069	India	Male	Income Tax PAN	BVDPK9353B			10	10	10	100
1799	Individual	Other than promoter	Others	ALAPATI GOWRI ANANDA LAKSHMI	Equity	1		1208530007125019	India	Female	Income Tax PAN	BXGPA2589E			10	10	10	100
1800	Individual	Other than promoter	Others	ABHAY KUMAR SINGH	Equity	1		1208870113720845	India	Male	Income Tax PAN	CBOPS7652H			10	10	10	100
1801	Individual	Other than promoter	Others	ARYAMAN GUPTA	Equity	1		1208160025899356	India	Male	Income Tax PAN	CCMPG7111C			10	10	10	100
1802	Individual	Other than promoter	Others	ASHISH VERMA .	Equity	1		1208870295897288	India	Male	Income Tax PAN	CDAPV7369C			10	10	10	100
1803	Individual	Other than promoter	Others	NIMESH SHANTILAL SHAH	Equity	1		1203410000547225	India	Male	Income Tax PAN	CDUPS1048H			10	10	10	100
1804	Individual	Other than promoter	Others	MONIKA MANTHON MEHTA	Equity	1		1203320172557228	India	Female	Income Tax PAN	CEBPP9539J			10	10	10	100
1805	Individual	Other than promoter	Others	ANITHA KUDUMULA	Equity	1		IN30154963244725	India	Female	Income Tax PAN	CFGPK7868K			10	10	10	100
1806	Individual	Other than promoter	Others	AJAY TUKARAM BIDYE .	Equity	1		1208870284263212	India	Male	Income Tax PAN	CHVPB8295A			10	10	10	100
1807	Individual	Other than promoter	Others	ARJUN RAMSAJIVAN PAL	Equity	1		1208160074641409	India	Male	Income Tax PAN	CIKPP0122N			10	10	10	100
1808	Individual	Other than promoter	Others	PAVAN KUMAR DUBEY	Equity	1		1208160088518698	India	Male	Income Tax PAN	CIWPD3604D			10	10	10	100
1809	Individual	Other than promoter	Others	SUSHIL DHANANJAY PATIL	Equity	1		1208870108601682	India	Male	Income Tax PAN	CJLPP8269A			10	10	10	100
1810	Individual	Other than promoter	Others	DEVEN JAIN	Equity	1		1208870054943330	India	Male	Income Tax PAN	CKCPJ5209A			10	10	10	100
1811	Individual	Other than promoter	Others	NIRNAY DATTA	Equity	1		1208160059840014	India	Male	Income Tax PAN	CMSPD4236P			10	10	10	100
1812	Individual	Other than promoter	Others	ABILASH RAMESHBABU	Equity	1		IN30429570068958	India	Male	Income Tax PAN	CMVPR8811B			10	10	10	100
1813	Individual	Other than promoter	Others	BOWRNA BOWRNA	Equity	1		1203320262743362	India	Female	Income Tax PAN	CSIPB5942C			10	10	10	100
1814	Individual	Other than promoter	Others	VINEET REDDY RAJULA	Equity	1		1208870015517666	India	Male	Income Tax PAN	CTKPR4413D			10	10	10	100
1815	Individual	Other than promoter	Others	PIPPIRI ANVESH	Equity	1		IN30143690339788	India	Male	Income Tax PAN	CTYPP4375E			10	10	10	100
1816	Individual	Other than promoter	Others	JAGDISH JAGDISH	Equity	1		1203320285201496	India	Male	Income Tax PAN	CTZPJ4258H			10	10	10	100
1817	Individual	Other than promoter	Others	SUPARSHVA RAKESH MEHTA	Equity	1		1301240004825361	India	Male	Income Tax PAN	CVCPM2129M			10	10	10	100
1818	Individual	Other than promoter	Others	PAWAN MEHRA ..	Equity	1		1208870331545181	India	Male	Income Tax PAN	CXSPM3746A			10	10	10	100
1819	Individual	Other than promoter	Others	SUMAN RAGHAVENDRA ANNIGERI	Equity	1		1203320018404265	India	Female	Income Tax PAN	CYZPA5666D			10	10	10	100
1820	Individual	Other than promoter	Others	KAUSHAL CHAUDHARY	Equity	1		1203320229949796	India	Male	Income Tax PAN	DBMPC2746D			10	10	10	100

1821	Individual	Other than promoter	Others	DEEPAK SHARMA	Equity	1		1209550009357193	India	Male	Income Tax PAN	DELPS8314R			10	10	10	100
1822	Individual	Other than promoter	Others	AVNEET KAUR	Equity	1		1208160057313812	India	Male	Income Tax PAN	DOQPK8023C			10	10	10	100
1823	Individual	Other than promoter	Others	SOURABH ..	Equity	1		1201090007727863	India	Male	Income Tax PAN	DPVPK8309K			10	10	10	100
1824	Individual	Other than promoter	Others	SUMIT ANAND SHUKLA	Equity	1		1208670009761019	India	Male	Income Tax PAN	DWKPS6305D			10	10	10	100
1825	Individual	Other than promoter	Others	ARYA SANJAY DEWKAR	Equity	1		1208870032128458	India	Female	Income Tax PAN	ECFPD2366K			10	10	10	100
1826	Individual	Other than promoter	Others	ABDUL ARHAM	Equity	1		1208160081665777	India	Male	Income Tax PAN	ECPPA3658M			10	10	10	100
1827	Individual	Other than promoter	Others	PAYAL KUMARI	Equity	1		IN30154959310984	India	Female	Income Tax PAN	ESKPP0777D			10	10	10	100
1828	Individual	Other than promoter	Others	GAGAN KUMAR	Equity	1		1208160021355607	India	Male	Income Tax PAN	ESVPK4587D			10	10	10	100
1829	Individual	Other than promoter	Others	VINIT KUMAR	Equity	1		IN30311615115604	India	Male	Income Tax PAN	EYVPK1552C			10	10	10	100
1830	Individual	Other than promoter	Others	RAVICHANDRA RAO	Equity	1		1208160045341481	India	Male	Income Tax PAN	FGEPR5927Q			10	10	10	100
1831	Individual	Other than promoter	Others	KANTABEN GIRDHARBHAI BERA	Equity	1		1204720022777286	India	Female	Income Tax PAN	FPYPB9719D			10	10	10	100
1832	Individual	Other than promoter	Others	CHIRAG PARESH BORA	Equity	1		1208160146014826	India	Male	Income Tax PAN	GAEPB0295Q			10	10	10	100
1833	Individual	Other than promoter	Others	SHUBHAM MOHAN SHITOLE	Equity	1		1208160011527893	India	Male	Income Tax PAN	GWNPS8510J			10	10	10	100
1834	Individual	Other than promoter	Others	RISHAB	Equity	1		IN30023982008771	India	Male	Income Tax PAN	GZOPR6111N			10	10	10	100
1835	Individual	Other than promoter	Others	MAINA MAINA	Equity	1		1203320239409267	India	Female	Income Tax PAN	HGCPM3444K			10	10	10	100
1836	Individual	Other than promoter	Others	SURENDRAN	Equity	1		1201090027885099	India	Male	Income Tax PAN	HSSPS0125M			10	10	10	100
1837	Individual	Other than promoter	Others	RAKHI SANTRA MANDAL .	Equity	1		1208870278646153	India	Female	Income Tax PAN	ICGPM1726K			10	10	10	100
1838	Individual	Other than promoter	Others	SAGAR SAINI	Equity	1		1208180025591255	India	Male	Income Tax PAN	IRNPS5879F			10	10	10	100
1839	Individual	Other than promoter	Others	DEVASHREE HARSHAL KAVLE	Equity	1		1203320040548467	India	Female	Income Tax PAN	JEFPK7924R			10	10	10	100
1840	Individual	Other than promoter	Others	KIRTHIKA JAIN	Equity	1		1208880017351197	India	Female	Income Tax PAN	JMZPK1311L			10	10	10	100
1841	Individual	Other than promoter	Others	NOOR MOHAMMED SHAIK MOHAMMED SHAKIR	Equity	1		1208870072866461	India	Male	Income Tax PAN	JTNPS9634B			10	10	10	100
1842	Individual	Other than promoter	Others	KAUSTUBH MOHAN SAWANT	Equity	1		1208870103397467	India	Male	Income Tax PAN	MQLPS0825G			10	10	10	100
1843	Individual	Other than promoter	Others	NAVDEEP SINGH	Equity	1		1204720036458503	India	Male	Income Tax PAN	RFHPS4996N			10	10	10	100
1844	Individual	Other than promoter	Others	SUREKHA GIRISH ZAVERI	Equity	1		IN30015910909231	India	Female	Income Tax PAN	AAGPZ7880B			9	10	10	90
1845	Individual	Other than promoter	Others	SANJAY KUMAR RAI	Equity	1		IN30051381574984	India	Male	Income Tax PAN	ABMPR4964R			9	10	10	90

1846	Individual	Other than promoter	Others	KAMAL BHOJRAJ NACHNANI	Equity	1		1208870183465108	India	Male	Income Tax PAN	ACGPN2858R			9	10	10	90
1847	Individual	Other than promoter	Others	SUNIL KUMAR DADHEECH	Equity	1		1208880002778721	India	Male	Income Tax PAN	ACNPD9839K			9	10	10	90
1848	Individual	Other than promoter	Others	PANDURANG SITARAMJI BUCHEY	Equity	1		1208160090978313	India	Male	Income Tax PAN	AEEPB0148Q			9	10	10	90
1849	Individual	Other than promoter	Others	MANOHAR LAL	Equity	1		IN30021436137252	India	Male	Income Tax PAN	AEKPN0614B			9	10	10	90
1850	Individual	Other than promoter	Others	MAHENDRA B SHAH	Equity	1		IN30311611927247	India	Male	Income Tax PAN	AFBPS3644C			9	10	10	90
1851	Individual	Other than promoter	Others	SIMI JOSEPH	Equity	1		1208160055728021	India	Female	Income Tax PAN	AFMPJ9215M			9	10	10	90
1852	Individual	Other than promoter	Others	BALAJI R	Equity	1		1201090013749656	India	Male	Income Tax PAN	AGOPR1889A			9	10	10	90
1853	Individual	Other than promoter	Others	RAMDAS VINAYAK	Equity	1		1208160012085144	India	Male	Income Tax PAN	AHAPV7169A			9	10	10	90
1854	Individual	Other than promoter	Others	SAKET VILAS LOTE	Equity	1		1208160015310216	India	Male	Income Tax PAN	AICPL2064M			9	10	10	90
1855	Individual	Other than promoter	Others	KALPANA PRAVIN JAIN	Equity	1		IN30143694939659	India	Female	Income Tax PAN	AMLPJ4313N			9	10	10	90
1856	Individual	Other than promoter	Others	KAPIL RATHI	Equity	1		IN30051317309955	India	Male	Income Tax PAN	AMMPR7220B			9	10	10	90
1857	Individual	Other than promoter	Others	ROHAN DSOUZA	Equity	1		1209550003899964	India	Male	Income Tax PAN	ANHPD4476F			9	10	10	90
1858	Individual	Other than promoter	Others	ANNAPOORNA MALLYA	Equity	1		1208160027043076	India	Female	Income Tax PAN	AOAPM3691M			9	10	10	90
1859	Individual	Other than promoter	Others	VIJAYKUMAR MIRAJAKAR	Equity	1		1203320026699717	India	Male	Income Tax PAN	AORPM1915R			9	10	10	90
1860	Individual	Other than promoter	Others	MAMTA RAIKWAR	Equity	1		IN30302872016295	India	Female	Income Tax PAN	APCPR5000E			9	10	10	90
1861	Individual	Other than promoter	Others	RAVINDRA PRATAP SINGH	Equity	1		1206140000325251	India	Male	Income Tax PAN	AWSPS4733N			9	10	10	90
1862	Individual	Other than promoter	Others	HARISH CHANDRA SINGH	Equity	1		1208160011865313	India	Male	Income Tax PAN	AWWPS9861M			9	10	10	90
1863	Individual	Other than promoter	Others	SURAJ THAKURIA	Equity	1		1208160065168765	India	Male	Income Tax PAN	AXHPT5132G			9	10	10	90
1864	Individual	Other than promoter	Others	HARPAL SINGH	Equity	1		1208180121045168	India	Male	Income Tax PAN	CBUPS6320J			9	10	10	90
1865	Individual	Other than promoter	Others	SHANTILAL JAWANTRAJ SANGHVI	Equity	1		1302340000649881	India	Male	Income Tax PAN	CNBPS4928K			9	10	10	90
1866	Individual	Other than promoter	Others	SUNIL ATMARAM PATIL	Equity	1		1208250005854405	India	Male	Income Tax PAN	CSGPP4678B			9	10	10	90
1867	Individual	Other than promoter	Others	MOHAMMED FARHAN AKBARMIYA SHAIKH	Equity	1		IN30021457628684	India	Male	Income Tax PAN	DCFPS2844A			9	10	10	90
1868	Individual	Other than promoter	Others	Digvijay Sunil Desai	Equity	1		1203320029489019	India	Male	Income Tax PAN	DOWPD9582K			9	10	10	90
1869	Individual	Other than promoter	Others	YASH DEEPAK SHAH	Equity	1		IN30133021506877	India	Male	Income Tax PAN	ECHPS4172L			9	10	10	90
1870	Individual	Other than promoter	Others	MUKUL SHARMA	Equity	1		1208160044362561	India	Male	Income Tax PAN	EELPS5617Q			9	10	10	90

1871	Individual	Other than promoter	Others	MUKESH KUMAR	Equity	1		1203320227094006	India	Male	Income Tax PAN	EHJPK1027D			9	10	10	90
1872	Individual	Other than promoter	Others	ANIKET SANYAL	Equity	1		1208160023189416	India	Male	Income Tax PAN	EXPPS5199E			9	10	10	90
1873	Individual	Other than promoter	Others	SHRADHDA BALKRISHNA SOMKUWAR	Equity	1		1208880001566541	India	Male	Income Tax PAN	FFFPS4428F			9	10	10	90
1874	Individual	Other than promoter	Others	DHRUV DILIP KANUGO	Equity	1		1208160007298012	India	Male	Income Tax PAN	HELPK4272J			9	10	10	90
1875	Individual	Other than promoter	Others	SARITA DEVI.	Equity	1		1208870297622476	India	Female	Income Tax PAN	JQCPD4966F			9	10	10	90
1876	Individual	Other than promoter	Others	SANDRASEKARAN BALSUNDARAM	Equity	1		IN30051391646866	India	Male	Income Tax PAN	AADPB0919N			8	10	10	80
1877	Individual	Other than promoter	Others	SUBHASH DAULATRAM VASWANI	Equity	1		IN30292712714697	India	Male	Income Tax PAN	AAMPV2937P			8	10	10	80
1878	Individual	Other than promoter	Others	SANJAY KUMAR JAIN	Equity	1		IN30088813855964	India	Male	Income Tax PAN	AAOPJ7800R			8	10	10	80
1879	Individual	Other than promoter	Others	PANKAJ KUMAR JAIN	Equity	1		1208430000793585	India	Male	Income Tax PAN	ABSPJ4761A			8	10	10	80
1880	Individual	Other than promoter	Others	KASHMIRA JATIN LODAYA	Equity	1		IN30426221125412	India	Female	Income Tax PAN	ACIPL5983H			8	10	10	80
1881	Individual	Other than promoter	Others	INDRANIL BARTHAKUR	Equity	1		1208940000558094	India	Male	Income Tax PAN	ACQPB0368Q			8	10	10	80
1882	Individual	Other than promoter	Others	PRATIMA MANOHAR MAHALE	Equity	1		1208160103109028	India	Female	Income Tax PAN	ADSPM9867C			8	10	10	80
1883	Individual	Other than promoter	Others	SHIVKUMAR MADIVALAPPA BHUMA	Equity	1		1304140002879551	India	Male	Income Tax PAN	AEJPB8893F			8	10	10	80
1884	Individual	Other than promoter	Others	MAHESHVENKATAANAND ATMURI	Equity	1		1208160009268607	India	Male	Income Tax PAN	AGHPA0244M			8	10	10	80
1885	Individual	Other than promoter	Others	BENJAMIN JOSEPH	Equity	1		1208870125798743	India	Male	Income Tax PAN	AHYPJ8717G			8	10	10	80
1886	Individual	Other than promoter	Others	DHEERAJ KUMAR CHOHL	Equity	1		1208160017841890	India	Male	Income Tax PAN	AMGPC8785N			8	10	10	80
1887	Individual	Other than promoter	Others	PRIYA JAIN	Equity	1		1208160067608035	India	Female	Income Tax PAN	AYBPJ5693F			8	10	10	80
1888	Individual	Other than promoter	Others	ABHISHEK KUMAR SINGHAI	Equity	1		1208160035124921	India	Male	Income Tax PAN	AZBPS0535J			8	10	10	80
1889	Individual	Other than promoter	Others	VASANI RAXABEN VIJAYBHAI	Equity	1		1203320288796341	India	Female	Income Tax PAN	BASPV4525L			8	10	10	80
1890	Individual	Other than promoter	Others	BALA RANI	Equity	1		1208160093252073	India	Female	Income Tax PAN	BDZPR9948D			8	10	10	80
1891	Individual	Other than promoter	Others	JAIMINKUMAR KHUSHALBHAI PRAJAPATI	Equity	1		1208880004695758	India	Male	Income Tax PAN	BPBPP6904D			8	10	10	80
1892	Individual	Other than promoter	Others	SHAIK MASTANVALI	Equity	1		IN30302871326786	India	Male	Income Tax PAN	CPCPS2017G			8	10	10	80
1893	Individual	Other than promoter	Others	SUDIP MAITI	Equity	1		1208160051848267	India	Male	Income Tax PAN	CRLPM4574M			8	10	10	80
1894	Individual	Other than promoter	Others	RAKESH KUMAR AGRAWAL	Equity	1		1208180080254538	India	Male	Income Tax PAN	DCHPA5400C			8	10	10	80
1895	Individual	Other than promoter	Others	SWAPNA BHASKAR	Equity	1		1208870063397716	India	Female	Income Tax PAN	DCRPB9635Q			8	10	10	80

1896	Individual	Other than promoter	Others	Modi Poojan Nileskumar	Equity	1		1208160132726871	India	Male	Income Tax PAN	DDKPN8001E			8	10	10	80
1897	Individual	Other than promoter	Others	GOURAV GOYAL	Equity	1		1208870216683171	India	Male	Income Tax PAN	DIHPG0455F			8	10	10	80
1898	Individual	Other than promoter	Others	JITENDRA BEHERA	Equity	1		1208180018956686	India	Male	Income Tax PAN	EHRPB9885E			8	10	10	80
1899	Individual	Other than promoter	Others	PRAVEEN VIJAYKUMAR KALASGOUDAR	Equity	1		1208160054576839	India	Male	Income Tax PAN	EZKPK8692H			8	10	10	80
1900	Individual	Other than promoter	Others	GUDDU KUMAR	Equity	1		1208160020992544	India	Male	Income Tax PAN	FBNPK6293Q			8	10	10	80
1901	Individual	Other than promoter	Others	RAJESH KUMAR	Equity	1		1203320384116819	India	Male	Income Tax PAN	FPAPK7497M			8	10	10	80
1902	Individual	Other than promoter	Others	PRADEEP KUMAR	Equity	1		1208160038361147	India	Male	Income Tax PAN	FZAPK3266E			8	10	10	80
1903	Individual	Other than promoter	Others	JAGDEV SINGH	Equity	1		1203320137285561	India	Male	Income Tax PAN	HRRPS0165R			8	10	10	80
1904	Individual	Other than promoter	Others	SHUBHAM KUMAR	Equity	1		1208870113080324	India	Male	Income Tax PAN	INQPK1644P			8	10	10	80
1905	Individual	Other than promoter	Others	HARISH GUNVANTRAI DAVDA	Equity	1		1208160144024525	India	Male	Income Tax PAN	AAHPD5954D			7	10	10	70
1906	Individual	Other than promoter	Others	REDDY PRASAD IMMIDI CHETTY .	Equity	1		1209290000500969	India	Male	Income Tax PAN	AANPI7200F			7	10	10	70
1907	Individual	Other than promoter	Others	ANIL KUMAR BHATIA	Equity	1		1204720019501777	India	Male	Income Tax PAN	AARPB9783E			7	10	10	70
1908	Individual	Other than promoter	Others	OLETI MALLESWARI	Equity	1		IN30302861268765	India	Female	Income Tax PAN	AATPO8944L			7	10	10	70
1909	Individual	Other than promoter	Others	DAYANAND MALHARI MISALKAR	Equity	1		IN30302825547811	India	Male	Income Tax PAN	AAVPM6885A			7	10	10	70
1910	Entity	Other than promoter	Others	ASHWANI KUMAR HUF	Equity	1		IN30302854593715	India	Male	Income Tax PAN	AAXHA7576C			7	10	10	70
1911	Individual	Other than promoter	Others	ARUN KUMAR LIMBU	Equity	1		1208870025385472	India	Male	Income Tax PAN	ADGPL6654E			7	10	10	70
1912	Individual	Other than promoter	Others	BIPINCHANDRA AMBALAL RAVAL	Equity	1		1208870040703421	India	Male	Income Tax PAN	AELPR7671B			7	10	10	70
1913	Individual	Other than promoter	Others	GAYATRI RAMESHCHAND AGARWAL	Equity	1		1206420002020280	India	Female	Income Tax PAN	AEMPA8359Q			7	10	10	70
1914	Individual	Other than promoter	Others	RAMESHWAR PRATAP SINGH CHAUHAN	Equity	1		1208870088071174	India	Male	Income Tax PAN	AGCPC6613M			7	10	10	70
1915	Individual	Other than promoter	Others	ROHITRATN SHARMA	Equity	1		IN30290241025428	India	Male	Income Tax PAN	AGSPS1944H			7	10	10	70
1916	Individual	Other than promoter	Others	NAVNEET KUMAR CHADHA	Equity	1		1209550003335491	India	Male	Income Tax PAN	AGWPC7941A			7	10	10	70
1917	Individual	Other than promoter	Others	PADMALOCHAN NAYAK	Equity	1		1208160027061944	India	Male	Income Tax PAN	AGWPN7597D			7	10	10	70
1918	Individual	Other than promoter	Others	GURPREET SINGH ANAND	Equity	1		IN30302852070423	India	Male	Income Tax PAN	AIBPA1470F			7	10	10	70
1919	Individual	Other than promoter	Others	DHANANI KETANBHAI DHIRAJLAL	Equity	1		1203320093667814	India	Male	Income Tax PAN	AIGPD0963K			7	10	10	70
1920	Individual	Other than promoter	Others	JAYA SUDHEER	Equity	1		1208160119964699	India	Female	Income Tax PAN	AISPB1896R			7	10	10	70

1921	Individual	Other than promoter	Others	BHOORI SINGH	Equity	1		1203330001391707	India	Male	Income Tax PAN	AISPS0890G			7	10	70
1922	Individual	Other than promoter	Others	MANISHA RAVINDRA DHAKTODE	Equity	1		1209550000555906	India	Female	Income Tax PAN	AODPD8889D			7	10	70
1923	Individual	Other than promoter	Others	HEMANT CHANDRAKANT PAREKH	Equity	1		IN30160411979055	India	Male	Income Tax PAN	AQGPP5110Q			7	10	70
1924	Individual	Other than promoter	Others	HIMANSHU JOSHI	Equity	1		1208180014195657	India	Male	Income Tax PAN	AZAPJ8134D			7	10	70
1925	Individual	Other than promoter	Others	PRAVEEN KUMAR GIRI	Equity	1		1208160053431691	India	Male	Income Tax PAN	AZDPG0682Q			7	10	70
1926	Individual	Other than promoter	Others	SHIVANI ISHAN DESAI	Equity	1		1208160100340349	India	Female	Income Tax PAN	BGYPD3056Q			7	10	70
1927	Individual	Other than promoter	Others	KARANJEET SINGH	Equity	1		1208160087438885	India	Male	Income Tax PAN	BKKPS3473G			7	10	70
1928	Individual	Other than promoter	Others	SAURABH GUPTA	Equity	1		1205420000639491	India	Male	Income Tax PAN	BPJPG1275A			7	10	70
1929	Individual	Other than promoter	Others	VIJAY BABAN SONAWANE	Equity	1		1208180046074263	India	Male	Income Tax PAN	CCPPS4650H			7	10	70
1930	Individual	Other than promoter	Others	KADAPARAMBAN THOMAS TOMY	Equity	1		1208160154139284	India	Male	Income Tax PAN	CQLPT9159G			7	10	70
1931	Individual	Other than promoter	Others	OM KUMAR SHARMA	Equity	1		1203320044246416	India	Male	Income Tax PAN	DCWPS2108Q			7	10	70
1932	Individual	Other than promoter	Others	NITIN SHARMA	Equity	1		1208160081426349	India	Male	Income Tax PAN	DDBPS7926A			7	10	70
1933	Individual	Other than promoter	Others	LOKENDRA BANJARA	Equity	1		1203320196671154	India	Male	Income Tax PAN	EBKPB6780B			7	10	70
1934	Individual	Other than promoter	Others	KIRAN SINGHAI	Equity	1		1208160118409303	India	Female	Income Tax PAN	EIKPS0935L			7	10	70
1935	Individual	Other than promoter	Others	JANARDAN PANDAY	Equity	1		IN30051322023206	India	Male	Income Tax PAN	AAGPP6289G			6	10	60
1936	Individual	Other than promoter	Others	KOPPARAM RAJAGOPAL	Equity	1		1204890000061157	India	Male	Income Tax PAN	ABFPR1279L			6	10	60
1937	Individual	Other than promoter	Others	RAM KUMAR VERMA	Equity	1		1208870237556975	India	Male	Income Tax PAN	ACKPV5750G			6	10	60
1938	Individual	Other than promoter	Others	ROYSTON ANTHONY DLIMA	Equity	1		1208180009491075	India	Male	Income Tax PAN	ACTPD1092Q			6	10	60
1939	Individual	Other than promoter	Others	RAVI VODERHOBLI HEBBAR	Equity	1		1208160009038935	India	Male	Income Tax PAN	ADAPH9650C			6	10	60
1940	Individual	Other than promoter	Others	N JAYAN	Equity	1		IN30302866857434	India	Male	Income Tax PAN	ADIPN2015P			6	10	60
1941	Individual	Other than promoter	Others	E B P ROYAN	Equity	1		IN30302862015345	India	Male	Income Tax PAN	ADTPP7096F			6	10	60
1942	Individual	Other than promoter	Others	AVIKA VOHRA .	Equity	1		1208160099734815	India	Female	Income Tax PAN	AEAPV9364A			6	10	60
1943	Individual	Other than promoter	Others	CHITRA MAHAJAN	Equity	1		1201910101167394	India	Female	Income Tax PAN	AFWPC1669J			6	10	60
1944	Individual	Other than promoter	Others	NARAYAN DAS	Equity	1		IN30290241913516	India	Male	Income Tax PAN	AGBPD4715A			6	10	60
1945	Individual	Other than promoter	Others	PUSHPA S RAI	Equity	1		1203600003324206	India	Female	Income Tax PAN	AIYPR9845E			6	10	60

1946	Individual	Other than promoter	Others	KARAN KHURANA .	Equity	1		1203230011918165	India	Male	Income Tax PAN	AJQPK0959F			6	10	60
1947	Individual	Other than promoter	Others	VINAY RATIKANT GANDHI	Equity	1		IN30088814351117	India	Male	Income Tax PAN	AJTPG5479K			6	10	60
1948	Individual	Other than promoter	Others	MAHESHBABU RENGARAJAN	Equity	1		1208160009964102	India	Male	Income Tax PAN	ANFPM6034L			6	10	60
1949	Individual	Other than promoter	Others	AJIT SINGH	Equity	1		IN30267932157396	India	Male	Income Tax PAN	ANWPS7888K			6	10	60
1950	Individual	Other than promoter	Others	C K KAMALAHASAN	Equity	1		1203320009304731	India	Male	Income Tax PAN	AQPPK7529K			6	10	60
1951	Individual	Other than promoter	Others	VIJAY SINGH RATHOUR	Equity	1		1208870007507721	India	Male	Income Tax PAN	AQPPR6564H			6	10	60
1952	Individual	Other than promoter	Others	SHRADDA JAIN	Equity	1		IN30051322789713	India	Female	Income Tax PAN	ARZPJ9131B			6	10	60
1953	Individual	Other than promoter	Others	KHUMESHWAR SAHU	Equity	1		1203320119710685	India	Male	Income Tax PAN	ATPPS3935E			6	10	60
1954	Individual	Other than promoter	Others	AVAL AGARWAL	Equity	1		1208160048640721	India	Male	Income Tax PAN	AWGPA8312F			6	10	60
1955	Individual	Other than promoter	Others	G NAGENDRAN	Equity	1		IN30021465480684	India	Male	Income Tax PAN	AWOPN1750A			6	10	60
1956	Individual	Other than promoter	Others	SHIVAPRASAD	Equity	1		IN30302846679520	India	Male	Income Tax PAN	AWQPS7660E			6	10	60
1957	Individual	Other than promoter	Others	dandu alka	Equity	1		1208180172422740	India	Female	Income Tax PAN	AYJPD6609B			6	10	60
1958	Individual	Other than promoter	Others	KUMAR PRIYADARSHI	Equity	1		1203320031561041	India	Male	Income Tax PAN	BBQPP7644K			6	10	60
1959	Individual	Other than promoter	Others	DEVNARAYAN BANSAL	Equity	1		IN30302840272118	India	Male	Income Tax PAN	BDRPB9293B			6	10	60
1960	Individual	Other than promoter	Others	ASHOK KUMAR BASAK	Equity	1		1208160109485802	India	Male	Income Tax PAN	BIDPB6926J			6	10	60
1961	Individual	Other than promoter	Others	BIPRADIP BASU	Equity	1		1203320024673121	India	Male	Income Tax PAN	BJEPB4815N			6	10	60
1962	Individual	Other than promoter	Others	NAMIT SABHARWAL	Equity	1		1208160143881565	India	Male	Income Tax PAN	BOTPS1944D			6	10	60
1963	Individual	Other than promoter	Others	NITESH PRIY RANJAN .	Equity	1		1208870282690467	India	Male	Income Tax PAN	BQYPR0503A			6	10	60
1964	Individual	Other than promoter	Others	SUDHANSHU JHA	Equity	1		1208870094440809	India	Male	Income Tax PAN	BZYPJ4411L			6	10	60
1965	Individual	Other than promoter	Others	BANGALORE NAGESH ARJUN	Equity	1		1208160078152376	India	Male	Income Tax PAN	CJLPA3890G			6	10	60
1966	Individual	Other than promoter	Others	SNEHA SHREE	Equity	1		1208160004074774	India	Female	Income Tax PAN	CKPPS9310G			6	10	60
1967	Individual	Other than promoter	Others	ROHIT DHANDA	Equity	1		1208180011836436	India	Male	Income Tax PAN	CYSPD8974N			6	10	60
1968	Individual	Other than promoter	Others	MILIND SURESH SHAH	Equity	1		1208160013242897	India	Male	Income Tax PAN	DEJPS7122K			6	10	60
1969	Individual	Other than promoter	Others	DHAMMDIP SUNIL BALKHANDE	Equity	1		1208160111748001	India	Male	Income Tax PAN	DHWPB0973B			6	10	60
1970	Individual	Other than promoter	Others	VYANKATESH HIRAMAN DHENGRE	Equity	1		1208870057436097	India	Male	Income Tax PAN	DXHPD7882L			6	10	60

1971	Individual	Other than promoter	Others	AKANKSHA AGRAWAL	Equity	1		1203320290408621	India	Female	Income Tax PAN	FQCPA8246M			6	10	60
1972	Individual	Other than promoter	Others	SUVARNA SHARMA	Equity	1		1208160065284123	India	Female	Income Tax PAN	GUMPS3399G			6	10	60
1973	Individual	Other than promoter	Others	ABHYUDAY SHARMA	Equity	1		1208160057004125	India	Male	Income Tax PAN	MZCPS6419N			6	10	60
1974	Individual	Other than promoter	Others	AARTI A DOSHI	Equity	1		1204470020221034	India	Female	Income Tax PAN	AAAPD6750G			5	10	50
1975	Individual	Other than promoter	Others	RAJIV MAHESHWARI	Equity	1		1203350001406079	India	Male	Income Tax PAN	AAAPM1959Q			5	10	50
1976	Individual	Other than promoter	Others	GN RAVINDRANATH	Equity	1		IN30302876997474	India	Male	Income Tax PAN	AACFB1635N			5	10	50
1977	Individual	Other than promoter	Others	MANISH GUNSEN SHAH	Equity	1		1203040000343306	India	Male	Income Tax PAN	AAEPS9259D			5	10	50
1978	Individual	Other than promoter	Others	MUKUND KEDAR DYANKAR	Equity	1		1203320327904095	India	Male	Income Tax PAN	AAMPD8562C			5	10	50
1979	Individual	Other than promoter	Others	JAMES CAZMIRO FERNANDES	Equity	1		1208160018725235	India	Male	Income Tax PAN	AATPF7023R			5	10	50
1980	Individual	Other than promoter	Others	DINESH KUMAR AGARWAL	Equity	1		1306130000013915	India	Male	Income Tax PAN	AAUPA1102D			5	10	50
1981	Individual	Other than promoter	Others	MOTHILAL KUMAR PRAVEEN	Equity	1		1207650000379731	India	Male	Income Tax PAN	AAZPK4252F			5	10	50
1982	Individual	Other than promoter	Others	SWARNA RAJKUMAR CHINTAPALLI	Equity	1		1201090019681107	India	Male	Income Tax PAN	ABJPC7723L			5	10	50
1983	Individual	Other than promoter	Others	ASHOK KUMAR GARG	Equity	1		1203320096258614	India	Male	Income Tax PAN	ABOPG8421A			5	10	50
1984	Individual	Other than promoter	Others	SANJAY KUMAR AGARWAL	Equity	1		1208160078405098	India	Male	Income Tax PAN	ABPPA4849R			5	10	50
1985	Individual	Other than promoter	Others	EDHAYA KARUNAMURTHY	Equity	1		IN30143682568864	India	Male	Income Tax PAN	ABQPE6068H			5	10	50
1986	Individual	Other than promoter	Others	KISHORE KUMAR ANKAM	Equity	1		1208160011286701	India	Male	Income Tax PAN	ABXPA9674N			5	10	50
1987	Individual	Other than promoter	Others	SANGEETA MANOJ SANGHVI	Equity	1		IN30327080558301	India	Female	Income Tax PAN	ACAPS6507L			5	10	50
1988	Individual	Other than promoter	Others	PRITPAL SINGH REHSI	Equity	1		1208160044640770	India	Male	Income Tax PAN	ACFPR1709L			5	10	50
1989	Individual	Other than promoter	Others	NAGINBHAI KANUBHAI AMIN	Equity	1		1201690000062341	India	Male	Income Tax PAN	ACIPA7465M			5	10	50
1990	Individual	Other than promoter	Others	TSERING NORBOO	Equity	1		IN30429518200237	India	Male	Income Tax PAN	ACIPN7535P			5	10	50
1991	Individual	Other than promoter	Others	DILIPKUMAR UKCHAND BOKADIA	Equity	1		IN30018312529354	India	Male	Income Tax PAN	ACPPB1752M			5	10	50
1992	Individual	Other than promoter	Others	PRAVIN GOVIND PATEL	Equity	1		1208160093442867	India	Male	Income Tax PAN	ACZPP4940M			5	10	50
1993	Individual	Other than promoter	Others	SUTRAYYA RUDRAYYA SWAMI	Equity	1		1204720001516483	India	Male	Income Tax PAN	ACZPS2942J			5	10	50
1994	Individual	Other than promoter	Others	GURUDAS BABURAO CHODANKAR	Equity	1		1203600005323505	India	Male	Income Tax PAN	ADZPC6393A			5	10	50
1995	Individual	Other than promoter	Others	ARUN KUMAR YADAV	Equity	1		1208160036862524	India	Male	Income Tax PAN	AEDPY7214D			5	10	50

1996	Individual	Other than promoter	Others	VIMLESH KUMAR	Equity	1		IN30302854647746	India	Male	Income Tax PAN	AEHPK0235N			5	10	50
1997	Individual	Other than promoter	Others	ANIL RAJARAM MISHRA	Equity	1		IN30051315638842	India	Male	Income Tax PAN	AESPM7076A			5	10	50
1998	Individual	Other than promoter	Others	KRISHNA KUMAR DALMIA	Equity	1		1203330000542431	India	Male	Income Tax PAN	AEZPD9675B			5	10	50
1999	Individual	Other than promoter	Others	SANTOSH KUMAR RAMKUMAR YADAV	Equity	1		IN30051380786537	India	Male	Income Tax PAN	AFAPY1954J			5	10	50
2000	Individual	Other than promoter	Others	SUBIR DAS	Equity	1		1208870213897587	India	Male	Income Tax PAN	AFCPD1443F			5	10	50
2001	Individual	Other than promoter	Others	JAGDISH SINGH NEGI	Equity	1		1208160010163099	India	Male	Income Tax PAN	AFEPN9810L			5	10	50
2002	Individual	Other than promoter	Others	PRAFULLA N CHANIYARA	Equity	1		1204720019177290	India	Female	Income Tax PAN	AFGPC4521F			5	10	50
2003	Individual	Other than promoter	Others	MANISH TIWARI	Equity	1		1208160053021320	India	Male	Income Tax PAN	AFGPT9050G			5	10	50
2004	Individual	Other than promoter	Others	NITIN NILKANTH LOKHANDE	Equity	1		1208870019184461	India	Male	Income Tax PAN	AFHPL5725M			5	10	50
2005	Individual	Other than promoter	Others	P SATYANARAYANA	Equity	1		IN30135620635979	India	Male	Income Tax PAN	AFNPP6512J			5	10	50
2006	Individual	Other than promoter	Others	ANANTHA SURYA NARAYANA MEDURI	Equity	1		1208880000132574	India	Male	Income Tax PAN	AFVPM2909J			5	10	50
2007	Individual	Other than promoter	Others	GWENDOLINE MARIE PERES	Equity	1		IN30018313279114	India	Female	Income Tax PAN	AGOPP8280D			5	10	50
2008	Individual	Other than promoter	Others	CHETAN GOVIND LOHAR	Equity	1		1208160033082427	India	Male	Income Tax PAN	AGYPL9584C			5	10	50
2009	Individual	Other than promoter	Others	PARASURAMAN R	Equity	1		IN30115112377307	India	Male	Income Tax PAN	AHIPP5487F			5	10	50
2010	Individual	Other than promoter	Others	PRIYA SAMEER JARIWALA	Equity	1		1204310000337870	India	Female	Income Tax PAN	AHSPJ5224G			5	10	50
2011	Individual	Other than promoter	Others	PRATIK S JAIN	Equity	1		IN30226913172836	India	Male	Income Tax PAN	AHTPJ0535F			5	10	50
2012	Individual	Other than promoter	Others	SACHIN CHANDRAKANT CHAVAN	Equity	1		1208160018988072	India	Male	Income Tax PAN	AHZPC4700H			5	10	50
2013	Individual	Other than promoter	Others	PRAMOD KUMAR TRIVEDI	Equity	1		1208160147906941	India	Male	Income Tax PAN	AIFPT4942B			5	10	50
2014	Individual	Other than promoter	Others	JAMBU JAIN	Equity	1		1208870072160024	India	Male	Income Tax PAN	AIXPJ5939N			5	10	50
2015	Individual	Other than promoter	Others	M ABHAYNARAYAN	Equity	1		IN30302855173750	India	Male	Income Tax PAN	AJEPN9552B			5	10	50
2016	Individual	Other than promoter	Others	JEHANGIR ADI MASTER	Equity	1		1208160026249469	India	Male	Income Tax PAN	AJFPM7367N			5	10	50
2017	Individual	Other than promoter	Others	BRINDABEN BHADRESHKUMAR VYAS	Equity	1		1208870199822041	India	Female	Income Tax PAN	AJFPV5584Q			5	10	50
2018	Individual	Other than promoter	Others	MOHAMMAD ASAD	Equity	1		IN30429527603332	India	Male	Income Tax PAN	AKAPA2223R			5	10	50
2019	Individual	Other than promoter	Others	JETENDRA SINGH CHOUHAN	Equity	1		1208160055546026	India	Male	Income Tax PAN	AKXPC4011E			5	10	50
2020	Individual	Other than promoter	Others	HARSH NARAYAN JHA	Equity	1		1208180007415190	India	Male	Income Tax PAN	ALXPJ6137F			5	10	50

2021	Individual	Other than promoter	Others	DWIPEN DAS	Equity	1		IN30611410655507	India	Male	Income Tax PAN	AMAPD9879Q			5	10	50
2022	Individual	Other than promoter	Others	RAJAT RASTOGI	Equity	1		IN30302859172179	India	Male	Income Tax PAN	AMHPR7955E			5	10	50
2023	Individual	Other than promoter	Others	BIJENDER KUMAR	Equity	1		1208160060217844	India	Male	Income Tax PAN	AMJPB0998B			5	10	50
2024	Individual	Other than promoter	Others	SWETHA VATTI	Equity	1		1208180092963025	India	Female	Income Tax PAN	AMSPV9181H			5	10	50
2025	Individual	Other than promoter	Others	ANURADHA M K	Equity	1		IN30131321388451	India	Female	Income Tax PAN	ANAPM9439N			5	10	50
2026	Individual	Other than promoter	Others	BAJRANG LAL	Equity	1		1208160006532509	India	Male	Income Tax PAN	ANWPL6952B			5	10	50
2027	Individual	Other than promoter	Others	HARISH LODHA	Equity	1		1208160110958314	India	Male	Income Tax PAN	AOGPH1911K			5	10	50
2028	Individual	Other than promoter	Others	ARPAN SAMIRBHAI PARIKH	Equity	1		IN30051313996253	India	Male	Income Tax PAN	APMPP8804J			5	10	50
2029	Individual	Other than promoter	Others	ASHU AGARWAL	Equity	1		1306130000018780	India	Female	Income Tax PAN	AQIPA1204G			5	10	50
2030	Individual	Other than promoter	Others	VINOD PATEL	Equity	1		1203320094858199	India	Male	Income Tax PAN	AQKPP8919M			5	10	50
2031	Individual	Other than promoter	Others	REVATI RAVINDRA KULKARNI	Equity	1		IN30075710192802	India	Female	Income Tax PAN	AQPPK5934N			5	10	50
2032	Individual	Other than promoter	Others	ATUL BHADANI	Equity	1		IN30302857857362	India	Male	Income Tax PAN	AQQPB4134N			5	10	50
2033	Individual	Other than promoter	Others	DILIP DHARMARAJISING PARDESHI	Equity	1		1201090030654073	India	Male	Income Tax PAN	ARDPP8564A			5	10	50
2034	Individual	Other than promoter	Others	SONAL RANJIT GOHIL	Equity	1		1202060001843501	India	Female	Income Tax PAN	ASCPG9402G			5	10	50
2035	Individual	Other than promoter	Others	JAIDEV SINGH	Equity	1		1208160147445653	India	Male	Income Tax PAN	ASDPS8728C			5	10	50
2036	Individual	Other than promoter	Others	DIPABALI GUPTA BHAYA	Equity	1		IN30290247905366	India	Female	Income Tax PAN	ASUPG0928P			5	10	50
2037	Individual	Other than promoter	Others	DHARMESH SUTHAR	Equity	1		1208940000554412	India	Male	Income Tax PAN	AVZPS7350R			5	10	50
2038	Individual	Other than promoter	Others	AMARTYA PALIT	Equity	1		1208160092562302	India	Male	Income Tax PAN	AWCPP0078K			5	10	50
2039	Individual	Other than promoter	Others	LAYA NIVEATHAAV	Equity	1		IN30429528019613	India	Female	Income Tax PAN	AWEPL9826D			5	10	50
2040	Individual	Other than promoter	Others	LOKESH DALAL	Equity	1		1201130001335365	India	Male	Income Tax PAN	AWIPD6728L			5	10	50
2041	Individual	Other than promoter	Others	SAMAR KESHARI PALTASINGH	Equity	1		1208160050499182	India	Male	Income Tax PAN	AWSPP5976E			5	10	50
2042	Individual	Other than promoter	Others	JASVINDER SINGH	Equity	1		1208160118413415	India	Male	Income Tax PAN	AYUPP3424H			5	10	50
2043	Individual	Other than promoter	Others	DEEPAK MALIK	Equity	1		1208160030467885	India	Male	Income Tax PAN	AZLPM6993N			5	10	50
2044	Individual	Other than promoter	Others	SAURABH JAISWAL	Equity	1		1208250057397971	India	Male	Income Tax PAN	AZSPJ1393E			5	10	50
2045	Individual	Other than promoter	Others	BHAGWAT SINGH PATEL	Equity	1		IN30302868378257	India	Male	Income Tax PAN	BAJPP0906Q			5	10	50

2046	Individual	Other than promoter	Others	URVESHKUMAR VINODBHAI PATEL	Equity	1		1208870162639184	India	Male	Income Tax PAN	BATPP7553B			5	10	50
2047	Individual	Other than promoter	Others	BHANTI CHOWDHURY	Equity	1		IN30302843508850	India	Female	Income Tax PAN	BBHPC1196A			5	10	50
2048	Individual	Other than promoter	Others	NELLORE SHANKAR NARAYANA	Equity	1		1208160000771442	India	Male	Income Tax PAN	BBJPN2441R			5	10	50
2049	Individual	Other than promoter	Others	PALLAVI GHANA	Equity	1		1208670007796332	India	Female	Income Tax PAN	BCDPG5941G			5	10	50
2050	Individual	Other than promoter	Others	SANGEETA RAJESH GOSAR	Equity	1		1208180007249891	India	Female	Income Tax PAN	BCNPG5886N			5	10	50
2051	Individual	Other than promoter	Others	SANDESH NANDKUMAR TAMHANE	Equity	1		1208160038465921	India	Male	Income Tax PAN	BCPPT6675N			5	10	50
2052	Individual	Other than promoter	Others	ANJERAPPA BASAVARAJU	Equity	1		1208160087037271	India	Male	Income Tax PAN	BCVPB8068H			5	10	50
2053	Individual	Other than promoter	Others	BHAVIK PATEL	Equity	1		1208180045133181	India	Male	Income Tax PAN	BDXPP4887M			5	10	50
2054	Individual	Other than promoter	Others	RENUKA DEVI S	Equity	1		IN30021421999872	India	Female	Income Tax PAN	BELPD9809N			5	10	50
2055	Individual	Other than promoter	Others	BALARAM BEHERA	Equity	1		1208250000120513	India	Male	Income Tax PAN	BFSPB5629A			5	10	50
2056	Individual	Other than promoter	Others	PRASHANT KOTHARI	Equity	1		1208160060636829	India	Male	Income Tax PAN	BGPPK5397A			5	10	50
2057	Individual	Other than promoter	Others	CHIPPY JOY.	Equity	1		1208870314604180	India	Female	Income Tax PAN	BGVPC0950R			5	10	50
2058	Individual	Other than promoter	Others	NARENDRA MOHAN SAHARE	Equity	1		1301240005239556	India	Male	Income Tax PAN	BGXPS0540P			5	10	50
2059	Individual	Other than promoter	Others	GANGADHAR DYAVNPALLI	Equity	1		1208160049529339	India	Male	Income Tax PAN	BHKPD0473N			5	10	50
2060	Individual	Other than promoter	Others	ANANYA AGARWAL	Equity	1		1208160090326326	India	Female	Income Tax PAN	BHLPA0569F			5	10	50
2061	Individual	Other than promoter	Others	JATIN KISHORBHAI KACHA	Equity	1		IN30302868806238	India	Male	Income Tax PAN	BHTPK6708A			5	10	50
2062	Individual	Other than promoter	Others	GYAN PRAKASH RAI	Equity	1		1208160020309548	India	Male	Income Tax PAN	BIPPR2249C			5	10	50
2063	Individual	Other than promoter	Others	LVN SHARMA	Equity	1		1203320018031914	India	Male	Income Tax PAN	BKMPS2711P			5	10	50
2064	Individual	Other than promoter	Others	ADITYA RAJENDRA GAIKWAD	Equity	1		1208160013158243	India	Male	Income Tax PAN	BKNPG2691D			5	10	50
2065	Individual	Other than promoter	Others	MANIK MAHajan	Equity	1		IN30051322648628	India	Male	Income Tax PAN	BLDPM8033J			5	10	50
2066	Individual	Other than promoter	Others	KUMARI ANEETA	Equity	1		1208160077031845	India	Female	Income Tax PAN	BONPA5890N			5	10	50
2067	Individual	Other than promoter	Others	SHARAD SUD	Equity	1		1208160006804497	India	Male	Income Tax PAN	BOPPS3099F			5	10	50
2068	Individual	Other than promoter	Others	MOHAMMED ARIF	Equity	1		1208160009189183	India	Male	Income Tax PAN	BPZPA6342C			5	10	50
2069	Individual	Other than promoter	Others	KHUSHBOO AGARWAL	Equity	1		1208870205965184	India	Female	Income Tax PAN	BTUPA8067K			5	10	50
2070	Individual	Other than promoter	Others	VEDHITA RAJENDRA JAIN	Equity	1		1208160040163941	India	Female	Income Tax PAN	BWWPJ5394K			5	10	50

2071	Individual	Other than promoter	Others	ADITI AGARWAL	Equity	1		1208870017524877	India	Female	Income Tax PAN	BXUPA6134K			5	10	50
2072	Individual	Other than promoter	Others	AKSHYA GAUTAM	Equity	1		1208160143102331	India	Male	Income Tax PAN	BZQPG6182B			5	10	50
2073	Individual	Other than promoter	Others	SATHYANARAYANAN SUBRAMANIANKARTHICK	Equity	1		1208040000075021	India	Male	Income Tax PAN	BZQPS1670E			5	10	50
2074	Individual	Other than promoter	Others	SANDESH DILIP KESHWANI	Equity	1		1208870088402694	India	Male	Income Tax PAN	CAWPD6383D			5	10	50
2075	Individual	Other than promoter	Others	PRERNA PAL	Equity	1		1203320182702088	India	Female	Income Tax PAN	CCKPP7383K			5	10	50
2076	Individual	Other than promoter	Others	PANDALKUDI SREE NAARAYANAN SRINIVASAN	Equity	1		1208160019249751	India	Male	Income Tax PAN	CDFPS1945G			5	10	50
2077	Individual	Other than promoter	Others	PATEL HEMILBHAI JIGNESHBHAI	Equity	1		1208180047139539	India	Male	Income Tax PAN	CEHPJ3169N			5	10	50
2078	Individual	Other than promoter	Others	SUMIT BISWAS	Equity	1		1208870015902315	India	Male	Income Tax PAN	CGAPB1757P			5	10	50
2079	Individual	Other than promoter	Others	PRINCE KUMAR SINGH	Equity	1		1208160024547771	India	Male	Income Tax PAN	CILPS6545P			5	10	50
2080	Individual	Other than promoter	Others	SONUPRIYA BEHERA	Equity	1		1208870114408765	India	Female	Income Tax PAN	CLNPB6739F			5	10	50
2081	Individual	Other than promoter	Others	BHARATI PATRA	Equity	1		1203000000978370	India	Female	Income Tax PAN	CQUPP8257J			5	10	50
2082	Individual	Other than promoter	Others	AKSHAY PARAKH	Equity	1		1208160056161893	India	Male	Income Tax PAN	CUBPP7372R			5	10	50
2083	Individual	Other than promoter	Others	JYOTI PATIDAR .	Equity	1		1208870307965975	India	Female	Income Tax PAN	CYKPP7010D			5	10	50
2084	Individual	Other than promoter	Others	RAMARCHA KUMAR	Equity	1		1208160022562852	India	Male	Income Tax PAN	DBGPK5725L			5	10	50
2085	Individual	Other than promoter	Others	JITENDRA TANHAIJ PATIL	Equity	1		1208160067900782	India	Male	Income Tax PAN	DETTP2074D			5	10	50
2086	Individual	Other than promoter	Others	NAYANA MUKESH PATEL	Equity	1		1207210000001688	India	Female	Income Tax PAN	DFIPP5403J			5	10	50
2087	Individual	Other than promoter	Others	SAURABH SINGH	Equity	1		1208160069088132	India	Male	Income Tax PAN	DFWPS5076A			5	10	50
2088	Individual	Other than promoter	Others	RACHNA KUMARI	Equity	1		1203320091946798	India	Female	Income Tax PAN	DLXPK7611G			5	10	50
2089	Individual	Other than promoter	Others	NETHRAVATHI SURESH MOGAVEERA	Equity	1		1203320374490260	India	Female	Income Tax PAN	DRBPM4301R			5	10	50
2090	Individual	Other than promoter	Others	RANJITH RANJITH	Equity	1		1203320345933720	India	Male	Income Tax PAN	DWIPR0987Q			5	10	50
2091	Individual	Other than promoter	Others	SONAM AGARWAL	Equity	1		1208870017971446	India	Female	Income Tax PAN	DYKPA4552G			5	10	50
2092	Individual	Other than promoter	Others	GAURAV SANCHETI	Equity	1		1208160034739026	India	Male	Income Tax PAN	DYNPS1690Q			5	10	50
2093	Individual	Other than promoter	Others	JEEL PATEL	Equity	1		1208870133346764	India	Male	Income Tax PAN	EEKPP1523P			5	10	50
2094	Individual	Other than promoter	Others	PREETI	Equity	1		1208870141398948	India	Female	Income Tax PAN	EZQPP0298N			5	10	50
2095	Individual	Other than promoter	Others	HARMAN KAUR	Equity	1		1208160113960007	India	Female	Income Tax PAN	FGKPK9047Q			5	10	50

2096	Individual	Other than promoter	Others	CHANDRESH SANJAYBHAI SOMAIYA	Equity	1		1208160013135175	India	Male	Income Tax PAN	FLJPS7367R			5	10	50
2097	Individual	Other than promoter	Others	REKHA KUMARI	Equity	1		1208870258029111	India	Female	Income Tax PAN	GMMPK8613P			5	10	50
2098	Individual	Other than promoter	Others	RAJBUPINDER SINGH	Equity	1		1208160149013624	India	Male	Income Tax PAN	HAEPS7386J			5	10	50
2099	Individual	Other than promoter	Others	RAVI DHANYATH	Equity	1		1208870004143270	India	Male	Income Tax PAN	HQTPD7616B			5	10	50
2100	Individual	Other than promoter	Others	KORALAKUNTA VASAVI	Equity	1		1203320381742502	India	Female	Income Tax PAN	IOGPK5902H			5	10	50
2101	Individual	Other than promoter	Others	RANJITH K	Equity	1		1209550011331904	India	Male	Income Tax PAN	KHHPK5900H			5	10	50
2102	Individual	Other than promoter	Others	SHANTI .	Equity	1		1208160150168362	India	Female	Income Tax PAN	NDPPS5638H			5	10	50
2103	Individual	Other than promoter	Others	NANDINI SINGH	Equity	1		1208160119767440	India	Female	Income Tax PAN	OGBPS5794G			5	10	50
2104	Individual	Other than promoter	Others	AAYUSH KANHAIYALAL SHAH	Equity	1		IN30302813052850	India	Male	Income Tax PAN	QJDPS4050Q			5	10	50
2105	Individual	Other than promoter	Others	CHANDU RAMACHANDRAN	Equity	1		IN30021443436575	India	Male	Income Tax PAN	AAVPR8205K			4	10	40
2106	Individual	Other than promoter	Others	SURENDRA VIJAY	Equity	1		1203320280303161	India	Male	Income Tax PAN	ABXPV4059Q			4	10	40
2107	Individual	Other than promoter	Others	MUKESH KUMAR YADAV	Equity	1		1208160074240566	India	Male	Income Tax PAN	AEQPY3621M			4	10	40
2108	Individual	Other than promoter	Others	RATAN KUMAR MISHRA	Equity	1		1208160022967529	India	Male	Income Tax PAN	AEZPM6637E			4	10	40
2109	Individual	Other than promoter	Others	GUMMANUR PRAKASH	Equity	1		1203230003323765	India	Male	Income Tax PAN	AFYPP5533Q			4	10	40
2110	Individual	Other than promoter	Others	EKRAM MAZHAR	Equity	1		IN30154937227282	India	Male	Income Tax PAN	AGDPM6451C			4	10	40
2111	Individual	Other than promoter	Others	VENKATARAMAN S	Equity	1		1208160000200650	India	Male	Income Tax PAN	AGRPV5587G			4	10	40
2112	Individual	Other than promoter	Others	PRAHLADBHAI JASHRAJBHAI PATEL	Equity	1		IN30047641487244	India	Male	Income Tax PAN	AGZPP2542D			4	10	40
2113	Individual	Other than promoter	Others	SAJAD ROHMAN	Equity	1		1208160107089914	India	Male	Income Tax PAN	AHAPR5548R			4	10	40
2114	Individual	Other than promoter	Others	APURVA PADMAKAR UIMATE	Equity	1		1208160013367072	India	Male	Income Tax PAN	AISPU6629D			4	10	40
2115	Individual	Other than promoter	Others	SUMIT AGARWAL	Equity	1		IN30154954660906	India	Male	Income Tax PAN	AJHPA8490L			4	10	40
2116	Individual	Other than promoter	Others	NILESHSINH CHENSINH RAO	Equity	1		IN30302812385567	India	Male	Income Tax PAN	AJIPR9379J			4	10	40
2117	Individual	Other than promoter	Others	ANSHUL GUPTA	Equity	1		IN30302876649842	India	Male	Income Tax PAN	AKBPG2356A			4	10	40
2118	Individual	Other than promoter	Others	S GOVINDARAJU	Equity	1		IN30214810215924	India	Male	Income Tax PAN	AKZPG3769K			4	10	40
2119	Individual	Other than promoter	Others	ARUN SUMER MEHTA	Equity	1		1208870327276891	India	Male	Income Tax PAN	ALFPM9311C			4	10	40
2120	Individual	Other than promoter	Others	VIVEK JAIN	Equity	1		1209550006601317	India	Male	Income Tax PAN	AMTPJ3562D			4	10	40

2121	Individual	Other than promoter	Others	RAVI KUMAR DURGAM	Equity	1		1208430000805403	India	Male	Income Tax PAN	AOFPD7341N			4	10	40
2122	Individual	Other than promoter	Others	GEETA MAHESHWARI	Equity	1		IN30075711291129	India	Female	Income Tax PAN	AOPMP7258J			4	10	40
2123	Individual	Other than promoter	Others	ALANGAR BABU SHETTY	Equity	1		1208160146611776	India	Male	Income Tax PAN	APZPS1144K			4	10	40
2124	Individual	Other than promoter	Others	NURUL BASHAR	Equity	1		1203230003856766	India	Male	Income Tax PAN	AQDPB2902K			4	10	40
2125	Individual	Other than promoter	Others	ASIF FARUK MUJAWAR	Equity	1		1208160056319920	India	Male	Income Tax PAN	AQFPM2727B			4	10	40
2126	Individual	Other than promoter	Others	SUNIL KUMAR BURUJUKINDI	Equity	1		1208160026902633	India	Male	Income Tax PAN	ASGPB6851J			4	10	40
2127	Individual	Other than promoter	Others	PRAVEEN KUMAR SUGGISETTI	Equity	1		1208160049206838	India	Male	Income Tax PAN	AUEPS3243F			4	10	40
2128	Individual	Other than promoter	Others	SREE LATHA ARCHAKAM SATHISH	Equity	1		1208870222250626	India	Female	Income Tax PAN	AUWPA4637R			4	10	40
2129	Individual	Other than promoter	Others	SARITA DIWAN	Equity	1		1208160159573808	India	Female	Income Tax PAN	AVUPD3395E			4	10	40
2130	Individual	Other than promoter	Others	SHREYANK KUMKUMADAHOSUR RAMACHANDRA	Equity	1		1208160059347389	India	Male	Income Tax PAN	AWZPR0280N			4	10	40
2131	Individual	Other than promoter	Others	KALPESH BHAGAVANDAS KUBAVAT	Equity	1		1203600009005360	India	Male	Income Tax PAN	BARPK5348D			4	10	40
2132	Individual	Other than promoter	Others	SAMITH SATHISH	Equity	1		IN30302854309852	India	Male	Income Tax PAN	BGGPS2369F			4	10	40
2133	Individual	Other than promoter	Others	NIKHIL NARESH KUMAR KHICHA	Equity	1		1208160058265551	India	Male	Income Tax PAN	BNTPK7867C			4	10	40
2134	Individual	Other than promoter	Others	SURAJ GULABRAO JADHAV	Equity	1		1208160020933566	India	Male	Income Tax PAN	BNZPJ0804L			4	10	40
2135	Individual	Other than promoter	Others	VADYA AMRUTHAGANESH	Equity	1		1201090032474494	India	Male	Income Tax PAN	BODPA5869R			4	10	40
2136	Individual	Other than promoter	Others	LIYAKAT YUSUB SAYYAD	Equity	1		IN30021438170150	India	Male	Income Tax PAN	BQMPS3876H			4	10	40
2137	Individual	Other than promoter	Others	SUNIL SHARMA	Equity	1		IN30311611172214	India	Male	Income Tax PAN	BQWPS8747R			4	10	40
2138	Individual	Other than promoter	Others	ATUL KALUBHAI BELADIYA	Equity	1		1208160027014245	India	Male	Income Tax PAN	CBFPB8985H			4	10	40
2139	Individual	Other than promoter	Others	ASHWIN VALJIBHAI PITRODA	Equity	1		1208160064997906	India	Male	Income Tax PAN	CQDPP3753Q			4	10	40
2140	Individual	Other than promoter	Others	PURVESH RAMESHBHAI KAKADIYA	Equity	1		1208160072050421	India	Male	Income Tax PAN	CWEPK0768F			4	10	40
2141	Individual	Other than promoter	Others	PANKAJ KUMAR SINGH	Equity	1		1208160017999131	India	Male	Income Tax PAN	CZIPS3254F			4	10	40
2142	Individual	Other than promoter	Others	AVDESH SINGH	Equity	1		1208160139897651	India	Male	Income Tax PAN	DFXPS1910A			4	10	40
2143	Individual	Other than promoter	Others	PRATAP KUMAR SHEE	Equity	1		1208870014464180	India	Male	Income Tax PAN	DPSPS7079D			4	10	40
2144	Individual	Other than promoter	Others	DHRUV GUPTA	Equity	1		1208160127502990	India	Male	Income Tax PAN	DYUPG9468R			4	10	40

2145	Individual	Other than promoter	Others	PRAVEEN SOMANI	Equity	1		1208180026751177	India	Male	Income Tax PAN	EQTPS0036P			4	10	40
2146	Individual	Other than promoter	Others	DIBYASREE BEHERA	Equity	1		1208870250564939	India	Female	Income Tax PAN	EZLPB0752A			4	10	40
2147	Individual	Other than promoter	Others	PANCHU DEVI	Equity	1		1208160104058898	India	Female	Income Tax PAN	FDTPD6980B			4	10	40
2148	Individual	Other than promoter	Others	RAVIKUMAR BHOI	Equity	1		1208870063221725	India	Male	Income Tax PAN	FOVPB4865Q			4	10	40
2149	Individual	Other than promoter	Others	Sapana Suraj Dobhada	Equity	1		1208160174574736	India	Female	Income Tax PAN	GBKPD6910H			4	10	40
2150	Individual	Other than promoter	Others	VISHAL KAMDAR	Equity	1		1208180004176981	India	Male	Income Tax PAN	GMIPK8225H			4	10	40
2151	Individual	Other than promoter	Others	MANGEN SAH	Equity	1		IN30302899943072	India	Male	Income Tax PAN	HTQPS1888Q			4	10	40
2152	Individual	Other than promoter	Others	ARCHANA DEVI	Equity	1		1203320314248851	India	Male	Income Tax PAN	JFHPD0356D			4	10	40
2153	Individual	Other than promoter	Others	RAJESH KUMAR KUSHWAHA	Equity	1		1203320090636804	India	Male	Income Tax PAN	JFIPK2294L			4	10	40
2154	Individual	Other than promoter	Others	RENU SHARMA	Equity	1		1208160090347357	India	Female	Income Tax PAN	JHYP51286L			4	10	40
2155	Individual	Other than promoter	Others	SOHEL TAYYAB SHAIKH	Equity	1		1203320020093073	India	Male	Income Tax PAN	KSOPS8096A			4	10	40
2156	Individual	Other than promoter	Others	SIDHARTH SIDHARTH	Equity	1		1203320218282415	India	Male	Income Tax PAN	LXGPS5572P			4	10	40
2157	Individual	Other than promoter	Others	SONIA.	Equity	1		1203320084735760	India	Female	Income Tax PAN	MTVPS2699B			4	10	40
2158	Individual	Other than promoter	Others	KHAIM SINGH	Equity	1		1208340019396405	India	Male	Income Tax PAN	OAEPS9046E			4	10	40
2159	Individual	Other than promoter	Others	SNIGDHA	Equity	1		IN30051391857361	India	Female	Income Tax PAN	PQCPS7000B			4	10	40
2160	Individual	Other than promoter	Others	SUSHILKUMAR BHOORAMAL	Equity	1		1201260000247906	India	Male	Income Tax PAN	AACP7322G			3	10	30
2161	Entity	Other than promoter	Others	PREM VASANDANI AND SONS	Equity	1		1201910301246050	India	Male	Income Tax PAN	AAIHP4116N			3	10	30
2162	Individual	Other than promoter	Others	ROOP KISHOR SHARMA	Equity	1		1204720011498512	India	Male	Income Tax PAN	AAKPS4951Q			3	10	30
2163	Individual	Other than promoter	Others	SNEH SHARMA	Equity	1		1202060001759445	India	Female	Income Tax PAN	AANPS5745H			3	10	30
2164	Individual	Other than promoter	Others	RAMAN RAMAN	Equity	1		1203320187387348	India	Male	Income Tax PAN	AAPPG2574G			3	10	30
2165	Individual	Other than promoter	Others	SURESHLAL HARCHOMAL DEMBANI	Equity	1		IN30302820504158	India	Male	Income Tax PAN	ABBPD0963D			3	10	30
2166	Individual	Other than promoter	Others	AJAY KAPOOR	Equity	1		IN30154957890477	India	Male	Income Tax PAN	ADHPA3717A			3	10	30
2167	Individual	Other than promoter	Others	MAHMADJUBER FARUKBHAI VAHORA	Equity	1		1208160088441625	India	Male	Income Tax PAN	ADVPV7166Q			3	10	30
2168	Individual	Other than promoter	Others	SACHIN VIJAN	Equity	1		1208160001181459	India	Male	Income Tax PAN	AEEPV9650D			3	10	30
2169	Individual	Other than promoter	Others	RAJESH BHOGAL	Equity	1		1208870002691641	India	Male	Income Tax PAN	AEKPB8266K			3	10	30

2170	Individual	Other than promoter	Others	PRATEEK AGARWAL	Equity	1		1208870012385912	India	Male	Income Tax PAN	AGHPA9091Q			3	10	30
2171	Individual	Other than promoter	Others	RAJESH TIWARI	Equity	1		1204720012631089	India	Male	Income Tax PAN	AGLPT7335G			3	10	30
2172	Individual	Other than promoter	Others	ARE SHIVAJI	Equity	1		1208180010682851	India	Male	Income Tax PAN	AGVPS5718G			3	10	30
2173	Individual	Other than promoter	Others	YOGESH SUNIL TAMBUSKAR	Equity	1		1208160077185514	India	Male	Income Tax PAN	AHFPT2411A			3	10	30
2174	Individual	Other than promoter	Others	RAVI NARAYAN BHANDARY	Equity	1		1203320010962483	India	Male	Income Tax PAN	AHIPB0625M			3	10	30
2175	Individual	Other than promoter	Others	BADRI PRASAD TRIPATHI	Equity	1		1208160032971350	India	Male	Income Tax PAN	AHMPT4247M			3	10	30
2176	Individual	Other than promoter	Others	BINESH KUTTAN	Equity	1		1208160004878854	India	Male	Income Tax PAN	AHSPK3208P			3	10	30
2177	Individual	Other than promoter	Others	PRASHANT GOVARDHAN BHIRUD	Equity	1		IN30051384466773	India	Male	Income Tax PAN	AICPB2252K			3	10	30
2178	Individual	Other than promoter	Others	SAPNA YADAV	Equity	1		1203320013483687	India	Female	Income Tax PAN	AIMPY9349N			3	10	30
2179	Individual	Other than promoter	Others	KEDAR DRAVID	Equity	1		IN30302852302479	India	Male	Income Tax PAN	AJLPD2969H			3	10	30
2180	Individual	Other than promoter	Others	DINESH GAWDE	Equity	1		1203600001117411	India	Male	Income Tax PAN	AKGPG6211M			3	10	30
2181	Individual	Other than promoter	Others	SANCHIT AGARWAL	Equity	1		1208160066814921	India	Male	Income Tax PAN	ALGPA6201Q			3	10	30
2182	Individual	Other than promoter	Others	VINOD KUMAR CHAUDHARY	Equity	1		1208870115529657	India	Male	Income Tax PAN	ALSPC7813L			3	10	30
2183	Individual	Other than promoter	Others	RAHUL DASGUPTA	Equity	1		IN30143681701513	India	Male	Income Tax PAN	AMRPD7669K			3	10	30
2184	Individual	Other than promoter	Others	VENKATARAMANAN MANIKANDAN	Equity	1		1201090025515244	India	Male	Income Tax PAN	AOUPM1977J			3	10	30
2185	Individual	Other than promoter	Others	SANT DAYAL GUPTA	Equity	1		1208180045597005	India	Male	Income Tax PAN	APZPG4347N			3	10	30
2186	Individual	Other than promoter	Others	BADAL JAYESHKUMAR CHANDARANA	Equity	1		1206740000389989	India	Male	Income Tax PAN	ARBPC3139J			3	10	30
2187	Individual	Other than promoter	Others	VINAY ASHOK DESHMANE	Equity	1		1208250003288126	India	Male	Income Tax PAN	ARJPD7060P			3	10	30
2188	Individual	Other than promoter	Others	ANAND MADHUKAR BUGDANE	Equity	1		IN30429527233375	India	Male	Income Tax PAN	ARRPB7007N			3	10	30
2189	Individual	Other than promoter	Others	KAVITHA PARLESHA	Equity	1		1208160015916120	India	Female	Income Tax PAN	ASFPK1088B			3	10	30
2190	Individual	Other than promoter	Others	NUZHAT ALIM KAZI	Equity	1		1208160104185948	India	Female	Income Tax PAN	ASSPK1418Q			3	10	30
2191	Individual	Other than promoter	Others	SACHIDA NAND SINGH	Equity	1		1204720028673376	India	Male	Income Tax PAN	AXCPS7572G			3	10	30
2192	Individual	Other than promoter	Others	ANISHA JOHAR	Equity	1		IN30302863446564	India	Female	Income Tax PAN	AXJPJ2034K			3	10	30
2193	Individual	Other than promoter	Others	DINESH KUMAR	Equity	1		IN30186270324484	India	Male	Income Tax PAN	AXTPK0657P			3	10	30
2194	Individual	Other than promoter	Others	MAKVANA DEVAJIBHAI DAYABHAI	Equity	1		1208160026935927	India	Male	Income Tax PAN	AYZPM3565D			3	10	30

2195	Individual	Other than promoter	Others	SAGAR DUBEY	Equity	1		1208870055162153	India	Male	Income Tax PAN	AZUPD9727A			3	10	30
2196	Individual	Other than promoter	Others	DAKSH MUKESH BOHRA	Equity	1		1201210101039131	India	Male	Income Tax PAN	BBPPB2938B			3	10	30
2197	Individual	Other than promoter	Others	JAGDISH PRASAD MAHAWAR	Equity	1		1208160036295939	India	Male	Income Tax PAN	BDBPM1230M			3	10	30
2198	Individual	Other than promoter	Others	DIPANKAR PAUL	Equity	1		1208870225235019	India	Male	Income Tax PAN	BHDPP0951J			3	10	30
2199	Individual	Other than promoter	Others	SHARMA AMITA	Equity	1		1304140003085331	India	Female	Income Tax PAN	BIGPS2733B			3	10	30
2200	Individual	Other than promoter	Others	DINESH CHAND GAUTAM	Equity	1		1208180042668196	India	Male	Income Tax PAN	BLOPG3938B			3	10	30
2201	Individual	Other than promoter	Others	VIVEK KUMAR SHARMA	Equity	1		1208430004565213	India	Male	Income Tax PAN	BNVPS9159K			3	10	30
2202	Individual	Other than promoter	Others	AMIT KARWASRA	Equity	1		1203320031928683	India	Male	Income Tax PAN	BOIPK7206R			3	10	30
2203	Individual	Other than promoter	Others	Paravada Venkatarao	Equity	1		1208160173204053	India	Male	Income Tax PAN	BPWPV6049E			3	10	30
2204	Individual	Other than promoter	Others	SARIKA DNYANESHWAR DAUNDKAR	Equity	1		1208160088777891	India	Female	Income Tax PAN	BRJPD1931N			3	10	30
2205	Individual	Other than promoter	Others	RISHAYA JEHANGIR PALKHIVALA	Equity	1		1208160055533232	India	Female	Income Tax PAN	BVFPP2205R			3	10	30
2206	Individual	Other than promoter	Others	SOMI OMPRAKASH DEWANGAN	Equity	1		1208870040860971	India	Female	Income Tax PAN	BXYPD4227J			3	10	30
2207	Individual	Other than promoter	Others	JETHARAM PANNALAL PATEL	Equity	1		IN30021433573852	India	Male	Income Tax PAN	BYUPP5772R			3	10	30
2208	Individual	Other than promoter	Others	AKHILESH KUMAR GUPTA	Equity	1		1209550010969841	India	Male	Income Tax PAN	BZCPG9735L			3	10	30
2209	Individual	Other than promoter	Others	NIKHIL PASARI	Equity	1		1208180003709880	India	Male	Income Tax PAN	CITPP4618N			3	10	30
2210	Individual	Other than promoter	Others	SANDEEP SINGH	Equity	1		1208870089467019	India	Male	Income Tax PAN	CJAPS6972C			3	10	30
2211	Individual	Other than promoter	Others	HETAL SIROHIA	Equity	1		1208160146349140	India	Female	Income Tax PAN	CJDPS6826A			3	10	30
2212	Individual	Other than promoter	Others	TANMOY MAZUMDER	Equity	1		1208870016763235	India	Male	Income Tax PAN	CUWPM6594B			3	10	30
2213	Individual	Other than promoter	Others	SHASHI RAJ	Equity	1		1208870007240866	India	Male	Income Tax PAN	CYPPR6794F			3	10	30
2214	Individual	Other than promoter	Others	SUBHRA BARAN PRADHAN	Equity	1		1208870113325533	India	Male	Income Tax PAN	CZOPP8210L			3	10	30
2215	Individual	Other than promoter	Others	PARECHA KIRANKUMAR RAVJIBHAI	Equity	1		1203320093479066	India	Male	Income Tax PAN	DFFPP8656N			3	10	30
2216	Individual	Other than promoter	Others	BIKRAM PINGUA	Equity	1		1208180056752052	India	Male	Income Tax PAN	DIWPP3972F			3	10	30
2217	Individual	Other than promoter	Others	SHUBHANGI NILKANTH SHRIKHANDE	Equity	1		1208870149355183	India	Female	Income Tax PAN	DSAPS4240H			3	10	30
2218	Individual	Other than promoter	Others	MITESHA KAMLESHKUMAR PATEL	Equity	1		IN30051380959285	India	Female	Income Tax PAN	DSJPP8355R			3	10	30
2219	Individual	Other than promoter	Others	VAISHNAVI BADRINATH BHATIYA	Equity	1		1203320184879848	India	Female	Income Tax PAN	DTDPPB1327Q			3	10	30

2220	Individual	Other than promoter	Others	KALAIKOVAN RAJASEKAR	Equity	1		1208870234393312	India	Male	Income Tax PAN	ECJPR6465M			3	10	30
2221	Individual	Other than promoter	Others	PRAMOD KUMAR PATTAJOSHI	Equity	1		1208160009246021	India	Male	Income Tax PAN	EGYPP5123F			3	10	30
2222	Individual	Other than promoter	Others	SATISH KUMAR MAHAWAR	Equity	1		1203320146844407	India	Male	Income Tax PAN	EJPPS5177Q			3	10	30
2223	Individual	Other than promoter	Others	Gangeshwari Devi	Equity	1		1208160122491883	India	Female	Income Tax PAN	EMBPD8960H			3	10	30
2224	Individual	Other than promoter	Others	YASH BIRLA	Equity	1		1208180082871708	India	Male	Income Tax PAN	EMRPP0364P			3	10	30
2225	Individual	Other than promoter	Others	NEELIMA PANDEY	Equity	1		1208160051114898	India	Female	Income Tax PAN	FRHPP5714F			3	10	30
2226	Individual	Other than promoter	Others	RUPINDER KAUR	Equity	1		1208180065186109	India	Female	Income Tax PAN	FRTPK2540C			3	10	30
2227	Individual	Other than promoter	Others	HITANSHU BHAVINKUMAR DAVE	Equity	1		1208870067440047	India	Male	Income Tax PAN	HBKPD4367M			3	10	30
2228	Individual	Other than promoter	Others	AMANDEEP KAUR	Equity	1		1208870122541360	India	Female	Income Tax PAN	HRSPK4516F			3	10	30
2229	Individual	Other than promoter	Others	RAGHUNATH MALLIK	Equity	1		1203320266833306	India	Male	Income Tax PAN	IEHPM9475N			3	10	30
2230	Individual	Other than promoter	Others	CHANDRASEKAR SARAVANAN	Equity	1		1208870216610602	India	Male	Income Tax PAN	IHEPS3485Q			3	10	30
2231	Individual	Other than promoter	Others	SOJITRA RAKESHBHAI VIJAYBHAI	Equity	1		1203320180307438	India	Male	Income Tax PAN	IYGPS4614J			3	10	30
2232	Individual	Other than promoter	Others	NAGENDRA KUMAR	Equity	1		1208160112097817	India	Male	Income Tax PAN	KSKPK5247K			3	10	30
2233	Individual	Other than promoter	Others	SAURABH	Equity	1		IN30021473313311	India	Male	Income Tax PAN	PMSPS8007Q			3	10	30
2234	Individual	Other than promoter	Others	KISHORE AMARNATH VAHI	Equity	1		IN30051322683406	India	Male	Income Tax PAN	AAAPV6609A			2	10	20
2235	Individual	Other than promoter	Others	MILIND LAXMAN INGALE	Equity	1		1208160020987399	India	Male	Income Tax PAN	AABPI0686B			2	10	20
2236	Individual	Other than promoter	Others	RUSHI ANANDAN KARICHALIL	Equity	1		1208160014697948	India	Male	Income Tax PAN	AADPK2647N			2	10	20
2237	Individual	Other than promoter	Others	MOHAMMAD QUAMUDDIN	Equity	1		1208160055909705	India	Male	Income Tax PAN	AAEPQ9682Q			2	10	20
2238	Individual	Other than promoter	Others	KETAN RAVI WADKAR	Equity	1		1208180064763157	India	Male	Income Tax PAN	AAPPW5990A			2	10	20
2239	Individual	Other than promoter	Others	KRISHNA IYER RAMACHANDRAN	Equity	1		IN30075711187969	India	Male	Income Tax PAN	ABAPI4695N			2	10	20
2240	Individual	Other than promoter	Others	DEEPALI DILIP TIRODKAR	Equity	1		IN30051323126211	India	Female	Income Tax PAN	ABBPT1393H			2	10	20
2241	Individual	Other than promoter	Others	MANGESH RATNAKAR GUPTE	Equity	1		1208160101597788	India	Male	Income Tax PAN	ABDPG3729L			2	10	20
2242	Individual	Other than promoter	Others	UTTAM BHIKAJI TETAMBE	Equity	1		1208160152981808	India	Male	Income Tax PAN	ABDPT8159M			2	10	20
2243	Individual	Other than promoter	Others	YOGENDRA KUMAR GUPTA	Equity	1		IN30302871351358	India	Male	Income Tax PAN	ABEPG5578N			2	10	20
2244	Individual	Other than promoter	Others	SHYAM SUNDER AGARWAL	Equity	1		1208160081059341	India	Male	Income Tax PAN	ABFPA5937L			2	10	20

2245	Individual	Other than promoter	Others	NIDHI AGGARWAL	Equity	1		IN30292712080970	India	Female	Income Tax PAN	ABMPA0701B			2	10	20
2246	Individual	Other than promoter	Others	AVINASH INDRAJIT MUDHOLKAR	Equity	1		1203600007673605	India	Male	Income Tax PAN	ABRPM1505C			2	10	20
2247	Individual	Other than promoter	Others	YERNI KUMAR INDUKURI	Equity	1		1205140000177491	India	Male	Income Tax PAN	ACFPI8625N			2	10	20
2248	Individual	Other than promoter	Others	KULDEEP UPADHYAY	Equity	1		1208180068813604	India	Male	Income Tax PAN	ACHPU2376E			2	10	20
2249	Individual	Other than promoter	Others	GAGAN BEHARI MAJHI	Equity	1		1208160132291911	India	Male	Income Tax PAN	ACSPM3810A			2	10	20
2250	Individual	Other than promoter	Others	RAMA KANT TIWARI	Equity	1		1208870080391806	India	Male	Income Tax PAN	ADNPT3612M			2	10	20
2251	Individual	Other than promoter	Others	SACHIN RATHI	Equity	1		1208870176711003	India	Male	Income Tax PAN	ADTPR9766Q			2	10	20
2252	Individual	Other than promoter	Others	JAYANT NATHANI	Equity	1		1208880008011092	India	Male	Income Tax PAN	AEFPN7192F			2	10	20
2253	Individual	Other than promoter	Others	ROHIT TOMAR	Equity	1		IN30302890203186	India	Male	Income Tax PAN	AEGPT7595B			2	10	20
2254	Individual	Other than promoter	Others	AJUA FATMA	Equity	1		1203320196771731	India	Female	Income Tax PAN	AEMPF3285N			2	10	20
2255	Individual	Other than promoter	Others	RANGANATHAN NAGARATHINAM .	Equity	1		1208870304700340	India	Female	Income Tax PAN	AEQPN3814F			2	10	20
2256	Individual	Other than promoter	Others	RAVINDRA C N	Equity	1		1208160000533645	India	Male	Income Tax PAN	AETPC6190G			2	10	20
2257	Individual	Other than promoter	Others	MANJU TOMAR	Equity	1		1201060003634617	India	Female	Income Tax PAN	AEUPT5721R			2	10	20
2258	Individual	Other than promoter	Others	MEENAKSHI SANCHETI	Equity	1		IN30125028954104	India	Female	Income Tax PAN	AFEPB7190R			2	10	20
2259	Individual	Other than promoter	Others	MUNAGALA VENKATA SATISH	Equity	1		1208160042492761	India	Male	Income Tax PAN	AFLPV7081A			2	10	20
2260	Individual	Other than promoter	Others	RAJEEV KUMAR JAISWAL	Equity	1		1208160026812765	India	Male	Income Tax PAN	AFYPJ1447B			2	10	20
2261	Individual	Other than promoter	Others	AVIRAL KUMAR TIWARI	Equity	1		1208870016777362	India	Male	Income Tax PAN	AGBPT6238J			2	10	20
2262	Individual	Other than promoter	Others	BIRBAL NISHAD	Equity	1		1203320059194075	India	Male	Income Tax PAN	AGOPN9921H			2	10	20
2263	Individual	Other than promoter	Others	SATISH ANKUSH PANJARI	Equity	1		IN30290242117416	India	Male	Income Tax PAN	AHBPP6144J			2	10	20
2264	Individual	Other than promoter	Others	RAJENDRAKUMAR BHAGVANJI VEGAD	Equity	1		IN30051384137508	India	Male	Income Tax PAN	AHGPV6013R			2	10	20
2265	Individual	Other than promoter	Others	MANJU VISWAMBHARAN	Equity	1		IN30302811060986	India	Male	Income Tax PAN	AHLPM1404E			2	10	20
2266	Individual	Other than promoter	Others	BHARTI GAJJAR	Equity	1		1203230001915235	India	Female	Income Tax PAN	AHOPC7116L			2	10	20
2267	Individual	Other than promoter	Others	VINEED KARTHIKEYAN KATTIPARAMBILL	Equity	1		1208160112131625	India	Male	Income Tax PAN	AHOPK4730G			2	10	20
2268	Individual	Other than promoter	Others	DHARAMVEER BATHLA	Equity	1		1208160028652869	India	Male	Income Tax PAN	AHSPB4519L			2	10	20
2269	Individual	Other than promoter	Others	MANDAKINI K CHAVAN	Equity	1		IN30311610703147	India	Female	Income Tax PAN	AHVPC6603K			2	10	20

2270	Individual	Other than promoter	Others	VINEET KUMAR YADAV	Equity	1		1208870199205913	India	Male	Income Tax PAN	AHV PY1448G			2	10	20
2271	Individual	Other than promoter	Others	MAYANK RAMESH CHHEDA	Equity	1		1208160002129773	India	Male	Income Tax PAN	AID PC0522E			2	10	20
2272	Individual	Other than promoter	Others	DEBAJYOTI ADHYA	Equity	1		1201910300497594	India	Male	Income Tax PAN	AJG PA8339R			2	10	20
2273	Individual	Other than promoter	Others	NARAYANA MURTHY GUMMULURI	Equity	1		1208160084493431	India	Male	Income Tax PAN	AJTPG8301N			2	10	20
2274	Individual	Other than promoter	Others	RUCHIR GUPTA	Equity	1		1208870179313888	India	Male	Income Tax PAN	AJUPG4270D			2	10	20
2275	Individual	Other than promoter	Others	SWAPNIL BHAKA CHAUDHARY	Equity	1		1208880014955381	India	Male	Income Tax PAN	AKB PC0747P			2	10	20
2276	Individual	Other than promoter	Others	PARVADIYA GORDHAN JIVRAJ .	Equity	1		1201090009002243	India	Male	Income Tax PAN	AKQ PP6458F			2	10	20
2277	Individual	Other than promoter	Others	SANTHOSH KUMAR C S	Equity	1		IN30189510073175	India	Male	Income Tax PAN	AKV PC8700A			2	10	20
2278	Individual	Other than promoter	Others	NIRAV DESAI	Equity	1		1204720005361085	India	Male	Income Tax PAN	ALHPD7450M			2	10	20
2279	Individual	Other than promoter	Others	Rajesh Kumar	Equity	1		1203320384116819	India	Male	Income Tax PAN	ALJPK7406L			2	10	20
2280	Individual	Other than promoter	Others	HARI PRASAD BALACHANDRAN	Equity	1		1208160026705628	India	Male	Income Tax PAN	ALL PB2408B			2	10	20
2281	Individual	Other than promoter	Others	MAHESH M T	Equity	1		1203320043375432	India	Male	Income Tax PAN	ALTPM0542M			2	10	20
2282	Individual	Other than promoter	Others	DEVKI NANDAN YADAV	Equity	1		1203320086850354	India	Male	Income Tax PAN	ALTPY7446G			2	10	20
2283	Individual	Other than promoter	Others	MILAN ATULBHAI HINGU	Equity	1		1208160081011881	India	Male	Income Tax PAN	ALX PH8315H			2	10	20
2284	Individual	Other than promoter	Others	SANJEEV KUMAR DHURWEY	Equity	1		1208160117253964	India	Male	Income Tax PAN	ALZ PD9218K			2	10	20
2285	Individual	Other than promoter	Others	ANIL KUMAR JAIN	Equity	1		IN30021433351466	India	Male	Income Tax PAN	AMAPA4215D			2	10	20
2286	Individual	Other than promoter	Others	GURUBASAYYA .	Equity	1		1208160124341637	India	Male	Income Tax PAN	AME PG4108M			2	10	20
2287	Individual	Other than promoter	Others	KRISHNAN R	Equity	1		IN30131321828907	India	Male	Income Tax PAN	AMMP R7526E			2	10	20
2288	Individual	Other than promoter	Others	NARAYANASAMY JAYARAMAN	Equity	1		1208160074004635	India	Male	Income Tax PAN	AMQP J1766Q			2	10	20
2289	Individual	Other than promoter	Others	BALAJI SESHAGIRI NIDUMOLU	Equity	1		IN30302892044227	India	Male	Income Tax PAN	ANLP B0960E			2	10	20
2290	Individual	Other than promoter	Others	DINESH RAMDEV	Equity	1		1209290001224541	India	Male	Income Tax PAN	ANY PR2551C			2	10	20
2291	Individual	Other than promoter	Others	BALBIR SINGH	Equity	1		IN30267934971440	India	Male	Income Tax PAN	AOC PS2165J			2	10	20
2292	Individual	Other than promoter	Others	HARSHADRAI RAMJIBHAI SURTI	Equity	1		IN30154919125443	India	Male	Income Tax PAN	AOP PS4313H			2	10	20
2293	Individual	Other than promoter	Others	ALOK LALJI MISHRA	Equity	1		1204720032509401	India	Male	Income Tax PAN	AQK PM3644G			2	10	20
2294	Individual	Other than promoter	Others	Sumant kumar behura	Equity	1		1209550020529005	India	Male	Income Tax PAN	ARK PB3304R			2	10	20

2295	Individual	Other than promoter	Others	BUBAI GHOSH	Equity	1		1208160029493709	India	Male	Income Tax PAN	ARUPG7770J			2	10	20
2296	Individual	Other than promoter	Others	TRILOKI NATH KESHARI	Equity	1		1208250011185485	India	Male	Income Tax PAN	ASGPK5991E			2	10	20
2297	Individual	Other than promoter	Others	JAGMAL SINGH	Equity	1		1208160079288078	India	Male	Income Tax PAN	ASGPS0101A			2	10	20
2298	Individual	Other than promoter	Others	KUPPUSAMY GNANAKUMAR	Equity	1		1208160014583332	India	Male	Income Tax PAN	ATOPG8015G			2	10	20
2299	Individual	Other than promoter	Others	SENNIAPPAN MANOHARAN	Equity	1		1208160091047155	India	Male	Income Tax PAN	AUSPM0385N			2	10	20
2300	Individual	Other than promoter	Others	MRINMOY MONDAL	Equity	1		1208160019612961	India	Male	Income Tax PAN	AUTPM5939P			2	10	20
2301	Individual	Other than promoter	Others	SRINIVASU MUTTA	Equity	1		1208160097484956	India	Male	Income Tax PAN	AVKPM6918N			2	10	20
2302	Individual	Other than promoter	Others	RANGAIAH KRISHNAMURTHY	Equity	1		1208160040108358	India	Male	Income Tax PAN	AVNPK4209M			2	10	20
2303	Individual	Other than promoter	Others	BRIJESH DUTT	Equity	1		1208160009913872	India	Male	Income Tax PAN	AWCPD0209J			2	10	20
2304	Individual	Other than promoter	Others	AVISHEK PATEL	Equity	1		IN30290244837263	India	Male	Income Tax PAN	AWFPP0312B			2	10	20
2305	Individual	Other than promoter	Others	DEEPAK CHOUDHARY	Equity	1		IN30051380864187	India	Male	Income Tax PAN	AWIPC9391C			2	10	20
2306	Individual	Other than promoter	Others	GUDIYA VERMA	Equity	1		1208870208035611	India	Female	Income Tax PAN	AWKPV6168L			2	10	20
2307	Individual	Other than promoter	Others	NEHA AGARWAL	Equity	1		IN30302828441230	India	Female	Income Tax PAN	AXJPA0465H			2	10	20
2308	Individual	Other than promoter	Others	RAVI HEGDE.	Equity	1		1208870316322696	India	Male	Income Tax PAN	AYEPR4422R			2	10	20
2309	Individual	Other than promoter	Others	SHANTINATH BABURAO SELUKAR	Equity	1		1208180103199776	India	Male	Income Tax PAN	AZYP54325F			2	10	20
2310	Individual	Other than promoter	Others	SURESH KUMARS	Equity	1		IN30021418938880	India	Male	Income Tax PAN	BACPS6002B			2	10	20
2311	Individual	Other than promoter	Others	PHOOL CHANDRA	Equity	1		IN30302835958134	India	Male	Income Tax PAN	BAGPP9203H			2	10	20
2312	Individual	Other than promoter	Others	DEEPTI GOENKA	Equity	1		1208160000709890	India	Female	Income Tax PAN	BAJPG5691R			2	10	20
2313	Individual	Other than promoter	Others	ANURADHA GURU	Equity	1		IN30154936057429	India	Female	Income Tax PAN	BBGPG4333Q			2	10	20
2314	Individual	Other than promoter	Others	DIMPLE.	Equity	1		1209290007132757	India	Female	Income Tax PAN	BCJPD3186Q			2	10	20
2315	Individual	Other than promoter	Others	JITENDER.	Equity	1		1208160032671305	India	Male	Income Tax PAN	BDUPJ0667G			2	10	20
2316	Individual	Other than promoter	Others	VIVEKANAND MAURYA	Equity	1		1204720002693709	India	Male	Income Tax PAN	BESPM3847N			2	10	20
2317	Individual	Other than promoter	Others	DHANRAJ GURJAR	Equity	1		1203320107698120	India	Male	Income Tax PAN	BEWPG3209J			2	10	20
2318	Individual	Other than promoter	Others	SINGANA RAJAREDDY	Equity	1		1208870063703719	India	Male	Income Tax PAN	BFEPR2214B			2	10	20
2319	Individual	Other than promoter	Others	KANDHASWAMY GOUNDER	Equity	1		1203320138652260	India	Male	Income Tax PAN	BFOPS7033F			2	10	20

2320	Individual	Other than promoter	Others	AJAY KUMAR	Equity	1		1208160098875446	India	Male	Income Tax PAN	BFWPK3594K			2	10	20
2321	Individual	Other than promoter	Others	ASHLESH MURALIDHAR	Equity	1		1208160147185092	India	Male	Income Tax PAN	BGCPM3670H			2	10	20
2322	Individual	Other than promoter	Others	SOMISETTI BR KRISHNA MURTHY .	Equity	1		1201090010188964	India	Male	Income Tax PAN	BIPPS4893F			2	10	20
2323	Individual	Other than promoter	Others	NIKESH HIRALAL SHAH	Equity	1		IN30034310664924	India	Male	Income Tax PAN	BITPS7227M			2	10	20
2324	Individual	Other than promoter	Others	RAMACHANDRAIAH KOTRAKONA	Equity	1		1203320024643014	India	Male	Income Tax PAN	BIYPK2654K			2	10	20
2325	Individual	Other than promoter	Others	RANJITHA RAO	Equity	1		1208160134412605	India	Female	Income Tax PAN	BJYPR9908N			2	10	20
2326	Individual	Other than promoter	Others	SWATI SONI	Equity	1		1208160099494049	India	Female	Income Tax PAN	BKXPP5995B			2	10	20
2327	Individual	Other than promoter	Others	ABHISHEK KUMAR	Equity	1		1208160001668835	India	Male	Income Tax PAN	BLSPK0566M			2	10	20
2328	Individual	Other than promoter	Others	AMIT BABAJI PIMPARKAR	Equity	1		1208160031174967	India	Male	Income Tax PAN	BMDPP9433J			2	10	20
2329	Individual	Other than promoter	Others	SUTHAR SHILPABEN	Equity	1		IN30021437371722	India	Female	Income Tax PAN	BMRPS3908P			2	10	20
2330	Individual	Other than promoter	Others	SWATI SAGARIKA PADHI	Equity	1		1208160157295030	India	Female	Income Tax PAN	BNEPP5345P			2	10	20
2331	Individual	Other than promoter	Others	NEHA RANI	Equity	1		1208160037748322	India	Female	Income Tax PAN	BPTPR0466L			2	10	20
2332	Individual	Other than promoter	Others	RAHUL CHAWLA	Equity	1		1208160021929261	India	Male	Income Tax PAN	BPYPC7441H			2	10	20
2333	Individual	Other than promoter	Others	POOJA KAMLESH TIWARI	Equity	1		1208870203716401	India	Female	Income Tax PAN	BQZPT7497J			2	10	20
2334	Individual	Other than promoter	Others	SANMATI DEVI	Equity	1		1208870067281050	India	Female	Income Tax PAN	BRPPD0432E			2	10	20
2335	Individual	Other than promoter	Others	Santosh sharma	Equity	1		1208160160468241	India	Male	Income Tax PAN	BRZPS5451G			2	10	20
2336	Individual	Other than promoter	Others	RADHA MUJALDA	Equity	1		1208160017083013	India	Female	Income Tax PAN	BSAPM5785R			2	10	20
2337	Individual	Other than promoter	Others	AVINASH MANOHAR GHEVADE	Equity	1		1208340005967725	India	Male	Income Tax PAN	BTCPA0215K			2	10	20
2338	Individual	Other than promoter	Others	PUNYODAYA KUMAR	Equity	1		1208160013552021	India	Male	Income Tax PAN	BTZPK4420R			2	10	20
2339	Individual	Other than promoter	Others	SUNNYPRAKASH . MEKA	Equity	1		1208180104499191	India	Male	Income Tax PAN	BVAPM3842G			2	10	20
2340	Individual	Other than promoter	Others	KANCHAN .	Equity	1		1208880004530382	India	Female	Income Tax PAN	BWDPK1134M			2	10	20
2341	Individual	Other than promoter	Others	SUMAN MANDAL	Equity	1		1208870136705501	India	Male	Income Tax PAN	BXMPM5249R			2	10	20
2342	Individual	Other than promoter	Others	ANIL KUMAR PANDEY	Equity	1		1209550010753561	India	Male	Income Tax PAN	BXSPP8864K			2	10	20
2343	Individual	Other than promoter	Others	MUKESH KUMAR KUMHAR	Equity	1		1208160106037659	India	Male	Income Tax PAN	BZEPK9521N			2	10	20
2344	Individual	Other than promoter	Others	SARTHAK GUPTA	Equity	1		1208160012586051	India	Male	Income Tax PAN	BZYPG8792D			2	10	20

2345	Individual	Other than promoter	Others	NAGARGOJE RAMHARI TUKARAM	Equity	1		1209600000053293	India	Male	Income Tax PAN	CAKPN8349H			2	10	20
2346	Individual	Other than promoter	Others	SAMA LAXMA REDDY	Equity	1		1203320093114961	India	Male	Income Tax PAN	CCHPR5246J			2	10	20
2347	Individual	Other than promoter	Others	SUNIL YADAV	Equity	1		1208160025032580	India	Male	Income Tax PAN	CCWPS4771G			2	10	20
2348	Individual	Other than promoter	Others	GOPINATH DHAMODHARAN	Equity	1		IN30302874452681	India	Male	Income Tax PAN	CDZPG3815P			2	10	20
2349	Individual	Other than promoter	Others	PREMCHAND SAROJ	Equity	1		1208870143170146	India	Male	Income Tax PAN	CMNPS2403Q			2	10	20
2350	Individual	Other than promoter	Others	Surendra Kumar	Equity	1		1203320045551188	India	Male	Income Tax PAN	CNJPK3453K			2	10	20
2351	Individual	Other than promoter	Others	ANAGHA SANDEEP PHADAKE	Equity	1		IN30154954843277	India	Female	Income Tax PAN	CPQPK0069E			2	10	20
2352	Individual	Other than promoter	Others	SAGAR KISAN AVATADE	Equity	1		1203320097521991	India	Male	Income Tax PAN	CRIPA3388L			2	10	20
2353	Individual	Other than promoter	Others	KUNDAN KUMAR	Equity	1		1208160004767811	India	Male	Income Tax PAN	CSWPK6541A			2	10	20
2354	Individual	Other than promoter	Others	PRAVINABEN PRAVINCHANDRA RAVAL	Equity	1		1201090033876661	India	Female	Income Tax PAN	CVPPR5797F			2	10	20
2355	Individual	Other than promoter	Others	RAJESH KUMAR	Equity	1		1203320384116819	India	Male	Income Tax PAN	DETPK4692J			2	10	20
2356	Individual	Other than promoter	Others	PRADEEP ASHOK PUJDEKAR	Equity	1		1203320082169181	India	Male	Income Tax PAN	DGZPP8389H			2	10	20
2357	Individual	Other than promoter	Others	ADITYA ANUP GUPTA	Equity	1		1208160134668481	India	Male	Income Tax PAN	DHUPG7506K			2	10	20
2358	Individual	Other than promoter	Others	RAJ BUX SINGH	Equity	1		IN30302843214351	India	Male	Income Tax PAN	DLBPS9836P			2	10	20
2359	Individual	Other than promoter	Others	PRIYAM SINGH	Equity	1		1208160074132989	India	Male	Income Tax PAN	DMGPS7080R			2	10	20
2360	Individual	Other than promoter	Others	VANNI MALHOTRA	Equity	1		1208870265448525	India	Female	Income Tax PAN	DTTPM1192J			2	10	20
2361	Individual	Other than promoter	Others	TEJAS KIRTIKUMAR SHAH	Equity	1		1208180033883236	India	Male	Income Tax PAN	DWPPS6736F			2	10	20
2362	Individual	Other than promoter	Others	SURYA TEJA REDDY BIMCHARLA	Equity	1		1208180013912672	India	Male	Income Tax PAN	DWZPB2488F			2	10	20
2363	Individual	Other than promoter	Others	SUMITKUMAR VINODKUMAR BARIYA	Equity	1		1208870144194325	India	Male	Income Tax PAN	DZTPB3541L			2	10	20
2364	Individual	Other than promoter	Others	SHAHID REZA	Equity	1		1208880036503602	India	Male	Income Tax PAN	EEBPR8921C			2	10	20
2365	Individual	Other than promoter	Others	MUSTI SAI NAGA VAISHNAVI	Equity	1		1208880047382823	India	Female	Income Tax PAN	ELBPM0466C			2	10	20
2366	Individual	Other than promoter	Others	RANVIJAY SINGH	Equity	1		1208870019353196	India	Male	Income Tax PAN	EOIPS3637P			2	10	20
2367	Individual	Other than promoter	Others	ANKIT SHANDIL	Equity	1		1208670010427559	India	Male	Income Tax PAN	ERNPS7231B			2	10	20
2368	Individual	Other than promoter	Others	MANJU DEVI	Equity	1		1208160079660621	India	Female	Income Tax PAN	ESWPD9262F			2	10	20
2369	Individual	Other than promoter	Others	RINKU PAL	Equity	1		1208160091437824	India	Female	Income Tax PAN	EXQPP1179C			2	10	20

2370	Individual	Other than promoter	Others	SANGEETA SHARMA	Equity	1		1203320227970371	India	Female	Income Tax PAN	FLAPS4690N			2	10	20
2371	Individual	Other than promoter	Others	JINAY MUKESHKUMAR MEHTA	Equity	1		IN30302850914471	India	Male	Income Tax PAN	FLMPM7636G			2	10	20
2372	Individual	Other than promoter	Others	ANURAG SAHU	Equity	1		1208870038460637	India	Male	Income Tax PAN	FOCPS6870F			2	10	20
2373	Individual	Other than promoter	Others	KENIL JAYPRAKASH PATEL	Equity	1		1208870055715982	India	Male	Income Tax PAN	FRMPP7017L			2	10	20
2374	Individual	Other than promoter	Others	NIKITA ARVINDKUMAR SANGHVI	Equity	1		1601430104532165	India	Female	Income Tax PAN	FSOPS3107R			2	10	20
2375	Individual	Other than promoter	Others	RESHMA SAJIKUMARI	Equity	1		1203320084003056	India	Female	Income Tax PAN	GARPS9727P			2	10	20
2376	Individual	Other than promoter	Others	SUJEET KUMAR	Equity	1		1208870010415198	India	Male	Income Tax PAN	GCIPK7629R			2	10	20
2377	Individual	Other than promoter	Others	. PUNAM	Equity	1		1208340002786541	India	Female	Income Tax PAN	GFJPP6926J			2	10	20
2378	Individual	Other than promoter	Others	PUTHOOR SIMON SAIJU	Equity	1		1203320237731094	India	Male	Income Tax PAN	GIBPS9263L			2	10	20
2379	Individual	Other than promoter	Others	SARITA SINGH	Equity	1		1208160022287769	India	Female	Income Tax PAN	GYOPS0506M			2	10	20
2380	Individual	Other than promoter	Others	Sahil Balaram Mange	Equity	1		1208160171976044	India	Male	Income Tax PAN	HASPM7660H			2	10	20
2381	Individual	Other than promoter	Others	Swetha Bk	Equity	1		1209550035639084	India	Female	Income Tax PAN	HPWPS8154D			2	10	20
2382	Individual	Other than promoter	Others	ARKESH KUMAR	Equity	1		1203320261875852	India	Male	Income Tax PAN	IOIPK7994K			2	10	20
2383	Individual	Other than promoter	Others	AIJAZ MOHSIN SYED	Equity	1		IN30302837249541	India	Male	Income Tax PAN	IRPPS1033D			2	10	20
2384	Individual	Other than promoter	Others	SACHIN KUMAR	Equity	1		1208160115317661	India	Male	Income Tax PAN	JJZPK0484B			2	10	20
2385	Individual	Other than promoter	Others	SOURABH SHIL	Equity	1		1208870061391221	India	Male	Income Tax PAN	NNIPS4138D			2	10	20
2386	Individual	Other than promoter	Others	TANVI ISHWARLAL SONEJI	Equity	1		1208870075314748	India	Female	Income Tax PAN	NZOPS8198M			2	10	20
2387	Individual	Other than promoter	Others	YOGESH KUMAR KHANNA	Equity	1		1208670012672421	India	Male	Income Tax PAN	AAAPK5001H			1	10	10
2388	Individual	Other than promoter	Others	GIRRAJ KISHOR AGRAWAL	Equity	1		1204470031155561	India	Male	Income Tax PAN	AABPA4928N			1	10	10
2389	Individual	Other than promoter	Others	LAKSHMINARAYANAN RAMANUJAM	Equity	1		IN30290242890162	India	Male	Income Tax PAN	AABPL4023D			1	10	10
2390	Individual	Other than promoter	Others	MUKESH JETHALAL PANCHANL	Equity	1		1202870000011457	India	Male	Income Tax PAN	AACPP2227L			1	10	10
2391	Individual	Other than promoter	Others	STEPHEN STANISLAUS VAZ	Equity	1		IN30267933336412	India	Male	Income Tax PAN	AADPV5360M			1	10	10
2392	Individual	Other than promoter	Others	RAVINDRA CHINTAMANI WADKAR	Equity	1		1204470018167413	India	Male	Income Tax PAN	AADPW5577H			1	10	10
2393	Individual	Other than promoter	Others	SANJAY VARMA	Equity	1		1208870068490271	India	Male	Income Tax PAN	AAEPV8151B			1	10	10
2394	Individual	Other than promoter	Others	VIMLABEN JAIN	Equity	1		IN30302813403874	India	Female	Income Tax PAN	AAHPJ9808Q			1	10	10

2395	Individual	Other than promoter	Others	NARAYAN RAMRAO SIRDESAI	Equity	1		IN30302852720910	India	Male	Income Tax PAN	AAHPS2434F			1	10	10
2396	Individual	Other than promoter	Others	RAJAVELU KULANDAIVADIVELU	Equity	1		IN30143684472136	India	Male	Income Tax PAN	AAIPR1195H			1	10	10
2397	Individual	Other than promoter	Others	NARESH KUMAR MANOCHA	Equity	1		1208160133967099	India	Male	Income Tax PAN	AAJPM6041J			1	10	10
2398	Individual	Other than promoter	Others	AVINASH TODWAL	Equity	1		1208160047858347	India	Male	Income Tax PAN	AALPT0226E			1	10	10
2399	Individual	Other than promoter	Others	DIRESH KUMAR AGARWAL	Equity	1		IN30143692497273	India	Male	Income Tax PAN	AAMPA4393E			1	10	10
2400	Entity	Other than promoter	Others	ASHOK KUMAR BACHHAWAT HUF	Equity	1		1201210100564746	India	Male	Income Tax PAN	AAOHA9870L			1	10	10
2401	Individual	Other than promoter	Others	SANJAY BHIIKA BRAMHANKAR	Equity	1		1202290000459097	India	Male	Income Tax PAN	AAOPB8899G			1	10	10
2402	Individual	Other than promoter	Others	VENKATESH ENJAMOORI	Equity	1		1208160010337334	India	Male	Income Tax PAN	AAPPE7862F			1	10	10
2403	Individual	Other than promoter	Others	FAKHRUDEEN FAKHRUDEEN	Equity	1		1203320254181346	India	Male	Income Tax PAN	AAPPF7569N			1	10	10
2404	Individual	Other than promoter	Others	RAMESHWAR RAMCHANDRA THUBE	Equity	1		1208160088026966	India	Male	Income Tax PAN	AAQPT8015J			1	10	10
2405	Individual	Other than promoter	Others	UMESH INGALE	Equity	1		1601430104947952	India	Male	Income Tax PAN	AAUPI2144K			1	10	10
2406	Individual	Other than promoter	Others	NEERAJ BHATIA	Equity	1		1203320019093523	India	Female	Income Tax PAN	AAWPB1797K			1	10	10
2407	Individual	Other than promoter	Others	VIJAYKUMAR JAGJIVANBHAI RUPERA	Equity	1		1204720018307106	India	Male	Income Tax PAN	AAWPR0149M			1	10	10
2408	Individual	Other than promoter	Others	MADAN KISANGOPAL RATHI	Equity	1		1201090000078671	India	Male	Income Tax PAN	AAXPR0631F			1	10	10
2409	Individual	Other than promoter	Others	SHIVSHANKAR YADAV	Equity	1		1208160115025828	India	Male	Income Tax PAN	AAXPY1479N			1	10	10
2410	Individual	Other than promoter	Others	RAJARSHI DUTTA	Equity	1		1203320135090560	India	Male	Income Tax PAN	AAZPD7572K			1	10	10
2411	Individual	Other than promoter	Others	FINA FRANCIS	Equity	1		IN30177416593948	India	Female	Income Tax PAN	AAZPF2260N			1	10	10
2412	Individual	Other than promoter	Others	MELAGANGULLI RESHMA RAJENDRA PAI	Equity	1		IN30021422712148	India	Female	Income Tax PAN	ABAPP1543L			1	10	10
2413	Individual	Other than promoter	Others	NEEHAR GHOSH	Equity	1		IN30154962052574	India	Male	Income Tax PAN	ABBPG2601H			1	10	10
2414	Individual	Other than promoter	Others	PANDURANG RAJARAM DHAVALE	Equity	1		1301240002685919	India	Male	Income Tax PAN	ABFPD3837Q			1	10	10
2415	Individual	Other than promoter	Others	SANTOSHKUMAR SAMODH YADAV	Equity	1		1208160028626591	India	Male	Income Tax PAN	ABFPY2163C			1	10	10
2416	Individual	Other than promoter	Others	MAHESH PUSHARAM BHOOTRA	Equity	1		1201090011786155	India	Male	Income Tax PAN	ABHPB2911M			1	10	10
2417	Individual	Other than promoter	Others	SANJAY DIGAMBER PALKAR.	Equity	1		1204720037895800	India	Male	Income Tax PAN	ABIPP3624J			1	10	10
2418	Individual	Other than promoter	Others	AMOD RATANCHAND MEHTA	Equity	1		IN30290241183744	India	Male	Income Tax PAN	ABJPM1176B			1	10	10
2419	Individual	Other than promoter	Others	VINOD KUMAR JAIN	Equity	1		1208870156454037	India	Male	Income Tax PAN	ABRPJ0144L			1	10	10

2420	Individual	Other than promoter	Others	DEEPAK SHANTWAN JADHAV	Equity	1		1204720004465110	India	Male	Income Tax PAN	ABTPJ7112N			1	10	10
2421	Individual	Other than promoter	Others	MANJUNATHA	Equity	1		IN30226914355521	India	Male	Income Tax PAN	ABVPM1149E			1	10	10
2422	Individual	Other than promoter	Others	BHARAT YADAV	Equity	1		1203320052416661	India	Male	Income Tax PAN	ABVPY7849K			1	10	10
2423	Individual	Other than promoter	Others	VIKRAM ASHOKKUMAR JAIN	Equity	1		1208160011077275	India	Male	Income Tax PAN	ABYPV1968R			1	10	10
2424	Individual	Other than promoter	Others	VASIREDDY KIRAN KUMAR	Equity	1		IN30290244140637	India	Male	Income Tax PAN	ABZPV4375M			1	10	10
2425	Individual	Other than promoter	Others	SUJATHA VYTLA	Equity	1		1208160103242546	India	Female	Income Tax PAN	ACAPV0530E			1	10	10
2426	Individual	Other than promoter	Others	PRAVEEN GOVINDPRASAD LAKHOTIYA	Equity	1		1201090001129993	India	Male	Income Tax PAN	ACDPL2643K			1	10	10
2427	Individual	Other than promoter	Others	SAJIT MADHAVAN NAMBIAR	Equity	1		1208180042579659	India	Male	Income Tax PAN	ACEPN7805N			1	10	10
2428	Individual	Other than promoter	Others	ASHWIN GUPTA	Equity	1		1204720013365759	India	Male	Income Tax PAN	ACFPG8032R			1	10	10
2429	Individual	Other than promoter	Others	SACHIN TAMB	Equity	1		1201330000795437	India	Male	Income Tax PAN	ACIPT4417G			1	10	10
2430	Individual	Other than promoter	Others	VAIJAYANTI DILEEP KALMANKAR	Equity	1		IN30267935193703	India	Female	Income Tax PAN	ACLPK1567H			1	10	10
2431	Individual	Other than promoter	Others	RAJESH YADAV	Equity	1		1203320004660993	India	Male	Income Tax PAN	ACMPY3472A			1	10	10
2432	Individual	Other than promoter	Others	KIRAN SHASHIKANT LIMAYE	Equity	1		1204370000627726	India	Male	Income Tax PAN	ACOPL3087A			1	10	10
2433	Individual	Other than promoter	Others	VINAYAK UPENDRA NAIK	Equity	1		1208870166902671	India	Male	Income Tax PAN	ACPPN4146B			1	10	10
2434	Individual	Other than promoter	Others	AYUBKHAN MOHAMMEDKHAN MALEK	Equity	1		IN30177412531118	India	Male	Income Tax PAN	ACSPM2716K			1	10	10
2435	Individual	Other than promoter	Others	VINOD ANAND	Equity	1		1204470011813777	India	Male	Income Tax PAN	ACTPA9794Q			1	10	10
2436	Individual	Other than promoter	Others	Amresh Laxman	Equity	1		IN30281410672083	India	Male	Income Tax PAN	ACXPL4384R			1	10	10
2437	Individual	Other than promoter	Others	FARHEEN FATIMA	Equity	1		IN30021457040257	India	Female	Income Tax PAN	ACYPF8812H			1	10	10
2438	Individual	Other than promoter	Others	SANJAY RAMCHANDRA YADAV	Equity	1		1208870018761467	India	Male	Income Tax PAN	ACYPY0655R			1	10	10
2439	Individual	Other than promoter	Others	MANOJ BHARDWAJ	Equity	1		IN30021416069104	India	Male	Income Tax PAN	ADAPB0093P			1	10	10
2440	Individual	Other than promoter	Others	KANHAIYA LAL	Equity	1		1208160004436900	India	Male	Income Tax PAN	ADAPL7118H			1	10	10
2441	Individual	Other than promoter	Others	UMESHA RAO B	Equity	1		IN30044110184562	India	Male	Income Tax PAN	ADFPR0152G			1	10	10
2442	Individual	Other than promoter	Others	MANJU DEVI BOTHRA	Equity	1		IN30143694135516	India	Female	Income Tax PAN	ADIPB2681D			1	10	10
2443	Individual	Other than promoter	Others	NAGESH KUMAR GANTA	Equity	1		1208160073387490	India	Male	Income Tax PAN	ADMPC8817G			1	10	10
2444	Individual	Other than promoter	Others	RAJESH VISWAMBHARAN	Equity	1		1208880022183818	India	Male	Income Tax PAN	ADPPV2483C			1	10	10

2445	Individual	Other than promoter	Others	VIJAY KUMAR YADAV	Equity	1		1208160061812832	India	Male	Income Tax PAN	ADTPY4174F			1	10	10
2446	Individual	Other than promoter	Others	GOVIND MURLIDHAR JOSHI	Equity	1		IN30290249863385	India	Male	Income Tax PAN	ADZPJ9340C			1	10	10
2447	Individual	Other than promoter	Others	SURAJ WADHWANI	Equity	1		1208160036192046	India	Male	Income Tax PAN	AEAPW3629R			1	10	10
2448	Individual	Other than promoter	Others	RAJENDRA SAKIBANDA	Equity	1		1208870049439248	India	Male	Income Tax PAN	AEDPJ5005M			1	10	10
2449	Individual	Other than promoter	Others	SATISH CHANDRA TIWARI	Equity	1		1208160008851804	India	Male	Income Tax PAN	AEEPT6221J			1	10	10
2450	Individual	Other than promoter	Others	PREM SHANKER KHETAN	Equity	1		IN30051390894937	India	Male	Income Tax PAN	AEJPK9772L			1	10	10
2451	Individual	Other than promoter	Others	ALOKE HALDER	Equity	1		1208870189570177	India	Male	Income Tax PAN	AELPH0467D			1	10	10
2452	Individual	Other than promoter	Others	Nitaben Pinakin Marfatia	Equity	1		1208160181134877	India	Female	Income Tax PAN	AEMPM3308P			1	10	10
2453	Individual	Other than promoter	Others	TUSHAR VIJAY BHATTE	Equity	1		IN30302852111127	India	Male	Income Tax PAN	AEOPB8173M			1	10	10
2454	Individual	Other than promoter	Others	VIJAYSINH MANUSINH VAGHELA	Equity	1		1203320044065317	India	Male	Income Tax PAN	AEOPV6092D			1	10	10
2455	Individual	Other than promoter	Others	HASSAN MURIGAPPA MAHESH	Equity	1		1208160047859224	India	Male	Income Tax PAN	AEQPM0096N			1	10	10
2456	Individual	Other than promoter	Others	PRAFULCHANDRA VASANTLAL SONI	Equity	1		1201910001514581	India	Male	Income Tax PAN	AESPS1351N			1	10	10
2457	Individual	Other than promoter	Others	ATUL BHARTIYA	Equity	1		IN30290243216668	India	Male	Income Tax PAN	AEUPB7344E			1	10	10
2458	Individual	Other than promoter	Others	S SUKUMARA PILLAI	Equity	1		IN30189510032207	India	Male	Income Tax PAN	AEUPP5868D			1	10	10
2459	Individual	Other than promoter	Others	JITENDRA MUKUND MAHAJAN	Equity	1		1208160024919323	India	Male	Income Tax PAN	AEVPM1929B			1	10	10
2460	Individual	Other than promoter	Others	SANGEETA MOHTA	Equity	1		IN30021413336106	India	Female	Income Tax PAN	AEWPM2091R			1	10	10
2461	Individual	Other than promoter	Others	BODDEDA SURYA CHANDRA RAJU	Equity	1		1208160058161005	India	Male	Income Tax PAN	AEXPR6889K			1	10	10
2462	Individual	Other than promoter	Others	DEEPAK YADAV	Equity	1		IN30302860444702	India	Male	Income Tax PAN	AFAPY5657A			1	10	10
2463	Individual	Other than promoter	Others	KRISHNATH DATTATRAY KALBAR	Equity	1		1208160042353955	India	Male	Income Tax PAN	AFCPK3674H			1	10	10
2464	Individual	Other than promoter	Others	AUN BAHADUR	Equity	1		IN30290242959815	India	Male	Income Tax PAN	AFDPB8629L			1	10	10
2465	Individual	Other than promoter	Others	PRASAD RAMESH NARKAR	Equity	1		1208160114918021	India	Male	Income Tax PAN	AFGPN7350F			1	10	10
2466	Individual	Other than promoter	Others	ASHOKA RAMAKRISHNA POTTI	Equity	1		1208160050084326	India	Male	Income Tax PAN	AFJPP7674P			1	10	10
2467	Individual	Other than promoter	Others	ARVIND RAMGOPAL BOHRA	Equity	1		1208160125746269	India	Male	Income Tax PAN	AFLPB6825Q			1	10	10
2468	Individual	Other than promoter	Others	M NARENDRABABU	Equity	1		IN30611450416642	India	Male	Income Tax PAN	AFMPN2326M			1	10	10
2469	Individual	Other than promoter	Others	VIKAS TIBRA	Equity	1		1208160049866999	India	Male	Income Tax PAN	AFMPT3438C			1	10	10

2470	Individual	Other than promoter	Others	HOTCHAND VASUDEV MAHESHWARI	Equity	1		IN30164510326689	India	Male	Income Tax PAN	AFRPM1111Q			1	10	10
2471	Individual	Other than promoter	Others	ROHTAS KUMAR GOEL	Equity	1		IN30020610768237	India	Male	Income Tax PAN	AFTPQ9960R			1	10	10
2472	Individual	Other than promoter	Others	KAVITA BHARDWAJ	Equity	1		IN30021417262842	India	Female	Income Tax PAN	AFWPB1587Q			1	10	10
2473	Individual	Other than promoter	Others	SANJAY KUMAR KEDIA	Equity	1		1204880000425465	India	Male	Income Tax PAN	AFYPK1749P			1	10	10
2474	Individual	Other than promoter	Others	RAJPAL CHANCHAL SINGH	Equity	1		1203320027584593	India	Male	Income Tax PAN	AFZPS1990K			1	10	10
2475	Individual	Other than promoter	Others	BIPIN RATILAL SANGHAVI	Equity	1		1201800000015674	India	Male	Income Tax PAN	AGBPS7524A			1	10	10
2476	Individual	Other than promoter	Others	SANJEEV KUMAR AGARWAL	Equity	1		1208160069052650	India	Male	Income Tax PAN	AGGPA1871P			1	10	10
2477	Individual	Other than promoter	Others	ABHAY SURYAKANT KULKARNI	Equity	1		1208160031936662	India	Male	Income Tax PAN	AGOPK9859P			1	10	10
2478	Individual	Other than promoter	Others	SANJEEV KUMAR	Equity	1		1208870209273000	India	Male	Income Tax PAN	AGXPK7796A			1	10	10
2479	Individual	Other than promoter	Others	KAPIL MULLICK	Equity	1		1208160070378779	India	Male	Income Tax PAN	AGXPM0576C			1	10	10
2480	Individual	Other than promoter	Others	DEBABRATA BHANDARI	Equity	1		1208160017714783	India	Male	Income Tax PAN	AHBPB9465E			1	10	10
2481	Individual	Other than promoter	Others	DEVENDRA MANAKLAL SHAH	Equity	1		1203320006200607	India	Male	Income Tax PAN	AHbps6279D			1	10	10
2482	Individual	Other than promoter	Others	ASHEESH AGRAWAL	Equity	1		1208160034638718	India	Male	Income Tax PAN	AHJPA2447H			1	10	10
2483	Individual	Other than promoter	Others	PRECILLA LAWRENCE DSOUZA	Equity	1		1208160082270276	India	Female	Income Tax PAN	AHKPD0580F			1	10	10
2484	Individual	Other than promoter	Others	LAL SINGH BHATI	Equity	1		1208160076581672	India	Male	Income Tax PAN	AHMPB5692E			1	10	10
2485	Individual	Other than promoter	Others	GAYATHRI RADHAKRISHNAN	Equity	1		1208160005902841	India	Female	Income Tax PAN	AHYPR5006Q			1	10	10
2486	Individual	Other than promoter	Others	ABU TALEB SHEIKH	Equity	1		1208870116557494	India	Male	Income Tax PAN	AIDPT2488A			1	10	10
2487	Individual	Other than promoter	Others	DEBABRATA DEBNATH .	Equity	1		1201090001520012	India	Male	Income Tax PAN	AIEPD6228R			1	10	10
2488	Individual	Other than promoter	Others	NIROMAND HOMI GOLWALLA	Equity	1		IN30220111286435	India	Male	Income Tax PAN	AIEPG8671P			1	10	10
2489	Individual	Other than promoter	Others	KOTI KIRAN MYLAVARAPU	Equity	1		IN30051323395905	India	Male	Income Tax PAN	AIEPM9105G			1	10	10
2490	Individual	Other than promoter	Others	ATMA PRAKASH VATSAYAN	Equity	1		1208180002792599	India	Male	Income Tax PAN	AIIPV7650B			1	10	10
2491	Individual	Other than promoter	Others	MAHENDRA KUMAR BOHRA	Equity	1		1204470020059172	India	Male	Income Tax PAN	AIKPB9539R			1	10	10
2492	Individual	Other than promoter	Others	NAGENDRA KUMAR N	Equity	1		IN30023914685155	India	Male	Income Tax PAN	AIKPN7129D			1	10	10
2493	Individual	Other than promoter	Others	GERALD MANOHARAN	Equity	1		IN30154955528879	India	Male	Income Tax PAN	AILPM4485C			1	10	10
2494	Individual	Other than promoter	Others	BADRI NARAYAN DAGA	Equity	1		IN30039415789276	India	Male	Income Tax PAN	AIQPD0799R			1	10	10

2495	Individual	Other than promoter	Others	SURYA KANTA BARAHA	Equity	1		1208160039557617	India	Male	Income Tax PAN	AISPB4337R			1	10	10
2496	Individual	Other than promoter	Others	BORUAH RAJEN	Equity	1		1208160037156034	India	Male	Income Tax PAN	AITPR7042L			1	10	10
2497	Individual	Other than promoter	Others	SHILAJA S	Equity	1		IN30131322102864	India	Female	Income Tax PAN	AIVPS6609L			1	10	10
2498	Individual	Other than promoter	Others	ALPANA DUTT	Equity	1		1201090037669791	India	Female	Income Tax PAN	AJAPD8408N			1	10	10
2499	Individual	Other than promoter	Others	MEENAKSHI BERI	Equity	1		1208870135331119	India	Female	Income Tax PAN	AJCPB6592R			1	10	10
2500	Individual	Other than promoter	Others	TS NISHANTH	Equity	1		1203320014549084	India	Male	Income Tax PAN	AJFPN3536J			1	10	10
2501	Individual	Other than promoter	Others	ICHALAPADY AJAY SHETTY	Equity	1		1208160075965629	India	Male	Income Tax PAN	AJNPA3082C			1	10	10
2502	Individual	Other than promoter	Others	RAHUL JAIN	Equity	1		1208180031503618	India	Male	Income Tax PAN	AJOPJ9797N			1	10	10
2503	Individual	Other than promoter	Others	SUMAN GUPTA	Equity	1		1208160057447507	India	Female	Income Tax PAN	AJRPG1180F			1	10	10
2504	Individual	Other than promoter	Others	BHOOP SINGH SHARMA	Equity	1		1201090018922179	India	Male	Income Tax PAN	AKJPS5800M			1	10	10
2505	Individual	Other than promoter	Others	SANTOSH TUKARAM PAWAR	Equity	1		1208160024956826	India	Male	Income Tax PAN	AKLPP8068Q			1	10	10
2506	Individual	Other than promoter	Others	SAIKAT DHAR	Equity	1		IN30021438626131	India	Male	Income Tax PAN	AKNPD6062C			1	10	10
2507	Individual	Other than promoter	Others	HITESHBHAI DHIRUBHAI GALANI	Equity	1		1208340003035003	India	Male	Income Tax PAN	AKZPG2288B			1	10	10
2508	Individual	Other than promoter	Others	ANKIREDDY GANGIREDDY	Equity	1		1205270000070425	India	Male	Income Tax PAN	ALCPA0171H			1	10	10
2509	Individual	Other than promoter	Others	GAWANKAR DEEPAK SHANTARAM	Equity	1		IN30082911851122	India	Male	Income Tax PAN	ALCPG1272D			1	10	10
2510	Individual	Other than promoter	Others	SRINIVAS MODEKURTI	Equity	1		IN30267933383819	India	Male	Income Tax PAN	ALCPM5884F			1	10	10
2511	Individual	Other than promoter	Others	MICHAEL AJIN MILTON	Equity	1		1208870120053609	India	Male	Income Tax PAN	ALDPA4469P			1	10	10
2512	Individual	Other than promoter	Others	SAPAN YOGESHKUMAR DESAI	Equity	1		1208160047548207	India	Male	Income Tax PAN	ALIPD3904B			1	10	10
2513	Individual	Other than promoter	Others	SAWAN YADAV	Equity	1		1203320103590017	India	Male	Income Tax PAN	ALSPY2666F			1	10	10
2514	Individual	Other than promoter	Others	MUNAZZA IFTEKHARUL HAQUE	Equity	1		IN30154959876827	India	Female	Income Tax PAN	ALTPH3340N			1	10	10
2515	Individual	Other than promoter	Others	MINI GEORGE	Equity	1		IN30267936731023	India	Female	Income Tax PAN	ALUPK9434B			1	10	10
2516	Individual	Other than promoter	Others	SWATI MAHAJAN	Equity	1		1208880001615841	India	Female	Income Tax PAN	ALUPM3127H			1	10	10
2517	Individual	Other than promoter	Others	KULDEEP SINGH	Equity	1		1208160110711835	India	Male	Income Tax PAN	ALYPS2324N			1	10	10
2518	Individual	Other than promoter	Others	KRISHNA NAND PAL	Equity	1		1208880027997726	India	Male	Income Tax PAN	ALZPP4805G			1	10	10
2519	Individual	Other than promoter	Others	SATISH KUMAR	Equity	1		IN30302854802218	India	Male	Income Tax PAN	AMBPK4680M			1	10	10

2520	Individual	Other than promoter	Others	VIKAS BHARDWAJ	Equity	1		IN30154932140299	India	Male	Income Tax PAN	AMDPB8335L			1	10	10
2521	Individual	Other than promoter	Others	NAGENDIRAN NAGENDIRAN	Equity	1		1208530006599470	India	Male	Income Tax PAN	AMDPN9763C			1	10	10
2522	Individual	Other than promoter	Others	VIKAS THALOR	Equity	1		1208160004074998	India	Male	Income Tax PAN	AMHPT0472C			1	10	10
2523	Individual	Other than promoter	Others	TARIQ ALI KHAN	Equity	1		1208430000514681	India	Male	Income Tax PAN	AMJPK2017J			1	10	10
2524	Individual	Other than promoter	Others	CHITANAND KUMAR	Equity	1		1208870053333114	India	Male	Income Tax PAN	AMOPK2167Q			1	10	10
2525	Individual	Other than promoter	Others	ANMOL JAIN	Equity	1		1208160021919804	India	Male	Income Tax PAN	AMVPJ1383L			1	10	10
2526	Individual	Other than promoter	Others	PATIL KIRAN GHANASHYAM	Equity	1		IN30611442460760	India	Male	Income Tax PAN	AMVPP4581A			1	10	10
2527	Individual	Other than promoter	Others	NAJEEBUR REHMAN ALI	Equity	1		1208870070964308	India	Male	Income Tax PAN	AMZPA0663N			1	10	10
2528	Individual	Other than promoter	Others	RAJESH DHANKHAR	Equity	1		1208160081223861	India	Male	Income Tax PAN	ANAPD5091K			1	10	10
2529	Individual	Other than promoter	Others	MOHAMMEDBILAL.	Equity	1		1201260000288468	India	Male	Income Tax PAN	ANDPM9682J			1	10	10
2530	Individual	Other than promoter	Others	SANGRAM KESARI BISOI	Equity	1		IN30290243999834	India	Male	Income Tax PAN	ANIPB9790M			1	10	10
2531	Individual	Other than promoter	Others	PRITI VIJAY YADAV	Equity	1		1208160030000579	India	Female	Income Tax PAN	ANIPY4720A			1	10	10
2532	Individual	Other than promoter	Others	RAMAKRISHNAPPA SRINIVASAN	Equity	1		1208160060985301	India	Male	Income Tax PAN	ANMPS7019J			1	10	10
2533	Individual	Other than promoter	Others	MANJULA MACHA	Equity	1		1208180000098458	India	Female	Income Tax PAN	ANPPM4081P			1	10	10
2534	Individual	Other than promoter	Others	OMKAR DEEPAK GAWANKAR	Equity	1		IN30082911717312	India	Male	Income Tax PAN	ANRPG0098A			1	10	10
2535	Individual	Other than promoter	Others	VINAY KUMAR SINGH	Equity	1		1208880000444975	India	Male	Income Tax PAN	ANSPS4155R			1	10	10
2536	Individual	Other than promoter	Others	FALGUNI KIRTIBHAI SHAH	Equity	1		1203320003084135	India	Female	Income Tax PAN	AOBPS0398N			1	10	10
2537	Individual	Other than promoter	Others	KRISHNA.	Equity	1		1601430105728538	India	Male	Income Tax PAN	AOIPK3897B			1	10	10
2538	Individual	Other than promoter	Others	SANTI KUMAR MONDAL	Equity	1		1201910300466903	India	Male	Income Tax PAN	AOKPM5474L			1	10	10
2539	Individual	Other than promoter	Others	RAMAKANT GUPTA	Equity	1		1208160006120563	India	Male	Income Tax PAN	AOOPG4361E			1	10	10
2540	Individual	Other than promoter	Others	ASHWANI KUMAR	Equity	1		IN30302854593715	India	Male	Income Tax PAN	AOOPK7459P			1	10	10
2541	Individual	Other than promoter	Others	SURAJ SANJEEVA NAYAK	Equity	1		1201910000205171	India	Male	Income Tax PAN	AOZPN1450J			1	10	10
2542	Individual	Other than promoter	Others	DHARMESH BHIKHABHAI GOTI	Equity	1		1208160032572730	India	Male	Income Tax PAN	APIPG5696K			1	10	10
2543	Individual	Other than promoter	Others	POOJA RAMNARESH YADAV	Equity	1		1208870080292433	India	Female	Income Tax PAN	APJPY5988H			1	10	10
2544	Individual	Other than promoter	Others	RAGHUNATH SHANKAR MORE	Equity	1		1208160020075938	India	Male	Income Tax PAN	APLPM1362D			1	10	10

2545	Individual	Other than promoter	Others	SIMA AJAY AJMERA	Equity	1		IN30302825546974	India	Female	Income Tax PAN	APTPA8487M			1	10	10
2546	Individual	Other than promoter	Others	SHALINI ANAND MANE	Equity	1		IN30260310244559	India	Female	Income Tax PAN	AQCPM7688J			1	10	10
2547	Individual	Other than promoter	Others	SHWETA GUPTA	Equity	1		1208160108160228	India	Female	Income Tax PAN	AQFPG6025L			1	10	10
2548	Individual	Other than promoter	Others	SAIDULU MUKKIDI	Equity	1		1208160000614285	India	Male	Income Tax PAN	AQPPM1497C			1	10	10
2549	Individual	Other than promoter	Others	AJAYKUMAR RAMCHANDRA DALAVI	Equity	1		1208160089411756	India	Male	Income Tax PAN	AQRPD4227H			1	10	10
2550	Individual	Other than promoter	Others	DHARIWAL TARUN O	Equity	1		IN30021421182513	India	Male	Income Tax PAN	AQSPD7175R			1	10	10
2551	Individual	Other than promoter	Others	BASISETTY VASANTHA KUMAR	Equity	1		1208160072624365	India	Male	Income Tax PAN	AQUPV6134E			1	10	10
2552	Individual	Other than promoter	Others	MANOJ KUMAR	Equity	1		1208160037579484	India	Male	Income Tax PAN	AQVPM9889L			1	10	10
2553	Individual	Other than promoter	Others	ROHIT GARG	Equity	1		1208250005117738	India	Male	Income Tax PAN	ARFPG3482L			1	10	10
2554	Individual	Other than promoter	Others	SANTOSH SONI	Equity	1		1208670007541430	India	Male	Income Tax PAN	ARLPS8300H			1	10	10
2555	Individual	Other than promoter	Others	SHAILENDRA KASLIWAL	Equity	1		IN30198310664405	India	Male	Income Tax PAN	AROPK9897L			1	10	10
2556	Individual	Other than promoter	Others	PURUSHOTTAM KUMAR SINGH	Equity	1		1208160087019292	India	Male	Income Tax PAN	AROPS6971K			1	10	10
2557	Individual	Other than promoter	Others	BHARATBHAI PURSOTTAMBHAI MOKANI	Equity	1		1208870168407131	India	Male	Income Tax PAN	ASDPM6378G			1	10	10
2558	Individual	Other than promoter	Others	ALEX M GEORGE	Equity	1		1208870029459474	India	Male	Income Tax PAN	ASJPG4844K			1	10	10
2559	Individual	Other than promoter	Others	PATEL SANDIPBHAI GOVINDBHAI	Equity	1		1208160141528682	India	Male	Income Tax PAN	ASJPP2882Q			1	10	10
2560	Individual	Other than promoter	Others	PRIYADARSHAN MAHANA	Equity	1		1203320026722929	India	Male	Income Tax PAN	ASPPM1962L			1	10	10
2561	Individual	Other than promoter	Others	ASHOKBHAI JASVANTBHAI CHAUDHARI	Equity	1		1208870015773869	India	Male	Income Tax PAN	ASRPC1010H			1	10	10
2562	Individual	Other than promoter	Others	Rajnish Kumar	Equity	1		1209550034589429	India	Male	Income Tax PAN	ASSPK3230A			1	10	10
2563	Individual	Other than promoter	Others	SUJATA JAGANNATH PAGARE	Equity	1		IN30051318905150	India	Female	Income Tax PAN	ATEPP8172F			1	10	10
2564	Individual	Other than promoter	Others	PAYAL NILESH PATEL	Equity	1		1203320027781537	India	Female	Income Tax PAN	ATJPP8455C			1	10	10
2565	Individual	Other than promoter	Others	SILVI KURIAN	Equity	1		1208160008272810	India	Female	Income Tax PAN	ATQPK2588J			1	10	10
2566	Individual	Other than promoter	Others	SHIVABALAK KUMAR KUSHWAHA	Equity	1		1209550003938411	India	Male	Income Tax PAN	ATXPK0772D			1	10	10
2567	Individual	Other than promoter	Others	SUHAS BABURAO GHADAGE	Equity	1		1208160090501233	India	Male	Income Tax PAN	ATYPG6610M			1	10	10
2568	Individual	Other than promoter	Others	PUJA BISWAS	Equity	1		1208160154458063	India	Female	Income Tax PAN	AUVPB1112F			1	10	10
2569	Individual	Other than promoter	Others	OM PRAKASH	Equity	1		1208160075058974	India	Male	Income Tax PAN	AVOPP1546M			1	10	10

2570	Individual	Other than promoter	Others	KRUSHNA MADHUKAR NIKAM	Equity	1		IN30302866632915	India	Male	Income Tax PAN	AVRPN6055A			1	10	10
2571	Individual	Other than promoter	Others	MADHANAGOPAL THARUN IYER	Equity	1		1208160067653547	India	Male	Income Tax PAN	AVUPT3330M			1	10	10
2572	Individual	Other than promoter	Others	ARVINDBHAI RAMJIBHAI GELANI	Equity	1		1208160051059514	India	Male	Income Tax PAN	AWBPG0997P			1	10	10
2573	Individual	Other than promoter	Others	SAPNABEN MULCHANDANI	Equity	1		IN30002012033393	India	Female	Income Tax PAN	AWBPM7896D			1	10	10
2574	Individual	Other than promoter	Others	Atul Kumar Yadav	Equity	1		1209550022378219	India	Male	Income Tax PAN	AWHPY1971F			1	10	10
2575	Individual	Other than promoter	Others	BRIJESHWAR KUMAR	Equity	1		1205420000703520	India	Male	Income Tax PAN	AWKPK2611H			1	10	10
2576	Individual	Other than promoter	Others	ARVIND VITTHALBHAI PATOLIYA	Equity	1		IN30021435699384	India	Male	Income Tax PAN	AWMPP7920Q			1	10	10
2577	Individual	Other than promoter	Others	YOGESHBHAI JAYSUKHLAL TRIVEDI	Equity	1		1208160023506847	India	Male	Income Tax PAN	AWSPT0313R			1	10	10
2578	Individual	Other than promoter	Others	CHETAN S	Equity	1		1208160005068812	India	Male	Income Tax PAN	AWUPC5552B			1	10	10
2579	Individual	Other than promoter	Others	VIJAYARAJ .	Equity	1		1208870090329123	India	Male	Income Tax PAN	AWVPV2141C			1	10	10
2580	Individual	Other than promoter	Others	VINOD POPAT ADAGLE	Equity	1		1208160071784036	India	Male	Income Tax PAN	AXCPA2869C			1	10	10
2581	Individual	Other than promoter	Others	AVISHKA ASHOK ..	Equity	1		1208870350653890	India	Female	Income Tax PAN	AXGPA1663E			1	10	10
2582	Individual	Other than promoter	Others	NAKUL SHANTILAL BOKADIA	Equity	1		IN30160410833550	India	Male	Income Tax PAN	AXVPB6095Q			1	10	10
2583	Individual	Other than promoter	Others	VISHAL AGARWAL	Equity	1		1208160001526162	India	Male	Income Tax PAN	AYBPA7911M			1	10	10
2584	Individual	Other than promoter	Others	AJITH B	Equity	1		IN30302857452903	India	Male	Income Tax PAN	AYGPA1330B			1	10	10
2585	Individual	Other than promoter	Others	PRAVIN BHIKANRAO PATIL	Equity	1		1208160016035550	India	Male	Income Tax PAN	AYYPP1720E			1	10	10
2586	Individual	Other than promoter	Others	KIRAN PRABHAKAR KOONA	Equity	1		1208880001340580	India	Male	Income Tax PAN	AZDPK0963C			1	10	10
2587	Individual	Other than promoter	Others	PRASHANT JAISWAL	Equity	1		1203320030022863	India	Male	Income Tax PAN	AZRPJ5994J			1	10	10
2588	Individual	Other than promoter	Others	MINAKSHI CHAURASIYA	Equity	1		1203320097953067	India	Female	Income Tax PAN	AZZPC0317Q			1	10	10
2589	Individual	Other than promoter	Others	VIKAS .	Equity	1		1208870120196192	India	Male	Income Tax PAN	BAAPV4708F			1	10	10
2590	Individual	Other than promoter	Others	KAPIL VIJ	Equity	1		1203320108723335	India	Male	Income Tax PAN	BAAPV7531A			1	10	10
2591	Individual	Other than promoter	Others	GAURI MAHESH PASTE	Equity	1		1208160014723922	India	Female	Income Tax PAN	BAEPP0912P			1	10	10
2592	Individual	Other than promoter	Others	NARENDAR KATUKAM	Equity	1		1208160073261004	India	Male	Income Tax PAN	BAJPK8000L			1	10	10
2593	Individual	Other than promoter	Others	PRASHANT BHAGWANING KACHAWA	Equity	1		IN30302839788580	India	Male	Income Tax PAN	BAKPK8249N			1	10	10
2594	Individual	Other than promoter	Others	RAJU DAS .	Equity	1		1208870281521267	India	Male	Income Tax PAN	BANPD0728E			1	10	10

2595	Individual	Other than promoter	Others	NEETA KUMARI	Equity	1		1203320080422731	India	Female	Income Tax PAN	BAWPK6163K			1	10	10
2596	Individual	Other than promoter	Others	Supratim Sarkar	Equity	1		1209550023986423	India	Male	Income Tax PAN	BAXPS5928R			1	10	10
2597	Individual	Other than promoter	Others	DEEPAK KUMAR	Equity	1		1208160017041948	India	Male	Income Tax PAN	BAYPK8215J			1	10	10
2598	Individual	Other than promoter	Others	RICHA SINGH	Equity	1		IN30115123330061	India	Male	Income Tax PAN	BAZPS4166B			1	10	10
2599	Individual	Other than promoter	Others	SUNIL KUMAR BHAT	Equity	1		1208870079096301	India	Male	Income Tax PAN	BBXPB2744M			1	10	10
2600	Individual	Other than promoter	Others	ARCHANA KUMARI	Equity	1		1205420000994444	India	Female	Income Tax PAN	BBYPK6732M			1	10	10
2601	Individual	Other than promoter	Others	BHARTIBEN GHANSHYAMBHAI	Equity	1		1203230004552764	India	Female	Income Tax PAN	BCIPA8766Q			1	10	10
2602	Individual	Other than promoter	Others	SOURAVH SRIVASTAVA	Equity	1		1208870048601045	India	Male	Income Tax PAN	BCNPS1438Q			1	10	10
2603	Individual	Other than promoter	Others	Akshaya V	Equity	1		1208160166612283	India	Female	Income Tax PAN	BCOPA4214K			1	10	10
2604	Individual	Other than promoter	Others	KRISHNAKANT RAI	Equity	1		1208870203131323	India	Male	Income Tax PAN	BCSPR9080A			1	10	10
2605	Individual	Other than promoter	Others	SHRUTI RAI	Equity	1		IN30302865579190	India	Female	Income Tax PAN	BDDPR3628A			1	10	10
2606	Individual	Other than promoter	Others	ADITYA SHANKER	Equity	1		1208880009976422	India	Male	Income Tax PAN	BDKPS8139N			1	10	10
2607	Individual	Other than promoter	Others	SAHIL MEHTA	Equity	1		1208160072327650	India	Male	Income Tax PAN	BDNPM7447J			1	10	10
2608	Individual	Other than promoter	Others	ASHISH KUMAR PATHAK	Equity	1		1208160068674267	India	Male	Income Tax PAN	BDPPP8438J			1	10	10
2609	Individual	Other than promoter	Others	NILESH VASANT PINGALE	Equity	1		1208870057284593	India	Male	Income Tax PAN	BEKPP7926R			1	10	10
2610	Individual	Other than promoter	Others	SIVANESH KUMAR.S	Equity	1		IN30169610666892	India	Male	Income Tax PAN	BFFPS3439J			1	10	10
2611	Individual	Other than promoter	Others	SIMARANI JENA .	Equity	1		IN30611465983486	India	Female	Income Tax PAN	BFLPJ1131C			1	10	10
2612	Individual	Other than promoter	Others	DINESH KUMHAR	Equity	1		1208160022096750	India	Male	Income Tax PAN	BFQPK2340H			1	10	10
2613	Individual	Other than promoter	Others	RAHUL RAVINDRA KULKARNI	Equity	1		1203320006127761	India	Male	Income Tax PAN	BFTP1568Q			1	10	10
2614	Individual	Other than promoter	Others	VINOD RAO MARAM	Equity	1		1208160072718392	India	Male	Income Tax PAN	BGLPM8522K			1	10	10
2615	Individual	Other than promoter	Others	SUDIPTA SEN	Equity	1		IN30302876719550	India	Male	Income Tax PAN	BGRPD7816D			1	10	10
2616	Individual	Other than promoter	Others	HARIKESH KUMAR	Equity	1		1208160035984592	India	Male	Income Tax PAN	BGVPK6253M			1	10	10
2617	Individual	Other than promoter	Others	SNEHIL ANAND	Equity	1		1208160063892268	India	Male	Income Tax PAN	BGXPA0867K			1	10	10
2618	Individual	Other than promoter	Others	PRASHANT GOPAL KOLI	Equity	1		1204470018047725	India	Male	Income Tax PAN	BHBPK5026K			1	10	10
2619	Individual	Other than promoter	Others	SAHAYA TONY LOUIS JUSTIN	Equity	1		1208180021014669	India	Male	Income Tax PAN	BHFPL4343A			1	10	10

2620	Individual	Other than promoter	Others	MAHADEO TUKARAM SUTAR	Equity	1		1208160074279885	India	Male	Income Tax PAN	BHPPS9839C			1	10	10
2621	Individual	Other than promoter	Others	HIRA SINGH	Equity	1		1208870054781626	India	Male	Income Tax PAN	BHZPS3252D			1	10	10
2622	Individual	Other than promoter	Others	RAJAVEL RASIKARANJANI	Equity	1		1208160139031480	India	Female	Income Tax PAN	BIQPR1885R			1	10	10
2623	Individual	Other than promoter	Others	DEEPAK KUMAR SHARMA	Equity	1		1201090001624187	India	Male	Income Tax PAN	BIVPS0249H			1	10	10
2624	Individual	Other than promoter	Others	BHASKARJYOTI TAMULI	Equity	1		1208180070577946	India	Male	Income Tax PAN	BIWPT5244C			1	10	10
2625	Individual	Other than promoter	Others	NEHA BAGARIA	Equity	1		IN30302881548117	India	Female	Income Tax PAN	BIYPB1431R			1	10	10
2626	Individual	Other than promoter	Others	ABHIRUP BHOWMIK	Equity	1		1208870192975344	India	Male	Income Tax PAN	BIYPB9803R			1	10	10
2627	Individual	Other than promoter	Others	VISHAL PRAKASH GADADHE	Equity	1		1208160022450303	India	Male	Income Tax PAN	BJFPG3277E			1	10	10
2628	Individual	Other than promoter	Others	SRIRAM VENKATESWARAN	Equity	1		1208880053024809	India	Male	Income Tax PAN	BJXPV0393L			1	10	10
2629	Individual	Other than promoter	Others	SUNIL KUMAR SHRIVASTAVA	Equity	1		1208870037658212	India	Male	Income Tax PAN	BKMPS2786Q			1	10	10
2630	Individual	Other than promoter	Others	PALASH BISWAS	Equity	1		1208870005342124	India	Male	Income Tax PAN	BKNPB8077Q			1	10	10
2631	Individual	Other than promoter	Others	SARITA DINESH GUPTA	Equity	1		1208870272125237	India	Female	Income Tax PAN	BKOPG9655A			1	10	10
2632	Individual	Other than promoter	Others	VIJAYA SHANTHI	Equity	1		1208160041306909	India	Female	Income Tax PAN	BKOPV0268C			1	10	10
2633	Individual	Other than promoter	Others	RADHIKA GUPTA	Equity	1		1209550005347109	India	Female	Income Tax PAN	BKPPG6933C			1	10	10
2634	Individual	Other than promoter	Others	SHAKTI AMAN	Equity	1		1208160132203931	India	Male	Income Tax PAN	BLEPA5347L			1	10	10
2635	Individual	Other than promoter	Others	PRAKASH KUMBAR	Equity	1		1208160022756272	India	Male	Income Tax PAN	BLFPP4314P			1	10	10
2636	Individual	Other than promoter	Others	RAVI KUMAR	Equity	1		1208160038372771	India	Male	Income Tax PAN	BLZPK2892R			1	10	10
2637	Individual	Other than promoter	Others	RAYEESUDDIN MOHD	Equity	1		1208160031317764	India	Male	Income Tax PAN	BMJPM7930B			1	10	10
2638	Individual	Other than promoter	Others	SANTOSH GHORMARE	Equity	1		1208160153894157	India	Male	Income Tax PAN	BMMPG8517K			1	10	10
2639	Individual	Other than promoter	Others	SWARAJ CHADHA	Equity	1		1204470008649915	India	Male	Income Tax PAN	BMNPS1761A			1	10	10
2640	Individual	Other than promoter	Others	SAURABH ANILBHAI JAIN	Equity	1		1208180001807581	India	Male	Income Tax PAN	BMZPJ1954N			1	10	10
2641	Individual	Other than promoter	Others	SATISH KUMAR PARIDA	Equity	1		IN30302866478585	India	Male	Income Tax PAN	BNCPP0227Q			1	10	10
2642	Individual	Other than promoter	Others	TANAY SAHAY	Equity	1		IN30311610438037	India	Male	Income Tax PAN	BNXPS5052F			1	10	10
2643	Individual	Other than promoter	Others	RAMKUMAR PERIYASAMY	Equity	1		1203320092351506	India	Male	Income Tax PAN	BNYPR2889C			1	10	10
2644	Individual	Other than promoter	Others	ABBAS ANWAR	Equity	1		120960000400020	India	Male	Income Tax PAN	BOGPA0730J			1	10	10

2645	Individual	Other than promoter	Others	AKSHAY ANIL DHAWALE	Equity	1		1208160058723258	India	Male	Income Tax PAN	BOIPD0080E			1	10	10
2646	Individual	Other than promoter	Others	RAVI PRAKASH AKHAND SINGH	Equity	1		1208870140932360	India	Male	Income Tax PAN	BOOPS9851L			1	10	10
2647	Individual	Other than promoter	Others	VIKAS KUMAR ATRAY	Equity	1		1208870075499513	India	Male	Income Tax PAN	BOVPK5370R			1	10	10
2648	Individual	Other than promoter	Others	SHAIK AFZAL AHMED	Equity	1		1208160061024815	India	Male	Income Tax PAN	BPDPA4522E			1	10	10
2649	Individual	Other than promoter	Others	SANTHANA KRISHNAN KARTHICK	Equity	1		1208160097156157	India	Male	Income Tax PAN	BQAPK9448K			1	10	10
2650	Individual	Other than promoter	Others	RUPAM PHUKON	Equity	1		1208180060118294	India	Male	Income Tax PAN	BQJPP2422H			1	10	10
2651	Individual	Other than promoter	Others	RUPAM MISHRA	Equity	1		1208160020094511	India	Male	Income Tax PAN	BQWPM3842F			1	10	10
2652	Individual	Other than promoter	Others	ANITA BAI MEENA	Equity	1		1208870104165132	India	Female	Income Tax PAN	BQXPM7078Q			1	10	10
2653	Individual	Other than promoter	Others	PANKAJ SINGH	Equity	1		1208160090952677	India	Male	Income Tax PAN	BRCP0784B			1	10	10
2654	Individual	Other than promoter	Others	VUMMADISINGH ABHISHEK	Equity	1		1208870159799595	India	Male	Income Tax PAN	BSJPA8755J			1	10	10
2655	Individual	Other than promoter	Others	MOUMITA RANA MANNA	Equity	1		1203320064670875	India	Female	Income Tax PAN	BSVPM5599Q			1	10	10
2656	Individual	Other than promoter	Others	MADHURYA MEKA	Equity	1		1208160105329822	India	Female	Income Tax PAN	BTUPM4374D			1	10	10
2657	Individual	Other than promoter	Others	LAXMIKANT SUBHASHRAO KHAMITKAR	Equity	1		1208870003135802	India	Male	Income Tax PAN	BVHPK4326G			1	10	10
2658	Individual	Other than promoter	Others	SUGANDHA GUPTA	Equity	1		1208160087970324	India	Female	Income Tax PAN	BXAPG0947C			1	10	10
2659	Individual	Other than promoter	Others	ANDY TENITA FERNANDES E DOURADO	Equity	1		1208160001904526	India	Female	Income Tax PAN	BXCPD7494K			1	10	10
2660	Individual	Other than promoter	Others	AJENDRA PRATAP SHARMA	Equity	1		1208180001986068	India	Male	Income Tax PAN	BXGPS2361N			1	10	10
2661	Individual	Other than promoter	Others	UROTHUMMAL SURJITH	Equity	1		1208160036507250	India	Male	Income Tax PAN	BXKPS7577L			1	10	10
2662	Individual	Other than promoter	Others	PUNITESHWAR SINGH	Equity	1		1208340009910965	India	Male	Income Tax PAN	BXXPS5051A			1	10	10
2663	Individual	Other than promoter	Others	VASHISTH PANDEY	Equity	1		1208160016504746	India	Male	Income Tax PAN	BYNPP0137R			1	10	10
2664	Individual	Other than promoter	Others	DARPARN PRADEEP CHAUDHARI	Equity	1		1208160054316169	India	Male	Income Tax PAN	BYSPC1404P			1	10	10
2665	Individual	Other than promoter	Others	JITENDRA KUMAR PRAJAPATI	Equity	1		1208160111625460	India	Male	Income Tax PAN	BZCPP9923K			1	10	10
2666	Individual	Other than promoter	Others	PRACHI MADHAVRAO KAVALE	Equity	1		1208160126391603	India	Female	Income Tax PAN	CAAPK9944F			1	10	10
2667	Individual	Other than promoter	Others	PRAVINBHAI BHARATBHAI BALDHIA	Equity	1		1208870145400166	India	Male	Income Tax PAN	CABPB2234A			1	10	10
2668	Individual	Other than promoter	Others	DILIPKUMAR ISHWARLAL PARMAR.	Equity	1		1204720041829154	India	Male	Income Tax PAN	CAIPP8788A			1	10	10
2669	Individual	Other than promoter	Others	SEJALBEN RAJNIBHAI BODARYA	Equity	1		1208160155503860	India	Female	Income Tax PAN	CARPB5277P			1	10	10

2670	Individual	Other than promoter	Others	RINKAL BANSAL	Equity	1		1208870096358231	India	Female	Income Tax PAN	CBCPB5905Q			1	10	10
2671	Individual	Other than promoter	Others	Amith mohan kumar	Equity	1		1209550018592381	India	Male	Income Tax PAN	CCMPK9998P			1	10	10
2672	Individual	Other than promoter	Others	VISHWAJIT SOMNATH BHAGWAT	Equity	1		1208160128620119	India	Male	Income Tax PAN	CEDPB3143J			1	10	10
2673	Individual	Other than promoter	Others	KHUSHI JAIN	Equity	1		IN30302886144775	India	Female	Income Tax PAN	CFMPJ6470A			1	10	10
2674	Individual	Other than promoter	Others	SATYAJIT MAITY	Equity	1		1208870230756449	India	Male	Income Tax PAN	CFOPM0192L			1	10	10
2675	Individual	Other than promoter	Others	SATBIR SINGH	Equity	1		1208870204688313	India	Male	Income Tax PAN	CHPPS5138D			1	10	10
2676	Individual	Other than promoter	Others	RAJAN RAJIMOL	Equity	1		1208160005980737	India	Female	Income Tax PAN	CHVPR4027G			1	10	10
2677	Individual	Other than promoter	Others	NEERATI CHANDU	Equity	1		1208870124362669	India	Male	Income Tax PAN	CIOPC4459F			1	10	10
2678	Individual	Other than promoter	Others	SUMAN MANNA	Equity	1		1208870242398901	India	Male	Income Tax PAN	CIOPM9686G			1	10	10
2679	Individual	Other than promoter	Others	NIKHIL DASHRATH GIRI .	Equity	1		1208870302311375	India	Male	Income Tax PAN	CJOPG4862R			1	10	10
2680	Individual	Other than promoter	Others	MOHINI DEVI CHAUDHARY	Equity	1		1203320238633900	India	Female	Income Tax PAN	CJUPC0582N			1	10	10
2681	Individual	Other than promoter	Others	YASH JAIN	Equity	1		1208160052488821	India	Male	Income Tax PAN	CJVPJ9293C			1	10	10
2682	Individual	Other than promoter	Others	SHUBHAM BOTHRA	Equity	1		1201090028081833	India	Male	Income Tax PAN	CKNPB8669R			1	10	10
2683	Individual	Other than promoter	Others	AKASH MISHRA	Equity	1		1208160135886367	India	Male	Income Tax PAN	CLTPM6087R			1	10	10
2684	Individual	Other than promoter	Others	KARAN KUMAR SARDANA	Equity	1		1208160075278230	India	Male	Income Tax PAN	CNMPG3580E			1	10	10
2685	Individual	Other than promoter	Others	NAMDEV PATIYYA	Equity	1		1208160086254152	India	Male	Income Tax PAN	COWPP3153H			1	10	10
2686	Individual	Other than promoter	Others	PANKAJ .	Equity	1		1208870200053779	India	Female	Income Tax PAN	CPGPP5479H			1	10	10
2687	Individual	Other than promoter	Others	MANISHA KUMARI MISHRA	Equity	1		IN30611410414836	India	Female	Income Tax PAN	CPRPM2988F			1	10	10
2688	Individual	Other than promoter	Others	RAJENDER SINGH	Equity	1		1208870087983391	India	Male	Income Tax PAN	CQEPM1693H			1	10	10
2689	Individual	Other than promoter	Others	MUSKAN BEDI	Equity	1		IN30160412246006	India	Male	Income Tax PAN	CQYPB4236P			1	10	10
2690	Individual	Other than promoter	Others	DEBASISH BISWAS	Equity	1		1208870063490823	India	Male	Income Tax PAN	CRCPB3872J			1	10	10
2691	Individual	Other than promoter	Others	SAKET SINHA	Equity	1		1208160110415307	India	Male	Income Tax PAN	CROPS0060D			1	10	10
2692	Individual	Other than promoter	Others	NAVRATNA KUMAR	Equity	1		1208870176982282	India	Male	Income Tax PAN	CUSPK4373C			1	10	10
2693	Individual	Other than promoter	Others	SWATI HANAMANT KUMBHAR	Equity	1		IN30302870356346	India	Female	Income Tax PAN	CVCPK0193H			1	10	10
2694	Individual	Other than promoter	Others	JAY SUBHASHCHANDRA PANDIT	Equity	1		1208160018004377	India	Male	Income Tax PAN	CVXPP1096B			1	10	10

2695	Individual	Other than promoter	Others	SHALINDRA GOPAL PATTAR	Equity	1		1208180103856020	India	Male	Income Tax PAN	CYOPP8052P			1	10	10
2696	Individual	Other than promoter	Others	ARPAN SADHUKHAN	Equity	1		1208160024858797	India	Male	Income Tax PAN	CZUPS5004D			1	10	10
2697	Individual	Other than promoter	Others	RAVI RAMBHAJ MATHIYA	Equity	1		1203320264230653	India	Male	Income Tax PAN	DCJPM7472N			1	10	10
2698	Individual	Other than promoter	Others	ASMA GULAM JEELANI	Equity	1		1201260000267990	India	Female	Income Tax PAN	DCRPG5441P			1	10	10
2699	Individual	Other than promoter	Others	BALVIR KUMAR	Equity	1		1208870188138243	India	Male	Income Tax PAN	DDLKP5729K			1	10	10
2700	Individual	Other than promoter	Others	PRASAD KRISHNA POOJARI	Equity	1		1208870010404587	India	Male	Income Tax PAN	DEYPP0758B			1	10	10
2701	Individual	Other than promoter	Others	KALPAK PRIYAKANT BHAI PATEL	Equity	1		1203320032751621	India	Male	Income Tax PAN	DEZPP2345H			1	10	10
2702	Individual	Other than promoter	Others	SONU SUNNY	Equity	1		1208160002131489	India	Male	Income Tax PAN	DFSPS0878Q			1	10	10
2703	Individual	Other than promoter	Others	JITENDRA KUMAR SAHU	Equity	1		1209550000261398	India	Male	Income Tax PAN	DGBPS6360F			1	10	10
2704	Individual	Other than promoter	Others	KRISHNAKANT KUMAR GUPTA	Equity	1		1208870207053821	India	Male	Income Tax PAN	DLCPG2281K			1	10	10
2705	Individual	Other than promoter	Others	SURAJ KUMAR	Equity	1		1208160070887980	India	Male	Income Tax PAN	DLCPK9367N			1	10	10
2706	Individual	Other than promoter	Others	AYESHA .	Equity	1		1201260000267836	India	Female	Income Tax PAN	DMMPA1305P			1	10	10
2707	Individual	Other than promoter	Others	BALAKRISHNA S	Equity	1		1203320295802635	India	Male	Income Tax PAN	DMUPS4359P			1	10	10
2708	Individual	Other than promoter	Others	ABDUR RAHMAN	Equity	1		1201260000267967	India	Male	Income Tax PAN	DNAPA2222L			1	10	10
2709	Individual	Other than promoter	Others	ANJALI KAUSHIK	Equity	1		1208880007821364	India	Female	Income Tax PAN	DPCPK2550H			1	10	10
2710	Individual	Other than promoter	Others	SATYAM RAJPUT	Equity	1		1208160112435939	India	Male	Income Tax PAN	DQEPR0668L			1	10	10
2711	Individual	Other than promoter	Others	SUNIL KUMAR	Equity	1		1206140000139976	India	Male	Income Tax PAN	DRSPK4292N			1	10	10
2712	Individual	Other than promoter	Others	MOHAMMAD DILDAR	Equity	1		1203320088666304	India	Male	Income Tax PAN	DWXPD1031A			1	10	10
2713	Individual	Other than promoter	Others	SUDHAKAR AYYASAMY	Equity	1		1208160114884242	India	Male	Income Tax PAN	DXIPA7596F			1	10	10
2714	Individual	Other than promoter	Others	YUV GANDHI	Equity	1		1208160104417020	India	Male	Income Tax PAN	DXOPG9773G			1	10	10
2715	Individual	Other than promoter	Others	ANUPRIYA KATEWA	Equity	1		1208180141930989	India	Female	Income Tax PAN	DYVPK5793L			1	10	10
2716	Individual	Other than promoter	Others	PRASHANT SHUKLA	Equity	1		1203320169063931	India	Male	Income Tax PAN	EABPS6393K			1	10	10
2717	Individual	Other than promoter	Others	DHARABEN NAreshkumar KOLADIYA	Equity	1		1208160037650548	India	Female	Income Tax PAN	EAFPK6455J			1	10	10
2718	Individual	Other than promoter	Others	MUKESH KUMAR MEENA	Equity	1		1208160031341392	India	Male	Income Tax PAN	EAUPM9849B			1	10	10
2719	Individual	Other than promoter	Others	MADHU BALAN	Equity	1		1209600001149080	India	Male	Income Tax PAN	EERPB2401H			1	10	10

2720	Individual	Other than promoter	Others	SHIKSHA KHAMESRA	Equity	1		IN30302874616298	India	Female	Income Tax PAN	EERPK0462P			1	10	10
2721	Individual	Other than promoter	Others	SURESH SINGH	Equity	1		1208160046061959	India	Male	Income Tax PAN	EFDPS0627M			1	10	10
2722	Individual	Other than promoter	Others	VIJAY HEMANT SANGARE	Equity	1		1208160011352749	India	Male	Income Tax PAN	EFIPS1481G			1	10	10
2723	Individual	Other than promoter	Others	RAM KUMAR	Equity	1		1208160037917141	India	Male	Income Tax PAN	EFNPK9969C			1	10	10
2724	Individual	Other than promoter	Others	SAMRAT SARKAR	Equity	1		1208160045380576	India	Male	Income Tax PAN	EGDPS0475L			1	10	10
2725	Individual	Other than promoter	Others	SANKU SINGH	Equity	1		IN30302848929636	India	Male	Income Tax PAN	EIVPS8862R			1	10	10
2726	Individual	Other than promoter	Others	ANJALI KUMARI	Equity	1		1203320245661451	India	Male	Income Tax PAN	EJLPK1391E			1	10	10
2727	Individual	Other than promoter	Others	PUNDRIK SOMESHWAR MISHRA	Equity	1		1208880001373777	India	Male	Income Tax PAN	ELDPM5894Q			1	10	10
2728	Individual	Other than promoter	Others	DINESH KUKREJA	Equity	1		1208870052627868	India	Male	Income Tax PAN	EPPPK5624Q			1	10	10
2729	Individual	Other than promoter	Others	SHAIKH SOHAIL SHAIKH MAQDOOM	Equity	1		1208870029080061	India	Male	Income Tax PAN	EQTPM3228R			1	10	10
2730	Individual	Other than promoter	Others	ROHIT ANAND MENON	Equity	1		1208160026156380	India	Male	Income Tax PAN	EQZPM4261E			1	10	10
2731	Individual	Other than promoter	Others	KIRAN BALA	Equity	1		1208160034282648	India	Female	Income Tax PAN	ESQPB6917K			1	10	10
2732	Individual	Other than promoter	Others	ISHA AGRAWAL	Equity	1		1203320288563381	India	Female	Income Tax PAN	ESRPA5054B			1	10	10
2733	Individual	Other than promoter	Others	RAJESH KUMAR	Equity	1		1203320384116819	India	Male	Income Tax PAN	EWYPK8449B			1	10	10
2734	Individual	Other than promoter	Others	SUNIL KUMAR	Equity	1		1206140000139976	India	Male	Income Tax PAN	EXNPK1671K			1	10	10
2735	Individual	Other than promoter	Others	POLIMERA DHANUNJAYA REDDY	Equity	1		1208160116755922	India	Male	Income Tax PAN	EZAPD4774F			1	10	10
2736	Individual	Other than promoter	Others	BASKARAN KARTHIKEYAN	Equity	1		1203320138201912	India	Male	Income Tax PAN	EZLPK4717C			1	10	10
2737	Individual	Other than promoter	Others	SHAKTI SINGH RAJPUROHIT	Equity	1		1208870071263259	India	Male	Income Tax PAN	FFLPR2236Q			1	10	10
2738	Individual	Other than promoter	Others	BHAJAN LAL MANDAL	Equity	1		1208160081021064	India	Male	Income Tax PAN	FHXPM8166E			1	10	10
2739	Individual	Other than promoter	Others	VISHESH VINOD ANCHLIYA	Equity	1		1208870253301401	India	Male	Income Tax PAN	FLEPA5856E			1	10	10
2740	Individual	Other than promoter	Others	LALIT KUMAR KHUSHWAHA	Equity	1		1208160063117461	India	Male	Income Tax PAN	FMBPK2663H			1	10	10
2741	Individual	Other than promoter	Others	SHANTANU SINGH	Equity	1		1208160014143561	India	Male	Income Tax PAN	GAHPS1476P			1	10	10
2742	Individual	Other than promoter	Others	ADITYA SINGH	Equity	1		1208160017527621	India	Male	Income Tax PAN	GEZPS7350G			1	10	10
2743	Individual	Other than promoter	Others	TEJAS HARSHAD SHAH	Equity	1		1208160091442809	India	Male	Income Tax PAN	GGUPS6837R			1	10	10
2744	Individual	Other than promoter	Others	POONAM ROHIT JADHAV	Equity	1		IN30051393156964	India	Female	Income Tax PAN	GIGPM4336D			1	10	10

2745	Individual	Other than promoter	Others	MANOJ KUMAR	Equity	1		1208160037579484	India	Male	Income Tax PAN	GJKPK8442R			1	10	10
2746	Individual	Other than promoter	Others	CHETAN PARMANAND SHARMA	Equity	1		1203320030697855	India	Male	Income Tax PAN	GNWPS0821Q			1	10	10
2747	Individual	Other than promoter	Others	BIJAL RIKEN SHAH	Equity	1		1203320039748131	India	Female	Income Tax PAN	GVRPS9530P			1	10	10
2748	Individual	Other than promoter	Others	MANRAJ SINGH	Equity	1		1209600000156107	India	Male	Income Tax PAN	GZTPS3347J			1	10	10
2749	Individual	Other than promoter	Others	KARAN KUMAR	Equity	1		1208870191126589	India	Male	Income Tax PAN	HHQPK4692Q			1	10	10
2750	Individual	Other than promoter	Others	SWEETY KUMARI	Equity	1		1208160129965317	India	Female	Income Tax PAN	HMVPK2458C			1	10	10
2751	Individual	Other than promoter	Others	JAY UMESH MISTRY	Equity	1		1208180123993135	India	Male	Income Tax PAN	HNCPM1794M			1	10	10
2752	Individual	Other than promoter	Others	PAVITRA PRANAV PATIL	Equity	1		1203350003195139	India	Male	Income Tax PAN	HPMPP8372E			1	10	10
2753	Individual	Other than promoter	Others	RAMESHBHAI MANUBHAI SAVANI	Equity	1		1209290004710599	India	Male	Income Tax PAN	ISVPS2324N			1	10	10
2754	Individual	Other than promoter	Others	SUKHDEV SWAMI	Equity	1		1208870149701831	India	Male	Income Tax PAN	JOWPS6208R			1	10	10
2755	Individual	Other than promoter	Others	KARANPREET SINGH	Equity	1		1208160082247962	India	Male	Income Tax PAN	KERPS4735F			1	10	10
2756	Individual	Other than promoter	Others	Prakash Sain	Equity	1		1203320037252311	India	Male	Income Tax PAN	KGAPS4898J			1	10	10
2757	Individual	Other than promoter	Others	ANMOL KUMAR	Equity	1		1208160118982860	India	Male	Income Tax PAN	KUGPK8705L			1	10	10
2758	Individual	Other than promoter	Others	KHUSHI KUMARI	Equity	1		1208160120752332	India	Female	Income Tax PAN	LBBPK2588N			1	10	10
2759	Individual	Other than promoter	Others	RISHABH SINGH	Equity	1		1208870173409035	India	Male	Income Tax PAN	LUWPS1651L			1	10	10
2760	Individual	Other than promoter	Others	SUHAGIYA DHARMIKKUMAR	Equity	1		1203320288148929	India	Male	Income Tax PAN	MEQPS0723A			1	10	10
2761	Individual	Other than promoter	Others	MOHAMMED KASHIF HASIB AHMED SHAIKH	Equity	1		1208160042035181	India	Male	Income Tax PAN	MPYPS5203L			1	10	10
2762	Individual	Other than promoter	Others	ANTARA SIMLANDI	Equity	1		1208160052764581	India	Female	Income Tax PAN	NSFPS6242N			1	10	10
2763	Individual	Other than promoter	Others	PRATYUSH KUMAR SAO	Equity	1		1208160137971911	India	Male	Income Tax PAN	OSGPS3754D			1	10	10
2764	Individual	Other than promoter	Others	JASSIM SALEEM	Equity	1		1208160130814000	India	Male	Income Tax PAN	OYUPS6445F			1	10	10
2765	Individual	Other than promoter	Others	SSWETHA .	Equity	1		1208870208251456	India	Female	Income Tax PAN	QIIPS0886L			1	10	10
2766	Individual	Other than promoter	Others	MUKESH SINGH	Equity	1		1208880033820713	India	Male	Income Tax PAN	QIZPS0814R			1	10	10
2767	Individual	Other than promoter	Others	VIKAS ARORA	Equity	1		IN30290243344044	NRI	Male	Income Tax PAN	ACSPA9689H			2000	10	20,000
2768	Individual	Other than promoter	Others	NIMESH VINODKUMAR BIJLANI	Equity	1		IN30302876144693	NRI	Male	Income Tax PAN	APUPB3122R			1400	10	14,000
2769	Individual	Other than promoter	Others	PRAMOD KUMAR KHANDELWAL	Equity	1		1201090005564113	NRI	Male	Income Tax PAN	APEPK9289A			886	10	8,860

2770	Individual	Other than promoter	Others	DHRUTI NIRAV PAREKH	Equity	1		IN30154967041667	NRI	Female	Income Tax PAN	AYNPS2471C		800	10	8,000
2771	Individual	Other than promoter	Others	ANIL RAMESH AILANI	Equity	1		1201250000020931	NRI	Male	Income Tax PAN	ADQPA6087L		500	10	5,000
2772	Individual	Other than promoter	Others	KOUSILENDER SURAPANENI	Equity	1		IN30021427233422	NRI	Male	Income Tax PAN	DQZPS2861D		430	10	4,300
2773	Individual	Other than promoter	Others	CHANDRASEKHARAN SRINIVASAN	Equity	1		IN30302867574279	NRI	Male	Income Tax PAN	AAEPC7339Q		227	10	2,270
2774	Individual	Other than promoter	Others	JOAQUIM CAITAN DSOUZA	Equity	1		IN30154954366513	NRI	Male	Income Tax PAN	AFYPD8937J		184	10	1,840
2775	Individual	Other than promoter	Others	SANJIV KAPOOR	Equity	1		IN30021410916233	NRI	Male	Income Tax PAN	AJFPK0117N		150	10	1,500
2776	Individual	Other than promoter	Others	ARCHANA BHARGAV	Equity	1		IN30267932140955	NRI	Female	Income Tax PAN	AJCPB8185G		100	10	1,000
2777	Individual	Other than promoter	Others	ANIL PERMOD MALIK	Equity	1		IN30290243661207	NRI	Male	Income Tax PAN	AOQPM0124B		100	10	1,000
2778	Individual	Other than promoter	Others	VISHESH NIRANJAN GAVLI	Equity	1		1208160099702958	NRI	Male	Income Tax PAN	ATNPG0623P		100	10	1,000
2779	Individual	Other than promoter	Others	ARVIND JOHAR	Equity	1		IN30115121220168	NRI	Male	Income Tax PAN	ACDPJ2715Q		84	10	840
2780	Individual	Other than promoter	Others	SANJEET KUMAR	Equity	1		IN30021427761788	NRI	Male	Income Tax PAN	BXYPK5479B		77	10	770
2781	Individual	Other than promoter	Others	MANTHON BHARATKUMAR MEHTA	Equity	1		1208160147543982	NRI	Male	Income Tax PAN	BMEPM2233G		66	10	660
2782	Individual	Other than promoter	Others	VEERENDRA NEELAVARA	Equity	1		IN30302862980342	NRI	Male	Income Tax PAN	ABXPN5201A		63	10	630
2783	Individual	Other than promoter	Others	SHAILENDRA KUMAR GUPTA	Equity	1		IN30302876166352	NRI	Male	Income Tax PAN	ALJPG1417D		51	10	510
2784	Individual	Other than promoter	Others	DHARMESH LAVJIBHAI VAGHANI	Equity	1		IN30154965301138	NRI	Male	Income Tax PAN	AECPV2800D		50	10	500
2785	Individual	Other than promoter	Others	SHUBHALAXMI KIDIYOOR	Equity	1		IN30302871584516	NRI	Female	Income Tax PAN	AQJPK3643C		50	10	500
2786	Individual	Other than promoter	Others	PRASAD VELLATURI RAO	Equity	1		IN30302874800719	NRI	Male	Income Tax PAN	AHYPR3240E		35	10	350
2787	Individual	Other than promoter	Others	NEERAJ SHUKLA	Equity	1		IN30302810314225	NRI	Male	Income Tax PAN	AYZPS8902Q		20	10	200
2788	Individual	Other than promoter	Others	MARIALISA SWEALENA DIAS	Equity	1		1201060005342318	NRI	Female	Income Tax PAN	CHEPD3553J		20	10	200
2789	Individual	Other than promoter	Others	NATARAJAN KUMARASAN	Equity	1		IN30302857701060	NRI	Male	Income Tax PAN	AAEPK9462G		18	10	180
2790	Individual	Other than promoter	Others	RITA GHAI	Equity	1		IN30429552636944	NRI	Female	Income Tax PAN	AMQPG5844A		15	10	150
2791	Individual	Other than promoter	Others	SENTHIL KUMAR MARKANDAN	Equity	1		IN30037810403847	NRI	Male	Income Tax PAN	DPEPS3037D		14	10	140
2792	Individual	Other than promoter	Others	THOMAS P DEVASSY	Equity	1		1201090032442210	NRI	Male	Income Tax PAN	COHPD9585C		10	10	100
2793	Individual	Other than promoter	Others	GAJULA PRAVEEN KUMAR	Equity	1		1208160080503369	NRI	Male	Income Tax PAN	AMEPK9252C		9	10	90
2794	Individual	Other than promoter	Others	PONNUSAMY THANGAVEL	Equity	1		IN30290243096600	NRI	Male	Income Tax PAN	AAJPT2765J		5	10	50

2795	Individual	Other than promoter	Others	AKSHYA KUMAR SABAT	Equity	1		IN30302851150003	NRI	Male	Income Tax PAN	AREPS4642M		5	10	50
2796	Individual	Other than promoter	Others	MONALI MANAN SHAH	Equity	1		1203320347299348	NRI	Female	Income Tax PAN	BEJPS8204N		3	10	30
2797	Individual	Other than promoter	Others	NAZARGI MAHABOB MAHABOB BASHA	Equity	1		IN30154966352791	NRI	Male	Income Tax PAN	AGRPN6878J		2	10	20
2798	Individual	Other than promoter	Others	DHARUMAN SRINIVASAN	Equity	1		1208160092240746	NRI	Male	Income Tax PAN	DIWPS7334L		2	10	20
2799	Entity	Other than promoter	Body corporate (not mentioned above)	NORTHERN ARC EMERGING CORPORATES BOND FUND	Debentures	1		IN30371911131959	India	Not applicable	Income Tax PAN	AADTN7443B	10th Floor, Phase I, IITM Research Park, Kanagam Village, Taramani, Chennai-600113	105	1000000	10,50,00,000

Form No. MGT - 8

[Pursuant to Section 92(2) of the Companies Act, 2013 and Rule 11(2) of the Companies (Management and Administration) Rules, 2014]

CERTIFICATE BY A COMPANY SECRETARY IN PRACTICE (PCS)

I have examined the registers, records and books and papers of **REFEX RENEWABLES & INFRASTRUCTURE LIMITED [CIN: L40100TN1994PLC028263]** ("Company") as required to be maintained under the Companies Act, 2013 ("Act") and the rules made thereunder for the financial year ended on **March 31, 2025**.

In my opinion and to the best of my information and according to the examinations carried out by me and explanations furnished to me by the Company, its officers and agents, I certify that:

- A. the Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.
- B. during the aforesaid financial year, the Company has complied with provisions of the Act and the Rules made thereunder in respect of:
 - 1. its Status under the Act;
 - 2. maintenance of registers/records and making entries therein within the time prescribed therefor;
 - 3. filing of forms and returns as stated in the Annual Return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal, Court or other authorities, within the prescribed time, as the case may be;
 - 4. calling/ convening/ holding meetings of Board of Directors and its committees and the meetings of the members of the Company on or before the due dates as stated in the Annual Return in respect of which meetings, proper notices, agenda and other relevant documents were given and the proceedings including the circular resolutions and resolutions passed by postal ballot, if any, have been properly recorded in the Minutes Book(s)/Register(s) maintained for the purpose and the same have been signed by the concerned and designated person;
 - 5. closure of Register of Members/Security holders, as the case may be;
The Register of Members and Share Transfer Books of the Company was closed from Saturday, September 21, 2024 to Friday, September 27, 2024 (both days inclusive), for the purpose of 30th Annual General Meeting;
 - 6. advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act;
no such transactions during the financial year under review;
 - 7. contracts/arrangements and transactions with related parties as specified in Section 188 of the Act;
According to information and explanations provided, the Company had entered into transactions falling within the purview of Section 188 of the Act. Further, the details of such related party transactions have been disclosed in the note no. 31 of the standalone financial statements for the FY25.
 - 8. issue or allotment or transfer or transmission or buy back of securities/ redemption of preference shares or debentures/ alteration or reduction of share capital/ conversion of shares/ securities and issue of security certificates in all instances;
 - i. *During the year, the Board of Directors, in its meeting held on November 08, 2024, allotted 1,524 equity shares of ₹10/- each to eligible employees under the RRIL - Employees Stock Option Scheme 2022 ("RRIL ESOS 2022"), thereby, increasing the issued, subscribed and paid-up share capital from ₹4,48,99,000/- to ₹4,49,14,240/-. Further, the Banking & Authorization Committee, in its meeting held on January 13, 2025, approved the allotment of additional 5,130 equity shares under the RRIL ESOS 2022, resulting in increase in the paid-up share capital to ₹4,49,65,540/-.*

ii. *The Board of Directors of the Company, at its meeting held on December 06, 2024 approved the issue and offer of up to 105 nos. of senior, secured, unrated, unlisted, unsubordinated, redeemable, taxable, fully-paid Non-Convertible Debentures ("NCDs") aggregating to ₹10.50 Crore to Northern Arc Emerging Corporates Bond Trust with Northern Arc Emerging Corporates Bond Fund as its scheme, by way of private placement.*

Subsequently, the Banking & Authorization Committee approved the allotment of the NCDs on December 23, 2024. In connection with this issuance, 4,08,000 equity shares of the Company held by Refex Holding Private Limited, Promoter of the Company, were pledged in favour of Catalyst Trusteeship Limited, acting as debenture trustee for the benefit of the debenture holders.

iii. *During the financial year under review, the Company has issued duplicate share certificates (in demat form only) in lieu of original share certificates which were lost/misplaced.*

9. keeping in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act;

No such transaction during the financial year under review;

10. declaration/payment of dividend; transfer of unpaid/ unclaimed dividend/other amounts as applicable to the Investor Education and Protection Fund in accordance with Section 125 of the Act;

No such transaction during the financial year under review;

11. signing of audited financial statements per the provisions of Section 134 of the Act and report of directors is as per sub-sections (3), (4) and (5) thereof;

12. constitution/ appointment/ re-appointments/ retirement/ filling up casual vacancies/ disclosures of the Directors, Key Managerial Personnel and the remuneration paid to them;

Pursuant to the provisions of Section 152(6) of the Act, Mr. Kalpesh Kumar (DIN: 07966090), Director (Executive) of the Company, designated as Managing Director (KMP), who retired by rotation, was re-appointed as a Director (Executive) at the 30th Annual General Meeting (AGM) held on September 27, 2024.

Appointment/ re-appointments/ retirement of Directors, Key Managerial Personnel during the financial year 2024-25 is as follows:

S. No.	Name	DIN	Effective Date	Date of shareholders' approval	Appointment/ Re-appointment/Resignation
1.	Mr. Kalpesh Kumar	07966090	01/10/2024	27/09/2024	Re-appointed as a Managing Director for a period of 03 years
2.	Mr. Pillappan Amalanathan	08730795	16/06/2025	27/09/2024	Re-appointed as an Independent Director for 02 nd term of 05 years
3.	Ms. Latha Venkatesh	06983347	14/08/2024	27/09/2024	Appointed as an Independent Director for 01 st term of 05 years
4.	Mr. Sunny Chandrakumar	07544759	30/09/2024	Not Applicable	Resignation as a Director (Non-Executive)
5.	Mr. Dinesh Kumar Agarwal	07544757	01/10/2024	31 st AGM	Appointed as an Additional Director (Non-Executive)

S. No.	Name	Effective Date	Nature of change
1.	Mr. Dinesh Kumar Agarwal	31/05/2024	Resignation as CFO
2.	Mr. Thirunavukarasu Manikandan	01/06/2024	Appointment as CFO

13. appointment/re-appointment/filling up casual vacancies of auditors as per the provisions of Section 139 of the Act;

M/s. VKAN & Associates, Chartered Accountants, who were Statutory Auditors of the Company, have completed their term at the conclusion of the 30th Annual General Meeting (AGM) held on September 27, 2024.

Hence further, the shareholders, at the 30th AGM, have approved the appointment M/s. A B C D & Co. LLP, Chartered Accountants (ICAI Firm Registration No.: 016415S), as the Statutory Auditors of the Company to hold office for the first term of 05 (five) consecutive years, from the conclusion of the 30th AGM till the conclusion of the 35th AGM to be held in the year 2029, to conduct audit of the books of accounts of the Company from financial year 2024-25 to financial year 2028-29.

14. approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;

No such Approvals taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act during the year under review.

15. acceptance/ renewal/ repayment of deposits;

No such transaction during the financial year under review;

16. borrowings from its directors, members, public financial institutions, banks and others and creation/ modification/ satisfaction of charges in that respect, wherever applicable;

i. The Company has availed unsecured loan from the member (promoter).
ii. The company has created charge as on December 19, 2024 by the way of hypothecation agreement executed by the Company in favour of Catalyst Trusteeship Limited, the Debenture Trustee, to provide security in relation to the Debentures by way of a first and exclusive charge over the Hypothecated Assets, for the benefit of Northern Arc Emerging Corporates Bond Trust with Northern Arc Emerging Corporates Bond Fund as its scheme, the Debenture Holders.

17. loans and investments or guarantee given or providing of securities to other bodies corporate or persons falling under the provisions of Section 186 of the Act;

i. The Audit Committee and the Board of Directors in their respective meetings held on May 22, 2024 approved to acquire 100% equity stake of Refex Sustainability Solutions Limited ("RSSL") from Refex Green Power Limited ("RGPL"), thereby, making, RSSL, a direct wholly-owned subsidiary of the Company and fellow subsidiary of RGPL. Further, it was also approved to give loan / make further investment for an amount aggregating up to ₹60 Crores in Refex Sustainable Solutions Limited.

ii. The Board of Directors in its meeting held on September 26, 2024, approved to acquire 100% equity stake in Venwind Refex Limited ("VRL") (formerly known as Refex Green Energy Limited) from Refex Green Power Limited ("RGPL"), a wholly-owned subsidiary, thereby, making, RGEL, a direct wholly-owned subsidiary of the Company and fellow subsidiary of RGPL. Further, it was also approved to give loan / make further investment for an amount aggregating up to ₹30 Crores in Refex Green Energy Limited.

18. alteration of the provisions of the Memorandum and/or Articles of Association of the Company;
the Company has not altered any provisions of the Memorandum and Articles of Association during the year under review.

19. Other major/significant event occurred during the period under review:

i. Centre for Processing Accelerated Corporate Exit ("C-PACE"), IMT Manesar, Ministry of Corporate Affairs, vide Notice Nos. STK-7/000786/2024 and STK-7/000788/2024, both dated 29/10/2024 had approved the voluntary striking-off and dissolution application of the following subsidiaries/ step-down subsidiaries, from the Register of Companies and accordingly, these subsidiaries stand dissolved with effect from October 29, 2024.

S. No.	Name of Subsidiary Company	CIN
1.	SIL Power Storage Solutions Private Limited	U29309TN2021PTC146726
2.	Sherisha Bikaner Solar Power Private Limited	U40100TN2015PTC103245
3.	Sherisha Rooftop Solar SPV Five Private Limited	U40300TN2019PTC132202
4.	SunEdison Rooftop Solar SPV 6 Private Limited	U40106TN2020PTC136295
5.	SIL Jupiter Solar Private Limited	U40300TN2020PTC136534
6.	SIL Neptune Solar Private Limited	U40105TN2020PTC137146

Date: 18/10/2025
 Place: Chennai

For Mohan Kumar & Associates
ARAVAMUDHAN Digitally signed by
MOHAN KUMAR ARAVAMUDHAN MOHAN KUMAR
 Date: 2025.10.18 12:45:06 +05'30'

A. Mohan Kumar
 Practicing Company Secretary
 Membership Number: FCS 4347
 Certificate of Practice Number: 19145
 Peer review Certificate No. 2205/2022
UDIN: F004347G001615209